FRPBRBTRIFROEXER, ARAARIRBERNEF TZELFMOERAD, IRFHREDREERERNESHTLE
B, BABTERN, RUHBESHIEKR, BREBES!

This Instruction only contains information about our product series. If any change arising from technology upgrading or the use of new production processes, or
any necessary modification of the inaccurate data printed herein, no prior notice will be sent. To get correct information, please contact us before purchase!

R BR

NINGBO HCNC

FRTERSZTDRERAH

NINGBO HANCHEN NUMERICAL CONTROL CUTTING TOOL
MANUFACTURING CO.,LTD.

FREHES 2

Ningbo Sales Corporation

BT R IRXEELE 172 5

No.172 Caihong North Road, Jiangdong District, Ningbo City,
Zhejiang Province

FBiE (Tel): 0574-87374825 87371825

{8 (Fax): 0574-87926799

HRFE (E—mail): nbhcnc@126.com

HEFEEith

Production base

FRMBEXSHERSFER 5155
No. 515, Xiufeng Road, Gaogiao Town, Haishu
District, Ningbo

@ www.nbhcnc.cn

FRBERENRBRAHE
P HERRXERIREE NINGBO HANCHEN NUMERICAL CONTROL CUTTING TOOL
MANUFACTURING CO.,LTD.




XTFHIER

TR REET] S ERABEE T HEEMS MG NTITR. B2002F2 Lk, A8—EFF “I
REAER, BEERRRE" NETES, FRAREMRE, SEIZRIEFRRIE, RET XEFRIATSEE,
AR R BT AL ATS .

HRABE—XHAL. £/, . BEFSFWINLEBRTAMNTLEN, EOTAIZFRREES W~ mMN
FTEMNRS . AMMMIH0. MIPOR. HEERFUMBENENREERMNESEHOAL . £ XK, KA
£, JUAEFREEL. %, HHSFSERHEDEURANNTEMSG . BRMNAZEIFRDERNRITNE
7=, IBEREREFIMIFERK.

RBESMEREEME, AHE—FRNETWNTABRNERRKTI R, UREHAEEITD R, mEFE, EFER
B, FENmNEEFFEK.

BRI EETRNERERE, HANEFTZ, SHNETRE, BEHINTERSEHD, Z+RFOE, B#MKA
Tk FRFF AL
HMNBFSERAKPRENSE, MERMRENTRSRS, WIRERERRGRE]

2002 S HETRFIER

Since Professional Manufacturer of CNC Tools




5 £ P 4% SALES NETWORK
LIRUBERE, BHAERS.

Global sales network, dedicated to serve you.

ABOUT HANCHEN

Ningbo Hanchen Numerical Control Cutting Tool Manufacturing Co., Ltd. is
located in Ningbo(Zhejiang province), a beautiful port city in China. Since its
establishment in 2002, the company has always adhered to the business
philosophy --"Taking quality as the cornerstone, Seeking development with
integrity”. Strictly selected high-quality raw materials, and special processes
have ensured our products’ rigidity.Sticking to quality for twenty years,we
have won the recognition and trust from our customers, and our brand’s
recognition has remained at the forefront place in the industry.

Our company has a professional team of hundreds of employees from R&D,
Production, Quality inspection, Sales and other departments, who are
committed to provide professional products and perfect services for our
customers. Five-axis machining centers, machining center clusters, CNC lathe
clusters and precision testing equipment enable us to have advanced R&D and
production capabilities, mature production experience,with which we can
provide series of turning, milling, drilling and other CNC tools and
corresponding spare parts. Meanwhile,we undertake the demand of designing
and producing non-standard customized tools,to fit different producing
conditions.

The company has also cooperated with well-known enterprises,and
successfully developed a series of threading inserts for processing stainless
steel and steel workpieces. We have a complete range of inserts for
Threading/Shallow hole Drilling/General Turning/Parting Grooving,and
sufficient inventory to respond to customers’ needs at any time.

With strictly controlled quality, mature production capabilities, advanced
equipment,and more than 20 years of accumulation, Hanchen has gained
strong market competitiveness,and become a model enterprise in this
industry.

We look forward to developing long-term and stable cooperation with you and
offering you with high-quality products and services. You are welcome to visit
or call us at any time!




Contents

P1-60

P03-30
P31-44
P45-60

P65-99

P61-76
P77-94
P95-99

P100-106
P100-104
P105-106

P106-112

P107-110
P112

P113-118

P119-133

P134-155
P135-136
P137-148
P149

P150-153

P154-155

P156-166

P167-176

P177-194

IMEIZETIFF

SNEIZETIFFMEL, PR
SMNEZETIAFDE, CHY
SMNEIZETIFFSE

RFETIFHF

AFLETIFMEL, PRI
MFLZETIFFSE
BEMRETIF

&HITIHF
SNEIZEHITIHE (D)
PFLZEBITIF (5D

RESIEDF
WRAHPE, SE
A KT

IR TIFF

tDEELIRRTIHF

EOHTIFF
EHATIHF
BIIATIAF
M TI4F

SIERTIFF

=70k

xFLRI A

BYNR

BAER

External turning tool holder
External turning tool holder M-type, Ptype
External turning tool holder D-type, Ctype

External turning tool holder S-type

Internal turning tool holder

Internal turning tool holder M-type, P-type
Internal turning tool holder S-type

Alloy anti-vibration knife holder

Inch Turning Tools
Inch external turning tool holder

Inch internal turning tool holder

Precision cooling turning tool holder

Precision cooling P-type, S-type

Precision cooling groove tool holder

Threading tool holder

Parting and grooving tool holder

Swiss lathe tool holder

Rear sweeping holder
Front sweeping holder

Cutting tool holder

End milling cutter holder
Boring heads
Shallow hole drill & inserts

Threading inserts

General information



.

© E8ONSGSEUNTAT

-~

o

it

*) " EX?EIR\jI:\EL WERNEI;!

FEEiEiRMt, BELSHEIE-RRE

Strictly selected superior raw materials,precision technology,quality guaranteed




/i

SNEIZETIFE SRR

External turning tool holder model indication rules

M| C

L || N

R | 20

20

CHEMEZRR
Top clamping Type

MESEER
Double Clamping Type

Heavy Cutting
Double Clamping Type

PAIHFERE

Lever Lock Type

SHRETRERE

Screw-on Type

002

@)

1 2 3 4 5 6 7 8 10
1EZAR 2. 71 R R S.NNARRSERA
Clamping system Insert Shape Tool holder style and approach angle
. A B C _ o E
80°
SRIESNIESNINN v

Py

H
107° 30’

D
J
P

K E 75°
Q

> | o | &

N
63°
S
R S T U Wgs“ \%
- 75°k/@ 45°k/C GW 7 3&
W 60° | X 120° 3
N \ 4TIKER 8. JJAKE
Vv Inserts back anglee Tool length(mm)
RS | KE
B 5° Code Length
’W
E 70
Cc 7 F 80
w 6. TIREER || 7. TIRTEE
Nose height Width of tool holder H 100
\\ - \ M 150
c ‘.‘ﬁ :1 E 20 P 170
i Q 180
5. YIHEI A E . N 0
Cutting direction RAREEIEH Bl h=8mm. 45 3508 R 200
5 ] h=8mm, 7 o8| |77 "Tomm MRZ s 250
P 11
T 300
L 9. YIHEIT14& 10. B4HS
Cutting Edge length Self Numbers
c D R s
— | B O v
N | | | | ~——
T \%

Y
Ar




4N & 71 #FIl External Tool Holder

MEEPRITJRA S K iR

M-type,p-type Tool Models And Processing Forms

MCMNN MDJNR/L

MCBNR/L | MCLNR/L | MCGNR/L | MCKNRI/L

P5 P6

MSDNN | MSBNR/L | MSKNR/L

o

|
P14

MDPNN | MDQNR/L | MRGNR/L| MRDNN

WTENN | MTENR/L | MTGNR/L | MTJNR/L

=
93 ?%%

-

P20

P17 P17

WTQNR/L| MVJNR/L| MVQNR/4 MVVNN | MWLNR/L

\\BK\ 117.5°
03 ) 5
f P22 i p23

P20 P21
WWLNR/L | PCBNR/L | PCLNR/L | PDJNR/L

PDPNN

75°
_ L

P24 P25 P25

P27 P27

PTFENR/L | PTTNR/L | PTGNR/L| PWLNR/L

=

PSKNR/L | PSSNR/L

75°
? o0

i

95 ~

-
-

P29 P30 P30

60
-~

003



[

HNEZEHI T

004

U
( M:I:) External turning tool holder (M type)

Efm 75°

Main deflection

angle 75°

75° MCBN.. The X
s
e
R~ Size(mm) Xk 24 7 &8 H 5] E 1R w®F VAT
gg % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
al|b|L|h|f]e P4 o) & F—~ (]
* MCBNR/L1616H12C 16 | 16 [100| 16 | 13 | 32 MS620
*x MCBNR/L2020K12C 20 | 20 |125| 20 | 17 | 32 VEEAE SR VI e
*x MCBNR/L2525M12C 25| 25 150 25 | 22 | 32
*x MCBNR/L3232P12C 32| 32 |170| 32 | 27 | 32 MS628 MC620 S3
* MCBNR/L2525M16C 25 | 25 [150| 25 | 22 | 40 MS625
* MCBNR/L3232P16C 32 | 32 |170| 32 | 27 | 40 EET C16BM MLP58 CN..1606..
* MCBNR/L4040R16C 40 | 40 |200| 40 | 35 | 40
* MCBNR/L3232P19C 32 | 32 |170| 32 | 27 | 42
MS835 C19BM MLP68 MC825 S4 CN..1906..
* MCBNR/L4040R19C 40 | 40 |200| 40 | 35 | 42
R<JSize(mm) WL igte 7= H & E 1R R F 7R
gg % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e V4 o V4 ~ (]
MCBNR/L1616H12Z 16 | 16 [100| 16 | 13 | 32
MCBNR/L2020K12Z 20 | 20 (125| 20 | 17 | 32 DM6X20
MCBNR/L2525M12Z 25| 25 150 25 | 22 | 32 C12BM TMextr C1RD CN..1204..
MCBNR/L3232P12Z 32 | 32 |170| 32 | 27 | 32 S S3
MCBNR/L2525M16Z 25| 25 |150| 25 | 22 | 40
MCBNR/L3232P16Z 32 | 32 |170| 32 | 27 | 40 e C16BM TM8X21 C2RD CN..1606..
MCBNR/L4040R16Z 40 | 40 [200| 40 | 35 | 40
MCBNR/L3232P192 321321170\ 32 | 27" 40 DM8X35 C19BM TM10X21 C5RD S4 CN..1906..
MCBNR/L4040R19Z 40 | 40 |200| 40 | 35 | 40
e (T Rf: 14 MCBNR 2525M12C 1 MCBNL 2525M12C * R=HF L=LKF o JIRFEMITH
e k" SRTEEER
® Ordering Example:1pcs MCBNR 2525M12C 1pcs MCBNL 2525M12C  * R=righthand L= left hand

Inserts need to be ordered separately

"[] "indicates standing stock




4N &E JT1#FIExternal Tool Holder

gl\ E\E’U 7] 1::|: ( Mgg) External turning tool holder (M type)

Fime 95°

< © Main deflection

angle 95°

95° MCLN.. ~ a
A !
e L -
R<FSize(mm) Wke@e | DB | Wy | ER | RFE | DA
gg _.I=I5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts

alb|L|h|fle| & o g | B |~ | [

* MCLNR/L1616H12C 16 | 16 [100| 16 | 20 | 32 MS620

* MCLNR/L2020K12C 20 | 20 |125| 20 | 25 | 32 e

* MCLNR/L2525M12C 25| 25 |150| 25 | 32 | 32 C12BM MLP46 MC620 CN..1204..
MCLNR/L3225P12C 32 | 25 |170| 32 | 32 | 32 VS

* MCLNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 S3

*x MCLNR/L2525M16C 25 | 25 |150| 25 | 32 | 38 MS625
MCLNR/L3225P16C 32 | 25 |170| 32 | 32 | 38

* MCLNR/L3232P16C | 32 | 32 [170| 32 | 40 | 38 | Ms628 C16BM | MLPS8 | MCe22 CN..1606..
% MCLNR/L4040R16C | 40 | 40 |200| 40 | 50 | 42

* MCLNR/L3232P19C | 32 | 32 |1701 32 1 40 1 42| oons | Giomm | MLPes | MC825 s4 CN..1906..
MCLNR/L4040R19C | 40 | 40 |200| 40 | 50 | 42

R~tSize(mm) WLz AR H 5] E iR R F kR

ﬂ % Model Stud bolts Shim Pin Pressure plate Wrench Inserts

alb|lL|nlfle| o L | B | ~_ | [

MCLNR/L1616H12Z 16 | 16 |100| 16 | 20 | 32

MCLNR/L2020K12Z 20 | 20 |125| 20 | 25 | 32 DMexX20

MCLNR/L2525M122 25| 25 |150| 25 | 32 | 32 DM6X25 C12BM TM16X17 C1RD CN..1204..
MCLNR/L3225P12Z 32 | 25 |170| 32 | 32 | 32 S

MCLNR/L3232P12Z 32 | 32 |170| 32 | 40 | 32 S3

MCLNR/L2525M16Z 25| 25 |150| 25 | 32 | 38 DM6X25
MCLNR/L3225P16Z 32 | 25 |170| 32 | 32 | 38

C16BM TM8X21 C2RD CN..1606..
MCLNR/L3232P16Z 32 | 32 |170| 32 | 40 | 38 DM6X28
MCLNR/L4040R16Z 40 | 40 |200| 40 | 50 | 42
MCLNR/L3232P19Z 32 | 32 |170| 32 | 40 | 45
DM8X35 C19BM TM10X21 C5RD S4 CN..1906..
MCLNR/L4040R19Z 40 | 40 |200| 40 | 50 | 45
® JTEE/"f: 1 MCLNR 2525M12C 1 MCLNL 2525M12C * R=FF L=4KF o JIREEMITH

o “k” SRTEEER

® Ordering Example:1pcs MCLNR 2525M12C 1pcs MCLNL 2525M12C  * R=righthand L= left hand
Inserts need to be ordered separately

"indicates standing stock

005



[

SNEZEHI T

006

J]
( Mﬁ: ) External turning tool holder (M type)

1 Ffmea 90°
< © Main deflection
angle 90°
90° MCGN.. K
</
e L e
R~ Size(mm) PUBS: g 7 &8 #H §J E 1R R F 7R
FH = Model Stud bolts Shim Pin Pressure plate Wrench Inserts
g5 = ode h
alb|L|h|f]e 7 o) V4 ~_ (o]
MCGNR/L1616K12C 16 | 16 [125| 16 | 20 | 32 MS620
* MCGNR/L2020K12C 20 | 20 (125| 20 | 25 | 32 N
* MCGNR/L2525M12C 25 | 25 |150| 25 | 32 | 32 C12BM MLP46 MC620 CN..1204..
MCGNR/L3225P12C 32| 25 |170| 32 | 32 | 32 EE
MCGNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 -
MCGNR/L2525M16C 25 | 25 (150 25 | 32 | 38 MS625
MCGNR/L3225P16C 32 | 25 |170| 32 | 32 | 38
MCGNR/L3232P16C 32 | 32 |170| 32 | 40 | 38 MS628 C16BM MLP58 MC622 CN..1606..
MCGNR/L4040R16C 40 | 40 [200| 40 | 50 | 42
MCGNR/L3232P19C 32 | 32 |170| 32 | 40 | 45 MS835 C19BM MLP68 Mc852 S4 CN..1906..
e iT#RfBl: 1 MCGNR 2525M12C 1 MCGNL 2525M12C * R=HF L=kKF o JIEEEMITH
® ‘X" SRRNEERER
® Ordering Example:1pcs MCGNR 2525M12C 1pcs MCGNL 2525M12C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{RFA 75°
= @ Main deflection
angle 75°
75" MCKN.. R @ K
3 1
e‘ L
1 = R~fSize(mm) WL igte VAR H T E & R F ANy
g’é = Mode| Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f e P o & ~ (o)
* MCKNR/L1616H12C 16 | 16 [125| 16 | 20 | 32 MS620
* MCKNR/L2020K12C 20 | 20 (125| 20 | 25 | 32
C12BM MLP46 MC620 CN..1204..
* MCKNR/L2525M12C 25 | 25 (150| 25 | 32 | 32 MS625
* MCKNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 5
* MCKNR/L2525M16C 25 | 25 |150| 25 | 32 | 38
* MCKNR/L3232P16C 32 | 32 |170| 32 | 40 | 38 MS628 C16BM MLP58 MC622 CN..1606..
MCKNR/L4040R16C 40 | 40 [200| 40 | 40 | 38
* MCKNR/L3232P19C 32 | 32 |170| 32 | 40 | 42 VEEEE & s VIR e - O GG
* MCKNR/L4040R19C 40 | 40 [200| 40 | 50 | 42 v -
®iT 15" fl: 11 MCKNR 2525M12C 14 MCKNL 2525M12C* R=HF L=EKEF o JIAZFEMITH
0k” SRAEEET
® Ordering Example:1pcs MCKNR 2525M12C 1pcs MCKNL 2525M12C  * R=righthand L=left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock




SNEZEHI T

4N &E JT1#FIExternal Tool Holder

J]
( Mﬁ: ) External turning tool holder (M type)

ﬁ/\ E{f 50°
cl ®© Main deflection
angle 50°
50° MCMN.. 3
C@ o
2 =
£ L
R~fSize(mm) PUBS: g VAR ] H & . £ 7f)§| R F 7R
J} = Model Stud bolts Shim Pin ressure plate Wrench Inserts
Cage alb|L|h|f|e /7 o, Y I~ (5]
MCMNN1616H12C 16 | 16 |100| 16 | 8 | 32 MS620
* MCMNN2020K12C 20 | 20 |125| 20 | 10 | 32
MS625 C12BM MLP46 MC620 S3 CN..1204..
* MCMNN2525M12C 25 | 25 150 | 25 |12.5] 32
MCMNN3232P12C 32 |32 (170| 32 | 16 | 32 MS628
o iTHRHI: 1 MCMNN 2525M12C o JIRFEMITHY
o ‘% SRREEER
® Ordering Example:1pcs MCMNN 2525M12C
® |nserts need to be ordered separately
® "[] "indicates standing stock
Tfﬂ R 40°
Main deflection
< © angle 40°
40° MCMN..-100 I
@9 -
> e
£ L
y = R Size(mm) Wkigh | MM | HEg | ER | ORF | DK
;__:|F= = Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e 7 o y 4 ~ (o]
MCMNN1616H12C-100 | 16 | 16 [100| 16 | 8 | 32 MS620
* MCMNN2020K12C-100 | 20 | 20 |125| 20 | 10 | 32
MS625 C12BM MLP46 MC620 S3 CN..1204..
* MCMNN2525M12C-100 | 25 | 25 |150| 25 |12.5| 32
* MCMNN3232P12C-100 | 32 | 32 (170 | 32 | 16 | 32 MS628

® TR %l: 1 MCMNN 2525M12C-100

o ‘X’ BRRBEER

® Ordering Example:1pcs MCMNN 2525M12C-100
® |nserts need to be ordered separately

® "[] "indicates standing stock

o JIRREMITHE

007



[

SNEZEHI T

A
( I\/I:I: ) External turning tool holder (M type)

Ffmea 93°
< © Main deflection
angle 93°

93° MDJUN.. 2 .

93°
€ L
RFSize(mm) Wkigte | MM | #5497 | B | ®RF | DK
7 = Model Stud bolts Shim Pin Pressure plate | Wrench Inserts
= = ode
a|b|L|h|f]e V4 < y 4 r~_ /o]

* MDJNR/L1616H11C 16 | 16 [100| 16 | 20 | 32 MS620

* MDJNR/L2020K11C 20 | 20 |125] 20 | 25 | 32 A —— D11BM VIR, — S2 oy

* MDJNR/L2525M11C 25|25 [150| 25 | 32 | 32 S3 h h
MDJNR/L3232P11C 32| 32|170| 32 | 40 | 32 MS628

* MDJNR/L2020K15C 20 | 20 |125] 20 | 25 | 38 —

* MDJNR/L2525M15C 25| 25 |150| 25 | 32 | 38
MDJNR/L3225P15C 32 | 25 |170| 32 | 32 | 38 MLP46L DN..1506..

* MDJNR/L3232P15C 32 | 32 |[170| 32 | 40 | 38 MS628
MDJNR/L4040R15C 40 | 40 |200| 40 | 50 | 38 D15BM MC622 S3

* MDJNR/L2020K1504C | 20 | 20 [125| 20 | 25 | 38 —

* MDJNR/L2525M1504C | 25| 25 |150| 25 | 32 | 38 VI DN 1504
MDJNR/L3225P1504C | 32 | 25 |170| 32 | 32 | 38 —— - -
MDJNR/L3232P1504C | 32 | 32 |170| 32 | 40 | 38

= R Size(mm) PUBS oy 3 ) Ei H £ E W) R F kR
9:F='J = Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]e 7 < V4 ~_ L7
MDJNR/L1616H11Z 16 | 16 [100| 16 | 20 | 32 DM6X20
MDJNR/L2020K11Z 20 | 20 |125] 20 | 25 | 32 S2
DM6X25 D11BM TM5X13 C1RD DN..1104..
MDJNR/L2525M11Z 25| 25 |150| 25 | 32 | 32 S3
MDJNR/L3232P11Z 32|32 |170| 32 | 40 | 32 —"
MDJNR/L2020K15Z2 20 | 20 |125] 20 | 25 | 38
MDJNR/L2525M15Z 25| 25 |150| 25 | 32 | 42 SR
MDJNR/L3225P15Z 32 | 25 |170| 32 | 32 | 42 TM6X19 DN..1506..
MDJNR/L3232P15Z2 32 | 32 |170| 32 | 40 | 42 Srer
MDJNR/L4040R15Z 40 | 40 |200| 40 | 50 | 38 D15BM C2RD S3
MDJNR/L2020K1504Z | 20 | 20 |125| 20 | 25 | 38
MDJNR/L2525M1504Z | 25 | 25 |[150| 25 | 32 | 38 DM6X25
TM6X17 DN..1504..
MDJNR/L3225P1504Z | 32 | 25 [170| 32 | 32 | 38
MDJNR/L3232P1504Z | 32 | 32 [170| 32 | 40 | 42 DM6X28
® TR fl: 1 MDJNR 2525M11C 11 MDJNL 2525M11C * R=HF L=LKF o JIRFEEMITH

008

kT ERTEEER

Ordering Example:1pcs MDJNR 2525M11C 1pcs MDJNL 2525M11C

Inserts need to be ordered separately

"[] "indicates standing stock

* R=right hand

L= left hand




4N &E JT1#FIExternal Tool Holder

gl\ E\E’U jj 1::|: ( Mﬂ ) External turning tool holder (M type)

FRf 62.5°
- © Main deflection
angle 62.5°
75° MDPN.. .
4, WY,
@
A —
e L
R~ Size(mm) WLigte 7] & H 5] E R R F ANy
gg _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f e Vg < V4 [ ] ~_ /57
* MDPNN1616H11C 16 | 16 |100| 16 | 8 | 35 MS620
* MDPNN2020K11C 20 | 20 |125[ 20 | 10 | 35 MS625 D11BM MLP34 VG620 S2 DN 1104
* MDPNN2525M11C 25 | 25 |150| 25 |12.5| 35 S3 - -
MDPNN3232P11C 32| 32 (170 32 | 16 | 42 MS628
* MDPNN2020K15C 20 | 20 |125| 20 |12.5| 42 MS625
* MDPNN2525M15C 25 | 25 |150| 25 |12.5| 42
MDPNN3225P15C 32 | 25 |170| 32 |12.5] 42 MLP46L DN..1506..
* MDPNN3232P15C 32 | 32 |170| 32 | 16 | 42 MS628
D15BM MC622 S3
MDPNN4040R15C 40 | 40 |200| 40 | 20 | 42
* MDPNN2020K1504C 20 | 20 |125| 20 |12.5| 42 MS625
* MDPNN2525M1504C 25| 25 |150| 25 |12.5| 42 MLP46 DN..1504..
MDPNN3232R1504C 32| 32 |170| 32 | 16 | 42 MS628
R~fSize(mm) WLt 4e VARE:] H 5T £ R R F AN
ﬁg _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|lL|nh|f]e 7 < ¥ 4 » r~ Va4
MDPNN1616H11Z 16 | 16 |100| 16 | 8 | 35 DM6X20
MDPNN2020K11Z 20 | 20 |125[ 20 | 10 | 35 S2
DM6X25 D11BM TM5X13 C1RD DN..1104..
MDPNN2525M11Z 25 | 25 |150| 25 |12.5| 35 S3
MDPNN3232P11Z 32 | 32 |170| 32 | 16 | 42 DM6X28
MDPNN2020K15Z 20 | 25 |125| 20 |12.5| 43
DM6X25
MDPNN2525M15Z 25 | 25 |150| 25 |12.5| 43
MDPNN3225P15Z 32 | 25 |170| 32 |12.5] 43 TM6X19 DN..1506..
MDPNN3232P15Z 32| 32 |170| 32 | 16 | 43 DM6X28
D15BM C2RD S3
MDPNN4040R15Z 40 | 40 |200| 40 | 20 | 43
MDPNN2020K1504Z 20 | 20 |125| 20 |12.5| 43 OMEX25
MDPNN2525M1504Z 25 | 25 |150| 25 |12.5| 43 TM6X17 DN..1504..
MDPNN3232R1504Z 32| 32170 32 | 16 | 43 DM6X28
® T Rfl: 14 MDPNN 2525M11C o JIREEMITH
ok SRINEEER

® Ordering Example:1pcs MDPNN 2525M11C
® |nserts need to be ordered separately
® "[] "indicates standing stock

009



[

SNEZEHI T

010

(M

HY

External turning tool holder (M type)

107° MDQN..

*1{mf 107.5°

Main deflection
angle 107.5°

R<FSize(mm) Wki2te VAN 5 E iR R F VAN
;:F=|J % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|nh]f]e 7 < V4 ~ VY4
* MDQNR/L1616H11C 16 | 16 [100| 16 | 20 | 32 MS620
* MDQNR/L2020K11C 20 | 20 |125] 20 | 25 | 32 S2
MS625 D11BM MLP34 MC620 DN..1104..
* MDQNR/L2525M11C 25| 25 |150| 25 | 32 | 32 S3
MDQNR/L3232P11C 32|32 |170| 32 | 40 | 32 MS628
* MDQNR/L2020K15C 20 | 20 [125| 20 | 25 | 38
* MDQNR/L2525M15C 25 | 25 [150| 25 | 32 | 38 MS625 o DN 1506..
MDQNR/L3225P15C 32| 25 |170| 32 | 32 | 38
* MDQNR/L3232P15C 32| 32 170| 32 | 40 | 38 MS628 MCE22 3
* MDQNR/L2020K1504C | 20 | 20 [125| 20 | 25 | 38 D15BM
* MDQNR/L2525M1504C | 25 | 25 |150| 25 | 32 | 38 MS625 VLG e
MDQNR/L3225P1504C | 32 | 25 [170| 32 | 32 | 38
MDQNR/L3232P1504C | 32 | 32 [170| 32 | 40 | 38 MS628
® T Rfl: 14 MDQNR 2525M11C 1 MDQNL 2525M11C * R=/F L=kKF o JIFEEMITI

® k" SRREEER

® Ordering Example:1pcs MDQNR 2525M11C 1pcs MDQNL 2525M11C

® |nserts need to be ordered separately

® "[] "indicates standing stock

*R=righthand L=lefthand




4N &E JT1#FIExternal Tool Holder

gl\ Eﬁu 73 1::|: ( Mﬂ ) External turning tool holder (M type)

1 R

- ®©| Main deflection
angle

MRGN..

’ﬂe |_ -

Riszenm) | GiEE [ 28] ®A [ EET B2 2K
g-g _% Model ud bolts im in ressure plate| renc nserts

alb|L|h|f]e 7 & ¥ 4 » ~
* MRGNR/L2020K12C | 20 | 20 |125| 20 | 25 | 32

MS625
* MRGNR/L2525M12C 25| 25 |150| 25 | 32 | 32 R12BM MLP46 VG620 s3 RN..1204
MRGNR/L3225P12C 32 | 25 (170| 32 | 32 | 32 Ve - v
MRGNR/L3232P12C 32 | 32 (170| 32 | 40 | 32
~FSi PU o) & H 5 E R w® F 7R
gg % Model R Size(mm) Stud bolts Shim Pin Pressure plate Wrench Inserts

alb|L|h|f]|e 7 -] ¥ 4 » ~
MRGNR/L2020K12Z | 20 | 20 |125| 20 | 25 | 32

DM6X25
MRGNR/L2525M12Z 25| 25 |150| 25 | 32 | 32 R12BM TMEX17 - - RN. 1204
MRGNR/L3225P12Z 32| 25|170| 32 | 32 | 32 OMEX28 - h
MRGNR/L3232P12Z 32 |32 (170| 32 | 40 | 32
o TR fil: 14 MRGNR 2525M12C 1% MRGNL 2525M12C * R=/F L=KF o JIRFEMITH

k" SRRERER

® Ordering Example:1pcs MRGNR 2525M12C 1pcs MRGNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately

® "[] "indicates standing stock

Fwfa -
< © Main deflection
MRDN "
“_L a o
e @
L —]
FSi WL ite 7B H E R w F
ﬂ -% Model stme(mm) Stud bolts Shim Pin Pressure plate| Wrench Inserts
alb|L|n|f]e 7 & V4 [ ~ ©
MRDNN2020K12C 20 | 20 |125| 20 | 10 | 32 ViEEE
* MRDNN2525M12C 25 | 25 ({150 | 25 (12.5| 32 G VIR e - T
* MRDNN3225P12C 32|25 (17032 | 6 | 32 VG v -
MRDNN3232P12C 32| 32 |170| 32 | 20 | 32
gg % MOde| Stud bolts Shim Pin Pressure plate| Wrench Inserts
alb|L|n|f|e| & - Y4 » | —
MRDNN2020K12Z 20 | 20 |125| 20 | 10 | 32
DM6X25
MRDNN2525M12Z 25 | 25 |150| 25 |12.5] 32 R12BM e — R s3 RN, 1204
MRDNN3225P12Z 32| 25 |170| 32 | 10 | 32 D - -
MRDNN3232P12Z 32 |32 (170| 32 | 20 | 32

o TR fl: 1 MRDNN2525M12C o TR EZEMITH

'k’ SRINEEER

® Ordering Example:1pcs MRDNN 2525M12C  * R=righthand L= left hand ® Inserts need to be ordered separately

® "[]"indicates standing stock 011



[

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type)

012

o

Fimea 45°
Main deflection
angle 45°

45° MSDN..
wL R
A/Zse )
R<FSize(mm) WL igte 7] & H 5] £ 1R w® F kR
gg _.l=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|[n[f]e 7 a2 ¥ 4 ~ ©
* MSDNN1616H09C 16 | 16 [100| 16 | 8 | 35 MS520 S09BM MLP34L MC515 S$2,82.5 SN..0903..
* MSDNN2020K12C 20 | 20 (125| 20 | 10 | 35 Ve
* MSDNN2525M12C 25| 25 |150| 25 |12.5] 35 S12BM MLP46 MC620 SN..1204..
* MSDNN3232P12C 32| 32 |170| 32 | 16 | 42 -
* MSDNN2525M15C 25 | 25 |125| 25 [12.5] 42 S
MSDNN3225P15C 32 | 25 |170| 32 |12.5| 42 S15BM MLP58 MC622 SN..1506..
* MSDNN3232P15C 32|32 |170| 32 | 16 | 42
* MSDNN3232P19C 32 |32 |170| 32 | 16 | 42 MS835 S19BM MLP68 MC825 S4 SN..1906..
§'_£ % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]e /7 -] V4 ~ ©
MSDNN2020K12Z 20 | 20 [125| 20 | 10 | 35 e
MSDNN2525M12Z 25 | 25 ({150 25 (12.5| 35 S12BM TM6X17 C1RD SN..1204..
MSDNN3232P12Z 32 |32 |170| 32 | 16 | 42 -
MSDNN2525M152 25 | 25 [125| 25 [12.5| 42 SV
MSDNN3225P152 32 | 25 |170| 32 |12.5| 42 S15BM TM8X21 C2RD SN..1506..
MSDNN3232P15Z 32|32 |170| 32 | 16 | 42
MSDNN3232P19Z 32|32 |170| 32 | 16 | 42 DM8X35 S19BM TM10X21 C5RD S4 SN..1906..
®iT4RH: 1# MSDNN 2525M12C o TNRBEMIT]
® k" SERRERETR
® Ordering Example:1pcs MSDNN 2525M12C ® Inserts need to be ordered separately

® "[]"indicates standing stock




4N &E JT1#FIExternal Tool Holder

= N 4 |J
gl\ E EU 7] ;l | ( M;_j:: ) External turning tool holder (M type)
W;ffh EfRf 75°
Main deflection
< ml angle75°

75° MSBN..
= :
7 L
Sl alb|L|n|fle]| = Y 4 [ I~ B
* MSBNR/L1616H12C | 16 | 16 |100| 16 | 13 | 32 | Ms620
* MSBNR/L2020K12C | 20 | 20 |125] 20 | 17 | 32
* MSBNR/L2525M12C 25 | 25 |150| 25 | 22 | 32 MS625 S12BM MLP46 MC620 SN..1204..
* MSBNR/L3225P12C 32 | 25 |170| 32 | 22 | 32
* MSBNR/L3232P12C |32 | 32 |170| 32 | 27 | 32 | Mms628 S3
* MSBNR/L2525M15C | 25 | 25 |150| 25 |22 |38 |
MSBNR/L3225P15C 32| 25 |170| 32 | 22 | 38 S15BM MLP58 MC622 SN..1506..
* MSBNR/L3232P15C 32| 32 |170| 32 | 27 | 38 MS628
* MSBNR/L3232P19C | 32 | 32 1170132 1 27 1 42 | o0 S19BM | MLP68 | MC825 sS4 SN..1906..
* MSBNR/L4040R19C | 40 | 40 |200| 40 | 35 | 42
R Size(mm) WaEE | NE | BE | ER | RE | AR
;::Eg _,g_ Model Stud bolts Shim Pin Pressure plate Wrench Inserts

a|b|L|h| f]|e Ve a V4 » ~ ©
MSBNR/L1616H12Z | 16 | 16 |100| 16 | 13 | 32 | DM6X20
MSBNR/L2020K12Z | 20 | 20 |125| 20 | 17 | 32
MSBNR/L2525M12Z 25| 25 |150| 25 | 22 | 32 DM6X25 S12BM TM6X17 C1RD SN..1204..
MSBNR/L3225M12Z 32 | 25 |150| 32 | 22 | 32
MSBNR/L3232P12Z 32 | 32 |170| 32 | 27 | 32 DM6X28
MSBNR/L2525M15Z | 25| 25 |150| 25 |22 |38 | _
MSBNR/L3225P15Z 32 | 25 |{170| 32 | 22 | 38 S15BM TM8X21 C2RD SN..1506..
MSBNR/L3232P15Z 32 | 32 |{170| 32 | 29 | 38 DM6X28
MSBNR/L3232P19Z 32 | 32 |170| 32 | 27 | 42
MSBNR/L4040R19Z | 40 | 40 |200| 40 | 35 | 42

S3

DM8X35 S19BM TM10X21 C5RD4 S4 SN..1906..

o T ~fl: 11 MSBNR 2525M12C 1% MSBNL 2525M12C *R=/F L=%kKF o JIREFEEMITH
“hT ERTEEER

Ordering Example:1pcs MSBNR 2525M12C 1pcs MSBNL 2525M12C  * R=righthand L=left hand

Inserts need to be ordered separately

"[1"indicates standing stock

013



[

SNEZEHI T

014

J]
( Mﬁ: ) External turning tool holder (M type)

ERA 75°
© Main deflection
angle 75°
93° MSKN..
L
R<Size(mm) PUBS: g2 7B H £] E ] R F 7R
il_] _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|n|f]e 7 a V4 ~ ]
* MSKNR/L1616H12C 16 | 16 |100| 16 | 20 | 32 MS620
* MSKNR/L2020K12C 20 | 20 |125] 20 | 25 | 32
* MSKNR/L2525M12C 25| 25 |150| 25 | 32 | 32 MS625 S12BM MLP46 MC620 SN..1204..
* MSKNR/L3225P12C 32 | 25 |170| 32 | 32 | 32 3
* MSKNR/L3232P12C 32|32 |170| 32 | 40 | 32 MS628
* MSKNR/L2525M15C 25 | 25 |150| 25 | 32 | 38 —
MSKNR/L3225P15C 32|25 |170| 32 | 32 | 38 S15BM MLP58 MC622 SN..1506..
* MSKNR/L3232P15C 32 | 32 |170| 32 | 40 | 38 MS628
* MSKNR/L3232P19C 32 | 32 |170| 32 | 40 | 45
MS835 S19BM MLP68 MC825 S4 SN..1906..
*x MSKNR/L4040R19C 40 | 40 |200| 40 | 40 | 45
R<tSize(mm) wkigie | DB | #49 | BER | ®RFE | DK
g-g % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|n|f]e 7/ a V4 ~ )
MSKNR/L1616H12Z 16 | 16 [100| 16 | 20 | 32 DM6X20
MSKNR/L2020K12Z 20 | 20 |125] 20 | 25 | 32 ren
MSKNR/L2525M12Z 25| 25 |150| 25 | 32 | 32 S12BM TM6X17 C1RD SN..1204..
MSKNR/L3225M12Z 32 | 25 |150| 32 | 32 | 32
DM6X28 S3
MSKNR/L3232P12Z 32 | 32 |170| 32 | 40 | 32
MSKNR/L2525M15Z 25 | 25 |150| 25 | 32 | 38 DM6X25
MSKNR/L3225P15Z 32 |25 |170| 32 | 32 | 38 DM6EX28 S15BM TM8X21 C2RD SN..1506..
MSKNR/L3232P15Z 32 |32 |170| 32 | 40 | 38
MSKNR/L3232P19Z 32 |32 |170| 32 | 40 | 45
DM8X35 S19BM TM10X21 C5RD S4 SN..1906..
MSKNR/L4040R19Z 40 | 40 |200| 40 | 50 | 45
o TR fl: 1 MSKNR 2525M12C 1 MSKNL 2525M12C * R=FHFF L=kF e IR EEMITH

® k7 SRTERER

Ordering Example:1pcs MSKNR 2525M12C 1pcs MSKNL 2525M12C

Inserts need to be ordered separately

"[] "indicates standing stock

* R=right hand

L= left hand




4N &E JT1#FIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type)

1 Fiwme 75°
< © Main deflection
angle 75°

75° MSRN..

9 L g
R<Size(mm) PUBS Y2 o) & H £ E ) W F 7R
g.g % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e Vg = & » ~ @
* MSRNR/L1616H12C 16 | 16 [100| 16 | 17 | 36 MS620
* MSRNR/L2020K12C 20 | 20 |125| 20 | 22 | 36
* MSRNR/L2525M12C 25| 25 |150| 25 | 27 | 36 MS625 S12BM MLP46 MC620 SN..1204..
* MSRNR/L3225P12C 32 | 25 |170| 32 | 27 | 36
* MSRNR/L3232P12C | 32 | 32 |170| 32 | 35 | 36 | Ms628 s3
* MSRNR/L2525M15C 25 | 25 [150| 25 | 27 | 40 S
MSRNR/L3225P15C 32 | 25 |170| 32 | 27 | 40 S15BM MLP58 MC622 SN..1506..
* MSRNR/L3232P15C 32132 |170| 32 | 35 | 40 MS628
* MSRNR/L3232P19C 321821170 32 | 35 ) 45 MS835 S19BM MLP68 MC825 S4 SN..1906..
* MSRNR/L4040R19C 40 | 40 |200| 40 | 35 | 45
R~ Size(mm) PUSS: {2 7 & H §] E R w®F VAT
gg % Model Stud bolts Shim Pin Pressure plate Wrench Inserts

a|b|L|h|f]|e 7 2 V4 » ~ a
MSRNR/L1616H12Z | 16 | 16 |100| 16 | 17 | 36 | DM6X20
MSRNR/L2020K12Z | 20|20 12520 |22 |36 | _
MSRNR/L2525M12Z 25| 25 |150| 25 | 27 | 36 S12BM TM6X17 C1RD SN..1204..
MSRNR/L3225M12Z |32 | 25 |150 | 32 | 27 | 36
MSRNR/L3232P12Z |32 | 32 |170| 32 | 35 | 36
MSRNR/L2525M15Z | 25 | 25 |150| 25 | 27 | 40 | DM6X25
MSRNR/L3225P15Z 32 | 25 |170| 32 | 27 | 40 S15BM TM8X21 C2RD SN..1506..

DM6X28 S3

DM6X28
MSRNR/L3232P15Z 32 | 32 |170| 32 | 35 | 40
MSRNR/L3232P192 52132 1170 32 | 35 | 45 DM8X35 S19BM TM10X21 C5RD S4 SN..1906
MSRNR/L4040R19Z 40 | 40 |200| 40 | 35 | 45 v v
o T8/~ fjl: 1¥F MSRNR 2525M12C 1 MSRNL 2525M12C * R=/F L=kKF o JIREEMITM

k" SRAEERER

® Ordering Example:1pcs MSRNR 2525M12C 1pcs MSRNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately

® "[] "indicates standing stock

015



[

SNEZEHI T

016

(MZ2)

External turning tool holder (M type)

il

Eiwm 45°
Main deflection
angle 45°

45° MSSN.. % - vz
&
—®)
e L [
R~FSize(mm) WL i2te 7 &8 H & E & R F kR
il_] _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]e ” a & ~_ (]
* MSSNR/L1616H09C 16 | 16 [100| 16 | 20 | 28 VEGaT SO V[P Vs S3 ey
* MSSNR/L2020K09C 20 | 20 |125| 20 | 25 | 28 S2
* MSSNR/L1616H12C 16 | 16 [100| 16 | 20 | 32 MS620
* MSSNR/L2020K12C 20 | 20 [125| 20 | 25 | 32
* MSSNR/L2525M12C 25| 25 |150| 25 | 32 | 32 MS625 S12BM MLP46 MC620 SN..1204..
MSSNR/L3225P12C 32 | 25 |170| 32 | 32 | 32 -
* MSSNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 MS628
* MSSNR/L2525M15C 25 | 25 (150 25 | 32 | 38 e~
MSSNR/L3225P15C 32 |25 |170| 32 | 32 | 38 S15BM MLP58 MC622 SN..1506..
*x MSSNR/L3232P15C 32 | 32 |170| 32 | 40 | 38 MS628
* MSSNR/L3232P19C 3232|170 32 | 40 | 42 MS835 S19BM MLP68 MC825 S4 SN..1906..
* MSSNR/L4040R19C 40 | 40 |200| 40 | 50 | 42
R~fSize(mm) W ki2ie ) 2 H £ E R R F ANy
g-g % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]e 7 a & ~_ B
MSSNR/L1616H09Z 16 | 16 [100| 16 | 20 | 28 e e .y SO S3 _ry
MSSNR/L2020K09Z 20 | 20 [125| 20 | 25 | 28 S2
MSSNR/L1616H12Z 16 | 16 [100| 16 | 20 | 32 DM6X20
MSSNR/L2020K12Z 20 | 20 [125| 20 | 25 | 32
MSSNR/L2525M12Z 25| 25 |150| 25 | 32 | 32 DM6X25 S12BM MLP46 C1RD SN..1204..
MSSNR/L3225M12Z 32 | 25 |150| 32 | 32 | 32
MSSNR/L3232P12Z 32 | 32 |170| 32 | 40 | 32 DM6X28 e
MSSNR/L2525M15Z 25 | 25 (150| 25 | 32 | 38 SV
MSSNR/L3225P15Z2 32 | 25 |170| 32 | 32 | 38 S15BM MLP58 C2RD SN..1506..
MSSNR/L3232P15Z 32 | 32 |170| 32 | 40 | 38 DM6X28
MSSNR/L3232P192 321321170 32 | 40 ) 42 DM8X35 S19BM MLP68 C5RD S4 SN..1906..
MSSNR/L4040R19Z 40 | 40 [200| 40 | 50 | 42
o T4 Rfl: 11 MSSNR 2525M12C 1% MSSNL 2525M12C * R=AF L=KF o JIFEEMITH
o k" SRINEEER
® Ordering Example:1pcs MSSNR 2525M12C 1pcs MSSNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately
LI

"indicates standing stock




4N &E JT1#FIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type)

- R 60°
- l © Ma;r;gglggyon
60° MTEN.. I @
] €
69 - -
] ]
R~ Size(mm) XL i2te 7] B H 5 E R R F AN
ﬂ % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]e e & V4 ™ r~ AN
* MTENN1616K16C 16 | 16 | 100 16 | 8 | 32 MS620
* MTENNZ2020K16C 20 | 20 |125| 20 | 10 | 32 T = S2 —1 s
* MTENN2525M16C 25|25 [150| 25 [12.5| 32 MS625 VG620 S3 - N
* MTENN3232P16C 32|32 |170| 32 | 14 | 32
* MTENN3232P22C 32|32 |170| 32 | 16 | 38
MS628 T22BM MLP46 S3 TN..2204..
MTENN4040R22C 40 | 40 |200| 40 | 20 | 38
R~ Size(mm) EXRR2 7] B RO | BEER | R F 7R
gg = Model Stud bolts Shim Center pin | Wedgeshaped Wrench Inserts
=7 ode pressurepf;te N
alb|L|h|f]e o a & T~ A
WTENN1616K16C 16 | 16 [100| 16 | 8 | 32
WTENN2020K16C 20 | 20 |125| 20 | 10 | 32 WCS525 T16BM CCP33 WCT16 S2,S3 TN..1604..
WTENN2525M16C 25 | 25 |150| 25 |12.5| 32
o Tt Rfl: 14 MTENN 2525M16C o JIREEMITH

o'k” SRTEEER

® Ordering Example:1pcs MTENN 2525M16C
® |nserts need to be ordered separately
® "[] "indicates standing stock

017



[

SNEZEHI T

J]
( Mﬁ: ) External turning tool holder (M type)

90° MTFN..

Ffmea 90°
Main deflection
angle 90°

3

*| 90, [©) ©
e L
R~FSize(mm) XL iRe VAN ] H & 3 w F ANy
;:FIU _.l=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|lL|n|f]e 7 a ¥ 4 ~ 2N
* MTFNR/L1616H16C 16 | 16 |100| 16 | 20 | 32 MS620
* MTFNR/L2020K16C 20 | 20 [125] 20 | 25 | 32 VS625 o
* MTFNR/L2525M16C 25| 25 [150| 25 | 32 | 32 T16BM MLP34 <3 TN..1604..
MTFNR/L3225P16C 32|25 |170| 32 | 32 | 32
MS628 MC620
* MTFNR/L3232P16C 32|32 |170| 32 | 40 | 32
* MTFNR/L2525M22C 25| 25 [150| 25 | 32 | 38 MS625
MTFNR/L3225P22C 32|25 |170| 32 | 32 | 38 VS628 T22BM MLP46 S3 TN..2204..
* MTFNR/L3232P22C 32|32 |170| 32 | 40 | 38
R<fSize(mm) W ELiZ2ie J] & H 5] : & F A=Y
g-g % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e 7 a y 4 ~_ AN
MTFNR/L1616H16Z 16 | 16 [100| 16 | 20 | 32 | DM6X20
MTFNR/L2020K16Z 20 | 20 [125] 20 | 25 | 32
DM6X25 S2
MTFNR/L2525M16Z 25| 25 [150| 25 | 32 | 32 T16BM TM5X13 3 TN..1604..
MTFNR/L3225M16Z 32|25 |150| 32 | 32 | 32
DM6X28 C1RD
MTFNR/L3232P16Z 32|32 |170| 32 | 40 | 32
MTFNR/L2525M22Z 25| 25 [150| 25 | 32 | 36 | DM6X25
MTFNR/L3225P22Z 32|25 |170| 32 | 32 | 36 OMEX28 T22BM TM6X17 sS3 TN..2204..
MTFNR/L3232P22Z 32| 32 |170| 32 | 40 | 36
o T Rfl: 14 MTFNR 2525M16C 1% MTFNL 2525M16C * R=AF L=4KF o JIREEMITHY

o X’ BERTEEER

® Ordering Example:1pcs MTFNR 2525M16C 1pcs MTFNL 2525M16C  * R=righthand L= left hand
® [nserts need to be ordered separately

® "[] "indicates standing stock

018




4N &E JT1#FIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type)

F1mmE0°
< © Main deflection
angle 90°
90° MTGN.. -
| (Re B R
HE e
E L
R~ Size(mm) WLt 7B i §] 5 | F 7R
g.g _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|[L|h|f]|e 7 a ¥ 4 | ~_
* MTGNR/L1616H16C 16 | 16 [100| 16 | 20 | 33 MS620
*x MTGNR/L2020K16C 20 | 20 |125] 20 | 25 | 33

MS625 S2
* MTGNR/L2525M16C 25| 25 |150| 25 | 32 | 33 T16BM MLP34 TN..1604..

MTGNR/L3225P16C | 32 | 25 |170| 32 | 32 | 33 S3
* MTGNR/L3232P16C | 32 | 32 [170| 32 | 40 | 33
* MTGNR/L2525M22C | 25 | 25 |150| 25 | 32 | 35 | wmse25

MTGNR/L3225P22C 32|25 |170| 32 | 32 | 35 T22BM MLP46 S3 TN..2204..

MS628 MC620

MS628
* MTGNR/L3232P22C 32|32 |170| 32 | 40 | 35
R~fSize(mm) WSk igige AR tH 5T = R F ANy
ﬁg % Model Stud bolts Shim Pin Pressure plate Wrench Inserts

a|b|L|h|f]|e 7 2 V4 » ~
MTGNR/L1616H16Z 16 | 16 |100| 16 | 20 | 33 DM6X20
MTGNR/L2020K16Z 20 | 20 |125] 20 | 25 | 33

DM6X25 S2
MTGNR/L2525M16Z 25| 25 |150| 25 | 32 | 33 T16BM TM5X13 TN..1604..

S3
MTGNR/L3225M16Z 32 | 25 |150| 32 | 32 | 33
DM6X28 C1RD

MTGNR/L3232P16Z 32 | 32 |170| 32 | 40 | 33

MTGNR/L2525M222 25 | 25 (150 25 | 32 | 35 DM6X25

MTGNR/L3225P22Z 32 |25 |170| 32 | 32 | 35 S T22BM TM6X17 S3 TN..2204..
MTGNR/L3232P22Z 32 | 32 |170| 32 | 40 | 35

o T/~ 1 MTGNR 2525M16C 1 MTGNL 2525M16C * R=HFF L=LKF o JIREEMITMH

® k7 SRTEEER

Ordering Example:1pcs MTGNR 2525M16C 1pcs MTGNL 2525M16C  * R=righthand L= left hand
Inserts need to be ordered separately

"[] "indicates standing stock

019



[

SNEZEHI T

020

A
( I\/I:I: ) External turning tool holder (M type)

Fimeg 93°
© Main deflection
“ angle 93°
o A
93° MTUN.. 2 sy \N . r
93°e - %
L
R~ Size(mm) XLiRte 7] & 5 5 wmF 7R
;:F:t:u _.I=I5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e 7 PN ¥ 4 ~
*x MTJNR/L1616H16C 16 | 16 [100| 16 | 20 | 33 MS620
*x MTJNR/L2020K16C 20 | 20 |125| 20 | 25 | 33 — s2
* MTJNR/L2525M16C 25 | 25 [150| 25 | 32 | 33 T16BM MLP34 TN..1604..
* MTUNR/L3225P16C |32 | 25 [170| 32 |32 | 33 | 83
* MTJNR/L3232P16C 32 | 32 |170| 32 | 40 | 33 MC620
*x MTJNR/L2525M22C 25 | 25 |150| 25 | 32 | 36 MS625
* MTJUNR/L3225P22C 32 |25 |170| 32 | 32 | 36 T29BM VIl s3 TN..2204..
* MTJNR/L3232P22C 32 | 32 |170| 32 | 40 | 36 MS628
* MTJNR/L4040R22C 40 | 40 |200| 40 | 50 | 36
R~ Size(mm) ERR 7] & ROE | BEER | R F 7R
9_}.2 .% Model Stud bolts Shim Center pin ‘{)Vrggggfehgafg Wrench Inserts
a|b|L|h| f]|e o a & ~ AN
*x WTJNR/L1616K16C 16 | 16 [100| 16 | 20 | 32
* WTJNR/L2020K16C 20 | 20 |125| 20 | 25 | 32
* WTJINR/L2525M16C 25 | 25 |150| 25 | 32 | 32 WCS525 T16BM CCP33 WCT16 S3 TN..1604..
WTJINR/L3225P16C 32 | 25 |170| 32 | 32 | 32
WTJNR/L3232P16C 32 | 32 |170| 32 | 40 | 32
R~tSize(mm) Wkigre | 7] B W 5T E R R F R
;:FIU % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e 7 o ¥ 4 I~ AN
MTJNR/L1616H16Z 16 | 16 [100| 16 | 20 | 33 DM6X20
MTJNR/L2020K16Z 20 | 20 |125| 20 | 25 | 33
DM6X25 S2
MTJINR/L2525M16Z 25| 25 |150| 25 | 32 | 33 T16BM TM5X13 @o TN..1604..
MTJINR/L3225M16Z 32 | 25 |150| 32 | 32 | 33 S
MTJINR/L3232P16Z 32 |32 |170| 32 | 40 | 33 C1RD
MTJINR/L2525M22Z 25 | 25 |150| 25 | 32 | 36 DM6X25
MTJNR/L3225P22Z 32 |25 |170| 32 | 32 | 36
MTJNR/L3232P22Z 32|32 [170] 32 | 40 | 36 | DM6X28 T22BM TMex s3 TN.2204..
MTJNR/L4040R22Z 40 | 40 |200| 40 | 50 | 36
o Tt RfHl: 1 MTIJNR 2525M16C 1% MTJNL 2525M16C * R=HFF L=LKF e JIREEMITH

® k7 SRTEEER

Ordering Example:1pcs MTJNR 2525M16C 1pcs MTJNL 2525M16C

Inserts need to be ordered separately

"[] "indicates standing stock

*R=right hand

L= left hand




4N &E JT1#FIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type)

Fime 93°
© Main deflection
angle 93°
93° MTJN..P B .
— B
) |
R Size(mm) L2 4 7 &8 H & E 1R w F 7R
gg _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L n|t]e 7 a ¥ 4 » r~_
MTJNR/L2020K16P 20 | 20 |125| 20 | 25 | 33 DM6X25 .
MTJNR/L2525M16P 25| 25 (150 25 | 32 | 33 DM6X30 T16BM TM5X13 C1RD 53 TN..1604..
MTJNR/L3225P16P 32 | 25 |170| 32 | 32 | 33
MTJNR/L2525M22P 25 | 25 |150| 25 | 32 | 36
MTJNR/L3225P22P 32 | 25 [170| 32 | 32 | 36 DM6X30 T22BM TM6X17 C2RD S3 TN..2204..
O]t Rf: 14 MTINR 2525M16 1% MTJNL 2525M16 * R=HF L=£KF o JIREEMITHY

k" SRANEEETR

® Ordering Example:1pcs MTINR 2525M16 1pcs MTJINL 2525M16  * R=right hand L= left hand
® |nserts need to be ordered separately
°

"[] "indicates standing stock

ﬁ A 105°
< © Main deflection
< angle 105°
105° MTQN.. ] 1 el t
wos"e ) -
R Size(mm) PSR EES 7] e £ 1R wF VAN
gg _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts

alb|L|h|f]e V4 a & » ~__

* MTQNR/L1616H16C 16 | 16 |100| 16 | 20 | 32 MS620

* MTQNR/L2020K16C | 20| 20 125/ 20 |25 |32 | o

* MTQNR/L2525M16C 25 | 25 |150| 25 | 32 | 32 T16BM MLP34 o TN..1604..
MTQNR/L3225P16C 32 | 25 |170| 32 | 32 | 32

* MTQNR/L3232P16C 32| 32 |170| 32 | 40 | 32

* MTQNR/L2525M22C | 25 | 25 |150| 25 | 32 | 38 | Ms625
MTQNR/L3225P22C 32| 25 |170| 32 | 32 | 38 T22BM MLP46 S8 TN..2204..

MS628 MC620

MS628
* MTQNR/L3232P22C 32 | 32 |170| 32 | 40 | 38
~FSi ERiR2 B g | BEER | R F 7]
ﬂ % Model b Stud bolts Shim Center pin ‘évrggggrsehsaﬁg Wrench |nse£t:|:
alb|L|h|f]e o = & < ~ /A

WTQNR/L1616K16C 16 | 16 [100| 16 | 20 | 32
WTQNR/L2020K16C 20 | 20 |125] 20 | 25 | 32
WTQNR/L2525M16C 25 | 25 |150| 25 | 32 | 32 WCS525 T16BM CCP33 WCT16 S3 TN..1604..
WTQNR/L3225P16C 32 | 25 |[170| 32 | 32 | 32
WTQNR/L3232P16C 32 |32 |170| 32 | 40 | 32

o T8 RBl: 14 MTQNR 2525M16C 1 MTQNL 2525M16C *R=/FF L=4KF o JIREEMITHY

o k" SRINEEBER

® Ordering Example:1pcs MTQNR 2525M16C 1pcs MTQNL 2525M16C  * R=righthand L=left hand ® Inserts need to be ordered separately

® "[] "indicates standing stock 021




/i

SNEZEHI T

J]
( Mﬁ: ) External turning tool holder (M type)

Ffwmm 93°
< © Main deflection
angle 93°
93° MVJN.. 777,
- ® ° P
1 ~ \Q\
93 e . '
R~ Size(mm) W ELi24e J] 3 i 5] : R F 7R
gg _,|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h| f|e 4 - y 4 ~_ L7
*x MVJNR/L1616H16C 16 | 16 | 100| 16 | 20 | 45 MS620
*x MVJNR/L2020K16C 20 | 20 |125| 20 | 25 | 45 A ——
* MVJNR/L2525M16C 25| 25 |150| 25 | 32 | 45 S2
V16BM MLP34 MC624 VN..1604..
MVJNR/L3225P16C 32 | 25 |170| 32 | 32 | 45 S3
* MVJNR/L3232P16C 32 |32 |170| 32 | 40 | 45 MS628
* MVJNR/L4040P16C 40 | 40 |170| 40 | 50 | 45
o R Size(mm) wligie | D®m | ®mY | ER | RE | DK
;:F::J = Model Stud bolts Shim Pin Pressureplate | Wrench Inserts
al|b|L|h|f| e P 4 = y 4 F~— L7
MVJNR/L1616H16Z 16 | 16 | 100| 16 | 20 | 45 DM6X20
MVJNR/L2020K16Z 20 | 20 |125| 20 | 25 | 45 S
MVJINR/L2525M16Z 25| 25 |150| 25 | 32 | 45 S2
V16BM TM5X13 C3RD VN..1604..
MVJNR/L3225P16Z 32 | 25 |170| 32 | 32 | 45 S3
MVJNR/L3232P16Z 32 | 32 |170| 32 | 40 | 45 DM6X28
MVJINR/L4040P16Z 40 | 40 |170| 40 | 50 | 45

o T Rfl: 14 MTINR 2525M16C
ok BRRERER

1 MTJNL 2525M16C * R=HFF L=KF o T REFEEMITH

® Ordering Example:1pcs MTINR 2525M16C 1pcs MTJNL 2525M16C  * R=right hand L=left hand
® |nserts need to be ordered separately

® "[] "indicates standing stock

022




4N &E JT1#FIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type)

\ FwmE 117.5°
< © Main deflection
angle 117.5°
117° MVQN.. -
T 117° 30"
€ L
R<FSize(mm) Wkegee | DB | @y | E&R | RF | DK
gg _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e & - V4 [iead F~ o7
* MVQNR/L2020K16C 20 | 20 [125| 20 | 25 | 38 MS620 MC620 -
* MVQNR/L2525M16C 25 | 25 (150 25 | 32 | 38 V16BM MLP34 VN..1604..
MS628 MC622 S3
* MVQNR/L3232P16C 32| 32 |170| 32 | 40 | 38
e ] xff: 1 MVQNR 2525M16C 1 MVQNL 2525M16C * R=/AF L=X£KF o JIREFEEMITHY
k" SRRERER
® Ordering Example:1pcs MVQNR 2525M16C 1pcs MVQNL 2525M16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
EimA 72.5°
‘ Main deflection
< © angle 72.5°
72° 30° MVVN..
»L :-
72 30’ -
L
R Size(mm) WLt ) H §] £ ) " F 7R
?__:Fé % Model Stud bolts Shim Pin Pressure plate | Wrench Inserts
alb|L|h|f]e P g <o Y 4 > ~_ Lo
* MVVNN1616H16C 16 | 16 [100| 16 | 8 | 45 MS620
* MVVNN2020K16C 20 | 20 [125| 20 | 10 | 45 A —
* MVVNN2525M16C 25 | 25 [150| 25 [12.5| 45 V16BM MLP34 MC624 S2 VN..1604..
* MVVNN3225P16C 32| 25 |170| 32 | 16 | 45 e S3
* MVVNN3232P16C 32 | 32 |170| 32 | 20 | 45
o T = fl: 1 MVVNR 2525M16C 1% MVVNL 2525M16C * R=AF L=KLKF o JIREEMITN

0 k” SRTEEETR

Ordering Example:1pcs MVVNR 2525M16C 1pcs MVVNL 2525M16C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

023



[

SNEZEHI T

024

J]
( Mﬁ: ) External turning tool holder (M type)

1w 95°
< © Main deflection
angle 95°
5 ]
o ,\
95° MWLN.. T A ?
L
R~fSize(mm) WL igte 7] H & £ R w F VAN
;:FIIJ _.I=I5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|lL|h|f]e 7 a y 4 ~
* MWLNR/L1616H06C 16 | 16 | 100| 16 | 20 | 30 -
* MWLNR/L2020K06C 20 | 20 [125| 20 | 25 | 30 MS520 W06BM MLP34 MC515 5 WN..0604..
* MWLNR/L2525M06C 25| 25 [150| 25 | 32 | 30 ’
* MWLNR/L1616H08C 16 | 16 |100| 16 | 20 | 30
* MWLNR/L2020K08C 20 | 20 |125| 20 | 25 | 30 MS625
* MWLNR/L2525M08C 25| 25 |150| 25 | 32 | 35
WO08BM MLP46 MC620 S3 WN..0804..
* MWLNR/L3225P08C 32|25 |170| 32 | 32 | 35
* MWLNR/L3232P08C 32 | 32 |170| 32 | 40 | 35 MS628
* MWLNR/L4040P08C 40 | 40 |200| 40 | 50 | 35
<FSi WL ige 7 E O | BEIER | R F 7R
o= Model R Size(mm) Stud bolts Shim CE(!,::nerEn \;/Egggrsehga%g Wrench Inserts
= = a|b|L|h|f]|e 7 a ~
WWLNR/L2020K06C 20 | 20 |100| 20 | 25 | 32 WO06BM CCP33 WCWO06 WN..0604..
* WWLNR/L2020K08C 20 | 20 |100| 20 | 25 | 32 . -
* WWLNR/L2525M08C 25 | 25 |150| 25 | 32 | 32 WO08BM CCP34 WCWO08 WN..0804..
WWLNR/L3232P08C 32 |32 |170| 32 | 40 | 32
R Size(mm) L dge 7] H & 5 w F 7R
;::F.g _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a/b|L|h|f]|e 7 a y 4 I~ 10
MWLNR/L1616H06Z 16 | 16 | 100| 16 | 20 | 30 -
MWLNR/L2020K06Z 20 | 20 |125| 20 | 25 | 30 DM5X20 WO06BM TM5X13 C1RD 5 WN..0604..
MWLNR/L2525M06Z 25| 25 |150| 25 | 32 | 30
MWLNR/L1616H08Z 16 | 16 |100| 16 | 20 | 30 DM6X20
MWLNR/L2020K08Z 20 | 20 |125| 20 | 25 | 30 S
MWLNR/L2525M08Z 25| 25 150 25 | 32 | 35
WO08BM TM6X17 C1RD S3 WN..0804..
MWLNR/L3225P08Z 32 |25 |170| 32 | 32 | 35
MWLNR/L3232P08Z 32|32 |170| 32 | 40 | 35 DM6X28
MWLNR/L4040P08Z 40 | 40 |200| 40 | 50 | 35
® TR fl: 1 WWLNR 2525M08C 1+ WWLNL 2525M08C * R=%/F L=4kF o JIRFEMITY
ok SRREEETR
® Ordering Example:1pcs WWLNR 2525M08C 1pcs WWLNL 2525M08C  * R=right hand L= left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock




4N &E JT1#FIExternal Tool Holder

gl\ E \E’U jj 1::|: ( Pﬁg) External turning tool holder (P type)

- FEiwe 75°
I @\© < Main deflection
< angle 75°
A
A

75° PCBN.. T L -
*

TEY :

R~ Size(mm) ALFFERET = T+ =R wmF ANy
g_g % Model Lever screw Shlm Lever Stop pin Wrench Inserts
alb|L|h|f]e| o® e, ' [ ~
* PCBNR/L2020K12C 20 | 20 [125| 20 | 17 | 27
* PCBNR/L2525M12C 25| 25 |150| 25 | 22 | 27 MCS821 C12BP L4 SP4 CN..1204..
* PCBNR/L3232P12C 32 | 32 |170| 32 | 27 | 32 s3
*x PCBNR/L2525M16C 25| 25 150 25 | 22 | 33
* PCBNR/L3232P16C 32 | 32 |170| 32 | 27 | 33 MCS825 C16BP L5 SP5 CN..1606..
PCBNR/L4040S16C 40 | 40 [250| 40 | 35 | 33
* PCBNR/L3232P19C 32|32 |170| 32 | 27 | 38
MCS1027 C19BP L6 SP6 S4 CN..1906..
* PCBNR/L4040S19C 40 | 40 |250| 40 | 35 | 38
PCBNR/L4040S2507C | 40 | 40 |250| 40 | 35 | 50 C25BP CN..2507..
MCS1236 L8 SP8 S5
PCBNR/L4040S2509C | 40 | 40 [250| 40 | 35 | 50 C25BP09 CN..2509..
o JT#Rfl: 14 PCBNR 2525M12C 1#£ PCBNL 2525M12C % R=/F L=%kF o JIRFEMITH
o “k7 SRINERER
® Ordering Example:1pcs PCBNR 2525M12C 1pcs PCBNL 2525M12C  * R=righthand L= left hand ® Inserts need to be ordered separately
® "[] "indicates standing stock

FlmA 95°
— ) 2 Main deflection
angle 95°
o (b‘;
95° PCLN.. /; L
; f
< ®
R~ Size(mm) FLAFARET = T =] wF 7R
FH = Lever screw Shim Lever Stop pin Wrench Inserts
4 =5 Model h
alb|L|[nh|f]e| o® e, ' N ~ (o)
PCLNR/L1616H09C 16 | 16 [100| 16 | 20 | 20
PCLNR/L2020K09C 20 | 20 |125| 20 | 25 | 22 MCS617 C09BP L3 SP3 S2.5 CN..0903..
PCLNR/L2525M09C 25| 25 |150| 25 | 32 | 22
* PCLNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
* PCLNR/L2525M12C 25| 25 |150| 25 | 32 | 33
MCS821 C12BP L4 SP4 CN..1204..
PCLNR/L3225P12C 32| 25 |170| 32 | 32 | 33
* PCLNR/L3232P12C 32|32 |170| 32 | 40 | 33 -
* PCLNR/L2525M16C 25| 25 |150| 25 | 32 | 33
PCLNR/L3225P16C 32| 25|170| 32 | 32 | 33
MCS825 C16BP L5 SP5 CN..1606..
* PCLNR/L3232P16C 32|32 |170| 32 | 40 | 33
PCLNR/L4040S16C 40 | 40 |250| 40 | 50 | 38
* PCLNR/L3232P19C 32|32 |170| 32 | 40 | 38
MCS1027 C19BP L6 SP6 S4 CN..1906..
* PCLNR/L4040S19C 40 | 40 |250| 40 | 50 | 38
PCLNR/L4040S2507C 40 | 40 |250| 40 | 50 | 48 C25BP CN..2507..
MCS1236 L8 SP8 S5
PCLNR/L4040S2509C 40 | 40 |250| 40 | 50 | 48 C25BP09 CN..2509..
o iTHR{: 14 PCLNR 2525M12C 1% PCLNL 2525M12C *R=HAF L=KF o JIFFEEMITM
o ‘X’ SERRERET

® Ordering Example:1pcs PCLNR 2525M12C 1pcs PCLNL 2525M12C * R=righthand L=lefthand
e Inserts need to be ordered separately e "[I "indicates standing stock 025



[

SNEZEHI T

026

(P

U

=

)

External turning tool holder (P type)

Fimea 93°
- Ja < Main deflection
ﬂ@ v angle 93°
93° PDJN.. e L -
ghs T =B
L
R~ Size(mm) FLATERET ) i+ 8 wF 7R
il_] _% Model Lever screw Shim Lever Stop pin Wrench Inserts
a|lb|L|h| f|e o < | ™ 5 ~_ 7
* PDJNR/L1616H11C 16 | 16 |100| 16 | 20 | 25
* PDJNR/L2020K11C 20 | 20 [125| 20 | 25 | 25 MCS617 D11BP £3 SP3 S2.5 DN..1104..
* PDJNR/L2525M11C 25 | 25 |150| 25 | 32 | 30
* PDJNR/L2020K15C 20 | 20 ({125| 20 | 25 | 35
* PDJNR/L2525M15C 25 | 25 |150| 25 | 32 | 35 L4B DN..1506..
* PDJNR/L3232P15C 32 | 32 |[170| 32 | 40 | 35
MCS821 D15BP SP4 S3
* PDJNR/L2020K1504C | 20 | 20 |125| 20 | 25 | 35 14
* PDJNR/L2525M1504C | 25 | 25 |150| 25 | 32 | 35 DN..1504..
PDJNR/L3232P1504C | 32| 32 [170| 32 | 40 | 35
o T RMBl: 1 PDJNR 2525M15C 1% PDJNL 2525M15C * R=AF L=EKEF o JIRFEMITH
® ‘X" SRRAEERER
® Ordering Example:1pcs PDJNR 2525M15C 1pcs PDJNL 2525M15C  * R=right hand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
~_L = I_fﬁ% 62.$°
° Maln dofiecton
. ¢/
63° PDNN.. e L
‘F//\
L] o - & -
R~fSize(mm) FLATERET TPl T #F 1 wF 7R
ﬁl—i _% Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|f]e < | 5 ~_ L7
* PDPNN2020K15C 20 | 20 (125 20 | 8 | 37
* PDPNN2525M15C 25 | 25 (150 25 (12.5| 37 L4B DN..1506..
PDPNN3232P15C 32| 32 |170| 32 | 16 | 37
MCS821 D15BP SP4 S3
PDPNN2020K1504C 20 | 20 |125| 20 | 8 | 37 )
PDPNN2525M1504C 25 | 25 |150| 25 [12.5| 37 DN..1504..
PDPNN3232P1504C 32| 32 |170| 32 | 16 | 37

o TR fjl: 14 PDPNN 2525M15C

® ‘X" SRTEEER

1 PDPNN 2525M15C

® Ordering Example:1pcs PDPNN 2525M15C 1pcs PDPNN 2525M15C

Inserts need to be ordered separately
"[] "indicates standing stock

® NIRFREMITH




4N &E JT1#FIExternal Tool Holder

gl\ E\E’U jj 1::|: ( Pﬁg) External turning tool holder (P type)

F{RA 75°

“_L‘@ < Main gleeﬂ%yon
o e

75° PSBN.. 7 L
< ; i © -

R Size(mm) FLAFIRET 7] &8 T+ = R F 7R
g_g % Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|[h|f]le]| o® B " ] ~ ()
PSBNR/L1616H09C 16 | 16 [100| 16 | 13 | 21
MCS617 S09BP L3 SP3 S2.5 SN..0903..
PSBNR/L2020K09C 20 | 20 ({125| 20 | 17 | 23
* PSBNR/L2020K12C 20 | 20 [125| 20 | 17 | 28
* PSBNR/L2525M12C 25 | 25 (150 25 | 22 | 28
MCS821 S12BP L4 SP4 SN..1204..
PSBNR/L3225P12C 32| 25|170| 32 | 22 | 28 s3
* PSBNR/L3232P12C 32| 32 |170| 32 | 27 | 32
* PSBNR/L2525M15C 25 | 25 |150| 25 | 22 | 35
MCS825 S15BP &5 SP5 SN..1506..
* PSBNR/L3232P15C 32|32 |170| 32 | 27 | 35
* PSBNR/L3232P19C 32 | 32 |170| 32 | 27 | 40
MCS1027 S19BP L6 SP6 S4 SN..1906..
* PSBNR/L4040S19C 40 | 40 [250| 40 | 35 | 40
PSBNR/L4040S2507C | 40 | 40 |[250| 40 | 35 | 48 S25BP SN..2507..
MCS1236 L8 SP8 S5
PSBNR/L4040S2509C | 40 | 40 {250 | 40 | 35 | 48 S25BP09 SN..2509..
® iT#/~fl: 14 PSBNR 2525M12C 1% PSBNL 2525M12C * R=/F L=XLK£F o JIREEMITH
o “k” SRINERER
® Ordering Example:1pcs PSBNR 2525M12C 1pcs PSBNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

Elme 45°
“‘L@@ o Main";eflection
angle 45°
. 450
45° PSDN.. e L -
g e
] . H
R~ Size(mm) FLAFIRET 7] & T #F == R F 7R
;::Eg _'g_ Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|[h[f]e]| o® B . | ~ )
* PSDNN2020K12C 20 | 20 [125| 20 | 10 | 30
* PSDNN2525M12C 25 | 25 (150 25 (12.5| 30 MCS821 S12BP L4 SP4 SN..1204..
* PSDNN3232P12C 321 32|170| 32 | 16 | 35 S3
PSDNN2525M15C 25 | 25 (150 25 (12.5| 35
MCS825 S15BP L5 SP5 SN..1504..
PSDNN3232P15C 32|32 |170| 32 | 16 | 40
PSDNN3232P19C 32| 32 |170| 32 | 16 | 40
MCS1027 S19BP L6 SP6 S4 SN..1906..
PSDNN4040R19C 40 | 40 |200| 40 | 20 | 40
® iTHRf: 14 PSDNN 2525M12C 1% PSDNN 2525M12C o JIRTEEMITM
o “k” SRINERER
® Ordering Example:1pcs PSDNN 2525M12C 1pcs PSDNN 2525M12C ® Inserts need to be ordered separately
® "[] "indicates standing stock

027



[

gl‘EﬁUﬂﬂ: (Pﬂ) External turning tool holder (P type)

Fme 75°
o .o' Main deflection
A9 °© angle 75°
75° PSKN.. .| . '
_ - Bg }
R<FSize(mm) AIAFEET | B | A | B® | RFE| DA
;__:Fg _,|=|5 Model Lever screw Shim Lever Stop pin Wrench Inserts
a|b|L|h|f|e ™ ] e N ~~ (]
PSKNR/L1616H09C 16 | 16 |100| 16 | 20 | 23
MCS617 S09BP LS SP3 S2.5 SN..0903..
PSKNR/L2020K09C 20 | 20 |125| 20 | 25 | 23
* PSKNR/L2020K12C 20 | 20 |125| 20 | 25 | 26
* PSKNR/L2525M12C 25 | 25 |150| 25 | 32 | 26 MCS821 S12BP L4 SP4 SN..1204..
PSKNR/L3232P12C 32 | 32 |170| 32 | 40 | 30 S3
PSKNR/L2525M15C 25 | 25 |150| 25 | 32 | 32
MCS825 S15BP L5 SP5 SN..1506..
PSKNR/L3232P15C 32 | 32 |[170| 32 | 40 | 36
PSKNR/L3232P19C 32 | 32 |[170| 32 | 40 | 36 MCS1027 S19BP L6 SP6 S4 SN..1906..
o Tt R%: 14 PSKNR 2525M12C 1% PSKNL 2525M12C * R=/F L=KLKF o JIRFEEMITHY
o “k” SHRERER
® Ordering Example:1pcs PSKNR 2525M12C 1pcs PSKNL 2525M12C  * R=righthand L= left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
1w 45°
- ® ° Main deflection
angle 45°
° 424
75" PSSN.. - L
1B E
SEY FLATRET 72 T = R F 7R
il_] _% Model RTSIZe(mm) Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|f|le| o® =] (5 N ~ (]
PSSNR/L1616H09C 16 | 16 [100| 16 | 20 | 25
MCS617 S09BP L3 SP3 S2.5 SN..0903..
PSSNR/L2020K09C 20 | 20 [125| 20 | 25 | 25
* PSSNR/L2020K12C 20 | 20 |125| 20 | 25 | 30
* PSSNR/L2525M12C 25 | 25 [150| 25 | 32 | 30 MCS821 S12BP L4 SP4 SN..1204..
* PSSNR/L3232P12C 32 | 32 |170| 32 | 40 | 40 S3
* PSSNR/L2525M15C 25 | 25 (150 25 | 32 | 35
MCS825 S15BP L5 SP5 SN..1506..
* PSSNR/L3232P15C 32| 32 |170| 32 | 40 | 40
PSSNR/L3232P19C 32 | 32 |[170| 32 | 40 | 40
MCS1027 S19BP L6 SP6 S4 SN..1906..
PSSNR/L4040S19C 40 | 40 |250| 40 | 50 | 50
PSSNR/L4040S2507C 40 | 40 [250| 40 | 50 | 50 S25BP SN..2507..
MCS1236 L8 SP8 S5
PSSNR/L4040S2509C 40 | 40 [250| 40 | 50 | 50 S25BP09 SN..2509..
® T Rfl: 14 PSSNR 2525M12C 1 PSSNL 2525M12C * R=HFF L=4£F o JIREEMITH
o “k7 SRINERER

® Ordering Example:1pcs PSSNR 2525M12C 1pcs PSSNL 2525M12C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

028



4N &E JT1#FIExternal Tool Holder

gl‘EﬁUﬂﬂ: (Pﬂ) External turning tool holder (P type)

EimA 90°
— T .oI Main deflecﬂtion
Q} angle90

90° PTFN.. e L - f
L] |- =

R~fSize(mm) FLAFSRET VARE:] i+ == R F 7R
;_—:IFE _% Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|f]e| o® - > N ~
* PTFNR/L1616H16C 16 | 16 [100| 16 | 20 | 20
* PTFNR/L2020K16C 20 | 20 |125| 20 | 25 | 20 MCS617 T16BP LS SP3 S2.5 TN..1604..
PTFNR/L2525M16C 25| 25 |150| 25 | 32 | 20
PTFNR/L2525M22C 25 | 32 |150| 25 | 32 | 30
MCS821 T22BP L4 SP4 S3 TN..2204..
PTFNR/L3232P22C 32 | 32 |170| 32 | 40 | 30

® T4/~ fl: 1 PTFNR 2525M16C 1% PTFNL 2525M16C * R=/F L=4KF o JIRFEMITH
o “k” SRIERER

® Ordering Example:1pcs PTFNR 2525M16C 1pcs PTFNL 2525M16C  * R=righthand L= left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock

L 1w 90°
- a . .
5 © Maér;]gleeﬂggyon
60° PTTN.. L
< ©
RfSize(mm) FLAFIRET 7B L == R F 7R
gg _% Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|fle| o* - > N ~
PTTNR/L1616H16C 16 | 16 [100| 16 | 13 | 25
* PTTNR/L2020K16C 20 | 20 |125| 20 | 17 | 25 MCS617 T16BP L3 SP3 S2.5 TN..1604..
PTTNR/L2525M16C 25 | 25 (150| 25 | 22 | 25
® T4~ fjl: 1 PTTNR 2525M16C 1% PTTNL 2525M16C * R=HFF L=kKF o JIFEEMITH

® kT SERERET
® Ordering Example:1pcs PTTNR 2525M16C 1pcs PTTNL 2525M16C  * R=righthand L= left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock

029



[

SNEZEHI T

030

|
( Pﬁg) External turning tool holder (P type)

F{m 90°
- © < Main deflection
° angle 90°
90° PTGN.. A L =
o
R~FSize(mm) FLAFARET ) L I+ 1 w F VAN
;__:Fg _.|=|5 Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L][n[f]e] o® = ™ | ~ AN
PTGNR/L1616H16C 16 | 16 |100| 16 | 20 | 20
20 | 20 |125| 20 | 25 | 20
REIG7C=020INICH MCS617 T16BP L3 SP3 S2.5 TN..1604..
*x PTGNR/L2525M16C 25| 25 |150| 25 | 32 | 20
PTGNR/L3232P16C 32 | 32 |170| 32 | 40 | 20
PTGNR/L2525M22C 25| 25 150 25 | 32 | 30
MCS821 T22BP L4 SP4 S3 TN..2204..
PTGNR/L3232P22C 32| 32 |170| 32 | 40 | 30
® T4 fl: 114 PTGNR 2525M16C 1% PTGNL 2525M16C *R=/F L=kKF o JIRFEMITH
o "k’ SRILERER
® Ordering Example:1pcs PTGNR 2525M16C 1pcs PTGNL 2525M16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
*FimM 95°
“— < Main deflection
o angle 95°
o 9
95° PWLN.. P 1 7}
, %
Rl : =
R~fSize(mm) FLAFIRET VARE:] i+ =] %E R F ANy
;::F.g _% Model Lever screw Shim Lever Stop pin Wrench Inserts
a|b|L|h| f|e s | ~_
* PWLNR/L1616H06C 16 | 16 |100| 16 | 20 | 20
* PWLNR/L2020K06C 20 | 20 |125| 20 | 25 | 20 MCS617 WO06BP L3 SP3 S2.5 WN..0604..
* PWLNR/L2525M06C 25| 25 |150| 25 | 32 | 25
* PWLNR/L2020K08C 20 | 20 |125| 20 | 25 | 28
* PWLNR/L2525M08C 25 | 25 |150| 25 | 32 | 28 MCS821 WO08BP L4 SP4 S3 WN..0804..
* PWLNR/L3232P08C 32 | 32 |170| 32 | 40 | 28
® iT#%/Rfl: 1 PWLNR 2525M12C 11 PWLNL 2525M12C * R=/FF L=%kKF o JIRFEMITH

o k" SRTEEER

"[] "indicates standing stock

Ordering Example:1pcs PWLNR 2525M12C 1pcs PWLNL 2525M12C
Inserts need to be ordered separately

*R=right hand

L=left hand




4N &E JT1#FIExternal Tool Holder

DEINCETIABESEMIERN

D-type,C-type tool holder type and processing forms

DCLNR/L | DCBNR/L | DCKNR/L DDJNR/L| DDPNN DDQNR/L

P32 P35

DSKNR/L
| 75°

‘.‘

P35 P38

DVVNN DWLNR/L

P39

CCLNR/L| CEGNR/L | CEQNR/L | CDJNR/L | CRDNN CRGNR/L | CSDNN

f
95° 90°

P40 P40 P40

CSKNR/L| CSRNR/L

CTJNRI/L

93°

P44

031



[

QFEﬁUEH (Dﬁg) External turning tool holder (D type)

1w 95°
- © - Main deflection

angle 95

95° DCLN.. L

El .

+Gi PAE:L: 32 VAR E W N 12 57 R F ANy
F _.|=|5 MOdel R‘_]’Slze(mm) Shim screw Shim Prglsastgre Spring Screws Wrench Inserts
== alb|L|h|f]|e ¥ g S | £ | — (o]
DCLNR/L2020K09C 20 | 20 |125| 20 | 25 | 24
SM5X8.65XA1 | CO9BM DC3230 | Dc5812 DM525 S3 CN..0903..
DCLNR/L2525M09C 25 | 25 |150| 25 | 32 | 24
* DCLNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
* DCLNR/L2525M12C 25| 25 |150| 25 | 32 | 28 | SM6X10XA1 C12BM DC5282 CN..1204..
* DCLNR/L3232P12C 32 | 32 |170| 32 | 40 | 28 Dc6812 DM625 S4
DCLNR/L2525M16C 25 | 25 |150| 25 | 32 | 38
SM6X10XA2 C16BM DC6320 CN..1606..
DCLNR/L3232P16C 32 | 32 |170| 32 | 40 | 38
o T4/~ fl: 1¥ DCLNR 2525M12C 1 DCLNR 2525M12C * R=H/F L=KLKF o JIKEEMITH

*ik” SRTEERER

® Ordering Example:1pcs DCLNR 2525M12C 1pcs DCLNL 2525M12C  * R=right hand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

Ffmea 75°
Main deflection
< © angle 75°

75° DCBN.. “L -

2, _ 8]
L ]
~FSi JIERs 7] & E ] W OE 2 5] w F 7 R
gg % Model R‘_]’Slze(mm) Shim screw Shim P"Slsastg"e Spring Screws Wrench Inserts

alb|L|n|f]e V 4 o] Py S | A |~ [
DCBNR/L2020K12C 20 | 20 |125| 20 | 17 | 28
DCBNR/L2525M12C 25| 25 |150| 25 | 22 | 28 | SM6X10XA1 C12BM DC5282 CN..1204..
DCBNR/L3232P12C 32 | 32 |170| 32 | 27 | 28 Dc6812 DM625 S4

DCBNR/L2525M16C 25| 25 |150| 25 | 22 | 38
DCBNR/L3232P16C 32|32 |170| 32 | 27 | 38

SM6X10XA2 C16BM DC6320 CN..1606..

o T xfl: 11 DCBNR 2525M12C 1% DCBNR 2525M12C * R=F/FF L=AF o JIREEMITN
oK BERREEEN

® Ordering Example:1pcs DCBNR 2525M12C 1pcs DCBNL 2525M12C  * R=right hand L= left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock

032



4N &E JT1#FIExternal Tool Holder

9" Eﬁu 7] 1::|: ( D;_j:é ) External turning tool holder (D type)

2 . Ffmea 75°
| e © Main deflection
l Y angle75°
75° DCKN.. ¢ L
+Si JIERsY 7] & £ 1R 3 3 wF 7R
FFU = MOdel R‘_]’Slze(mm) Shim z%rew Shim Prglsasfgre S%ri% Sﬂc?rews Wrench Inserts
= = alb|L|n|f]e g S | A~ [

DCKNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
DCKNR/L2525M12C 25| 25 |150| 25 | 32 | 28 | SM6X10XA1 C12BM DC5282 CN..1204..
DCKNR/L3232P12C 32 | 32 |170| 32 | 40 | 28 Dc6812 DM625 S4
DCKNR/L2525M16C 25| 25 150 25 | 32 | 38
DCKNR/L3232P16C 32|32 |170| 32 | 40 | 38
o T 5" fl: 1 DCKNR 2525M12C 1% DCKNR 2525M12C * R=HF L=LKF o JIRFEEMITM
k" SRREEER

Ordering Example:1pcs DCKNR 2525M12C 1pcs DCKNL 2525M12C  * R=right hand L= left hand

°
® |nserts need to be ordered separately
® "[] "indicates standing stock

SM6X10XA2 C16BM DC6320 CN..1606..

- f EfRf 40°
L (((@E DI Maingeflection

angle40°®

2.
m

40° DCMN.. L
<FSi pak: v V] E ] MO L2883 w F 7R
] = RTSIZe(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
ﬁ: = Model ey plate
alb|L|n|fle & e, - S | A | ~— (o]
DCMNN2020K12C 20 | 20 |125| 20 | 10 | 28
DCMNN2525M12C 25 | 25 |150| 25 (12.5] 28 | SM6X10XA1 C12BM DC5282 CN..1204..
DCMNN3232P12C 32 | 32 |170| 32 | 16 | 28 Dc6812 DM625 sS4
DCMNN2525M16C 25 | 25 (150 25 (12.5| 38
SM6X10XA2 C16BM DC6320 CN..1606..
DCMNN3232P16C 32|32 |170| 32 | 16 | 38
o Tt ~fl: 14 DCMNN 2525M12C o SR EFEEMITH
o “kx” SRTEEER
® Ordering Example:1pcs DCMNN 2525M12C ® |nserts need to be ordered separately
® "[] "indicates standing stock

033



[

QFEﬁUEH (Dﬁg) External turning tool holder (D type)

- DL F{R 93°
O Main deflection
angle 93°
o -/93"
93" DDJN.. e .
=
~FSi PRE: L4 Ip) i E o 12 57 R F ANy
Y _.I=I5 Model R‘_]’Slze(mm) Shim screw Shim P’S%Stgre Spring Screws Wrench Inserts
alb|L|h]|f|le| & S | B | Ny | S|~ &
DDJNR/L1616H11C 16 | 16 [100| 16 | 20 | 30
* DDJNR/L2020K11C 20 | 20 |125| 20 | 25 | 30 | SM5x8.65XA1 | D11BM DC5282 | DC5812 DM525 S3 DN..1104..
* DDJNR/L2525M11C 25 | 25 [150| 25 | 32 | 30
* DDJNR/L2020K15C 20 | 20 ({125| 20 | 25 | 35
* DDJNR/L2525M15C 25| 25 |150| 25 | 32 | 35 | SM6X10XA1 D15BM DC6320 | DC6812 DM625 S4 E:'::gi“
DDJNR/L3232P15C 32| 32 |170| 32 | 40 | 35 S
o T4 ~fjl: 14 DDJNR 2525M15C 1% DDJNL 2525M15C * R=HFF L=EKF o NIEEEMiTH
ok’ SKRRERER
® Ordering Example:1pcs DDJNR 2525M15C 1pcs DDJNL 2525M15C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
a F{Rf 62.5°
Main deflection
- angle 62.5°
62.5° DDPN.. L
= ©
<FSi TIBRs 7] & £ R O 12 7 R F ANy
ﬂ % Model R_J-Slze(mm) Shim screw Shim Prglsastgre Spring Screws Wrench Inserts
alb|L|nh|[f]e & < | B S | A |~ |
DDPNN1616H11C 16 | 16 |100| 16 | 7 | 30
DDPNN2020K11C 20 | 20 |125| 20 | 8 | 30 | SM5x8.65XA1 | D11BM DC5282 | DC5812 DM525 S3 DN..1104..
DDPNN2525M11C 25 | 25 [150| 25 [12.5| 30
* DDPNN2020K15C 20 | 20 [125| 20 | 8 | 35
DDPNN2525M15C 25 | 25 |150| 25 [12.5] 35 | SM6X10XA1 D15BM DC6320 | DC6812 DM625 S4 E:‘::gj“
DDPNN3232P15C 32 |32 |170| 32 | 16 | 35 R
® T4 xfl: 14 DDPNN 2525M15C o JIHEEMITH
k" SRRERER
® Ordering Example:1pcs DDPNN 2525M15C e Inserts need to be ordered separately

® "[] "indicates standing stock

034



SMNRZEHITIA (DE)

4N &E JT1#FIExternal Tool Holder

External turning tool holder (D type)

s *{®E 107.5°
R © 2 Main deflection
angle107.5°
o e
107.5° DDQN.. | L -
i) K B
~Si PRE:1:>v22 Ip) Ei g o 2 £T w F ANy
FH % Model R‘_]’Slze(mm) Shim screw Shim Pfglséstgre Spring Screws Wrench Inserts
= alb|L|n|fle r 4 < $ | A~ | &
DDQNR/L2020K15C 20 | 20 [125| 20 | 25 | 32
DDQNR/L2525M15C 25| 25 |150| 25 | 32 | 32 | SM6X10XA1 D15BM DC6320 | DC6812 DM625 S4 E:“Esj“
DDQNR/L3232P15C 32|32 [170] 32 | 40 | 32 R
o Tt xfl: 1# DDQNR 2525M15C 1#£ DDQNL 2525M15C * R=HF L=4KF o JIREEMITH
ok SRRERER
® Ordering Example:1pcs DDQNR 2525M15C 1pcs DDQNL 2525M15C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
- ) Fmf 75°
E‘Q) < Mainzeflec\ion
angle75°
75° DSBN.. L -
P
[ [
~Si DAL : %2 7] B g O 2 £7 wF ANy
g.g % Model R_J—SIZe(mm) Shim screw Shim P"glsastg"e Spring Screws Wrench Inserts
alb|L|n|fle & = P NS r~ B
DSBNR/L2020K12C 20 | 20 [125| 20 | 17 | 34
* DSBNR/L2525M12C 25 | 25 |150| 25 | 22 | 34 | SM6X10XA1 S12BM DC5282 SN..1204..
DSBNR/L3232P12C 32|32 |170| 32 | 27 | 34 DC6812 DM625 S4
DSBNR/L2525M15C 25 | 25 [150| 25 | 22 | 40
SM6X10XA2 S15BM DC6320 SN..1506..
DSBNR/ L3232P15C 32 | 32 |170| 32 | 27 | 40
o T4 =fl: 114 DSBNR 2525M12C 1% DSBNL 2525M12C *R=HAF L=KF o JIRFEEMITI

ok SRTEEETR

® Ordering Example:1pcs DSBNR 2525M12C 1pcs DSBNL 2525M12C

® |nserts need to be ordered separately

® "[] "indicates standing stock

*R=righthand L= left hand

035



[

SNEZEHI T

(DZ)

External turning tool holder (D type)

036

Fme 75°
|18, O “ Main deflection
L angle 75°
) EECEN
75° DSKN.. | L
FSi JIEMR Y Ip) =il E ] 3 2 2 £7 R F ANy
Y = R‘_]’Slze(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
42 = Model plate
alb|L|n|f]e =] P N ~ B
DSKNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
DSKNR/L2525M12C 25 | 25 |150| 25 | 32 | 28 | SM6X10XA1 S12BM | DC5282 SN..1204..
DSKNR/L3232P12C 32| 32|170| 32 | 40 | 28 DC6812 DM625 S4
DSKNR/L2525M15C 25 | 25 (150 25 | 32 | 32
SM6X10XA2 S15BM DC6320 SN..1506..
DSKNR/ L3232P15C 32 | 32 |170| 32 | 40 | 32
® JT#%R%l: 1# DSKNR 2525M12C 1#+ DSKNL 2525M12C *R=/F L=4£F o JIRFEMITH
° ‘X" SERHEER
® Ordering Example:1pcs DSKNR 2525M12C 1pcs DSKNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
»_L > 7 EE{F@ 45°
‘ (@l ° Main";efleclion
A@ angle 45°
o £ L
45° DSDN..
<Si JIERs V] E ] O 2 £T w F 7R
] = R_'rSIZe(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
ﬁ: = Model plate
alb|L|nh]|f]e =] ) = ™~ []
DSDNN1616H12C 16 | 16 |100| 16 | 8 | 35
DSDNN2020K12C 20 | 20 [125| 20 | 10 | 35
SM6X10XA1 S12BM DC5282 SN..1204..
DSDNN2525M12C 25 | 25 |150| 25 |12.5| 35
D6812 DM625 S4
DSDNN3232P12C 32| 32 |170| 32 | 16 | 35
DSDNN2525M15C 25 | 25 |150| 25 |12.5| 38
SM6X10XA2 S15BM DC6320 SN..1506..
DSDNN3232P15C 32| 32 |170| 32 | 16 | 38
® Tt fl: 1 DSDNN 2525M12C o I EEMITH
o “k” SRINEHER
® Ordering Example:1pcs DSDNN 2525M12C

Inserts need to be ordered separately

"indicates standing stock




4N &E JT1#FIExternal Tool Holder

9" Eﬁu 7] 1::|: ( D;_j:é ) External turning tool holder (D type)

. = n' (R 457
Main deflection
J angle45°
o 45°
45" DSSN.. — L

FSi Pak::vid 7 & E O 92 5] R F 7 R
FFU = Model R‘_]’Slze(mm) Shim screw Shim P"glzstgfe Spring Screws Wrench Inserts
==,

= alb|L|n|f]e & =] & » | & | — B
* DSSNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
* DSSNR/L2525M12C 25 | 25 |150| 25 | 32 | 28 | SM6X10XA1 S12BM | DC5282 SN..1204..
* DSSNR/L3232P12C 32| 32 |170| 32 | 40 | 28 DC6812 DM625 S4
DSSNR/L2020K15C 25 | 25 |150| 25 | 32 | 32
DSSNR/L2525M15C 32|32 |170| 32 | 40 | 32
® T4 fjl: 11 DSSNR 2525M12C 11 DSSNL 2525M12C *R=/F L=kKF o JIRFEMITH
® ‘X" SKRRERER
® Ordering Example:1pcs DSSNR 2525M12C 1pcs DSSNL 2525M12C  * R=righthand L= left hand

SM6X10XA2 S15BM DC6320 SN..1506..

® |nserts need to be ordered separately
® "[] "indicates standing stock
l FfmFa 90°
- - a Main deflection
iq@ angle90°®
e
90° DTFN.. L

~FSi PRE: 1542 7 & £ 1R = 92 5] R F 7 B
g—g % Model Rj“Slze(mm) Shim screw Shim P"glsastg"e Spring Screws Wrench Inserts
a/b|L|h|f] e & a - N A | — /A

DTFNR/L1616H16C 16 | 16 [100| 16 | 20 | 32

DTFNR/L2020K16C 20 | 20 ({125| 20 | 25 | 32
DTFNR/L2525M16C 25 | 25 |150| 25 | 32 | 32
DTFNR/L3232P16C 32 | 32 |170| 32 | 40 | 32
® T4~ fjl: 11 DTFNR 2525M16C 1 DTFNL 2525M16C * R=AF L=kKF o JIRFEEMITHY
o "k SRIEHER

® Ordering Example:1pcs DTFNR 2525M16C 1pcs DTFNL 2525M16C  * R=righthand L= left hand

Inserts need to be ordered separately
"[] "indicates standing stock

SM5X8.65XA1 T16BM DC5230 DC5812 DM525 S3 TN..1604..

037



[

QFEﬁUEH (Dﬁg) External turning tool holder (D type)

D] Effifs 90°
. O Main dleflgggion
S angle
90° DTGN.. ° L
TE | -l -
~+Si pak: v VN £ 1R M OE 2 £ wF AN
F _.I=I5 Model R‘_]’Slze(mm) Shim screw Shim P"glsastgl'e Spring Screws Wrench Inserts
==

alb|L|n|fle| & a | B | N | A~ A

DTGNR/L1616H16C 16 | 16 |100| 16 | 20 | 25
DTGNR/L2020K16C 20 | 20 |125| 20 | 25 | 25

SM5X8.65XA1 T16BM DC5230 DC5812 DM525 S3 TN..1604..
DTGNR/L2525M16C | 25 | 25 [150| 25 | 32 | 25
DTGNR/L3232P16C | 32 | 32 [170| 32 | 40 | 25
DTGNR/L2525M22C | 25 | 25 150/ 25 | 82 |34 | ool | | ooesta | owsas oo | 2208,

DTGNR/L3232P22C 32| 32 |170| 32 | 40 | 34

® JT%/rfl: 1 DTGNR 2525M16C 1% DTGNL 2525M16C * R=/AF L=X£K£F o JIRFEMITM
o ‘X’ SRRAERETRF
® Ordering Example:1pcs DTGNR 2525M16C 1pcs DTGNL 2525M16C  * R=righthand L= left hand

® |nserts need to be ordered separately
® "] "indicates standing stock

[ Efm 93°

Main dlefleggion

2] angle

Pt
a5
93° DVJN.. H
DVJN ' L II t I
;# ® }

~Si JIERiRsY 7 & & M OE 2 £ w®F 7 R
FH) = R_'rSIZe(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
42 = Model plate

alb|L|nh|f]e & <= | 5 & A |~ | =&~

DVJNR/L1616H16C 16 | 16 [100| 16 | 20 | 41

* DVJUNR/L2020K16C 20 | 20 |125| 20 | 25 | 41

SM5X8.65XA1 V16BM DC5230 DC5812 DM525 S3 TN..1604..
* DVJNR/L2525M16C 25| 25 |150| 25 | 32 | 41
* DVJNR/L3232P16C 32| 32 [170| 32 | 40 | 41
o iTHR%l: 1 DVINR 2525M16C 1 DVJNL 2525M16C *R=HF L=AKF o JIRFEEMITH

o “k” SRIERER

Ordering Example:1pcs DVJNR 2525M16C 1pcs DVJNL 2525M16C  * R=right hand L= left hand
Inserts need to be ordered separately
® "] "indicates standing stock

038



4N &E JT1#FIExternal Tool Holder

9" Eﬁu 7] 1::|: ( D;_j:é ) External turning tool holder (D type)

) R FlRAm 72.5°
Main deflection
angle72.5°

72.5° DVVN., ‘—" L

< mI
R~<FSize(mm) g | DB | ER | WE | #BT | RFE | DA
;_—:Fé % Model Shim screw Shim Pr&%&'{gfe Spring Screws Wrench Inserts
alb|L|h|f]e & ) S | A~ | =&
DVVNN2020K16C 20 | 20 |125| 20 | 10 | 44
* DVVNN2525M16C 25 | 25 [150| 25 [12.5| 44 | SM5X8.65XA1 | V16BM DC5230 | DC5812 DM525 S3 TN..1604..
DVVNN3232P16C 32 | 32 |170| 32 | 16 | 44
® T Rfl: 14 DVVNN 2525M16C oI REEMITH
® “k” SRIRNEEER
® Ordering Example:1pcs DVVNN 2525M16C
® |nserts need to be ordered separately
® "] "indicates standing stock
R FwA 95°
- © Main deflection
angle95°
95°
95° DWLN.. l— L
~FSi PRl 2522 VAE:] E R i 2 £T w F ANy
F = Rj—SIZe(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
Z- = Model plate
alblL|n|f]e & -3 -3 N A |~ (o
DWLNR/L1616H06C 16 | 16 [100| 16 | 20 | 24
* DWLNR/L2020K06C 20 | 20 |125| 20 | 25 | 24 | SM5X8.65XA1 | WO06BM | DC5230 | DC5812 DM525 s3 WN..0604..
* DWLNR/L2525M06C 25 | 25 |150| 25 | 32 | 24
* DWLNR/L2020K08C 20 | 20 |125| 20 | 25 | 31
* DWLNR/L2525M08C 25 | 25 [150| 25 | 32 | 31 | SM6BX10XA1 WO08BM DC5282 | DC6812 DM625 S4 WN..0804..
DWLNR/L3232P08C 32 | 32 |170| 32 | 40 | 31

® (T Rf: 14 DWLNR 2525M08C 11 DWLNL 2525M08C * R=HF L=LKF o JIRFEMITHY
® ‘X" SRAEERER

® Ordering Example:1pcs DWLNR 2525M08C 1pcs DWLNL 2525M08C  * R=righthand L= left hand

® |nserts need to be ordered separately

® "] "indicates standing stock

039



/i

SNRZEHITIM (CE)

External turning tool holder (C type)

iR 95°
- © Main deflection
angle 95°
95° CCLN.. .
- O T
v
9%
e L
;__:[-.2 _% Model Pressséjl"gv&)late Shim Shim screw | Pressure plate Wrench Inserts
alb|L|h|f]e O & =" ~ [
* CCLNR/L2020K1207C | 20 | 20 [125| 20 | 25 | 38
* CCLNR/L2525M1207C | 25 | 25 [150| 25 | 32 | 38 C12 M4X8 CNGN1207..
* CCLNR/L3232P1207C | 32| 32 |170| 32 | 40 | 38
M6X20 CC530 S5
* CCLNR/L2020K1204C | 20 | 20 |125| 20 | 25 | 38
* CCLNR/L2525M1204C | 25| 25 |150| 25 | 32 | 38 C1204 M4X6S CNGN1204..
* CCLNR/L3232P1204C |32 | 32 [170| 32 | 40 | 38
® T4~ fjl: 144 CCLNR 2525M12C 1% CCLNL 2525M12C * R=HFF L=%kKF o JIRFEEMITHY
® ‘X" SRRIEEER
® Ordering Example:1pcs CCLNR 2525M12C 1pcs CCLNL 2525M12C  * R=right hand L= left hand ® Inserts need to be ordered separately
® "[| "indicates standing stock
R 90°
- © Main deflection
angle 90°
90° CEGN.. Z N
jye L
<FSi [ERiE22 Ip) L TRy E W) wF 7R
§I—£ % Model RySize(mm) Presssgr%ev&)late Shim Shimscrew | Pressureplate |  Wrench Inserts
a|b|L|h|f]|e o ¥ =1 ~ 0
CEGNR/L2525M1207C | 25 | 25 [150| 25 | 32 | 42 M6X20 S13 M4X8S CC530 S5 ENGN1307..
o T4 ~fl: 11 CEGNR 2525M13C 1% CEGNL 2525M13C * R=FF L=K£F o JIRFEMITH
® “k” SRNEEER
® Ordering Example:1pcs CEGNR 2525M13C 1pcs CEGNL 2525M13C  * R=righthand L=left hand ® Inserts need to be ordered separately
® [} "indicates standing stock
R 97.5°
- © Main deflection
angle 97.5°
97.5° CEQN.. -
- 0 ° 1
q‘\f; 4—%
e L
~FSi [EHRIRZ2 ) EL TRy E R w F 7R
g-g % Model RJSize(mm) Presg&gvylate Shim Shim screw | Pressureplate | Wrench Inserts
a/b|L|h|f]|e o ¥ = L= ~ ]
CEQNR/L2525M1207C | 25 | 25 |150| 25 | 32 | 42 M6X20 S13 M4X8S CC530 S5 ENGN1307..
o Tt /~fl: 1 CEGNR 2525M13C 1 CEGNL2525M13C * R=/F L=KF o JIRFEMITH

® k" SRTEEETR

® Ordering Example:1pcs CEGNR 2525M13C 1pcs CEGNL 2525M13C
® "[]"indicates standing stock

040

* R=right hand

L= left hand

® Inserts need to be ordered separately



SNRZEHITIM (CE)

4N &E JT1#FIExternal Tool Holder

External turning tool holder (C type)

hL - Ef 93°
O Main deflection
angle90°
o 93°
93" CDJN.. e .
~FSi [EiRiRZ2 V] JIERsy E W) wF 7R
it % Model RS Presss&reev&)late Shim Shim screw | Pressureplate|  Wrench Inserts
= alb[L|nlf]e < y = ~ L7
CDJNR/L2020K15C 20 | 20 |125| 20 | 25 | 42
CDJNR/L2525M15C 25 | 25 [150| 25 | 32 | 42 M6X20 C15 M4X8S CC530 S5 DNGN1507..
CDJNR/L3232P15C 32 | 32 |170| 32 | 40 | 42
® T4 ~fl: 14 CDIJNR 2525M15C 1% CDJNL 2525M15C *R=AF L=LKF o I HEEMITHY
o “kx” SERINEEER
® Ordering Example:1pcs CDJNR 2525M15C 1pcs CDJNL 2525M15C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[]"indicates standing stock
S
-o[ Main deflection
angle
L
CRDN..
- | — (&)
R Size(mm) [EiRIRZ2 7] & TRy E ) w®F 7R
gg _% Model Pressfgr%evylate Shim Shim screw | Pressure plate Wrench Inserts
alb|L|h|f| e (-] & ==Y ~ ®
CRDNN2020K1207C 20 | 20 |125| 20 | 10 | 38
CRDNN2525M1207C 25 | 25 |150| 25 |12.5] 38 R12 RNGN1207..
CRDNN3232P1207C 32|32 |170| 32 | 16 | 38 M6X20 M4X8S CC530 S5
CRDNN2020K1204C 20 | 20 |125| 20 | 10 | 38
R1204 RNGN1204..
CRDNN2525M1204C 25 | 25 |150| 25 |12.5] 38

® T 55/~ fjl: 1+ CRDNN 2525M12C

o k7 SRTEERER

o JIRFEMITE

Ordering Example:1pcs CRDNN 2525M12C
Inserts need to be ordered separately
® [} "indicates standing stock




/i

042

SNRZEHITIM (CE)

External turning tool holder (C type)

- = ES)==
Main deflection
angle
CRGN.. L
|
< © -
R~fSize(mm) JIEiR Yy 7] B [EiRIRZ2 E iR R F
gg _.I=I5 Model Shim screw Shim Pressséll_lszplate Pressure plate Wrench Inserts
alb|L|h|f]e & =3 ~ ®
CRGNR/L2525M1207C | 25 | 25 |150| 25 | 32 | 45 R12 RNGN1207..
CRGNR/L2020K1204C | 20 | 20 (125| 20 | 25 | 45 M6X20 S M4X8S CC530 S5 SNEN A
CRGNR/L2525M1204C | 25 | 25 |150| 25 | 32 | 45 v
o Tt Rfl: 1 CRGNR 2525M12C 1% CRGNL2525M12C * R=AF L=LKF o JIFEEMITH
o k7 SRREERER
® Ordering Example:1pcs CRGNR 2525M12C 1pcs CRGNL 2525M12C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
3 Eimea 45°
(‘\! < Main deflection
o angle 45°
2]
45° CSDN.. = L
<FSi JIERLY 7] B [ER iR E 1R R F 7R
ﬂ % Model RTSIZe(mm) Shim screw Shim Presssggamgzlate Pressure plate Wrench Inserts
a|b|L|h| fl|e ] ~ @
CSDNN2525M1207C 25 | 25 |150| 25 [12.5| 45 S12 SNGN1207
CSDNN3232P1207C 32 | 32 |170| 32 | 16 | 45 M6X20 M4X8S CC530 S5 h
CSDNN2525M1204C 25 | 25 |150| 25 |12.5| 45 S1204 SNGN1204..
® T4 ~fjl: 11 CSDNN 2525M12C o JIRFEMITH
o “k” SRINEEER
® Ordering Example:1pcs CSDNN 2525M12C
® |nserts need to be ordered separately
°

"[] "indicates standing stock




SNRZEHITIM (CE)

4N &E JT1#FIExternal Tool Holder

External turning tool holder (C type)

t iR 75°
< Main deflection
angle75°
75° CSKN.. L
R~fSize(mm) JIEiR Yy 7B [EHRIRZ: E W) wF 7] A
U % Model Shim screw Shim Pressureplate | Pressure plate |  Wrench s
= alb|L|h|[f]e V4 [~} ~ (|
CSKNR/L2525M1207C | 25 | 25 |150| 25 | 32 | 45 S12 SNGN1207..
M6X20 M4X8S CC530 S5
CSKNR/L2525M1204C | 25 | 25 |150| 25 | 32 | 45 S1204 SNGN1204..
o T4 ~fl: 11 CSKNR 2525M12C 1% CSKNL2525M12C * R=/FF L=kKF o EEEMITH
® k7 SRRERER
o Ordering Example:1pcs CSKNR 2525M12C 1pcs CSKNL 2525M12C  * R=righthand L= left hand
® [nserts need to be ordered separately
® "[] "indicates standing stock
a iR 75°
Main deflection
angle75°
75° CSRN.. L
= [
~tSi JIBRL 7B [EiRiBLL E )R w® F 7] A
gg = MOdel RTSIZe(mm) Shim screw Shim Pressséjr?m?late Pressure plate Wrench Inserts
= alb|L|n|f]e a ~ [
CSRNR/L2525M1207C | 25 | 25 [150| 25 | 27 | 45
S12 SNGN1207..
CSRNR/L3232P1207C | 32 | 32 |170| 32 | 35 | 45 M6X20 M4X8S CC530 S5
CSRNR/L2525M1204C | 25 | 25 |150| 25 | 27 | 45 S1204 SNGN1204..
o T4~ fl: 11 CSRNR 2525M 12C 1% CSRNL2525M12C * R=/FF L=%kKF o JIHEEMITHY

o “k” SRAEEERF

® Ordering Example:1pcs CSRNR 2525M12C 1pcs CSRNL 2525M12C
® Inserts need to be ordered separately

® "[] "indicates standing stock

* R=right hand

L= left hand




/i

9" E \ﬁu D 1::|: (ng ) External turning tool holder (C type)

044

N | Ef 45°
Main deflection
_/‘\ angle 45°
o 45°
45 CSSN.. L
R<Size(mm) g | DB | FREZ | ER | R TF
F = Shim screw Shim Pressureplate | Pressure plate Wrench Inserts
5 = Model screw
alb|L|nlf]e a r~ [ |
* CSSNR/L2525M1207C | 25| 25 |150| 25 | 32 | 45 S12 SNGN1207..
M6X20 M4X8S CC530 S5
CSSNR/L2525M1204C | 25 | 25 |150| 25 | 32 | 45 S1204 SNGN1204..
® Tt~ fl: 14 CSSNR 2525M12C 1% CSSNL2525M12C * R=H/F L=K£F o JIRFEEMITHY
o ‘%" SRREERER
® Ordering Example:1pcs CSSNR 2525M12C 1pcs CSSNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "7 "indicates standing stock
A “I Effifs 93°
- &) Main deflecti
4 I geggton
93° CTJN.. L -
I
r% | =
Nl © -
R~FSize(mm) JguRgy AN [EiRIZ 22 E R R F kR
1] = Shim screw Shim Pressureplate | Pressure plate Wrench Inserts
§: = Model screw
alb|lL|nh|f]e 2 L ~ A
2 25 |1 2 214 T1 TNGN1607..
CTJNR/L2525M1607C 5 51150| 25 | 3 5 6 M4AXES CC530 o GN160
CTJNR/L2525M1604C 25| 25 |150| 25 | 32 | 45 M6X20 T1604 TNGN1604..
o T4 ~fl: 11 CTINR 2525M12C 1 CTJUNL2525M12C * R=HFF L=LKF o JIRFEEMITHY

o “kx” SRREEER

"1 "indicates standing stock

Ordering Example:1pcs CTINR 2525M12C 1pcs CTJNL 2525M12C
Inserts need to be ordered separately

* R=right hand

L= left hand




4N &E JT1#FIExternal Tool Holder

SEUTIERSKMIEN

S-type tool holder type and processing forms

P5

SCLCR/L | SCBCR/L | SCFCR/L | SCGCR/L| SCACR/L| SCKCRI/L
90°
@I.
P46 P46 P47 P47 P48 P48
SDQCR/L| SRACRI/L SRDCN SRDPN

P52

P49 P50 P51 P51 2
SRGCRI/L SRGPR/L| SSBCR/L| SSDCN SSKCR/L| SSSCR/L | STACRI/L
{ y 75°T
N ~ o >
75 45 45° N
- o i 5 — ] ; - :
P53 P53 P54 P54 P55 P55
STFCR/L| STGCRI/L |SVQ..R/L SVV..N SVJ..R/L SWLCR/L
90° 5 )
V4 oS
o | e
P57 P57 P58 P59 P60 P60

045



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

046

iR 95°
- Q I Main deflection
angle 95°
o s
95° SCLC.. % ) -
!
Q
L ] | -] -
gg _.I=I5 MOdel RT_I'Slze(mm) %%re%vg— V@erizh Ijnjseﬁs-
a/b|L|h|f]|e (o]
* SCLCR/L0808F06C 8 8 |8 | 8 | 10| 12
* SCLCR/L0808H06C 8 | 8 [100| 8 | 10 | 12
* SCLCR/L1010F06C 10 | 10 | 80 | 10 | 12 | 12
L60 M2.5X6 T8 CC..0602..
* SCLCR/L1010H06C 10 | 10 [100| 10 | 12 | 12
* SCLCR/L1212H06C 12 [ 12 [100| 12 | 16 | 12
* SCLCR/L1616H06C 16 | 16 |100| 16 | 20 | 16
* SCLCR/L1212H09C 12 | 12 [100| 12 | 16 | 16
* SCLCR/L1616H09C 16 | 16 | 100| 16 | 20 | 16
L60 M4X10 T15 CC..09T3..
* SCLCR/L2020K09C 20 | 20 [125| 20 | 25 | 16
* SCLCR/L2525M09C 25 | 25 (150 25 | 32 | 16
* SCLCR/L2020K12C 20 | 20 |125| 20 | 25 | 20
* SCLCR/L2525M12C 25 | 25 (150 25 | 32 | 20 L60 M5X12 T20 CC..1204..
SCLCR/L3225P12C 32| 25 |170| 32 | 32 | 20
®iT 45 ~fl: 14 SCLCR 2525M09C 1 SCLCL 2525M09C * R=HF L=LKF o JIRFEEMITH
k" SRRERER
® Ordering Example:1pcs SCLCR 2525M09C 1pcs SCLCL 2525M09C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fiwme 75°
u—l ‘ o [ Main deflection
angle 75°
o /\60
75° SCBC.. - L
_:I ‘ ; H mI -
gg % MOde| Rq5|ze(mm) m;%rf\; Vﬂlirerﬁ |7njselj‘?ls-
alb|L|h|f]e [o]
*x SCBCR/L1616H09C 16 | 16 [100| 16 | 13 | 16
* SCBCR/L2020K09C 20 | 20 [125| 20 | 17 | 16 L60 M4X10 T15 CC..09T3..
* SCBCR/L2525M09C 25 | 25 (150| 25 | 22 | 16
* SCBCR/L2020K12C 20 | 20 [125| 20 | 17 | 20
L60 M5X12 T20 CC..1204..
* SCBCR/L2525M12C 25| 25 |150| 25 | 22 | 20
o Tt Rfl: 14 SCBCR 2525M09C 1#f SCBCL 2525M09C * R=/F L=KF o JIREEMITHE

ok” SRTEEER

® Ordering Example:1pcs SCBCR 2525M09C 1pcs SCBCL 2525M09C

® |nserts need to be ordered separately

® "[] "indicates standing stock

* R=right hand

L= left hand




SNRZEHITIA (SEY)

4N &E JT1#FIExternal Tool Holder

External turning tool holder (S type)

90° SCFC..

FimFa 90°
Main deflection
angle90°

RtSize(mm) 12 57 R F AN
;__:Fé % Model Screw Wren_ch Inserts
alb|L|h|f]|e [o]
* SCFCR/L1010F06C 10| 10 [ 80 | 10 | 12 | 12
SCFCR/L1010H06C 10 | 10 [100| 10 | 12 | 12
* SCFCR/L1212H06C | 12 | 12 [100| 12 | 16 | 12 L60 M2.5X6 T8 cC..0602..
* SCFCR/L1616H06C 16 | 16 |[100| 16 | 20 | 16
* SCFCR/L1212H09C 12 1 12 [100| 12 | 16 | 16
* SCFCR/L1616H09C 16 | 16 | 100| 16 | 20 | 16
* SCFCR/L2020K09C | 20 | 20 [125| 20 | 25 | 16 L60 M4X10 5 e
* SCFCR/L2525M09C 25| 25 |150| 25 | 32 | 16
SCFCR/L2020K12C 20 | 20 |125] 20 | 25 | 20
% SCFCR/L2525M12C | 25 | 25 |150| 25 | 32 | 20 L0 M5X12 120 CC..1204..
® JT/~fjl: 1¥f SCFCR 2020K09C 1 SCFCL 2020K09C * R=/FF L=4KF o JIREEMITH
o "k SRINEHER
® Ordering Example:1pcs SCFCR 2525M09C 1pcs SCFCL 2525M09C  *R=righthand L=lefthand e Inserts need to be ordered separately
® "[] "indicates standing stock
FEfwra 90°
o Main deflection
- ® I angle90°
90° SCGC.. 4 ) -
1T E =
9__:|F2 .,'='5 Model RYsSize(mm) g]‘s%rjva- Wrench Inserts
alb|L|h|f]e (o]
*x SCGCR/L1010F06C 10| 10 [ 80 | 10 | 12 | 12
SCGCR/L1010H06C 10 | 10 [100| 10 | 12 | 12
* SCGCR/L1212H06C | 12 | 12 |100| 12 | 16 | 12 L60 M2.5X6 T8 €C..0602..
* SCGCR/L1616H06C 16 | 16 | 100| 16 | 20 | 16
*x SCGCR/L1212H09C 12| 12 [100| 12 | 16 | 16
*x SCGCR/L1616H09C 16 | 16 [100| 16 | 20 | 16
* SCGCR/L2020K09C |20 | 20 |125| 20 | 25 | 16 L60 M4x10 I AL R
* SCGCR/L2525M09C 25 | 25 |150| 25 | 32 | 16
SCGCR/L2020K12C 20 | 20 |125] 20 | 25 | 20
* SCGCR/L2525M12C 25 | 25 |150| 25 | 32 | 20 L60 M5X12 T20 CC..1204..
SCGCR/L3225P12C 32|25 170 32 | 32 | 20
® JTH/Rfl: 1 SCGCR2020K09C 1 SCGCL 2020K09C * R=AFF L=LKF o JIFEEMITH
o ‘X SRRERER
® Ordering Example:1pcs SCGCR 2525M09C 1pcs SCGCL 2525M09C  * R=righthand L=lefthand @ Inserts need to be ordered separately

"indicates standing stock

047



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

Fimea 90°
“— ® _c[ Main dleflecgion
angle
o o
90° SCAC.. e ] L -
17 E
FH _.I=I5 MOdel RT_I'Slze(mm) %%re%vg— V@erizh Ijnjseﬁs-
== -
a/b|L|h|f]|e (o]
SCACR/L0808F06C 8 8 (80| 8 8 | 16
* SCACR/L1010H06C 10 | 10 |[100| 10 | 10 | 16 L60 M2.5X6 T8 CC..0602..
* SCACR/L1212H06C 12 | 12 [100| 12 | 12 | 16
* SCACR/L1212H09C 12 | 12 |{100| 12 | 12 | 20
L60 M4X10 T15 CC..09T3..
SCACR/L1616H09C 16 | 16 [100| 16 | 16 | 20
® JT#Rfl: 14 SCACR 2020K09C 1 SCACL 2020K09C * R=HKF L=KF ® JIRFEMITH
o “k” SRINEEER
® Ordering Example:1pcs SCACR 2020K09C 1pcs SCACL 2020K09C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{RFa 75°
— ,‘cf -Dl Main deflection
® angle 75°
75° SCKC.. e L -
@
4 | g2
[
R~FSize(mm) 18 &7
il_] = Model Screw Wreqch Inserts
= al/b|L|h|f]|e (o]
* SCKCR/L1616H09C 16 | 16 [100| 16 | 20 | 16
* SCKCR/L2020K09C 20 | 20 [125| 20 | 25 | 16 L60 M4X10 T15 CC..09T3..
SCKCR/L2525M09C 25 | 25 |150| 25 | 32 | 16
* SCKCR/L2020K12C 20 | 20 [125| 20 | 25 | 20
L60 M5X12 T20 CC..1204..
* SCKCR/L2525M12C 25 | 25 (150| 25 | 32 | 20
® JT1%/Rfil: 1% SCKCR 2020K09C 1% SCKCL 2020K09C * R=FF L=X£F o JIRFEEMITH
o “k” SRINERER
*R=righthand L=lefthand

® Ordering Example:1pcs SCKCR 2020K09C 1pcs SCKCL 2020K09C
Inserts need to be ordered separately
"[] "indicates standing stock

048




4N &E JT1#FIExternal Tool Holder

9" E \ﬁu 7j 1::|: (S;_—:Fé) External turning tool holder (S type)

90° SDAC..

i

[©)
jye

FmE 90°

Main deflection
angle90°

-

L8

RtSize(mm) 82 £7 R F 7R
ﬂ % Model Screw Wren_ch Inserts
alb|L|h|f]e o/
* SDACR/L0808HO7C 8 8 [100| 8 8 | 15
* SDACR/L1010H07C 10 | 10 [100| 10 | 10 | 15 L60 M2.5X6 T8 DC..0702..
* SDACR/L1212H07C 12 | 12 [100| 12 | 12 | 15
* SDACR/L1212H11C 12 | 12 |{100| 12 | 12 | 22
* SDACR/L1616H11C 16 | 16 [100| 16 | 16 | 22
L60 M4X10 T15 DC..11T3..
* SDACR/L2020K11C 20 | 20 [125| 20 | 20 | 22
SDACR/L2525M11C 25 | 25 |150| 25 | 25 | 22
® T /Rfl: 1+ SDACR2020K11C 11 SDACL 2020K11C *R=AF L=KF o JTIRFEMITH
o “k” SRINERER
® Ordering Example:1pcs SDACR 2020K11C 1pcs SDACL 2020K11C  * R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
ﬂ Dl FEimea 93°
| g7 Mep selggior
9%
93° SDJC.. e L
| | [
;_—:Fé _% Model RT_I'Slze(mm) %reﬂ- Wreqch Inserts
alb|L|h|f]e L/
* SDJCR/L0808F07C 8 8 |80 | 8 [ 10| 15
* SDJCR/L1010F07C 10 | 10 | 80 | 10 | 12 | 15
*x SDJCR/L1212H07C 12 | 12 [100| 12 | 16 | 15
* SDJCR/L1414H07C 14 | 14 |100| 14 | 18 | 15 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1616H07C 16 | 16 [100| 16 | 20 | 15
* SDJCR/L2020K07C 20 | 20 (125| 20 | 25 | 20
* SDJCR/L2525M07C 25 | 25 (150 | 25 | 32 | 20
*x SDJCR/L1212H11C 12 | 12 |{100| 12 | 16 | 22
* SDJCR/L1616H11C 16 | 16 [100| 16 | 20 | 22 BN e .
* SDJCR/L2020K11C 20 | 20 [125| 20 | 25 | 22
* SDJCR/L2525M11C 25| 25 |150| 25 | 32 | 22
® T4 /~fjl: 14 SDJCR 2020K11C 1% SDJCL 2020K11C * R=HFAF L=K£F o JIRFEMITHY
o "k’ SRIEHER
® Ordering Example:1pcs SDJCR 2020K11C 1pcs SDJCL 2020K11C  * R=righthand L= left hand
® |nserts need to be ordered separately
PO

[ "indicates standing stock

049



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

. FiRA 62.5°
[ -°I Main deflection
angle 62.5°

u
_c] s ﬂ NI -— [ 2] —

;_—:th % MOde| RT-rS|Ze(mm) ms%rj\; Vﬁlirei Iynjseﬁl's_
alb|L|n|f]e ! 4 V4
* SDNCNO0808F07C 8 8 (80| 8 4 |15
* SDNCN1010F07C 10 | 10 | 80 | 10 | 5 | 15
* SDNCN1212H07C 12 [ 12 {100 12 | 6 | 15
L60 M2.5X6 T8 DC..0702..
* SDNCN1616H07C 16 | 16 |[100| 16 | 8 | 15
* SDNCN2020K07C 20 | 20 |125] 20 | 10 | 20
* SDNCN2525M07C 25 | 25 (150 | 25 (12.5| 20
* SDNCN1616H11C 16 | 16 [100| 16 | 8 | 22
* SDNCN2020K11C 20 | 20 [125| 20 | 10 | 22
* SDNCN2525M11C 25 | 25 |150| 25 [12.5] 22 L60 M4X10 T15 DC..11T3..
SDNCN3225P11C 32 | 25 |170| 32 |12.5| 22
SDNCN3232P11C 32| 32 |170| 32 | 16 | 22
® iT#~fjl: 11 SDNCN 2020K11C o N REEMITHY
o ‘X" SRRERER
® Ordering Example:1pcs SDNCN 2020K11C
® |nserts need to be ordered separately
P

"[] "indicates standing stock

F{Rf 107.5°

< ain deflogion
107.5° SDQC.. L F
E 2
R~ Size(mm) 12 7 R F 7R
H = Model Screw Wrench Inserts
= T ode _
alb|L|h|f]|e » Va4
SDQCR/L1010F07C 10 [ 10 [ 80 [ 10 | 12 | 15
* SDQCR/L1212H07C 12 | 12 |100| 12 | 16 | 15 L60 M2.5X6 T8 DC..0702..

* SDQCR/L1616H07C 16 | 16 [100| 16 | 20 | 15
SDQCR/L1212H11C 12 | 12 |100| 12 | 16 | 15
* SDQCR/L1616H11C 16 | 16 [100| 16 | 20 | 15
* SDQCR/L2020K11C 20 | 20 [125] 20 | 25 | 20
* SDQCR/L2525M11C 25| 25 [150| 25 | 32 | 20
® T /Rf: 1% SDQCR 2020K11C 1 SDQCL2020K11C * R=/F L=4KF o JIRFEMITHY
o “k” SHRRAERERF
® Ordering Example:1pcs SDQCR 2020K11C 1pcs SDQCL 2020K11C ~ * R=righthand L= left hand

Inserts need to be ordered separately
"[] "indicates standing stock

L60 M4X10 T15 DC..11T3..

050




4N &E JT1#FIExternal Tool Holder

9" E \ﬁ” 7j 1::|: (S;_—:Fé) External turning tool holder (S type)

EiR -
n[ Main deflection
angle

SRAC(P).. A ]

R<tSize(mm) 12 £7 R F AN
ﬁg _% Model Screw Wren_ch Inserts
alb|L|nh]|f]e » ©
* SRACR/L1010F06C | 10| 10 | 80 | 10 |10.4| 12
* SRACR/L1212H06C | 12 | 12 [100| 12 |12.4| 12
* SRACR/L1616H06C 16 | 16 [100| 16 |16.4| 12 L60 M2.5X6 g GG
* SRACR/L2020K06C 20 | 20 [125| 20 |20.4| 12
* SRACR/L2525M06C | 25 | 25 |150 | 25 |25.4| 12
* SRACR/L1212H08C | 12 | 12 |100| 12 |12.4| 16
* SRACR/L1616H08C | 16 | 16 |100| 16 |16.4| 16
* SRACR/L2020K08C | 20 | 20 [125| 20 |20.4| 16 RCMX0803..
% SRACR/L2525M08C 25 | 25 |150| 25 |25.4| 16 L60 M3X8 T10
* SRACR/L1616H10C 16 | 16 |{100| 16 |16.4| 20
* SRACR/L2020K10C 20 | 20 [125| 20 |20.4| 20 RCMX1003..
* SRACR/L2525M10C | 25 | 25 |150| 25 |25.4| 20
* SRACR/L2020K12C | 20 | 20 |125| 20 |20.4| 20 o mexio ——
* SRACR/L2525M12C 25 | 25 |150| 25 |25.4| 24

SRACR/L1616H10-T 16 | 16 [100| 16 |16.4| 20
SRACR/L2020K10-T 20 | 20 |125| 20 |20.4| 20 L60 M3.5X10 T15 RCMT1003..
* SRACR/L2525M10-T 25| 25 |150| 25 |25.4| 20
SRACR/L2020K12-T 20 | 20 |125| 20 |20.4| 20

L60 M4X10 RC ..
SRACR/L2525M12-T | 25 | 25 150 25 |25.4| 24 MT1204

a|b|L|h|f]|e
SRAPR/L1616H08C 16 | 16 |100| 16 |16.4| 16

* SRAPR/L2020K08C 20 | 20 [125] 20 |20.4| 16 L60 M3X8 T10 RPMTO0803..
* SRAPR/L2525M08C 25 | 25 [150| 25 (25.4| 16
* SRAPR/L2020K10C 20 | 20 (125 20 (20.4| 20
* SRAPR/L2525M10C 25| 25 [150 | 25 |25.4| 20 RPMT1003..
L60 M4X10 T15

* SRAPR/L3232P10C 32| 32 |170| 32 [32.4] 22

SRAPR/L2525M12C 25 | 25 [150| 25 |25.4| 24 RPMT1204..
® TR fl: 14 SRACR 2525M08C 1 SRACL 2525M08C * R=HF L=K£F o JIRFEMITH

ok’ SERHEETR

® Ordering Example:1pcs SRACR 2525M08C 1pcs SRACL 2525M08C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "/ "indicates standing stock

051



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

052

SRDC (P) ..

“‘j_@ﬂ
e
=

~

|

R -

Main deflection
angle

-

RFSize(mm) 12 £7 R F 7R
gg _.I=I5 Model Screw Wrenph Inserts
a|b|L|h|f|e

* SRDCN1010F06C 10|10 (80|10 | 8 | 12
* SRDCN1212H06C 12 | 12 |{100| 12 | 9 | 12
* SRDCN1616H06C 16 | 16 [100| 16 | 11 | 12 L60 M2.5X6 8 RCMX0602..
* SRDCN2020K06C 20 | 20 [125| 20 | 13 | 16
* SRDCN2525M06C 25| 25 |150| 25 |15.5| 16
* SRDCN1616H08C 16 | 16 [100| 16 | 12 | 16
* SRDCN2020K08C 20 | 20 [125] 20 | 14 | 16 RCMX0803..
* SRDCN2525M08C 25 | 25 [150| 25 (16.5| 16 L60 M3X8 T10
* SRDCN2020K10C 20 | 20 [125] 20 | 15 | 20
* SRDCN2525M10C 25 | 25 |150| 25 [17.5| 20 RCMX1003..
* SRDCN2525M12C 25| 25 |150| 25 |18.5| 24 s " RCMX1204..
* SRDCN3232P12C 32| 32 |170| 32 | 22 | 24
* SRDCN3232P16C 32|32 |170| 32 | 24 | 36 L60 M5X16 T20 RCMX1606..
SRDCN2020K10-T 20 | 20 [125| 20 | 15 | 20
SRDCN2525M10-T 25 | 25 |150| 25 [17.5| 20 L60 M3.5x10 s RCMT1204..
ﬁl_i % Model R?]’Slze(mm) Eé%:re%va- Vﬁlirer?; Iynjseﬁs_
a|b|L|h|f]|e
SRDPN1616H08C 16 | 16 [100| 16 | 12 | 16
* SRDPN2020K08C 20 | 20 [125] 20 | 14 | 16 L60 M3X8 T10 RPMT0803..
* SRDPN2525M08C 25 | 25 [150| 25 [16.5| 16
* SRDPN2020K10C 20 | 20 [125] 20 | 15 | 20
* SRDPN2525M10C 25 | 25 |150| 25 |[17.5| 20 RPMT1003..
* SRDPN2020K12C 20 | 20 |125] 20 | 16 | 24 L60 M4X10 s
* SRDPN2525M12C 25 | 25 |150| 25 |18.5| 24 RPMT1204..

T8 7= : 14 SRDCN 2020K08C

kT SRTEEER

Ordering Example:1pcs SRDCN 2020K08C
Inserts need to be ordered separately

"[] "indicates standing stock

o NI FEEMITH




4N &E JT1#FIExternal Tool Holder

9" E \ﬁu 7j 1::|: (S;_—:Fé) External turning tool holder (S type)

EiRA -
- o Main deflection
angle
SRGC(P).. ° L f
~
R~fSize(mm) 12 7 R F N
A = Model Screw Wrenph Inserts
== = alb L h f e r e

SRGCR/L1010F06C 10 | 10 | 80 | 10 | 12 | 12

* SRGCR/L1212H06C 12 | 12 |{100| 12 | 16 | 12
* SRGCR/L1616H06C 16 | 16 [100| 16 | 20 | 12 L60 M2.5X6 T8 RCMX0602..
* SRGCR/L2020K06C 20 | 20 [125| 20 | 25 | 12
* SRGCR/L2525M06C 25 | 25 [150| 25 | 32 | 12
* SRGCR/L1616H08C 16 | 16 |[100| 16 | 20 | 16
* SRGCR/L2020K08C 20 | 20 |125] 20 | 25 | 16 RCMX0803..
* SRGCR/L2525M08C 25| 25 |150| 25 | 32 | 16
L60 M3X8 T10

* SRGCR/L1616H10C 16 | 16 [100| 16 | 20 | 16
* SRGCR/L2020K10C 20 | 20 [125| 20 | 25 | 20 RCMX1003..
* SRGCR/L2525M10C 25 | 25 (150 | 25 | 32 | 20
* SRGCR/L2020K12C 20 | 20 [125| 20 | 25 | 24 BN Y
* SRGCR/L2525M12C 25| 25 |150| 25 | 32 | 24

SRGCR/L1616H10-T 16 | 16 [100| 16 | 20 | 16 T15

SRGCR/L2020K10-T 20 | 20 |125] 20 | 25 | 20 L60 M3.5X10 RCMT1003..

SRGCR/L2525M10-T 25 | 25 (150 25 | 32 | 20

gg _% Model R Size(mm) %rj\; Vaﬁer?czh I7njse§s-

-

a|b|L|h f @
SRGPR/L1616H08C 16 | 16 [100| 16 | 20 | 16
SRGPR/L2020K08C 20 | 20 |125| 20 | 25 | 16 L60 M3X8 T10 RPMTO0803..
SRGPR/L2525M08C 25| 25 |150| 25 | 32 | 16
SRGPR/L2020K10C 20 | 20 |125] 20 | 25 | 20
SRGPR/L2525M10C 25| 25 |150| 25 | 32 | 20 L60 M4X10 T15
SRGPR/L2525M12C 25 | 25 |150| 25 | 32 | 22 RPMT1204..

RPMT1003..

® JT#/Rf: 1 SRGPR 2020K10C 11 SRGPL 2020K10C * R=FF L=KF o JIRFEEMITH
® ‘X’ SRRERETRF

® Ordering Example:1pcs SRGPR 2020K10C 1pcs SRGPL 2020K10C  * R=righthand L= left hand

Inserts need to be ordered separately

[ "indicates standing stock

053



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

054

iR 75°
u—t _C}I Ma;r;]ggl;gyon
o 19
75° SSBC.. e
|1 0 | -
o = R ize(mm) &4 ot Tt
42 = Model
a b L h f e -
* SSBCR/L1212H09C 12 [ 12 {100 12 | 9 | 16
*x SSBCR/L1616H09C 16 | 16 |100| 16 | 13 | 16
L60 M4X10 T15 SC..09T3..
* SSBCR/L2020K09C 20 | 20 [125| 20 | 17 | 20
* SSBCR/L2525M09C 25| 25 (150 | 25 | 22 | 20
* SSBCR/L2020K12C 20 | 20 |125| 20 | 17 | 22
L60 M5X12 T20 SC..1204..
* SSBCR/L2525M12C 25 | 25 (150 25 | 22 | 22
® T4 fl: 11 SSBCR 2020K09C 1% SSBCL2020K09CC * R=HFF o JIRFEMITH
o “k” SRINERER
® Ordering Example:1pcs SSBCR 2020K09C 1pcs SDACL 2020K09C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
1 ifﬁ% 45.e
.ol Ma;r:]gle;flfgglon
o Iy
45° SSDC.. e, _
|
- [ | —B-
R<tSize(mm) 12 £ W F AN
FH _'I=l5 MOdel Screw Wren_ch Inserts
== a|b|L|h|f]|e @
* SSDCN1212H09C 12 12 {100 12 | 6 | 16
* SSDCN1616H09C 16 | 16 |[100| 16 | 8 | 16
L60 M4X10 T15 SC..09T3..
* SSDCN2020K09C 20 | 20 (125| 20 | 10 | 20
* SSDCN2525M09C 25 | 25 |150| 25 |12.5] 20
* SSDCN2525M12C 25 | 25 |150| 25 [12.5] 22 L60 M5X12 T20 SC..1204..
® JT#R%l: 1# SSDCN 2020K09C o NI R FEEMITH

o ‘X' BETHEES

® Ordering Example:1pcs SSDCN 2020K09C

e "[] "indicates standing stock

® Inserts need to be ordered separately




4N &E JT1#FIExternal Tool Holder

9" E \ﬁu 7j 1::|: (S;_—:Fé) External turning tool holder (S type)

iR 75°
“| ¢ _01 Maindleflc;ggion
,\/ ° angle
75° SSKC.. e ) T
4 ] [ -] ™
B = vose R Size(mm) 2y .E A
== ]
alb|L|n|f]e ) 4
* SSKCR/L1212H09C 12 | 12 [{100| 12 | 16 | 16
*x SSKCR/L1616H09C 16 | 16 |100| 16 | 20 | 16
L60 M4X10 T15 SC..09T3..
* SSKCR/L2020K09C 20 | 20 [125| 20 | 25 | 20
* SSKCR/L2525M09C 25| 25 1150 | 25 | 32 | 20
* SSKCR/L2020K12C 20 | 20 |125| 20 | 25 | 22
L60 M5X12 T20 SC..1204..
* SSKCR/L2525M12C 25 | 25 (150 25 | 32 | 22
® % fjl: 114 SSKCR 2020K09C 1% SSKCL 2020K09C * R=FF L=K£F o JIRFEMITH
® ‘X" SRRERER
® Ordering Example:1pcs SSKCR 2020K09C 1pcs SSKCL 2020K09C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
iR 45°
o Main deflection
h I angle 45°
45° SSSC.. L

sl | -

R~fSize(mm) 2 5] R F AN
FFU % Model Screw Wren_ch Inserts
= alb|L|nh]|f]e » (]
* SSSCR/L1212H09C 12 |1 12 {100 12 | 16 | 16
* SSSCR/L1616H09C 16 | 16 [100| 16 | 20 | 16
L60 M4X10 T15 SC..09T3..
* SSSCR/L2020K09C 20 | 20 |125] 20 | 25 | 20
* SSSCR/L2525M09C 25 | 25 |150| 25 | 32 | 20
* SSSCR/L2020K12C 20 | 20 |125| 20 | 25 | 22
L60 M5X12 T20 SC..1204..

* SSSCR/L2525M12C 25 | 25 (150 | 25 | 32 | 22
T8 B : 14 SSSCR 2020K09C 1#f SSSCL 2020K09C * R=FF L=K£F o JIRZFEMITH
“k”T SRTANERER
Ordering Example:1pcs SSSCR 2020K09C 1pcs SSSCL 2020K09C  * R=righthand L= left hand
Inserts need to be ordered separately

[l "indicates standing stock

055



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

Y Efm 90°

— DI Main deflection
angle 90°

90° STAC(P)..

;__:F.g =] MOdel RTISIZe(mm) %%rel%v?v]— \Tﬁeriih In7jsertj:l:
= alb|L|nh]f]e » AN

STACR/L0808H09C 8 | 8 |100| 8 | 8 | 12 L60 M2.2X5 T6 TC..0902..
STACR/L1010H11C 10 | 10 [100| 10 | 10 | 12
STACR/L1212H11C 12 | 12 [100| 12 | 12 | 16 L60 M2.5X6 T8 TC..1102..
STACR/L1616H11C 16 | 16 |100| 16 | 16 | 16

ﬂ % Model Rd(mm) %%re%v?vr \Rirer%\ In)zertJZI:

alb|L|nh|f]e » VAN
STAPR/L0808H09C 8 | 8 (100 8 | 8 | 12 L60 M2.2X5 T6 TP..0902..
STAPR/L1010H11C 10 | 10 [100| 10 | 10 | 12
STAPR/L1212H11C 12 | 12 [100| 12 | 12 | 16 L60 M2.5X6 T8 TP..1102..
STAPR/L1616H11C 16 | 16 |100| 16 | 16 | 16
® T Rfl: 1 STACR1616H11C 1% STACL 1616H11C * R=HF L=EF e JIREEMITHY

o "k SRIEHER
® Ordering Example:1pcs STACR 1616H11C 1pcs STACL1616H11C  * R=righthand L=left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
F{mf 60°
“'; ' _QI Main deflection
angle 60°
4
60° STEC.. e 1 2
IT [ £

ﬁl_i _% Model RT_]'S|ze(mm) Té%re%va- Vﬁ/irer?; In)jsertjzi-
alb|L|h|f]|e » AN
STECR/L1616H11C 16 | 16 [100| 16 [10.5| 16
L60 M2.5X6 T8 TC..1102..

STECR/L2020K11C 20 | 20 |125| 20 |14.5] 20
STECR/L2020K16C 20 | 20 |125| 20 |12.5] 20
STECR/L2525M16C 25| 25 150 | 25 | 17 | 25
® iT#fjl: 11 STECR 2020K16C 1% STECL 2020K16C * R=HAF L=XkKF o JIRFEEMITH
o "k’ SRILERER

® Ordering Example:1pcs STECR 2020K16C 1pcs STECL 2020K16C  * R=righthand L= left hand

Inserts need to be ordered separately
"[] "indicates standing stock

L60 M4X10 T15 TC..1604..

056




4N &E JT1#FIExternal Tool Holder

9" E \ﬁu 7j 1::|: (S;_—:Fé) External turning tool holder (S type)

R 90°
o Mai i
-l B e
90° STFC.. o | )
4 1] | -
- R~FSize(mm) Té? £ v’f{/ﬁ ?h ID )t='|'
gg = Model crew re}n_c nserts
alb|lL|n|f]e VAN
* STFCR/L1010F09C 10 [ 10 [ 80 | 10 | 12 | 12
L60 M2.2X5 T6 TC..0902..
* STFCR/L1212H09C 12 | 12 |{100| 12 | 16 | 12
* STFCR/L1212H11C 12 | 12 {100 12 | 16 | 16
* STFCR/L1616H11C 16 | 16 |[100| 16 | 20 | 16
L60 M2.5X6 T8 TC..1102..
* STFCR/L2020K11C 20 | 20 [125| 20 | 25 | 20
*x STFCR/L2525M11C 25 | 25 (150 25 | 32 | 20
* STFCR/L1616H16C 16 | 16 [100| 16 | 20 | 20
* STFCR/L2020K16C 20 | 20 (125| 20 | 25 | 25 L60 M4X10 T15 TC..1604..
* STFCR/L2525M16C 25 | 25 [150| 25 | 32 | 25
® % xfjl: 114 STFCR 2020K16C 1 STFCL 2020K16C * R=/AF L=X£K£F o JIREFEEMITH
o ‘X’ SRRERER
® Ordering Example:1pcs STFCR 2020K16C 1pcs STFCL 2020K16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
FwmF 90°
- _QI Main deflec}ion
| ® angle90
90° STGC.. ¢ ) -
>
I [ - %
gg .% Model RT_I'Slze(mm) %?}:re%va- V%enqcih Ianser)t:l:
a|b|L|h|f e
STGCR/L0808F09C 8 8 |80 | 8 |10 | 12
* STGCR/L1010F09C 10 | 10 | 80 | 10 | 12 | 12 L60 M2.2X5 T6 TC..0902..
STGCR/L1212H09C 12 | 12 {100 | 12 | 16 | 12
* STGCR/L1212H11C 12 | 12 [100| 12 | 16 | 16
* STGCR/L1616H11C 16 | 16 [100| 16 | 20 | 16
L60 M2.5X6 T8 TC..1102..
* STGCR/L2020K11C 20 | 20 [125| 20 | 25 | 20
* STGCR/L2525M11C 25 | 25 (150 | 25 | 32 | 20
* STGCR/L1616H16C 16 | 16 |[100| 16 | 20 | 20
* STGCR/L2020K16C 20 | 20 [125| 20 | 25 | 25 L60 M4X10 T16 TC..1604..
* STGCR/L2525M16C 25 | 25 (150 25 | 32 | 25
® T Rfl: 1 STGCR 2020K16C 1% STGCL 2020K16C * R=AF L=KkKF o JIKFEEMITHY
o Xk’ SRIERER
® Ordering Example:1pcs STGCR 2020K16C 1pcs STGCL 2020K16C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

057



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

FmM 117.5°

2 Main deflection
angle 117.5°

T

117.5° SVQB(C)..

B e 23 7 a5
= alb|L|nh|f]e » 7
* SVQBR/L1616H11C 16 | 16 |100| 16 | 20 | 32 L60 M2.5X6 T8 VB..1103..
* SVQBR/L1616H16C | 16 | 16 |100| 16 | 20 | 35
* SVQBR/L2020K16C | 20 | 20 |125| 20 | 25 | 35 Lo Maxto s S
* SVQBR/L2525M16C | 25 | 25 |150| 25 | 32 | 35
SVQBR/L3232P16C | 32 | 32 [170| 32 | 40 | 35
i'.l % Model RYSize(mm) mé%reﬂ- vﬁvﬁrerﬁ mDsertJ:I:
alb|L|h|f]|e » o
* SVQCR/L1616H11C | 16 | 16 |100| 16 | 20 | 32
L60 M2.5X6 T8 VC..1103..
SVQCR/L2020K11C 20 | 20 |125| 20 | 25 | 32
* SVQCR/L1616H16C | 16 | 16 |100| 16 | 20 | 35
* SVQCR/L2020K16C | 20 | 20 |125| 20 | 25 | 35 Lo vaxto s Vo 1600,
* SVQCR/L2525M16C | 25 | 25 |150| 25 | 32 | 35
SVQCR/L3232P16C | 32 | 32 |170| 32 | 40 | 35

IT$R%: 1 SVQBR 2020K16C 1 SVQBL 2020K16C * R=AF L=EKF o JIRFEMITH
® ‘X7 SRTERER

® Ordering Example:1pcs SVQBR 2020K16C 1pcs SVQBL 2020K16C  * R=righthand L= left hand
Inserts need to be ordered separately

"[] "indicates standing stock

058




9" E \ﬁu 7j 1::|: (S;_—:Fé) External turning tool holder (S type)

4N &E JT1#FIExternal Tool Holder

Ny ' iﬁ% 72.5°
Y & o Main deflection
jﬁ angle72.5°
72.5° SVVB(C).. =
AT | -
R~FSize(mm) 4 R F
1] = Screw Wrench Inserts
E S Model alb|L|h|f]|e . 4
* SVVBN1212H11C 12 112 {100 12 | 6 | 25
* SVVBN1616H11C 16 | 16 |100| 16 | 8 | 25 CINREE . VB, 1103..
* SVVBN2020K11C 20 | 20 [125| 20 | 10 | 25
* SVVBN2525M11C 25 | 25 ({150 | 25 (12.5| 35
* SVVBN1616H16C 16 | 16 [100| 16 | 8 | 35
* SVVBN2020K16C 20 | 20 [125| 20 | 10 | 35 L60 M4X10 T15 VB..1604..
* SVVBN2525M16C 25 | 25 |150| 25 [12.5| 35
gg % Model R Size(mm) ms%rjva- \Tgerﬁ mjjser)t:':
al|b|L|h|f]e P
*x SVVCN1212H11C 12 | 12 [100| 12 | 16 | 25
* SVVCN1616H11C 16 | 16 |[100| 16 | 20 | 25 A - T
* SVVCN2020K11C 20 | 20 |125] 20 | 25 | 25
* SVVCN2525M11C 25 | 25 (150 25 | 32 | 35
* SVVCN1616H16C 16 | 16 [100| 16 | 20 | 35
* SVVCN2020K16C 20 | 20 (125| 20 | 25 | 35 L60 M4X10 T15 VC..1604..
*x SVVCN2525M16C 25 | 25 (150 | 25 | 32 | 35
® JTH/Rfl: 1 SVVBN 2020K16C o JIRFEEMITHY
o "k SRIEHER
® Ordering Example:1pcs SVVBN 2020K16C  * R=righthand L= left hand
® |nserts need to be ordered separately
P

indicates standing stock

059



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

93° SVJB(C)..

Ffmg 93°

Main deflection
angle 93°

95° SWLC..

e

| -

gg _.l=l5 Model RT_I'Slze(mm) gl‘S;;‘:refﬁva- Wren_ch Inserts
a|b|L|h|f e o7
* SVJBR/L1212H11C 12 | 12 [100| 12 | 16 | 25
* SVJBR/L1616H11C 16 | 16 |[100| 16 | 20 | 25
L60 M2.5X6 T8 VB..1103..
*x SVJBR/L2020K11C 20 | 20 |125| 20 | 25 | 25
*x SVJBR/L2525M11C 25| 25 150 25 | 32 | 35
* SVJBR/L1616H16C 16 | 16 |[100| 16 | 20 | 35
* SVJBR/L2020K16C 20 | 20 (125| 20 | 25 | 35 L60 M4X10 T15 VB..1604..
* SVJBR/L2525M16C 25 | 25 (150 | 25 | 32 | 35
gg % Model RSize(mm) ms%re%\; \T(Iiren%\ In}jsertjzi_
alb|L|h|f]e > &
* SVJCR/L1212H11C 12 | 12 [100| 12 | 16 | 25
* SVJCR/L1616H11C 16 | 16 |100| 16 | 20 | 25
L60 M2.5X6 T8 VC..1103..
* SVJCR/L2020K11C 20 | 20 [125| 20 | 25 | 25
* SVJCR/L2525M11C 25 | 25 (150 25 | 32 | 35
* SVJCR/L1616H16C 16 | 16 [100| 16 | 20 | 35
* SVJCR/L2020K16C 20 | 20 |125| 20 | 25 | 35 L60 M4X10 T15 VC..1604..
* SVJCR/L2525M16C 25| 25 |150| 25 | 32 | 35
® T4 xfl: 14 SVJBR 2020K16C 1 SVJBL 2020K16C * R=FF o JIRFEEMITHY
o ‘X SRRERER
® Ordering Example:1pcs SVJBR 2020K16C 1pcs SVJBL 2020K16C  * R=right hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Ffm 95°
é Ee} l Main deflection
angle 95°

i

A = Model

SWLCR/L1212F04C
SWLCR/L1212H06C

*x SWLCR/L1616H06C
* SWLCR/L2020K06C
* SWLCR/L2525M06C

i 2 £7
RT_I'Slze(mm) Screw Wrench Inserts
alb|L|n|tf]e [\
12 112|180 | 12 | 16 | 15 L60 M2.5X6 T8 WC..0402..
12 | 12 |100| 12 | 16 | 15
16 | 16 |100| 16 | 20 | 15
L60 M4X10 T15 WC..06T3..
20 | 20 |125| 20 | 25 | 15
25| 25 |150| 25 | 32 | 20

® JT#Rfl: 1# SWLCR 2020K16C
® ‘X" SKRRAEEER
® Ordering Example:1pcs SWLCR 2020K16C 1pcs SWLCL 2020K16C
® "[] "indicates standing stock

1 SWLCL 2020K16C * R=HF

* R=right hand

L=left hand

° JIRFEMITH

o Inserts need to be ordered separately




RFLZEH

INTERNAL TURNING

PEAIE, MOEREUZEDISENAR

Improving efficiency,reducing costs.you can easily achieve with our assistance.

s
Z

&
:
=X
=
| :
"‘I
5*
-
L s
O~
wl

i




[

MEXPRIJIAR S K MIRN

M-type,P-type tool holder type and processing forms

062

75° MCKNR/L

P63

95° MCLNR/L

-

-

P63

50° MCWCR/L

107.5° MDQNRI/L

P64

P64

93° MDUNR/L

P65

75° MSKNR/L

P67

P68

P68

P69

P69

72.5° MVWNR/L

96° MVXNR/L

95° MWLNRI/L

-

P71

P72

95° PCLNRI/L

-

P72

62.5° PDNNRI/L

P73

107.5° PDQNR/L

P73

93° PDUNRI/L

P74

75° PSKNR/L

90° PTFNR/L

93° PTUNR/L

P75

P75

P76

95° PWLNR/L




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

75° S..MCKN.. any

&d

FlRE 75°
Main deflection
angle 75°

s —

[ "indicates standing stock

Inserts need to be ordered separately

R~ Size(mm) XL i2 4 5] E R R F VAN
;__:Fé % Model Stud bolts S!’nm Pin Pressure plate Wrench Inserts
d| f|L|h|Dml & 0 ¥ 4 » r~ (o)
* S20R-MCKNR/L12D 20 | 13 [200| 19 | 26 MS520 . VT MC515 S2.5
* S25S-MCKNR/L12D 25 | 16 [250| 24 | 32
* S32T-MCKNR/L12D | 32 | 22 [300| 30 | 40 | MS625 CN. 1204..
* S40U-MCKNR/L12D 40 | 26 |350| 38 | 50 C12BM MLP46 MC620 s3
* S50V-MCKNR/L12D 50 | 32 |400| 48 | 60
S50V-MCKNR/L16D 50 | 32 |400| 48 | 60 MS628 C16BM MLP58 MC622 CN..1606..
o T Rfl: 144 S20R-MCKNR12D 114 S20R-MCKNL12D *R=FF L=KF o JIREERMITHY
o “k” SRINERER
® Ordering Example:1pcs S20R-MCKNR12D 1pcs S20R-MCKNL12D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T 1 F{mAa 95°
ﬁi 1 Main deflection
[ 1 angle 95°
®Dmin o
95" S..MCLN.. @ $ 5
Fﬁ'ﬂ f §%mi Z i
L L 41’ U
R<size(mm) | Wkigig | 7] @ 57 E 1R ] F 7 E
1) = Stud bolts Shim Pin Pressure plate Wrench Inserts
# 5 Model g
d[f[L[h[Dm o 0 ¥ 4 » ~ (o]
* S20R-MCLNR/L12D 20 |12.5/200| 19 | 26 MS520 MC515 S2.5
* S25S-MCLNR/L12D 25 | 16 [250| 24 | 32 MS625 - MLP44
* S32T-MCLNR/L12D 32 |21 |300| 30 | 40 CN..1204..
* S40U-MCLNR/L12D 40 | 26 |350| 38 | 50 C12BM MLP46 MC620 s3
* S50V-MCLNR/L12D 50 | 31 |400| 48 | 60 MS628
* S50V-MCLNR/L16D 50 | 31 |400| 48 | 60 C16BM MLP58 MC622 CN..1606..
TR RH: 144 S20R-MCLNR12D 144 S20R-MCLNL12D *R=HFF L=KF o JIREEHMITM
“k” ERTEEER
Ordering Example:1pcs S20R-MCLNR12D 1pcs S20R-MCLNL12D  * R=righthand L= left hand

063



[

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

064

. | F{mf 50°
% | Main deflection
! ] angle 50°
PDmin
od
50° S..MCWN.. < )
I/ -
Lt
~FSi XL i2te ) 2 H & E R R F 7R
Y % Model R‘_]‘Slze(mm) Stud bolts Shim Pin Pressure plate Wrench Inserts
== =
d[f]L]h [Dm & fe V4 » ~ (o]
* S20R-MCWNR/L12D 20 | 17 |200| 19 | 26 MS520 ) MLP44 MC515 S2.5
* S25S-MCWNR/L12D 25 |19.5/250| 24 | 32
MS625
* S32T-MCWNR/L12D 32 | 23 |300| 30 | 40 s - CN..1204..
* S40U-MCWNR/L12D 40 | 27 |350(| 38 | 50 —— C12BM MLP46
S50V-MCWNR/L12D 50 | 33 |400| 48 | 60
® TR 114 S20R-MCWNR12D 145 S20R-MCWNL12D *R=HF L=KF o JIRFERMITH
o “k” SRREEER
® Ordering Example:1pcs S20R-MCWNR12D 1pcs S20R-MCWNL12D  * R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
=] *1{mf 107.5°
G” [ Main deflection
oD I angle 107.5°
i min od
107.5° S..MDQN.. Vaas N
2
ans
R~ Size(mm) W LiRte VAR 5T £ # R F ANy
§I—£ _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d|f|[L][h][Dml & < ¥y 4 (3 ~ (7
* S20R-MDQNR/L11D 20 | 13 |200| 19 | 26 MS520 MC515 S2
MLP33 DN..1104..
* S25S-MDQNR/L11D 25 | 17 |250| 24 | 32 - S2.5
* S25S5-MDQNR/L15D 25 | 17 |250| 24 | 32 MS625 MLP44
* S32T-MDQNR/L15D 32 |22.5/300| 30 | 42 MC620 Sl G
* S40U-MDQNR/L15D 40 | 26 |350| 38 | 50 MS628 D15BM MLP46 S3 h h
S50V-MDQNR/L15D 50 | 33 |400| 48 | 60
e ] /x{: 144 S20R-MDQNR11D 114 S20R-MDQNL11D *R=HFF L=KF o JIFEEHMITH
o ‘%" SRRAERER
® Ordering Example:1pcs S20R-MDQNR11D 1pcs S20R-MDQNL11D  * R=righthand L= left hand

"[] "indicates standing stock

Inserts need to be ordered separately




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

1 F{Rf 93°
’’’’’’’’’’’’’’’ -+ Main deflection
I angle 93°
®Dmin d
93° S..MDUN.. é"./’i\ : % ]
\Wi's NP — - A e — B
HJ LN
L
R~fSize(mm) LR 78 H 5] £ R R F 7R
;_-:E _.|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d]f]L|h[Dm & < Y 4 (] ~ Vo4
* S20R-MDUNR/L11D 20 | 13 |200| 19 | 26 MS520 MC515 S2
MLP33 DN..1104..
* S25S-MDUNR/L11D 25|17 |250| 24 | 32 - S2.5
* S25S-MDUNR/L15D 25|17 |250| 24 | 32 MS625 MLP44
* S32T-MDUNR/L15D 32 | 22 |300| 30 | 42 MC620 DN..1504
S40U-MDUNR/L15D 40 | 26 |350| 38 | 50 MS628 D15BM MLP46 S3
S50V-MDUNR/L15D 50 | 32 |400| 48 | 60

® T R%l: 144 S20R-MDUNR11D 114 S20R-MDUNL11D * R=AF L=KF o JTIFEEEBRMITN
o “k” SRRERER
® Ordering Example:1pcs S20R-MDUNR11D 1pcs S20R-MDUNL11D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fm 93°
|
,-—rﬂcj! T Main deflection
I I J angle 93°
®Dmin
93° S..MDZN.. . 2
f 1 Z
‘ e L L h,|
~FSi WL i2te 7] & H & £ R R F 7R
gg _% Model R‘_]‘Slze(mm) Stud bolts Shim Pin Pressure plate Wrench Inserts
d|f|[L[h[Dml ¢ < Y 4 (5 ~ (7
* S32T-MDZNR/L15D 32 | 22 |300| 30 | 42 Ms625
* S40U-MDZNR/L15D 40 | 27 |350| 38 | 50 VS D15BM MLP46 MC620 S3 DN..1504..
S50V-MDZNR/L15D 50 | 35 |400| 48 | 60

TR H): 144 S20R-MDZNR11D 14 S20R-MDZNL11D *R=HAF L=KEF e JIFEEHMITH
kT ERTEEER

°
°
® Ordering Example:1pcs S20R-MDZNR11D 1pcs S20R-MDZNL11D  * R=righthand L= lefthand
® |nserts need to be ordered separately

°

"[] "indicates standing stock

065



[

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

066

® Ordering Example:1pcs S20R-MTJNR16D 1pcs S20R-MTJNL16D
Inserts need to be ordered separately
[J "indicates standing stock

I | FRf 75°
%’/7!‘ 77777777777777 Alk Main dle:ﬂ;eggion
angle
®Dmin
o &d
75° S..MSKN.. AR e — = c— R )
L<£>
~FSi L i2te 7 2 H & E R " F 7R
i % Model RS Stud bolts Shim Pin Pressure plate Wrench Inserts
==
d]f|L[h[om] & a V4 [ ~ (]
* S20R-MSKNR/L12D 20 | 13 [200| 19 | 26 MS520 MLP44 MC515 S2.5
* S25S-MSKNR/L12D 25 | 17 |250| 24 | 32
% S32T-MSKNR/L12D | 32 | 22 |300| 30 | 40 | MS620 - . SN..1204..
* S40U-MSKNR/L12D 40 | 27 |350| 38 | 50 T D15BM MLP46
S50V-MSKNR/L12D 50 | 34 |400| 48 | 60
® TR fl: 144 S20R-MSKNR12D 114 S20R-MSKNL12D *R=KHF L=K£F o JIREFEERMITH
® ‘X" SRRERER
® Ordering Example:1pcs S20R-MSKNR12D 1pcs S20R-MSKNL12D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T 1 Fm 93°
- i E Main dleflsggion
angle
®Dmin
° ®d
93° S.MTJN.. (cp\ p [ (R _
¥ —— |
<h.|
L }
R<tSize(mm) | Wkigg | @ 8 57 ~ S 7 H
il‘l % Model Stl?)lts Shim ? Presxplate Wrench Ingts
d| f|L|h Dm a ~
* S20R-MTJNR/L16D 20 (12.5/200| 19 | 26 MS520 Vi MC515 S2 S2.5
* S25S-MTJNR/L16D 25 | 16 |250| 24 | 32
MS620 S2 TN..1604..
* S32T-MTJNR/L16D 32 | 22 |300| 30 | 42 MC620
D15BM MLP46 S3
* S40U-MTJNR/L16D 40 | 26 [350| 38 | 50 MS628
® iTi%Rfl: 144 S20R-MTJNR16D 114 S20R-MTJNL16D *R=FF L=KF o JIRFEERMITHY
o ‘% SRRERERF
*R=righthand L=lefthand




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

I | F{m 90°
t 1 Main deflection
|
Dmin I 1 angle 90°
90° S.MTFN A -
.. .. ) . ] 2
@9 TEEL ?
h
Lt
FSi WL ige 7] B H & E R w F ANy
7Y "l:f Model R_.]'SIZG(mm) Sti&bolts Shim EPin Pressure plate Wrench Inserts
==
d]f[L[h [Dml & = ¥ 4 » ~ VAN
* S20R-MTFNR/L16D 20 [12.5/200| 19 | 26 MS520 MLP33 MC515 S2,82.5
* S25S-MTFNR/L16D 25 | 16 |250| 24 | 32 s ) MC625
* S32T-MTFNR/L16D 32 | 21 |300| 30 | 42 S2 TN..1604..
* S40U-MTFNR/L16D 40 | 26 |350| 38 | 50 T16BM MLP34 S3
S50V-MTFNR/L16D 50 | 31 |400| 48 | 60 MC620
* S40U-MTENR/L22D | 40 | 26 |350| 38 | 50 | MS628
T22BM MLP46 S3 TN..2204..
* S50V-MTFNR/L22D 50 | 31 |400| 48 | 60
® TR fl: 144 S20R-MTFNR16D 114 S20R-MTFNL16D *R=AF L=KEKEF o JTIRFEEHMITHY
o “k” SKRRAEERER
® Ordering Example:1pcs S20R-MTFNR16D 1pcs S20R-MTFNL16D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T 1 Fm 93°
@{ t Main deflection
D | 1 angle 93°
5 @d
93° S.MTUN.. AN :
& 7
h
L=
SEY SL 42 7] & H £ E 1R w F AN
gg % Model R‘_l’Slze(mm) xsytu;;%%ﬂt? Shim EPin Pressure plate Wrench Inserts
d]f[L[h [Dml & = ¥ 4 » ~ AN
* S20R-MTUNR/L16D 20 [12.5/200| 19 | 26 MS520 . MC515 S2,82.5
* S25S-MTUNR/L16D 25 | 16 |250| 24 | 32 —— i MC625
* S32T-MTUNR/L16D 32 | 21 |300| 30 | 42 S2 TN..1604..
* S40U-MTUNR/L16D 40 | 26 |350| 38 | 50 T16BM MLP34 s3
* S50V-MTUNR/L16D 50 | 31 |400| 48 | 60 62 Mc620
* S40U-MTUNR/L22D 40 | 26 |350| 38 | 50
T22BM MLP46 S3 TN..2204..
S50V-MTUNR/L22D 50 | 31 |400| 48 | 60
TR 144 S20R-MTUNR16D 144 S20R-MTUNL16D * R=AF L=KF o JIFEEEBMITH

“k” BRTEEER

°
°
® Ordering Example:1pcs S20R-MTUNR16D 1pcs S20R-MTUNL16D  * R=righthand L=left hand
® [nserts need to be ordered separately

°

[] "indicates standing stock

067



[

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

*1{mM 105°

Main deflection
angle 105°

@d

105° S.MTQN.. A s
& Vi

E wmF 7R

R Size(mm) XL igte 7] & =) 3
;:F:':IJ _,I=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
dlf[L[h[Dml & L Y 4 [ ~ AN

* S20R-MTQNR/L16D 20 [12.5/200| 19 | 26 | MS520 ) LP33 MC515 $2,82.5
* S25S-MTQNR/L16D 2516|250 24 | 32 | MC625
* S32T-MTQNR/L16D 32 | 21 [300| 30 | 42 S2 TN..1604..
* S40U-MTQNR/L16D 4026|350/ 38 | 50 | T16BM MLP34 Mc620 S3

S50V-MTQNR/L16D 50 | 31 |400| 48 | 60

T8 RH: 114 S20R-MTFNR16D 114 S20R-MTFNL16D *R=AF L=KEKEF o JIREERMITY
o “k” SRREERER
® Ordering Example:1pcs S20R-MTFNR16D 1pcs S20R-MTFNL16D  * R=righthand L=left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
T F{RmA 60°
ﬁ Main dl(aflee(():gon
angle
®Dmin
o od
60° S.MTWN.. N S > S
& 7
L
~FSi XL b2 4 ) L H 5] E ) R F 7R
;__:F.g _% Model R_J—SIZe(mm) Stud bolts Shim Pin Pressure plate Wrench Inserts
d[f[L]h [Dm ¢ = V4 > ~ VAN
* S20R-MTWNR/L16D 20 | 14 |200| 19 | 27 MS520 Vi MC515 S$2,S2.5
* S25S-MTWNR/L16D 25 |16.5/250| 24 | 32 MS625 i
* S32T-MTWNR/L16D 32 | 20 |300| 30 | 39 MC620 S2 TN..1604..
* S40U-MTWNR/L16D 40 | 24 |350| 38 | 50 | MS628 T16BM MLP34 s3
S50V-MTWNR/L16D 50 | 29 |400| 48 | 57

® TR 144 S20R-MTWNR16D 144 S20R-MTWNL16D *R=AF L=EKF o JIREEHAMITIY
o ‘X" SRRERER
® Ordering Example:1pcs S20R-MTWNR16D 1pcs S20R-MTWNL16D  * R=righthand L=left hand

Inserts need to be ordered separately
"] "indicates standing stock

068




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

FRmE 93°
Main deflection
angle 93°

e
[y S

DD min

93° S..MVUN.. I >
P C@ =

&d

R Size(mm) L i2te 7] H 5] £ R R F 7R
;__:||:2 _.|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d| f|L/|h |Dm & <= y 4 [ ~_ %
* S25S-MVUNR/L16D 25120 1250|2436 | oo - MLP33
* S32T-MVUNR/L16D 32 | 22 |300| 30 | 42 S2
MC620 VN..1604..
* S40U-MVUNR/L16D 40 | 27 |350| 38 | 50 MS628 V16BM MLP34 s3
S50V-MVUNR/L16D 50 | 32 [400| 48 | 63
o T =M. 144 S25R-MVUNR16D 114 S25R-MVUNL16D *R=HF L=KF o JIFREEHIITY
o “k” SRTERETR

® Ordering Example:1pcs S25R-MVUNR16D 1pcs S25R-MVUNL16D  * R=righthand L=left hand
Inserts need to be ordered separately
"[] "indicates standing stock

*mA 117.5°

Main deflection
angle 117.5°

dd

117.5° S.MVQN..

R Size(mm) WL iR ke 7] H 5T E R R F 7R
gg _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d| f|L|h|Dm| <& S - y 4 ™ ~ o7
* S25S-MVQNR/L16D 25|17 250 24 | 36 | - MLP33 MC622
* S32T-MVQNR/L16D 32 | 23 |300| 30 | 42 S2 VN 1604
* S40U-MVQNR/L16D 40|27 350 38 | 50 | o V16BM MLP34 MC624 s3
* S50V-MVQNR/L16D 50 | 33 |400| 48 | 63
o iT#%R%l: 144 S25R-MVQNR16D 114 S25R-MVQNL16D *R=HF L=KF o JIAEEHAMITA

° “*” SEREEER

® Ordering Example:1pcs S25R-MVQNR16D 1pcs S25R-MVQNL16D  * R=righthand L= left hand
Inserts need to be ordered separately

"indicates standing stock

069



/i

RFAZFEEITIH (ME)

Internal turning tool holder(M type)

070

® |nserts need to be ordered separately

[] "indicates standing stock

T 1 *1{mM 105°
; } Main deflection
I I angle 105°
®Dmin
o od
92.5° S.MVWN.. \/..} «% L: I
1
P 7 = by
L - —
~+Si SLag U] H £] E )R F 7]
Eadl] % Model RJSize(mm) Stud bolts Shim %Pin Pressure*plate V*V&rench |nse£?:
= d|f]L|h|Dm & < Y 4 [ ~ £
* S25S-MVWNR/L16D 25 | 23 |250| 24 | 36 S2
MS625 V16BM MLP34 MC620 VN..1604..
* S32T-MVWNR/L16D 32 | 27 |300| 30 | 42 S3)
e TR H: 144 S25R-MVWNR16D 114 S25R-MVWNL16D *R=AF L=KLKEF o T REERMITH
o "k SRINEHER
® Ordering Example:1pcs S25R-MVQNR16D 1pcs S25R-MVQNL16D  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
ﬂ/ I 1 iﬁ%gée
< ! Moo e
PDmin
° an &d
96° S..MVXN.. A - e e N [r——
(£ &9
Vi = f éﬁ
&/ L e L+
R~fSize(mm) LR 7] H & 5 R F 7R
;:F:t:u _.|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d| f|L|[h|Dm| & < ¥ 4 [ ] ~ o7
* S20R-MVXNR/L16D 20 | 14 |200| 19 | 27 MS520 Viee MC515 S$2,S2.5
* S25S-MVXNR/L16D 25 | 17 |250| 24 | 32 MS625
* S32T-MVXNR/L16D 32| 13 |300| 30 | 42 S2 VN..1604..
V16BM -
S40U-MVXNR/L16D 40 | 27 |350| 38 | 50 EE MLP34 S3
S50V-MVXNR/L16D 50 | 31 |400| 48 | 60
® TR 114 S25R-MVQNR16D 144 S25R-MVQNL16D *R=BF L=KEF o JIREHEERMITHY
o ‘X" SRRERER
® Ordering Example:1pcs S25R-MVQNR16D 1pcs S25R-MVQNL16D  * R=righthand L=left hand




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

, Effifs 95°
- Main deflection
I angle 95°

95° S.MWLN.. ﬂ o/ L I -
‘ L= f

=

R<Size(mm) | Wkigg | 7] @ 57 E 1R ] F 7 E
7 % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
= d[t[L]h[Dm & 2 Y 4 [ ~ )

* S16Q-MWLNR/LO6D 16 | 10 [180| 15 | 20 MS516

* S20R-MWLNR/L0O6D 20 | 12 [200| 19 | 25 MLP33 A S2 WN..0604..
* S25S-MWLNR/L06D 25|15 |250| 2 | 32 MS620 - S2.5

* S20R-MWLNR/L08D 20 |12.5/200| 9 | 25 MLP44

* S25S-MWLNR/L08D 25| 16 |250| 24 | 32 VISEE S$3,52.5

* S32T-MWLNR/L08D 32 | 21 |300| 30 | 42 Ve WN..0804..
* S40U-MWLNR/LO8D 40 | 26 |350| 38 | 50 WO08BM MLP46 S3

* S50V-MWLNR/LO8D | 50 | 31 |400| 48 | 60 | 5628

® TR 144 S20R-MWLNRO8D 144 S20R-MWLNLO8D *R=HAF L=EKF e IR EERMITHN

® ‘X" SRRERER

® Ordering Example:1pcs S20R-MWLNRO8D 1pcs S20R-MWLNLO8D  * R=righthand L=left hand

® Inserts need to be ordered separately

P

[J "indicates standing stock

071



[

W }LE \ﬁ” 7j 1::|: ( ng) Internal turning tool holder(P type)

75°
= Q Elfrs 75
I | Main deflection
oD D ) angle 75°
min

75° S..PCKN.. Van

Gy 7T W@O D
L \oD

AT

R~fSize(mm) FLATERET 7 &8 AT =i R F 7R
gg % Model Lever screw Shnrp Lever Stop pin Wrench Inserts
dlf]L]h[Dm o e ) B ~ (o]
S25S-PCKNR/L12D 25| 17 |250| 23 | 32 MCS614 = LA4 o S2.5
* S32T-PCKNR/L12D 32 | 22 |300| 30 | 40 CN..1204..
MCS821 C12BP L4 SP4 S3
S40U-PCKNR/L12D 40 | 27 |350| 37 | 50
T8 RG: 114 S25S-PCKNR12D 144 S25S-PCKNL12D *R=HFF L=KLKF e IR EERMITHN
“k” ERRFEEER

Ordering Example:1pcs S25S-PCKNR12D 1pcs S25S-PCKNL12D  * R=righthand L= left hand
Inserts need to be ordered separately

"[] "indicates standing stock

FRH 95°
= I |
" { 5 Ma;r:]gleeﬂgggion
®Dumin L
o
95° S.PCLN.. @j = < |
fl9o, 1|
oD
L

~FSi FLAT4RET o) g4 T #F 1 8 R F AN
ﬁl—i _% Model RTSIZe(mm) Lever screw Shim Lever Stop pin Wrench Inserts
d]f]L]h [Dml o*® e B ] ~_ (o]
* S16M-PCLNR/L09D 16 | 10 |150| 15 | 20
* S16R-PCLNR/L09D 16 | 10 |200| 15 | 20
MCS509
* S20Q-PCLNR/L09D 20 | 13 |180| 19 | 25
L3C S2 CN..0903..
* S20S-PCLNR/L09D 20 | 13 |250| 19 | 25
* S25Q-PCLNR/L09D 25| 17 |180| 24 | 32 N
* S25T-PCLNR/L09D 25 | 17 |300| 24 | 32
* S25Q-PCLNR/L12D 25| 17 |180| 24 | 32
MCS614 L4A S2.5
* S25T-PCLNR/L12D 25| 17 |300| 24 | 32
* S32R-PCLNR/L12D 32 | 22 |200| 30 | 40
* S32U-PCLNR/L12D 32 | 22 |350| 30 | 40 CN.1204
* S40S-PCLNR/L12D 40 | 27 |250| 38 | 50 - v
MCS821 C12BP L4 SP4
* S40V-PCLNR/L12D 40 | 27 |400| 38 | 50 S3
S50S-PCLNR/L12D 50 | 35 |250| 48 | 63
S50W-PCLNR/L12D 50 | 35 |450| 48 | 63
S50W-PCLNR/L16D 50 | 35 |450| 48 | 63 MCS614 C16BP L5 SP5 CN..1606..
o T4 Rfl: 114 S20S-PCLNR12D 144 S20S-PCLNL12D *R=FF L=LKF o JIREERMITH
o ‘X" SRRERER

® Ordering Example:1pcs S20S-PCLNR12D 1pcs S20S-PCLNL12D  * R=righthand L= left hand
Inserts need to be ordered separately

"[] "indicates standing stock

072




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( ng) Internal turning tool holder(P type)

62.5° S..PDPN..

!
—ﬁgf
[

PDmin

@@)m

FlRH 62.5°
Main deflection
angle 62.5°

R~ Size(mm) FLAFIRET 7] ﬂ L =1 S\E’ w®F kR
ﬂ _% Model Lever screw Shim Lever Stop pin Wrench Inserts
d[f[L]h[Dm &® < ™ N ~ /o7
S32T-PDPNR/L1504D 32 | 22 |300| 30 | 40 L4 L]
S40U-PDPNR/L1504D 40 | 27 |350| 37 | 50 - h
MCS821 D15BP SP4 S3
S32T-PDPNR/L15D 32 | 22 |300| 30 | 40 R Sl 6
S40U-PDPNR/L15D 40 | 27 [350| 37 | 50 h v
® TRl 144 S32T-PDPNR15D 114 S32T-PDPNL15D *R=BF L=KEF o I REZERMITHY
o “k” SRREEETRF
® Ordering Example:1pcs S32T-PDPNR15D 1pcs S32T-PDPNL15D * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
I ] *{mM 107.5°
?y : | Main deflection
[ ) angle 107.5°
®Dumin ey
107.5° S..PDQN.. I
Q
yEyOLav
@d
‘ L
R~ Size(mm) FLAFARET £ T+ =i R F VAN
gg % Model Lever screw Shim Lever Stop pin Wrench Inserts
d| f|L|h Dm < '™ | ~ VA4
S20R-PDQNR/L11D 20 | 13 |200| 18 | 25
MCS512 - L3D - S2 DN..1104..
S25S-PDQNR/L11D 25 | 17 |250| 23 | 32
S32T-PDQNR/L1504D | 32 | 23 |300| 30 | 42 1 51l g
S40U-PDQNR/L1504D | 40 | 27 |350| 37 | 50 h v
MCS821 D15BP SP4 S3
S32T-PDQNR/L15D 32 | 23 |300| 30 | 42 e LI
S40U-PDQNR/L15D 40 | 27 |350| 37 | 50 v h
e iTi/Rfl: 144 S32T-PDQNR15D 144 S32T-PDQNL15D *R=HF L=LKF o IR EEHAMITN
o ‘K SRRERER
® Ordering Example:1pcs S32T-PDQNR15D 1pcs S32T-PDQNL15D  * R=righthand L= left hand

Inserts need to be ordered separately

"indicates standing stock

073



[

W }LE \ﬁ” 7j 1::|: ( ng) Internal turning tool holder(P type)

T i F{RF 93°
7§J | i ﬂ Maindleﬂsggion
®Dmin h 2noe
93° S..PDUN.. o A~ i
% TN
L PD
R~FSize(mm) FLFFARET VAR T #F 1 w F kR
iu % Model Lever screw Shim Lever Stop pin Wrench Inserts
d| f|L|h Dm < '™ | ~ 7
* S20Q-PDUNR/L11D 20 | 13 |180| 18 | 25
* S20S-PDUNR/L11D 20 | 13 |250| 18 | 25
MCS512 - L3D - S2 DN..1104..
* S25Q-PDUNR/L11D 25| 17 |180| 23 | 32
* S25T-PDUNR/L11D 25| 17 |300| 23 | 32
% S32R-PDUNR/L1504D 32 | 22 |200| 30 | 40
* S32U-PDUNR/L1504D 32 | 22 |350| 30 | 40
L4 DN..1504..
* S40S-PDUNR/L1504D | 40 | 27 |250| 37 | 50
* S40V-PDUNR/L1504D | 40 | 27 |400| 37 | 50 Vs SRR _ -
S32R-PDUNR/L15D 32 | 22 |200| 30 | 40
S32U-PDUNR/L15D 32 | 22 |350| 30 | 40
L4B DN..1506..
S40S-PDUNR/L15D 40 | 27 |250| 37 | 50
S40V-PDUNR/L15D 40 | 27 |400| 37 | 50
® TR fl: 144 S25T-PDUNR11D 114 S25T-PDUNL11D *R=BF L=KEKEF o JIRFEERMITY
o ‘KX SRRERER
® Ordering Example:1pcs S25T-PDUNR11D 1pcs S25T-PDUNL11D  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{m 93°
- "'1.‘ """"""""""""""""""""""" : | Main deflection
angle 93°
®Dimin h
o ]
& i DA ‘
w o3 L oD
RSize(mm) FLATRET 7] B T 1 wF 7R
§|_£ _% Model Lever screw Shim Lever Stop pin Wrench Inserts
d| f|L|h Dm < > | ~ /7
S32T-PDZNR/L1504D 32 | 22 |300| 30 | 40
L4 DN..1504..
S40U-PDZNR/L1504D 40 | 27 |350| 37 | 50 iR 55 o .-
S32T-PDZNR/L15D 32 | 22 |300| 30 | 40
L4B DN..1506..
S40U-PDZNR/L15D 40 | 27 |350| 37 | 50
® TR fl: 144 S32T-PDZNR15D 114 S32T-PDZNL15D *R=AF L=KLKEF o JIRFEERMITY
o ‘X" SRREEER
® Ordering Example:1pcs S32T-PDZNR15D 1pcs S32T-PDZNL15D  * R=righthand L= lefthand

074

Inserts need to be ordered separately

"[] "indicates standing stock




A FL J1#Fllinternal Tool Holder

W }LE \ﬁ” 7j 1::|: ( ng) Internal turning tool holder(P type)

== | Fiwmeg 75°
= i 1 Main deflection
®Dmin N J angle 75°
75° S..PSKN.. @@ 1
A e
f (-]
L ®D
|
R~fSize(mm) FTAFARET e T 1 wmF ANy
gg _% Model Lever screw Shim Lever Stop pin Wrench Inserts
d| flL][h[Dm| ® =] ™ ] ~_
* S25S-PSKNR/L12D 25 | 17 |250| 23 | 32 MCS614 - LA4 - S2.5
* S32T-PSKNR/L12D 32 | 22 |300| 30 | 40 SN..1204..
MCS821 S12BP L4 SP4 S3
S40U-PSKNR/L12D 40 | 27 |350| 37 | 50
® TR fl: 144 S25S-PSKNR12D 114 S25S-PSKNL12D *R=BF L=KEF o JIRFEERIMITHY
o ‘X" SRRERER
® Ordering Example:1pcs S25S-PSKNR12D 1pcs S25S-PSKNL12D  * R=righthand L= left hand
® Inserts need to be ordered separately
® "[] "indicates standing stock
T i F{RAa 90°
e | 1 Main deflection
|
l J angle 90°
®Dmin h
90° S..PTFN.. I <
B
L ®D
<FSi FLATERET 7 &8 AT 1 w F 7R
;_—:IFE % Model RRfsize(mm) Lever screw Shim Lever Stop pin Wrench Inserts
d| f|L|h Dm o a | = | ~-
* S16R-PTFNR/L11D 16 | 11 |200| 15 | 20
MCS509 L2
* S20S-PTFNR/L11D 20 | 13 |250| 18 | 25 R ) = 0
* S25Q-PTFNR/L16D 25| 17 |180| 23 | 32 v v
MCS512 L3B
S25T-PTFNR/L16D 25| 17 |300| 23 | 32
S32R-PTFNR/L16D 32 | 22 |200| 30 | 41
S32U-PTFNR/L16D 32 | 22 |350| 30 | 41
MCS617 T16BP L3 SP3 S2.5 TN..1604..
S40S-PTFNR/L16D 40 | 27 |250| 37 | 50
S40V-PTFNR/L16D 40 | 27 |400| 37 | 50
® TR 114 S25S-PTFNR16D 114 S25S-PTFNL16D *R=AF L=EKF o JIFEEH T
o ‘X" SRRERER
® Ordering Example:1pcs S25S-PTFNR16D 1pcs S25S-PTFNL16D  * R=righthand L=left hand
® [nserts need to be ordered separately
o "

[ "indicates standing stock

075



[

W }LE \ﬁ” 7j 1::|: ( ng) Internal turning tool holder(P type)

I l Fim 93°
B H i G Main deflection
®Dimin N angle 93°
93° S.PTUN.. e
TERY D :
®D
L
R~fSize(mm) FLAFERET 7 &8 AT = w F 7R
gg _.I=I5 Model Lever screw Shim Lever Stop pin Wrench Inserts
dlf]L]|h |[Dm o -] - N ~_ )
* S25S-PTUNR/L16D 25| 17 |250| 23 | 32 MCS512 © L3B - S2
* S32T-PTUNR/L16D 32 | 22 |300| 30 | 40 TN..1204..
MCS617 T16BP L3 SP3 S3
S40U-PTUNR/L16D 40 | 27 |350| 37 | 50
e T /Rf: 144 S25S-PTUNR16D 114 S25S-PTUNL16D *R=AF L=LKF o JIREEHMITH
o ‘X" BETHEEH
® Ordering Example:1pcs S25S-PTUNR16D 1pcs S25S-PTUNL16D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "M

[ "indicates standing stock

FlR 95°

Main deflection
angle 95°

95° S.PWLN.. @E@ ‘ =1

PD

R~fSize(mm) FLATFERET 7] & AT =i R F VAN
gg .,'='5 Model Lever screw Shim Lever Stop pin Wrench Inserts
d]f|L[h|Dm] o® a - N ~ (o)

* S16M-PWLNR/L06D 16 | 11 [150| 15 | 20 L3 WN. 0603
* S16R-PWLNR/L06D 16 | 11 [200| 15 | 20 -
* S20Q-PWLNR/L06D 20 | 13 |180| 18 | 25

MCS512 S2
* S20S-PWLNR/L0O6D 20 | 13 |250| 18 | 25 L35 WN. 0604..
* S25Q-PWLNR/L06D 25| 17 |180| 23 | 35
* S25T-PWLNR/L06D 25 | 17 |300| 23 | 35 - -
* S20Q-PWLNR/L08D 20 | 13 |180| 18 | 23
* S20S-PWLNR/L0O8D 20 | 13 |250| 18 | 23
* S25Q-PWLNR/L08D 25| 17 |180| 23 | 35 | MCS614 L4A S2.5
* S25R-PWLNR/L08D 25 | 17 |200| 23 | 35
* S25T-PWLNR/L08D 25| 17 |300| 23 | 35 WN..0804..
* S32R-PWLNR/L08D 32 | 22 |200| 30 | 41
* S32U-PWLNR/L08D 32 | 22 |300| 30 | 41 MCS821 WosBP La spa s3
* S40S-PWLNR/L0O8D 40 | 26 |250| 37 | 50
* S40V-PWLNR/L0O8D 40 | 26 |400| 37 | 50
® JTHRH: 14 S20S-PWLNRO6D 1% S20S-PWLNLO6D *R=FF L=KF o T REERMITH

k7 ERTEEER

Ordering Example:1pcs S20S-PWLNRO6D 1pcs S20S-PWLNL0O6D  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

076




SEITIHRSEMIER

S-type Tool Holder Type and Operation Genre

A FL J1#Fllinternal Tool Holder

95° SCLCRI/L

95° SCLCR/L-P

75° SCKCRI/L

93° SDJCRI/L

— P80 P81 — P81 B P82
75° SSKCR/L | 45° SSSCR/L | 90° STF.RI/L 60° STW..R/L
-— P83 P83 P84 — P85
93° SVJ.R/L | 93° SVJBR/L | 93° SVU..R/L | 117.5° SVQ..R/L| 93° SVZ.RIL
7 =
Eﬁ@ )
-— P87 -— P87 — P88 - P89 - P89

95" SWLCR/L

% P90

95° SCLCR/L-A

P90

| &

93° STUBR/L-A

SH(=
P91

-

90° STFBRI/L-A

E-

-

P91

93° SWUBR/L-A

| S

-—

P92

90° SCFCRI/L-S

Ei@ P92

95° SCLCRI/L-S

m

93° SDUCRI/L-S

Ei@ P93

90° STF..R/L-S

P93 —
95° §79|7_C*R/L
Cold % Po4
mAOMEJTRBESEMIER Strong vibration resistance tool models and processing forms

P95

-

95° SCLCRI/L

b

P96

93° SDUCRI/L

P96

93° STU..R/L

95° SWUBR/L

077



[

W }LE \ﬁ” 7j 1::|: (Sﬂ) Internal turning tool holder(S type)

| EmM 95°
%77 I — + Main deflection
[ | angle 95°
DD min od
" Do = |E -
i I i
L b f
95° S..SCLC(P)..
== Eifs 95°
§ k Mael‘r:]gleeﬂggglon
od
P2 Ay A
L4
L -—
~ i 9 3
ﬁ'_i % Model RSize(mm) l%lg {%rjvj\]/— Va?lirer?::_h Inserts
d|di| f|L|[L|h |Dm|?5 (o]
* S06H-SCLCR/L06D 6 - 4 [100| - |54 | 8
* S07K-SCLCR/L06D 7 - |4.25/125| - |6.4| 9
L60 M2.5X5
% S08K-SCLCR/L0O6D 8 | - |55|125| - |7.4 |10 T8 CC..0602..
* S10K-SCLCR/L06D 10 | - [6.5]125] - 9 |13
* S12M-SCLCR/L06D 12| - |7.5|150| - |11 |16 L60 M2.5X6
* S12M-SCLCR/L09D 12 | - 8 [150| - [ 11 | 16
% S14N-SCLCR/L09D 14| - | 9 |160| - |13 |18
P1 L60 M4X8
* S16Q-SCLCR/L09D 16 | - | 10 |180| - |15 | 20 T15 CC..09T3..
% S20R-SCLCR/L09D 20| - | 12]200| - |19 |25
* S25S-SCLCR/L09D 25| - [15.5/250| - |24 |32 L60 M4X10
* S20R-SCLCR/L12D 20 | - [12.5/200| - [19 |25
* S25S-SCLCR/L12D 25 | - [15.5/250| - |24 |32 e o e LY
% S32T-SCLCR/L12D 32| - | 20(300] - |30]39 v v
* S40U-SCLCR/L12D 40 | - |24.5/350| - |38 |50
S10K-SCLCR/L06-16 16 | 10 [ 6.5|125| 20 | 15 | 13 L60 M2.5X5 CC..0602..
S12K-SCLCR/L06-16 16 | 12 | 8 |125| 20 | 15 | 16 . T8
S16K-SCLCR/L06-20 20 | 16 | 10 |125] 20 | 19 | 20 L60 M2.5X6 CC..09T3..
S20K-SCLCR/L06-25 25|20 | 12 [125] 20 | 24 | 25
; =]
gg _.l=l5 Model RQ‘Slze(mm) %‘@ T‘S?}:re%v?vr Wrench Inserts
dld ] flL]L ] h [Dml™5 (o]
* S10K-SCLPR/L06D 10 | - 6 [125| - 9 |12 NG . L
* S12M-SCLPR/L06D 12| - | 8 |[150| - |11 |16 o1 ’ N -
* S16Q-SCLPR/L09D 16 | - | 10 |{180| - | 15 | 20 P o e
S20R-SCLPR/L09D 20| - |13 ]200| - |18 |25 - v
® iT%%/xfl: 144 S20R-SCLCRO9D 144 S20R-SCLCLO9D *R=HF L=KEF o TR FEESRMITH
o “k” BSRTEEER
® Ordering Example:1pcs S20R-SCLCRO9D 1pcs S20R-SCLCLO9D  * R=righthand L= left hand

Inserts need to be ordered separately
"[] "indicates standing stock

078



A FL J1#Fllinternal Tool Holder

W;LE%UBH (Sﬂ) Internal turning tool holder(S type)

dd
90° S..SCFC.. r} s : T _
& > = 1‘ @
h
L
T Rsize(mm) 24 "I A
d|f|L|h[Dm ) 4 (o]

* S08K-SCFCR/L06D 8 |5.5[125|7.4| 10

L60 M2.5X5
* S10K-SCFCR/L06D 10 | 6.5|125| 9 | 13 T8 CC..0602..
* S12M-SCFCR/L06D 12 | 7.5/150| 11 | 16 L60 M2.5X6
* S12M-SCFCR/L09D 12| 8 |150| 11 | 16
* S16Q-SCFCR/L09D 16 | 10 [180| 15 | 20 L60 M4X8 T15 cC..09T3
* S20R-SCFCR/L09D 20 | 12 [200] 19 | 25 h v
* S25S-SCFCR/L09D 25 |15.5/250 | 24 | 32 L60 M4X10
* S20R-SCFCR/L12D 20 [12.5/200| 19 | 25
* S25S-SCFCR/L12D 25 | 13 |250| 24 | 32 L60 M5X12 20 CC. 1204
* S32T-SCFCR/L12D 32 | 20 [300| 30 | 39 v v
* S40U-SCFCR/L12D 40 (24.5/350| 38 | 50
® T Rfl: 14 S20R-SCFCR09D 144 S20R-SCFCLO09D *R=HFF L=LF o JIREERMITH

o “k” SRREEERF
® Ordering Example:1pcs S20R-SCFCRO09D 1pcs S20R-SCFCL09D *R=righthand L=lefthand

® Inserts need to be ordered separately
® "7 "indicates standing stock
— @d
75° S..SCKC.. ) 9GS ‘
L ;t%u Z
I L_h>
R Size(mm) 12 47
A = Screw Wrench Inserts
4= = Model T L nloa » o]
* S08K-SCKCR/L06D 8 |5.5[125|7.4| 10
L60 M2.5X5
* S10K-SCKCR/L06D 10 |6.5|125| 9 | 13 T8 CC..0602..
* S12M-SCKCR/L06D 12 {75150 11 | 16 L60 M2.5X6
* S12M-SCKCR/L09D 12| 8 |150| 11 | 16
* S16Q-SCKCR/L09D 16 | 11 |180| 15 | 20 L60 M4X8 s e nErE
* S20R-SCKCR/L09D 20 | 13 |200| 19 | 25 h -
* S25S-SCKCR/L09D 25 [15.5/250| 24 | 32 L60 M4X10
* S25S-SCKCR/L12D 25 | 16 |250| 24 | 32 L60 M5X12 T20 CC..1204..

TR 114 S20R-SCKCRO9D 114 S20R-SCKCL09D *R=HF L=KF o JIATEEAMITY
kT SRTEEER

°

°

® Ordering Example:1pcs S20R-SCKCRO09D 1pcs S20R-SCKCL09D  * R=righthand L= left hand
® [nserts need to be ordered separately

e "

indicates standing stock
079



[

W }LE \ﬁ” 7j 1::|: (Sﬂ) Internal turning tool holder(S type)

1 F{RF 93°
ﬁétii — 7% Main deflection
®Dmin angle 93
o dd
93" S..SCZC.. ﬁl} SN ]
U s 2 !
93" LD
il_] = RjSize(mm) {%re’{; Vﬁengc:_h Inserts
Model .
= d| f|L|h Dm (o]
* S08K-SCZCR/L06D 8 |6.5[125|7.4| 12
L60 M2.5X5
* S10K-SCZCR/L06D 10 | 7.5125| 9 | 14
T8 CC..0602..
* S12M-SCZCR/L06D 12 | 8.5|150| 11 | 16
L60 M2.5X6
* S16Q-SCZCR/L06D 16 |{10.5/180| 15 | 20
* S16Q-SCZCR/L09D 16 |11.5/180| 15 | 21
L60 M4X8
* S20R-SCZCR/L09D 20 (13.5/200| 19 | 25 T15 CC..09T3..
* S25S-SCZCR/L12D 25 | 16 |250| 24 | 32 L60 M4X10
® JT5/Rfl: 114 S20R-SCZCR09D 144 S20R-SCZCL09D *R=BF L=KEF o JIREERMITH
o ‘X" SRRERER
® Ordering Example:1pcs S20R-SCZCRO09D 1pcs S20R-SCZCL09D * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
1 *{mM 93°
Aﬁiﬁiﬁiﬁiﬁiﬁiﬁirr Main deflection
PDmin angle 93°
&d
93° S..SDJC.. ; AN £
&/ o
I
ﬂ % Model RT_I'Slze(mm) %%:re%va- \tgen%\ Inserts
d| f|L|h Dm o7
* S08K-SDJCR/LO7D 8 [55(125(7.4 | 11
L60 M2.5X5
* S10K-SDJCR/L0O7D 10 | 6.5|125| 9 | 13
T8 DC..0702..
* S12M-SDJCR/LO7D 12 | 7.5|150| 11 | 16
L60 M2.5X6
* S16Q-SDJCR/LO7D 16 | 9.5|180| 15 | 20
* S16Q-SDJCR/L11D 16 [ 9.5[180| 15 | 20
L60 M4X8
* S20R-SDJCR/L11D 20 (11.5/200| 19 | 25 T15 DC..11T3..
* S258-SDJCR/L11D 25 | 14 |250| 24 | 32 L60 M4X10
® JT#/Rfl: 144 S20R-SDJCR11D 114 S20R-SDJCL11D *R=HAF L=LK£F o T RFEESMITH
o "k SRINEHER
® Ordering Example:1pcs S20R-SDJCR11D 1pcs S20R-SDJCL11D  * R=righthand L=left hand
® |nserts need to be ordered separately
® "

[] "indicates standing stock

080




A FL J1#Fllinternal Tool Holder

W;LE%UBH (Sﬂ) Internal turning tool holder(S type)

| *1{mf 107.5°
,,7,,7,,7"7,,7,,7*, . n
oDmy B J Maieor "
, o od
107. 5° S..SDQC(P).. A
IN ft ® I Z
lh, |
‘ L
gg = RﬁSlze(mm) m‘S?}:re!évg— \Tgen%ci Ijnjseﬁs-
= Model g
d | f[L]h [Dm 4 (7
* S08K-SDQCR/LO7D 8 6 [125|7.4| 11
L60 M2.5X5
* S10K-SDQCR/L07D 10| 7 |125| 9 | 13 — SO E
* S12M-SDQCR/L0O7D 12| 9 |[150| 11 | 16 v h
L60 M2.5X6
* S16Q-SDQCR/L07D 16 | 11 |180| 15 | 20
* S20R-SDQCR/L11D 20 | 13 |200| 19 | 25 L60 M4X8
* S25S-SDQCR/L11D 25 | 17 |250| 24 | 32
T15 DC..11T3..
* S32T-SDQCR/L11D 32 | 22 |300(| 30 | 40 L60 M4X10
* S40U-SDQCR/L11D 40 | 27 |350| 38 | 50
® JT#/Rfl: 144 S20R-SCZCR11D 144 S20R-SCZCL11D *R=BAF L=K£F o T RFERMITH
o k" SRTEEER
® Ordering Example:1pcs S20R-SCZCR11D 1pcs S20R-SCZCL11D  * R=righthand L=lefthand
® [nserts need to be ordered separately
® "

"indicates standing stock

1 F{RA 62.5°
ﬁ”iﬁi"iﬁiﬁi%iﬁk Main deflection
PDmin angle 62.5°
. &d
o > I
62.5° S..SDNC.. @&@/ —~ >
ﬂ?\L/I
h
L
I
ﬂ % Model RT_I'Slze(mm) T‘S%:re%v?vr \Tgen%\ Ijr?seﬁs-
dlf|lL[h] Dm » (7
* S10K-SDNCR/L0O7D 10 | 7.5|125| 9 13 L60 M2.5X5
* S12M-SDNCR/L07D 12 | 9.5150| 11 18 60 M2.5X6 T8 DC..0702..
* S16Q-SDNCR/L0O7D 16 | 12 [180| 15 | 20 ’
* S20R-SDNCR/L11D 20 | 15 [200| 19 27
* S25S-SDNCR/L11D 25|18 |250| 24 | 33 L60 M3.5X8 T15 DC..11T3..
* S32T-SDNCR/L11D 32 | 22 |300( 30 40
® iT#~fj: 144 S20R-SDNCR11D 144 S20R-SDNCL11D *R=HF L=kF o JIHHEEHMITH

o "k SRIBHER

® Ordering Example:1pcs S20R-SDNCR11D 1pcs S20R-SDNCL11D  * R=righthand L= lefthand
Inserts need to be ordered separately

"[] "indicates standing stock

081



[

W }LE \ﬁ” 7j 1::|: (Sﬂ) Internal turning tool holder(S type)

T ] Fim 93°
®Dmin v\ 4 I i Ma;r:]gglgggon
ol &d
930 SSDUC Cbn" rai \ 7
e ‘
R uN
ﬂ _.l=l5 MOdel R?]‘Slze(mm) m;%:rjvj\]/— \Tger?i Inserts
d]flL[n [Dmw 4 7
* S08K-SDUCR/LO7D 8 6 [125|7.4| 11
L60 M2.5X5
* S10K-SDUCR/LO7D 10| 7 |125| 9 | 13 - ..
* S12M-SDUCR/L07D 12| 9 |150| 11 | 16 v h
L60 M2.5X6
* S16Q-SDUCR/L0O7D 16 | 11 [180| 15 | 20
* S14N-SDUCR/L11D 14 | 10 |160| 13 | 18
* S16Q-SDUCR/L11D 16 | 11 |180| 15 | 20 L60 M4X8
* S20R-SDUCR/L11D 20 | 13 |200| 19 | 25 e .
* S25S-SDUCR/L11D 25| 17 |250| 24 | 32 v N
* S32T-SDUCR/L11D 32 | 22 |300| 30 | 40 L60 M4X10
* S40U-SDUCR/L11D 40 | 27 |350| 38 | 50
® T /Rf: 144 S20R-SDUCR11D 114 S20R-SDUCL11D *R=KAF L=KF e IR EEHMITM
o ‘X" SRRERER
® Ordering Example:1pcs S20R-SDUCR11D 1pcs S20R-SDUCL11D  * R=righthand L= lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T | *{mfa 93°
00mn P! = ﬂ
93° S..SDZC.. S % !
%’9 ft LIoL. J/\‘l I f
° h
4593 N
. R size(mm) 25 £.Z A
Model ren_c nseris
= = dlflL|h Du » /o7
* S10K-SDZCR/L0O7D 10 | 8.5|125| 9 | 15 L60 M2.5X5
* S12M-SDZCR/L0O7D 12 | 10 |150| 11 | 18 T8 SO
* S16Q-SDZCR/L0O7D 16 | 13 |180| 15 | 23 L60 M2.5X6 v -
* S20R-SDZCR/L07D 20 | 15 (200 19 | 27
* S20R-SDZCR/L11D 20 | 15 |200| 19 | 27 L60 M4X8
* S25S-SDZCR/L11D 25| 18 |250| 24 | 33 15 B
* S32T-SDZCR/L11D 32 | 22 (300 30 | 40 L60 M4X10 - -
* S40U-SDZCR/L11D 40 | 27 |350| 38 | 48
® iJ%%/xfl: 144 S20R-SDZCR11D 144 S20R-SDZCL11D *R=HF L=KEF o TR FEERMIT
o ‘K" SRRAERER

® Ordering Example:1pcs S20R-SDZCR11D 1pcs S20R-SDZCL11D  * R=righthand L= left hand
Inserts need to be ordered separately
"] "indicates standing stock

082




A FL J1#Fllinternal Tool Holder

W}LE\%’UBH (Sﬂ) Internal turning tool holder(S type)

I \ Fiwme 75°
[ | 1 Main deflection
®Dmin angle 75°
r\ &d
75° S..SSKC.. AR S a— % |
W %@L\f i
L <he
FY _% MOdel R?]‘Slze(mm) ms%rfvg V*ﬁenacih Inserts
== -
d f L h | Dmin o/
* S12M-SSKCR/L09D 12| 9 |[150| 11 | 16
* S16Q-SSKCR/L09D 16 | 11 |180| 15 | 20 L60 M4X8
T15 SC..09T3..
* S20R-SSKCR/L09D 20 | 13 |200| 19 | 25
* S25S-SSKCR/L09D 25 | 17 |250| 24 | 32 L60 M4X10
* S25S-SSKCR/L12D 25 | 17 |250| 24 | 32
* S32T-SSKCR/L12D 32 | 22 |300(| 30 | 40 L60 M5X12 T20 SC..1204..
S40U-SSKCR/L12D 40 | 27 |350| 38 | 50
® TRl 114 S20R-SSKCR09D 114 S20R-SSKCL09D *R=BF L=KEF o JIREERMITHY
o ‘X" SRRERER
® Ordering Example:1pcs S20R-SSKCRO09D 1pcs S20R-SSKCL09D  * R=righthand L= left hand
® Inserts need to be ordered separately
® "[] "indicates standing stock
T |
S ——
®Dmin o
G Ve -
L i
R~FSize(mm) 12 5T iR F kR
Y % Model Screw Wrenph Inserts
= d|f|L|h Du (]
* S12M-SSSCR/L09D 12 | 8.5|150| 11 | 16
* S16Q-SSSCR/L09D 16 |11.5/180| 15 | 22 L60 M4X8
* S20R-SSSCR/L09D 20 (13.5/200| 19 | 26 T15 SC..09T3..
* S25S-SSSCR/L09D 25 | 16 (250 24 | 31 GO
* S32T-SSSCR/L09D 32 (19.5/300| 30 | 38
® JTH/Rfl: 114 S20R-SSSCR09D 144 S20R-SSSCL0O9D *R=AF L=KL£F o T RFEESEMITH
o "k SRINEHER
® Ordering Example:1pcs S20R-SSSCR09D 1pcs S20R-SSSCL09D  * R=righthand L= left hand
® Inserts need to be ordered separately
® "

[] "indicates standing stock

083



[

W }LE \ﬁ” 7j 1::|: (Sﬂ) Internal turning tool holder(S type)

I ] E{mf 90°
ﬁ; ] Ma;r;]gglggﬁion
®Dmin
90° S..STFC(P).. AN . =
& e Z
L b
R<tSize(mm) 2 5] R F kR
il_] _% Model Screw Wren_ch Inserts
dlflL|nh Dun ) 4 yoN
* S06H-STFCR/L06D 6 | 4 |100|54] 8 L60 M2.0x4 TC. 0801
* S08K-STFCR/L06D 8 |5.5(125(7.4| 11 - -
* S10K-STFCR/L09D | 10 |6.5 /125 o | 13 . Te e oomm
* S12M-STFCR/L09D 12| 8 |150| 11 | 16 h -
* S10K-STFCR/L11D 10 | 6.5(125| 9 | 13 L60 M2.5X5
* S12M-STFCR/L11D 12 | 8.5/150| 11 | 16
* S16Q-STFCR/L11D 16 | 10 |180| 15 | 20 T8 TC..1102..
* S20R-STFCR/L11D 20 | 12 [200] 19 | 25 L00 M2.5x6
* S25S-STFCR/L11D 25 |15.5/250| 24 | 32
* S20R-STFCR/L16D 20 |12.5/200| 19 | 25 L60 M4X8
* S25S-STFCR/L16D 25 | 16 |250| 24 | 32 115 e 1673
* S32T-STFCR/L16D 32 | 21 (300 30 | 40 L60 M4X10 h v
* S40U-STFCR/L16D 40 | 25 (350 38 | 50
R~fSize(mm) 12 £7 R F kR
;__:[-.2 % Model Screw Wrenph Inserts
d] f]L]nh |Dm » [
* S10K-STFPR/L09D 10 | 6.5(125| 9 | 13 L60 M2.5X5
* S12M-STFPR/L09D 12| 8 [150| 11 | 16 L60 M2.5X6 T8 TP--0902..
* S10K-STFPR/L11D 10 | 6.5/125| 9 | 13
* S12M-STFPR/L11D 12 | 8.5150| 11 | 16
* S16Q-STFPR/L11D 16 | 10 |180| 15 | 20 L60 M3X8 T10 TP..1103..
* S20R-STFPR/L11D 20 | 12 (200 19 | 25
* S25S8-STFPR/L11D 25 |15.5/250| 24 | 32
* S20R-STFPR/L16D 20 [12.5/200| 19 | 25 L60 M4X8
* S25S-STFPR/L16D 25| 16 [250| 24 | 32 L60 M4X10 15 P 1603
S32T-STFPR/L16D 32 | 21 (300 30 | 40 v v
S40U-STFPR/L16D 40 | 25 350 38 | 50
® TR fl: 14 S20R-STFCR11D 144 S20R-STFCL11D *R=HAF L=LF o JIREERMITH

® ‘X" SRTEEER

® Ordering Example:1pcs S20R-STFCR11D 1pcs S20R-STFCL11D  * R=righthand L=left hand
Inserts need to be ordered separately

indicates standing stock

084




A FL J1#Fllinternal Tool Holder

W;LE%UBH (Sﬂ) Internal turning tool holder(S type)

‘gyi g M;E{Z;;Iggiion
PDmin
&d
60° S.STWC(P).. .
@ o> :
N
R<tSize(mm) 12 57 iR F AN

gg _% MOdel J ; A 5 S$W Wre’n:ch Inﬁts
* S08K-STWCR/L09D 8 | 6 [125|7.4| 11 L60 M2.2X4 6 TC..0902..
* S10K-STWCR/L09D 10| 8 [125| 9 | 14
* S10K-STWCR/L11D 10| 8 |125] 9 14 L60 M2.5X5
* S12M-STWCR/L11D 12| 9 |[150| 11 | 16
* S16Q-STWCR/L11D 16 | 11 [180] 15 | 20 L60 M2.5X6 T8 TC..1102..
* S20R-STWCR/L11D 20 | 13 |200| 19 | 25
* S25S-STWCR/L11D 25| 15 [250| 24 | 31
* S20R-STWCR/L16D 20 |14.5/200| 19 | 25 L60 M4X8
* S25S-STWCR/L16D 25 | 17 |250| 24 | 32
* S32T-STWCR/L16D 32 | 20 |300| 30 | 39 L60 M4X10 T15 TC..16T3..
* S40U-STWCR/L16D 40 | 26 |350| 38 | 50

S50V-STWCR/L16D 50 | 29 |400| 48 | 60

;__:Fé % Model ET“'—Slze(mm) m;%rfm]/- thlir-er?::_h Ijrgseﬁs:

d f L h |[Dmin
S08K-STWPR/L09D 8 [55(125|7.4 | 11 L60 M2.5X6 T8 TP..0902..

S10K-STWPR/L11D 10| 8 [125| 9 | 14
* S12M-STWPR/L11D 12| 9 [150| 11 | 16
* S16Q-STWPR/L11D 16 | 11 |180| 15 | 20 L60 M3X8 T10 TP..1102..
S20R-STWPR/L11D 20 | 13 |200| 19 | 25
S25S-STWPR/L11D 25 | 15 |250| 24 | 31

S20R-STWPR/L16D 20 |14.5/200| 19 | 25 L60 M4X8

S25S-STWPR/L16D 25| 17 |250| 24 | 32

S32T-STWPR/L16D 32 | 21 |300| 30 | 39 T15 TP..1603..
L60 M4X10

S40U-STWPR/L16D 40 | 26 (350 38 | 50
S50V-STWPR/L16D 50 | 29 |400| 48 | 60
® iT#RMHl: 14+ S20R-STWCR11D 144 S20R-STWCL11D *xR=HF L=£tF o NEEE & miT
o ‘X’ SERBEERE

® Ordering Example:1pcs S20R-STWCR11D 1pcs S20R-STWCL11D  * R=righthand L= left hand
Inserts need to be ordered separately

"[] "indicates standing stock

085



[

W }LE \ﬁ” 7j 1::|: (Sﬂ) Internal turning tool holder(S type)

086

93° S..STUC(P)..

ﬁ!

PDmin

d

Fimes 93°

Main deflection
angle 93°

<> Y
@ 55 Z
I L=~
gg _,l=l5 Model RﬁSlze(mm) T‘S?;\:re%va- \Tgen%\ Ijr?seﬁs-
d f L h | Dumin
* S08K-STUCR/L09D 8 [55(125(7.4 | 11 GRS . .
* S10K-STUCR/L09D 10 | 6.5|125| 9 | 13
* S10K-STUCR/L11D 10 | 6.5|125| 9 | 13 L60 M2.5X5
*x S12M-STUCR/L11D 12| 8 |150| 11 | 16
* S14N-STUCR/L11D 14| 9 |160| 15 | 18 T10 TC..1102..
L60 M2.5X6
* S16Q-STUCR/L11D 16 | 10 | 180| 15 | 20
* S20R-STUCR/L11D 20 | 12 |200| 19 | 25
* S25S-STUCR/L11D 25 (15.5/250| 24 | 32 L60 M4X8
* S20R-STUCR/L16D 20 |12.5/200| 19 | 25
* S25S-STUCR/L16D 25| 16 |250| 24 | 32 T15 TC..16T3..
L60 M4X10
* S32T-STUCR/L16D 32 | 21 |300| 30 | 40
* S40U-STUCR/L16D 40 | 27 |350| 38 | 50
i‘.l -% Model RS m&‘%:re%va- Wrench Inserts
d f L h | Dumin
* S08K-STUPR/L09D 8 |55(125(7.4| 11 BN — T
* S10K-STUPR/L09D 10 | 6.5125| 9 | 13 v v
* S10K-STUPR/L11D 10 | 6.5|125| 9 | 13
* S12M-STUPR/L11D 12| 8 |150| 11 | 16
* S16Q-STUPR/L11D 16 | 10 | 180| 15 | 20 L60 M3X8 T10 TP..1102..
* S20R-STUPR/L11D 20 | 12 [200| 19 | 25
* S25S-STUPR/L11D 25 115.5/250| 24 | 32
* S20R-STUPR/L16D 20 |12.5/200| 19 | 25 L60 M4X8
* S25S-STUPR/L16D 25| 16 |250| 24 | 32 T15 TP..1603..
S32T-STUPR/L16D 32 | 21 [300(| 30 | 40 L60 M4X10
S40U-STUPR/L16D 40 | 27 |350| 38 | 50
® iT#Rfl: 114 S20R-STUCR11D 114 S20R-STUCL11D *R=HAF L=KF o JIAEEHMITN
® ‘X" SRRERER
® Ordering Example:1pcs S20R-STUCR11D 1pcs S20R-STUCL11D  * R=righthand L= left hand
® |nserts need to be ordered separately
°

"[] "indicates standing stock




A FL J1#Fllinternal Tool Holder

W;LE%UBH (Sﬂ) Internal turning tool holder(S type)

Fim 93°
Main deflection
| angle 93°
®Dmin E l } ﬂ
&d
P1 @ f Y |
2/ L ]
I
93° S..SVJB(C).. ®ds S
—IA 1 Efffs 93°
J Main deflection
‘ od angle 93°
Pt N
- - Eﬁ@
L1 L 7
~JSi o) 2
gg % MOdel RTSIze(mm) [%g m‘S?;I’e%\;\/[ Val\llirergih Inserts
d|di| f|L|L|h Dm|T§ : o7
* S10K-SVJBR/L11D 10 | - 7 (125 - 9 | 14 L60 M2.5X5
* S12M-SVJBR/L11D 12 | - 8 [150| - [ 11 | 16 T8 VB..1103
L60 M2.5X6 - ”
* S16Q-SVJBR/L11D 16| - | 10 180 - | 15| 20 -
* S16Q-SVJBR/L16D 16| - | 10 180 - | 15| 20 TG
* S25R-SVJBR/L16D 25| - |12 (200 - | 19| 25 T15 VB..1604..
* S25S-SVJBR/L16D 25| - |16 (250 - |24 | 30 L60 M4X10
S20R-SVJBR/L11-25 25 20| 2 |200 18 | 18 RS = Vs
S25S-SVJBR/L11-32 32 | 25 | 3.5|250 24 | 24 - ’ v h
S32T-SVJBR/L16-40 40 | 32 | 3.5|300 30 | 30 I 15 VB. 1604
S40U-SVJBR/L16-50 50 | 40 | 4.5 350 38 | 38 - -
N i 9 3
B £ Model R Size(mm) S i B
d|di| f|L|L | h Dum 75 o7
* S10K-SVJCR/L11D 10 | - 7 (125 - 9 | 14 L60 M2.5X5
* S12M-SVJCR/L11D 12 | - 8 [150| - [ 11 | 16 T8 VC..1103
L60 M2.5X6 ” ”
* S16Q-SVJCR/L11D 16| - | 10 180 - | 15| 20 -
* S16Q-SVJCR/L16D 16| - | 10 180 - | 15| 20 T
* S25R-SVJCR/L16D 25| - |12 |200| - | 19| 25 T15 VC..1604..
* S25S-SVJCR/L16D 25| - |16 (250 - |24 | 30 L60 M4X10
® TR f%l: 144 S20R-SVJBR11D 114 S20R-SVJBL11D *R=HAF L=LKF e JIFEEZHMITH
o ‘X" BERTHEEH
® Ordering Example:1pcs S20R-STUCR11D 1pcs S20R-SVJBL11D  * R=right hand L= left hand
® Inserts need to be ordered separately
e "Il "indicates standing stock

087



[

W}LE\E’UHH (Sﬁg) Internal turning tool holder(S type)

| *{mfa 93°
‘ﬁiﬁi"i"i"iﬁiﬁﬁ Main deflection
®Dmin angle 93°
od
P1 o ANt 7
g :
— h
L =0
93° S..SVUB(C)..
— ] l
U | |
P2 e ~— 7
1 A \ e
~/ L]
~ i 9 A
FIU % Model RTSIZe(mm) %‘g gl‘S%i:rel‘iva- Wrer?:i Inserts
d|di|f|L|L|h |Dm|™8 Lo
* S16Q-SVUBR/L11D 16| - | 12 |180| - | 15| 22 L60 M2.5X6 T8 VB. 1103
* S20R-SVUBR/L11D 20| - | 14 |200| - | 19 | 27 o1 ' N -
* S25S-SVUBR/L16D 25| - | 20 (250 - |24 |35
L60 M4X10 T15 VB..1604..
* S32T-SVUBR/L16D 32| - | 23300 - |30]|42
S16Q-SVUBR/L11-20 20 | 16 [15.5/180 19 | 20 GRS . Vs
S20R-SVUBR/L11-25 25 | 20 |17.5/200 24 | 25 bo ' h v
S$25S-SVUBR/L16-32 32 | 25 |20.5|250 30 | 34
L60 M4X10 T15 VB..1604..
S32T-SVUBR/L16-40 40 | 32 |27.5/300 38 | 40
~tSi 9 2
7 2 Model A Szl %Ié %%:rj; thlirerﬁ Ijnjseﬁlls-
d|di| f|L|L | h |Dmn ™5 o7
* S16Q-SVUCR/L11D 16 | - | 12 |180| - | 15| 22 GG - Ve, 1103
* S20R-SVUCR/L11D 20| - |14 ]200] - | 19|27 b1 ’ - -
* S25S-SVUCR/L16D 25| - | 20|250| - | 24|35 L60 MAXA0 15 VG, 1604
* S32T-SVUCR/L16D 32| - | 23[300| - | 30|42 - v
® TR 144 S20R-SVUBR11D 144 S20R-SVUBL11D *R=FF L=LKF o JIREHEERMITHY
o “k” SRRNERER
® Ordering Example:1pcs S20R-SVUBR11D 1pcs S20R-SVUBL11D  * R=righthand L=left hand

Inserts need to be ordered separately

indicates standing stock

088



A FL J1#Fllinternal Tool Holder

W;LE%UDH (Sﬂ) Internal turning tool holder(S type)

117.5° S..SVQB(C)..

&d

FRA117.5°
Main deflection
angle 117.5°

|l
ﬂ % Model RT“'-Slze(mm) wé%:re%va- Wrenph Inserts
d| f|L|h Dum 7. &
*x S16Q-SVQBR/L11D 16 | 12 |180| 15 | 22 L60 M2.5X6 T8 VB..1103..
* S20R-SVQBR/L16D 20 | 14 |200| 19 | 27 L60 M4X8
* S25S-SVQBR/L16D 25| 20 |250| 24 | 35 B0 T15 VB..1604..
* S32T-SVQBR/L16D 32 | 23 |300(| 30 | 42
ﬂ = Model RﬁSlze(mm) m‘S?E:re{évjvr thlir-er?i Ijnjseg?:
= d[ L [n [Dm A o7
* S16Q-SVQCR/L11D 16 | 12 |180| 15 | 22 L60 M2.5X6 T8 VC..1103..
* S20R-SVQCR/L16D 20 | 14 |200| 19 | 27 L60 M4X8
* S25S-SVQCR/L16D 25 | 20 [250| 24 | 35 B T T15 VC..1604..
* S32T-SVQCR/L16D 32 | 23 |300| 30 | 42
® JT/Rfl: 144 S20R-SVQBR11D 144 S20R-SVQBL11D *R=FF L=LK£F o IR EEHAMITI

o “k” SRREEER

® Ordering Example:1pcs S20R-SVQBR11D 1pcs S20R-SVQBL11D  * R=righthand L=lefthand ® Inserts need to be ordered separately
e® "[] "indicates standing stock
FEfwea 93°
%777"7"7"7#7”4}" Main deflection
PDmin angle 93°
o d
93° S..SVZB(C).. G_:e —— %
/2 = ‘
93° LLL
R~fSize(mm) 12 ] R F AN
1] = Screw Wrench Inserts
# &= Model p
d| f|L|h Du o7
* S16Q-SVZBR/L11D 16 | 12 |180| 15 | 22
L60 M2.5X6 T8 VB..1103..
* S20R-SVZBR/L11D 20 | 14 |200| 19 | 27
* S25S-SVZBR/L16D 25| 20 |250| 24 | 35
L60 M4X10 T15 VB..1604..
* S32T-SVZBR/L16D 32 | 23 |300( 30 | 42
gg % Model RJSize(mm) %?}:re%va- Vﬁengczh Ijnjseg?ls-
d| f|L|h Dm o7
* S16Q-SVZCR/L11D 16 | 12 (180 15 | 22
L60 M2.5X6 T8 VC..1103..
* S20R-SVZCR/L11D 20 | 14 |200| 19 | 27
* S25S-SVZCR/L16D 25| 20 |250| 24 | 35
L60 M4X10 T15 VC..1604..
* S32T-SVZCR/L16D 32 | 23 |300| 30 | 42
® TR 114 S20R-SVZBR11D 14 S20R-SVZBL11D *R=BF L=KEF o T REERMITHY
o ‘X" SRRERER
® Ordering Example:1pcs S20R-SVZBR11D 1pcs S20R-SVZBL11D  * R=righthand L= left hand @ |Inserts need to be ordered separately
°

"indicates standing stock

089



[

W }LE \ﬁ” B 1::|: (Sﬁg) Internal turning tool holder(S type)

090

I 1 F{RfA 95°
@iz [I 5 Main deflection
®Dmin angle 95°
° od
W ik z
L=
RtSize(mm) 2 5] = AN
gg _,|=|5 Model Screw Wrenph Inserts
d| f|L|h Dum (5
S08K-SWLCR/L04D 8 5 1125 9 | 10
L60 M2.5X5 T8 WC..0402..
S10K-SWLCR/L04D 10 | 6.5|125| 9 | 13
*x S12M-SWLCR/L06D 12 |7.5|150| 11 | 16
* S16Q-SWLCR/L06D 16 | 11 [180| 15 | 20 L60 M4X8
T15 WC..06T3..
* S20R-SWLCR/L06D 20 | 13 |200| 19 | 25
* S25S-SWLCR/L06D 25 16.5/250| 24 | 31 L60 M4X10
® T4~ f: 144 S20R-SWLCR06D 114 S20R-SWLCL06D *R=HFF L=EF o JIFEEHMITH
o "k SRIEHER
® Ordering Example:1pcs S20R-SWLCRO06D 1pcs S20R-SWLCL06D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{RAEI5°
Tool Cutting Edge Angle
®Dmin @d RFLZET]
o 15 4! Z Internal turning tool
95° S..SCLC..A16 T ! G
L1 h
= [
- AvE (=
] = RT“'—Size(mm) ms%rjm]/- V{liiergi Inserts
& = Model n
d | f|L|L | h |Dm A [o]
* S07K-SCLCR/L06-A16 | 16 |4.25/125| 18 | 15| 9
* S08K-SCLCR/L06-A16 | 16 | 5 [125| 20 | 15 | 10
* S09K-SCLCR/L06-A16 | 16 | 5 |125| 24 | 15 | 12 L60 M2.5X6 T8 CC..0602..
* S10K-SCLCR/L06-A16 | 16 | 6 [125| 26 | 15 | 13
* S12M-SCLCR/L06-A16 |16 | 7 |[150| 28 | 15 | 15
S14Q-SCLCR/L09-A16 | 16 | 9 [180| 30 | 15 | 17 L60 M4X8 T15 CC..09T3..
TR~ 61: 144 S12M-SCLCR06-A16 114 S12M-SCLCL06-A16 *R=FF L=KLKF o IR EEHMITI
“k” ERTEEER
Ordering Example:S12M-SCLCR06-A16 1pcs S12M-SCLCR06-A16 * R=righthand L= left hand

Inserts need to be ordered separately

"indicates standing stock




A FL J1#Fllinternal Tool Holder

W}LE\E’UHH (S;_—:Flg) Internal turning tool holder(S type)

e
S = o
93° S..STUB.. @ o] :
L=
ﬂ % Model RYSize(mm) {%reﬁy \?/irer?ci ?r?seﬁs-
dlflL]L]h |Dm ! 4 VAN
S0806H-STUBR/L06C 8 |3.5(100| 18 |7.4| 7
* S1006K-STUBR/L06C 10 |3.5(125| 18 | 9 7
* S1007K-STUBR/LO6C 10| 4 [125)/ 18 | 9 8
* S1206K-STUBR/LO6C 12 |3.5(125| 18 | 11 | 7
* S1207K-STUBR/LO6C 12| 4 |125/ 20 | 11 | 8 L60 M2.0X6 T6 TB..0602..
* S1208K-STUBR/L06C 12| 5 [125| 25 | 11 | 10
*x S1606K-STUBR/LO6C 16 | 3.5[125| 18 | 15 | 7
* S1607K-STUBR/L06C 16 | 4 [125/ 20 | 15| 8
* S1608K-STUBR/LO6C 16 | 5 [125| 25 | 15| 10
® T4 Rf: 144 S1206K-STUBRO6C  1{4 S1206K-STUBL06C *R=AF L=KEF o T EEBMITN
o "k’ SRILEEER
® Ordering Example:1pcs S1206K-STUBRO6C 1pcs S1206K-STUBRO6C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F1RFA0°
Tool Cutting Edge Angle
®Dmin @d MFLZET]
' Y ~ Internal turning tool
90° S..STFB.. @ 2] >
L1 L LR —
ﬂ % Model RSize(mm) ms%re%; \T{lireﬁ Ijnjsegf‘s_
dlflLlL]h [Dm » /A
* S0806H-STFBR/L06C 8 [3.5(100( 18 (74| 7
* S1006K-STFBR/L06C 10 |3.5(125| 18 | 9 7
* S1007K-STFBR/L06C 10| 4 [125|/ 18 | 9 8
* S1206K-STFBR/L06C 12 |3.5(125| 18 | 11 | 7
* S1207K-STFBR/L06C 12| 4 |125/ 20 | 11 | 8 L60 M2.0X6 T6 TB..0602..
* S1208K-STFBR/L06C 12| 5 [125| 25 | 11 | 10
* S1606K-STFBR/L06C 16 | 3.5(125| 18 | 15| 7
* S1607K-STFBR/L06C 16 | 4 [125/ 20 | 15| 8
* S1608K-STFBR/L06C 16 | 5 [125| 25 | 15| 10
® JTER/Rfl: 114 S1206K-STFBR0O6C 14 S1206K-STFBLO6C *R=AF L=LKF e TIFEERMITN
o ‘X" SERTHEER
® Ordering Example:1pcs S1206K-STFBR06C 1pcs S1206K-STFBR06C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

091



[

W}LE\E’UHH (Sﬁg) Internal turning tool holder(S type)

092

F{RFA93°
Tool Cutting Edge Angle
©Dmin od MFLET]
|4
93° S..SWUB.. T ?
S | 5=
RT_fSize(mm) Té%:re%\; Wrench Inserts
d|f|L|[L|h Dm

* S0805H-SWUBR/L06C 8 [3.0(100| 15 |7.4| 6

* S0806K-SWUBR/L06C 8 |3.5(125( 18 (74| 7

* S1005K-SWUBR/L06C | 10 | 3.0 |125| 15| 9 6

* S1006K-SWUBR/L0O6C | 10 |3.5|125| 18 | 9 7

* S1007K-SWUBR/L06C | 10 | 4 [125| 18 | 9 8

* S1206K-SWUBR/L06C | 12 |3.5[125| 18 | 11 | 7 L60 M2.0X5 T6 WB..0601..

* S1207K-SWUBR/L06C |12 | 4 |[125) 20| 11| 8

* S1208K-SWUBR/L06C | 12 |4.5[125| 25 | 11 | 9

* S1606K-SWUBR/L06C | 16 |3.5[125| 18 | 15| 7

* S1607K-SWUBR/L06C | 16 | 4 [125/ 20 | 15| 8

* S1608K-SWUBR/L06C | 16 | 5 |125| 25 | 15 | 9

T8 R B: 114 S1206K-SWUBRO6C 144 S1206K-SWUBL06C *R=AF L=LKF e T REEHMITY

k7 ERTEEER

Ordering Example:1pcs S1206K-SWUBRO6C 1pcs S1206K-SWUBRO0O6C

Inserts need to be ordered separately

"[] "indicates standing stock

*R=right hand

L= left hand

90° S..SCFC..-S

FR3°

Tool Cutting Edge Angle

RFLZETD

o —T]
T
PR — L
RT"—SIZG(mm) ms?érf; Wrench Inserts
a=b| f | L | Li | h |®d|Dmn (o]
* S10M-SCFCR/L06-S16 | 16 | 7 |150| 30 | 16 | 10 | 13
* S12P-SCFCR/L06-S16 | 16 | 9 [170| 36 | 16 | 12 | 16
* S10M-SCFCR/L06-S20 | 20| 7 |[150| 30 | 20 | 10 | 13 P S5 — 56 GG
* S12P-SCFCR/L06-S20 | 20 | 9 [170| 36 | 20 | 12 | 16
* S10M-SCFCR/L06-S25 | 25| 7 |150| 30 | 25 | 10 | 13
* S12P-SCFCR/L06-S25 | 25| 9 [170| 36 | 25 | 12 | 16
S16Q-SCFCR/L09-S16 | 16 | 11 |180| 48 | 16 | 16 | 20
S16Q-SCFCR/L09-S20 | 20 | 11 |180| 48 | 20 | 16 | 20
S20R-SCFCR/L09-S20 | 20 | 13 |200| 60 | 20 | 20 | 25 L60 M4X10 T156 CC..09T3..
S16Q-SCFCR/L09-S25 | 25 | 11 |180| 48 | 25 | 16 | 20
S20R-SCFCR/L09-S25 | 25 | 13 |200| 60 | 25 | 20 | 25
S25R-SCFCR/L12-S25 | 25 | 16 |200| 75 | 25 | 25 | 30 L60 M5X12 T20 CC..1204..
® T ~fl: 144 S12P-SCFCR06-S20 1/ S12P-SCFCL06-S20 *R=HF L=LF o IREZEHMITH
o ‘X SRRAERER
® Ordering Example:1pcs S12P-SCFCR06-S20 1pcs S12P-SCFCR06-S20 * R=righthand L= left hand

® Inserts need to be ordered separately °

[] "indicates standing stock




W;LE%UDH (Sﬂ) Internal turning tool holder(S type)

95° S..SCLC..-S

FRMA3°

Tool Cutting Edge Angle

WIZET]

Internal turning tool

93° S..SDUC..-S

3 —
By a
fiel ¥ H 1
£ L
g'_i % Model RdSize(mm) ms%rjvg Jger?ci Ijnjseﬁ:s-
a=b| f L |Li| h | ®Dd|Dumin
* S10M-SCLCR/L06-S16 | 16 | 7 |150| 30 | 16 | 10 | 13
* S12P-SCLCR/L06-S16 | 16 | 9 [170| 36 | 16 | 12 | 16
* S10M-SCLCR/L06-S20 | 20| 7 [150| 30 | 20 | 10 | 13 PG = cC. 0602
* S12P-SCLCR/L06-S20 | 20 | 9 [170| 36 | 20 | 12 | 16 ’ v -
* S10M-SCLCR/L06-S25 | 25| 7 |150| 30 | 25 | 10 | 13
* S12P-SCLCR/L06-S25 | 25| 9 |170| 36 | 25 | 12 | 16
S16Q-SCLCR/L09-S16 | 16 | 11 |180| 48 | 16 | 16 | 20
S16Q-SCLCR/L09-S20 | 20 | 11 |180| 48 | 20 | 16 | 20
S20R-SCLCR/L09-S20 | 20 | 13 [200| 60 | 20 | 20 | 25 L60 M4X10 T15 CC..09T3..
S16Q-SCLCR/L09-S25 | 25 | 11 [180| 48 | 25 | 16 | 20
S20R-SCLCR/L09-S25 | 25 | 13 [200| 60 | 25 | 20 | 25
S25R-SCLCR/L12-S25 | 25 | 16 |200| 75 | 25 | 25 | 30 L60 M5X12 T20 CC..1204..
® T4 /Rfl: 114 S12P-SCLCR06-S20 114 S12P-SCLCL06-S20 *R=FF L=KF o JIFEEHIMITH
° ‘X" SRTEEER
® Ordering Example:1pcs S12P-SCLCR06-S20 1pcs S12P-SCLCR06-S20 * R=righthand L= lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
o
FiRFE45°
Tool Cutting Edge Angle
“I “’I wILET]
DDmin »d Internal turning tool

“k7 SRTEEER

Ordering Example:1pcs S12P-SDUCRO07-S20 1pcs S12P-SDUCR07-S20

Inserts need to be ordered separately

"indicates standing stock

* R=right hand

L= left hand

g! % Model R9Size(mm) ms%re%; Wrench Inserts

a=b| f | L |Li| h |®d Dm o/
* S10M-SDUCR/L07-S16 | 16 | 7 |[150| 30 | 16 | 10 | 13
* S12P-SDUCR/L07-S16 | 16 | 9 |170| 36 | 16 | 12 | 16
S16Q-SDUCR/L07-S16 | 16 | 11 |180| 48 | 16 | 16 | 20
* S10M-SDUCR/L07-S20 | 20 | 7 |150| 30 | 20 | 10 | 13

* S12P-SDUCR/L07-S20 | 20 | 9 [170| 36 | 20 | 12 | 16 L60 M2.5X6 T8 DC..0702..
S16Q-SDUCR/L07-S20 | 20 | 11 |180| 48 | 20 | 16 | 20
* S10M-SDUCR/L07-S25 | 25 | 7 |150| 30 | 25 | 10 | 13
* S12P-SDUCR/L07-S25 | 25 170 36 | 25 | 12 | 16
S16Q-SDUCR/L07-S25 | 25 | 11 |180| 48 | 25 | 16 | 20
TR %: 144 S12P-SDUCR07-S20  1/4 S12P-SDUCL07-S20 *R=AF L=LKF e TIFEERMITH

A FL J1#Fllinternal Tool Holder

093



[

W}LE\E’UHH (Sﬁg) Internal turning tool holder(S type)

gt ] g [
L AALET]
o (Di Internal turning tool
95° S.STFC..-S .
s GN ] -
/it (o) i
4 L g
JSize(mm ]
ﬁ! % Model Ry ( ) msgi:regvg- thlir-er?j\ Ijnjseﬁs-
a=b| f | L | Li| h |®d|Dmn » (o]

S10M-STFCR/L11-S16 | 16 | 7 |150| 30 | 16 | 10 | 13
S12P-STFCR/L11-S16 |16 | 9 |[170| 36 | 16 | 12 | 16
S16Q-STFCR/L11-S16 | 16 | 11 [180| 48 | 16 | 16 | 20
S10M-STFCR/L11-S20 |20 | 7 [150| 30 | 20 | 10 | 13
S12P-STFCR/L11-S20 |20 | 9 [170| 36 | 20 | 12 | 16 L60 M2.5X6 T8 TC..1102..
S16Q-STFCR/L11-S20 | 20 | 11 [180| 48 | 20 | 16 | 20
S10M-STFCR/L11-S25 | 25| 7 |150| 30 | 25 | 10 | 13
S12P-STFCR/L11-S25 | 25| 9 [170| 36 | 25 | 12 | 16
S16Q-STFCR/L11-S25 | 25 | 11 [180| 48 | 25 | 16 | 20
iT4#& 7~ f: 14 S12P-SCLCR06-S20 144 S12P-SCLCL06-S20 *R=HAF L=LF o I REEHMIT
“k” BRTEEER

Ordering Example:1pcs S12P-SCLCR06-S20 1pcs S12P-SCLCR06-S20 * R=righthand L= left hand

Inserts need to be ordered separately
"[] "indicates standing stock

PISIERITIAR (PIASE) sty e

L 2 2B 2R

1 E{RmAA 95°
%‘7777"7"7"7”4}7 Main deflection
I 1 angle 95°
. DD min od
95° A..SCLC.. /&P S B I -
I L 1]
gg % Model RT_I'Slze(mm) g]‘s%re%; Wrench Inserts
dltlL]h[Dm » [o]
% AO8F-SCLCR/L0O6D 8 | 5 (80|74 10
L60 M2.5X5
% A10H-SCLCR/L0O6D 10 | 6 |100] 9 | 12 T8 CC..0602..
* A12K-SCLCR/L06D 12 | 9 |[125| 11 | 16 L60 M2.5X6
* A12M-SCLCR/L09D 12 | 9 [150| 11 | 16
* A16M-SCLCR/L09D 16 | 11 |150| 15 | 20 L60 M3.5X8 cC.09T3
% A20Q-SCLCR/L09D 20 | 13 [180] 18 | 25 - -
A25R-SCLCR/L09D 25 | 17 |200| 23 | 32 L60 M3.5X10 rie
A25R-SCLCR/L12D 25 | 17 [200| 23 | 32
L60 M4X11X CC..1204..
A32S-SCLCR/L12D 32 | 22 [250| 30 | 40
® T Rfl: 14 A20R-SCLCR09D 144 A20R-SCLCL09D *R=HFF L=LF o I REEHMIT

® k" SRTEEER

® Ordering Example:1pcs A20R-SCLCRO09D 1pcs A20R-SCLCL09D  * R=righthand L=left hand
® |nserts need to be ordered separately
094 @ "[]"indicates standing stock



A FL J1#Fllinternal Tool Holder

é N j:)-[,)a—-r__ijj 1::|: (Sﬂ) Alloy anti-vibration knife holder (S type)

° POnin od

75° C..SCKC.. :
G’!E «”/f’\/_D p
I L ’—h‘
;__:Fé % Model RT_I'Slze(mm) ms%re%\; V1;V}§rer?c-:;1 Iyr?seg?:
d| f|L|h |Dm o]

* CO08K-SCKCR/L06C 8 |55|125(7.4 ] 10 L60M2.5X5
* C10M-SCKCR/L06C 10 | 6.5(150|9.4 | 13 T8 CC..0602..
* C12Q-SCKCR/L06C 12 | 7.5(180|11.4| 16 L60 M2.5X6
* C12Q-SCKCR/L09C 12 | 7.5|180|11.4| 16 L60 MAX3 T15 cC.09T3..

C16R-SCKCR/L09C 16 [ 9.5|200| 15 | 20
e T Rfl: 144 C12Q-SCKCR0O6C 114 C12Q-SCKCL06C *R=AF L=KEF o T REZEBMITHY
o “k” SRRNEEER

® Ordering Example:1pcs C12Q-SCKCRO06C 1pcs C12Q-SCKCL06C

* R=right hand

L= left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
0 Fm 95°
#77 — 7# Main deflection
[ J angle 95°
®Drmin
° &d
95° C..SCLC.. ﬂ,} ol = ) — -
I S v
gg _,g_ Model RYTSlze(mm) T‘S?(\:re%va- Wrench Inserts
d] f]L|h |Dm [
* CO05H-SCLCR/L06C 5 [3.5(100(4.4| 7
* CO06K-SCLCR/L0O6C 6 125/54 | 8 CIREG
* CO8K-SCLCR/L06C 8 5 [125|7.4 | 10 ’ T8 CC..0602..
* C10M-SCLCR/L06C 10 | 6 |150|9.4 | 13
* C12Q-SCLCR/L06C 12 | 7.5|180(|11.4| 16 L60 M2.5X6
* C12Q-SCLCR/L09C 12 | 8.5|180(11.4| 16
* C16R-SCLCR/L09C 16 | 10 |200| 15 | 20 L60 M4X8 T15 CC..09T3..
C20S-SCLCR/L09C 20 | 12 |250| 19 | 25
C20S-SCLCR/L12C 20 | 12 |250| 19 | 25 L60 M5X12 T20 CC..1204..
e iTiRfl: 14 C12Q-SCLCRO6C 1 C12Q-SCLCL06C *R=AF L=KEKEF o JIREHEERMITHY
o ‘X" SKRREERER
® Ordering Example:1pcs C12Q-SCLCRO6C 1pcs C12Q-SCLCLO6C  * R=righthand L=left hand

"[] "indicates standing stock

Inserts need to be ordered separately

095



[

096

SENR/IT (SH)

Alloy anti-vibration knife holder (S type)

1. F{FfB 107.5°

Inserts need to be ordered separately
"[] "indicates standing stock

¢Dmin Aﬁiﬁiﬁiﬁiﬁiﬁiﬁiu Maindeflectign
) od angle 107.5
: “
o A /ﬁl
107.5° C..SDQC.. @ﬁ, $ :
lh.
‘ L
gg _.I=I5 MOdel RTJSIZe(mm) ms%:re%vg— \Tgengc:_h Ijnjseﬁs-
d]f]L]h D 4 Vv
C08K-SDQCR/LO7C 8 6 [125|7.4 | 11
L60 M2.5X5
C10M-SDQCR/L0O7C 10 | 7 [150|9.4 | 13
T8 DC..0702..
C12Q-SDQCR/LO7C 12 | 9 |180(|11.4| 16
L60 M2.5X6
C16R-SDQCR/LO7C 16 | 11 |200| 15 | 20
C20S-SDQCR/L11C 20 | 13 |250| 19 | 25 L60 M4X8 T15 DC..11T3..
o T =f: 144 C12Q-SDQCR0O7C 114 C12Q-SDQCLO7C *R=HF L=KLKF o JIFEEAMITI
o “k” SRREEETRF
® Ordering Example:1pcs C12Q-SDQCRO07C 1pcs C12Q-SDQCL07C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fm 93°
—"JE i Main deflection
PDmin vl ) angle 93°
93° C..SDUC >
.. .. <] PAR >
@ IR
L l<h
R~FSize(mm) 12 £7 R F kR
§|_£ _% Model Screw Wrench Inserts
dl /L] h D ) 4 VAV
* C08K-SDUCR/L0O7C 8 6 [125|7.4 | 11
L60 M2.5X5
* C10M-SDUCR/L0O7C 10 | 7 |150|9.4 | 13 DC..0702
* C12Q-SDUCR/L0O7C 12 | 9 |180(|11.4| 16
L60 M2.5X6
* C16R-SDUCR/L0O7C 16 | 11 |200| 15 | 20
* C16R-SDUCR/L11C 16 | 11 |200| 15 | 20
L60 M4X8 T15 DC..11T3..
C20S-SDUCR/L11C 20 | 13 |250| 19 | 25
o T =f: 114 C12Q-SDQCR0O7C 114 C12Q-SDQCL07C *R=HFF L=KLKF o TIFEEAMITI
o “k” SRREEETR
® Ordering Example:1pcs C12Q-SDQCRO07C 1pcs C12Q-SDQCL07C  * R=righthand L= left hand




é N j:)-[,)a—-r__ijj 1::|: (Sﬁg) Alloy anti-vibration knife holder (S type)

A FL J1#Fllinternal Tool Holder

ﬁi ] A 90°
I i Main deflection
DDmin angle 90°
90° C..STFB(C)(P). G sik e
W 7 T
R Size(mm) 12 £7 1w F 7R
ﬂ % Model Screw Wren_ch Inserts
d f L | h [Dmn
* CO06K-STFBR/L06C 6 12554 | 8 GO =3 GG
* CO8K-STFBR/L06C 8 125(7.4 | 10 - -
gg % Model RTJ'SIze(mm) m\S?;\}I‘G%V;II- \Tgerai Ijr?seﬁs_
d f L | h |Dmn
* C10M-STFCR/L09C 10 | 6 |150|9.4 | 13 L60 M2.2X5 6 T
* C12Q-STFCR/L09C 12 | 7.5[180(11.4| 16 h h
* C10M-STFCR/L11C 10 | 6 |150]9.4 | 13 L60 M2.5X5
* C12Q-STFCR/L11C 12 | 7.5]180|11.4| 16 T8 i
C16R-STFCR/L11C 16 | 10 |200| 15 | 20 L60 M2.5X6 h
C20S-STFCR/L11C 20 | 12 |250| 19 | 25
C20R-STFCR/L16C 20 | 12 |200| 19 | 25 L60 M4X8 T15 TC..16T3..
gg % Model R?]‘Slze(mm) Té?i‘:re%va- \T{/EI‘QI’?C:?] Ijnjseﬁs_
d f L | h [Dmn
* C10M-STFPR/L09C 10 | 6 |150|9.4 | 13 L60 M2.5X5 T8 TP..0902..
* C10M-STFPR/L11C 10 | 6 |150|9.4 | 13
* C12Q-STFPR/L11C 12 | 7.5]180|11.4| 16 L60 M3X8 T10 TP..1103..
C16R-STFPR/L11C 16 | 10 |200| 15 | 20
e iT#Rf: 144 C12Q-STFPR11C 144 C12Q-STFPL11C *R=FF L=LKF o JIREERMITH
o ‘X SRRERER
® Ordering Example:1pcs C12Q-STFPR11C 1pcs C12Q-STFPL11C  *R=righthand L= left hand
® |nserts need to be ordered separately
P

"[] "indicates standing stock

097



[

aEm=E/IT

|
(Sﬁé) Alloy anti-vibration knife holder (S type)

Jﬁi ] FRA 93°
! | Main deflection
DDmin angle 93°
93° C..STUB(C)(P).. = —
N &> J
I L ‘h—
ﬁl_i % Model RT'I-Slze(mm) m‘S?E:re%va- J&erﬁ Ijnjseﬁs-
d L | h |Dmin
* CO06K-STUBR/L06C 6 4 |125|5.4 | 8 A - LT
* CO8K-STUBR/L06C 8 125(7.4 | 10 N N
gg % Model R Size(mm) ms%:re%\; Wrenph Inserts
d f L | h |Dmn
* C10M-STUCR/L09C 10 | 6 |150|9.4 | 13 GRS - & [
* C12Q-STUCR/L09C 12 | 7.5/180(|11.4| 16
* C10M-STUCR/L11C 10 | 6 |150|9.4 | 13 L60 M2.5X5
* C12Q-STUCR/L11C 12 | 7.5/180(|11.4| 16 . o
C16R-STUCR/L11C 16 | 10 |200| 15 | 20 L60 M2.5X6
C20S-STUCR/L11C 20 | 12 |250| 19 | 25
C20R-STUCR/L16C 20 | 12 |200| 19 | 25 L60 M4X8 T15 TC..16T3..
§|_£ _% Model RT_!'Slze(mm) %re%va- Wrenph Inserts
d f L | h |Dumin
* C10M-STUPR/L09C 10 | 6 |150|9.4 | 13 L60 M2.5X5 T8 TP..0902..
* C10M-STUPR/L11C 10 | 6 |150|9.4 | 13
* C12Q-STUPR/L11C 12 1 7.5|180|11.4| 16 L60 M3X8 T10 TP..1103..
C16R-STUPR/L11C 16 | 10 |200| 15 | 20
e iT#Rfl: 144 C12Q-STUPR11C 114 C12Q-STFPL11C *R=FF L=KF o T REERMITH
® ‘X" SRTEEER
® Ordering Example:1pcs C12Q-STUPR11C 1pcs C12Q-STFPL11C  * R=righthand L=left hand
°

Inserts need to be ordered separately
® '[] "indicates standing stock

098




A FL J1#Fllinternal Tool Holder

é N j:)-l_[,)a—-r__ijj 1::|: (Sﬁg) Alloy anti-vibration knife holder (S type)

T i FR 93°
%77777% Main deflection
I 1 angle 93°
PDmin

93° C..SWUB.. ,; N ]
%ffic’)J/' Z f

gg = Model RT-rSIze(mm) m;%re%vj\]/— \T&erﬁi Ijnjseﬁs-
= dlflL|h[Dm ) - )
* CO5K-SWUBR/L06C 5 | 3 |125/4.34| 6
* CO06K-SWUBR/L06C 6 |3.5(125/5.4|7.5
* CO07K-SWUBR/L06C 7 | 4 |125/6.4|8.5
L60 M2X4 T6 WB..0601..

* C08K-SWUBR/L06C 8 | 5 (125]7.4 |10

C10M-SWUBR/L06C 10| 6 |150]9.4 | 13

C12Q-SWUBR/L06C 12 | 7 |180|11.4| 15

® TR 114 C12Q-SWUBRO6C 144 C12Q-SWUBLO06 *R=HFAF L=KLF e TIREERMITH
® ‘X" SRREEER

® Ordering Example:1pcs C12Q-SWUBRO6C 1pcs C12Q-SWUBL06  * R=righthand L= left hand

® |nserts need to be ordered separately

® '[] "indicates standing stock

099



[

RHEISNE . AFLTIHFE S KM IR

Inch External. Internal Turning Tool Holder Type and Operation Genre

P102

MCLNR/L MDJNR/L MVJNR/L MWLNR/L
N !
' D -
931_ ' -
P100 P100 ‘ P101 P101
DCLNR/L DVJNR/L DWLNR/L

P104

95° SCLCR/L

93° SDUCRI/L

P106

90° STF..R/L




9" E \ﬁ” 7j 1::|: ( %%U Miﬂ ) External turning tool holder (Inch M type)

FH ZE HI JIFFIINCH Turning Tool

iR 95°
Main deflection
angle 95°

95° MCLN.. R R
s ey
e L
~FSize(i L2 te op) e H 5] 5 wF 7R
F = Model R__]'SIZG(IH) Stud bolts Shim Pin Pressure plate Wrench Inserts
SN D ode -
alb|L|nh|f]e s/ fo V4 ~ ()
* MCLNR/L16-4D 1.0/1.0/6.0|1.01.25/1.26 S C12BM TM6X17 C1RD . CN..1204..
* MCLNR/L16-5D 1.0/1.0/6.01.0(1.25/ 1.5 C16BM TM8X21 C2RD CN..1606..
® T4 Rf: 144 DVINR12-3C 1{4DVJNL12-3C *R=BF L=KEF o JIREERMITHY
o ‘X SRRERER
® Ordering Example:1pcs DVJNL12-3C 1pcs DVJUNL12-3C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
FfmFa 93°
< © Main deflection
angle 93°
93° MDJN.. -
93° -~
—e . L
JSize(i skig 7] B H £ 5 wF VAN
Y = Model R__]'SIZG(IH) Stud bolts Shim Pin Pressure plate Wrench Inserts
= = ode
alb|L|nh]f]e g < V4 ~ /7
* MDJNR/L16-4D 1.0/1.0/6.01.0(1.25/ 1.5 TM6X19 DN..1506..
DM6X25 D15BM C2RD S3
* MDJNR/L16-4D-3 1.0/1.0/6.01.0(1.25/ 1.5 TM6X17 DN..1504..
T8 ~%: 144 MDJNR16-4D 144MDJNL16-4D *R=FF L=KEF o T REERMITHY
“k” ERTEEER
Ordering Example:1pcs MDJNL16-4D 1pcs MDJNL16-4D  * R=righthand L= left hand

"[] "indicates standing stock

Inserts need to be ordered separately

100



/i

9" E \ﬁ” D 1::|: ( %ﬁ%u Miﬂ ) External turning tool holder (Inch M type)

101

Fiwea 93°
= @ Main deflection
angle 93°
93° MVJN.. H
- © ° R
, AN
93 o —
XL i2 A 7B H £ E R R F 7R
gg "l:IS Model RSIZe__]'(In) Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e Ve == ¥ 4 ~ e
* MVJNR/L16-3D 1.0/1.0/6.0|1.0(1.25/1.77| DM6X25 V16BM TM5X13 C3RD S2\S3 VN..1604..
® TR {: 144 MVINR12-3D 14MVJINL12-3D *R=AF L=LKF o JIREERMITY
o ‘X" SRRERER
® Ordering Example:1pcs MVJUNL12-3D 1pcs MVJNL12-3D *R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
‘ﬁ: *{fs 95°
< © Main deflection
angle 95°
95° MWLN..
- © o f
o, -
€ L
FSize(i L2 te 72 H §] E 1R R F 7R
U = R_ISIZG(I n) Stud bolts Shim Pin Pressure plate Wrench Inserts
Z: = Model
a|b|L|h | f]|e 7 a V4 ~ 1)
* MWLNR/L12-3C 0.75/0.75| 5.0 |0.75| 1.0 |1.18
WO06BM TM5X13 S2\S3 WN..0604..
* MWLNR/L16-3D 1.0/1.0/6.0|1.01.25/1.18
DM6X25 C1RD
MWLNR/L12-4C 0.75/0.75| 5.0 |0.75| 1.0 |1.38
W08BM TM6EX17 S3 WN..0804..
MWLNR/L16-4D 1.0/1.0|/6.0(1.0(1.25/1.38
® JTERH: 14 MWLNR16-3D 1{MWLNL16-3D *R=BF L=K£F o T REFEERMITHY
o “k” SRREEERF
® Ordering Example:1pcs MWLNL16-3D 1pcs MWLNL16-3D *R=righthand L=lefthand

Inserts need to be ordered separately
"[] "indicates standing stock




FH ZE HI JIFFIINCH Turning Tool

9" E \ﬁ” 7j 1::|: ( %%U Dgg ) External turning tool holder (Inch D type)

L Fim 95°
- © 2 Main deflection
angle 95°
g
95° DCLN.. e L
RJSize(in JEgye | JJBR ) EiR | #E | BE | RF 7R
(in) . ! :
gg _%_ Model Shim screw Shim  Pressure plate Sgg S;w Wrench Inserts
a|b|L|h|f]|e o - F— ()
* DCLNR/L12-3C 0.75/0.75| 5.0 [0.75/ 1.0 | 1.1
SM5X8.65XA1 C09BM DC3230 DC5812 DM525 S3 CN..0903..
* DCLNR/L16-3D 1.0/1.0/6.0|1.0(1.25/ 1.1
* DCLNR/L12-4C 0.75/0.75| 5.0 |0.75/ 1.0 | 1.1
SM6X10XA1 C12BM DC5282 DC6812 DM625 S4 CN..1204..
* DCLNR/L16-4D 1.0/1.0/6.0|1.0(1.25/ 1.1
® iJ#%/~fl: 144 DCLNR12-3C 1{4DCLNL12-3C *R=HAF L=LKF o JIFEEH T
o ‘X" SRREEER
® Ordering Example:1pcs DCLNL12-3C 1pcs DCLNL12-3C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fimea 93°
\ o ® :
L@‘ [ Ma;r:]gleglggyon
%
93° DVJN.. = L
s | -l
R<JSize(in) JBagee | B EWR | oBE | BE ) ORF kR
9__1:2 -% Model Shim screw Shim  Pressureplatg  Spring Screw Wrench Inserts
alblL|nltf]e < | B W D o e
* DVJNR/L12-3C 0.75/0.75| 5.0 |0.75| 1.0 |1.61
SM5X8.65XA1 V16BM DC3230 DC5812 DM525 S3 VN..1604..
* DVJNR/L16-3D 1.0/1.0/6.0| 1.0 {1.25/1.61
® JTEERf: 14 DVINR12-3C 1{£DVJNL12-3C *R=BF L=KEF o I RFEERMITY
o “k” SRREEERF
® Ordering Example:1pcs DVJNL12-3C 1pcs DVJNL12-3C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "

| "indicates standing stock

102



/i

gl\i\ﬁ”ﬂﬁ (%%U Dgg) External turning tool holder (Inch D type)

R E(Rf 95°
- © Main deflection
angle 95°

95°

95° DWLN.. - L
— e
< © -
R~fSize(in) Jgee | DB EiR O wmE | BE | RF 7R
;:F:t:u _.l=l5 Model Shim screw Shim Pressure plate | Spring Screw Wrench Inserts
alb|L|n|f]e & a o | S )
* DWLNR/L12-3C 0.75/0.75| 5.0 |0.75] 1.0 {1.02
SM5X8.65XA1 W06BM DC3230 DC5812 DM525 S3 WN..0604..
* DWLNR/L16-3D 1.0/1.0/6.0|1.0(1.25/1.02
* DWLNR/L12-4C 0.75/0.75| 5.0 |0.75] 1.0 |1.22
SM6X10XA1 Wo08BM DC5282 DC6812 DM625 S4 WN..0804..
* DWLNR/L16-4D 1.0/1.0/6.0|1.01.25/1.22
e JT#Rfl: 144 DWLNR12-3C 1¥4£DWLNL12-3C *R=BGF L=K£F o JIRFEERMITH
o ‘X" SRRERER
® Ordering Example:1pcs DWLNL12-3C 1pcs DWLNL12-3C *R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock

103



FH ZE HI JIFFIINCH Turning Tool

gl\ E ﬁ” 7j 1::|: ( ﬁﬁgu Sil:lg ) External turning tool holder (Inch S type)

F{Rfa 95°
Main deflection
- 2 I angle 95°
° s,
95° SCLC.. B )
t

IF B )

R<JSize(in) TRy J] & 12T R F 7R
g'g % Model Shim screw Shim Screw Wrench Inserts
a | b |L| h |f]|e & o » Ao ]
* SCLCR/L06-2J 0.375|0.375(2.75/0.375 | 0.47 | 0.4 L60 M2.5X6 T8 CC..0602..
*x SCLCR/L08-3J 0.5 0.5 | 35| 0.5 |0.63(0.6
* SCLCR/L10-3A 0.625|0.625| 4 |0.625|0.79|0.6 L60 M3.5X8 T15 CC..09T3..
* SCLCR/L12-3C 0.75 | 0.75 5 0.75 | 1.0 | 0.8
* SCLCR/L12-4C 0.75 | 0.75 5 0.75 | 1.0 | 0.8
SM6X10XA C12BS L60 M4X11X S4\T15 CC..1204..
* SCLCR/L16-4D 1.0 1.0 6 1.0 |1.25|1.0
e iT#/Rfl: 144 SCLCR12-3C 144£SCLCL12-3C *R=KF L=kF o JIHEEHMITHY
® ‘X" SRRERER
® Ordering Example:1pcs SCLCL12-3C 1pcs SCLCL12-3C *R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock

104



[

W %LE \%’I.I 73 1::': (3_&%” S;_—:Flg ) Internal turning tool holder(Inch S type)

105

"

. ©Dmin o angle 95

95° S..SCLC.. /j@ . = | o
ﬁi f B I | %
.
‘ ¥
R~JSize(in)
D [ fem | L | h |Dunem o [o]

* S05K-SCLCR/L-2 0.313| 5.0 |5.39/0.289| 10
* S06M-SCLCR/L-2 0.375| 6.0 | 6.0 |0.336| 12 L60 M2.5X6 T8 CC..0602..
* S08M-SCLCR/L-2 05 | 9.0 | 6.0[0.461| 16
* S08M-SCLCR/L-3 05 | 9.0 | 6.0 [0.461| 16
* S10R-SCLCR/L-3 0.625| 11.0 | 8.0 |0.586 | 20 - -
* S12Q-SCLCR/L-3 0.7 13.0 | 7.0 [0.671| 25 L60 M3.58 T15 CC.09T3..
* S12S-SCLCR/L-3 0.75 | 13.0 |10.0/0.671| 25
* S16Q-SCLCR/L-3 1.0 | 17.0 | 7.0 |0.921| 32
* S16T-SCLCR/L-3 1.0 | 17.0 |12.0/0.921| 32
* S20R-SCLCR/L-4 12.51 22,0 8.0 | .17 40 SMBX10XA C12BS L60 M4X11X S4\T15 CC..1204..
* S20U-SCLCR/L-4 12.5 | 22.0 |14.0| 1.17 | 40

iT#Rfl: 144 S12Q-SCLCR-3 1#4S12Q-SCLCL-3 *R=HF L=KF o JIREERMITHY

“k” ERTEEER

Ordering Example:1pcs S12Q-SCLCL-3 1pcs S12Q-SCLCL-3  *R=righthand L=left hand

Inserts need to be ordered separately
"[] "indicates standing stock




FH ZE HI JIFFIINCH Turning Tool

W }LE \ﬁ” 7j 1::|: ( %%H S:I;:FE ) Internal turning tool holder(Inch S type)

T ] Fim 93°
PDmin A2 > J Main defiection
93° S..SDUC.. AN &= =
o= ’
L l-h]
JSize(i TRy 7] B 3 1w F AN
gg % MOde| R_J'Slze(m) Shim g?iew Shim ms;;;rew Wrench Inserts
D [fom | L | h [Dueem| & < » ~ (7
* S08M-SDUCR/L-2 0.5 9 6.0 |0.461| 16
* S10M-SDUCR/L-2 0.625 1 6.0 | 0.586| 20 L60 M2.5X6 T8 DC..0702..
* S10R-SDUCR/L-2 0.625 11 8.0 | 0.586| 20
* S12Q-SDUCR/L-3 0.75 13 7.0 1 0.671 24
L60 M3.5X8 T15 DC..11T3..
* S12S-SDUCR/L-3 0.75 13 110.0|/0.671 24 © ©
® JTHERf: 144 S12Q-SDUCR-3 1{£S12Q-SDUCL-3 *R=HF L=EKEF o I HFERMITY
o “k” SRREEERF
® Ordering Example:1pcs S12Q-SDUCR-3 1pcs S12Q-SDUCR-3  * R=right hand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T ] Fimf 90°
ﬁ; j Main deflection
angle 90°
®Dmin
° @d
90° S..STFC.. ﬁ,} .. >
V286G '
L b
+Size(i TRy 7] & 5] R F 7]
ﬂ % Model RTSIZe(m) Shim ?{iew Shim wé%;rew \TVrench Inseﬁs-
D |fom | L | h |Dunem| & & ) 4 2 AN
* S08M-STFCR/L-2 0.5 9 6.0 | 0.461 16
* S10M-STFCR/L-2 0.625 11 6.0 | 0.586| 20 L60 M2.5X6 T8 TC..1102..
* S12S-STFCR/L-2 0.75 13 | 8.0 |0.671| 25
* S12Q-STFCR/L-3 0.75 13 | 7.0 |0.671| 25 L60 M3.5X8 T15 TC..16T3..
® TR fl: 144 S12Q-STFCR-3 114S12Q-STFCL-3 *R=HFF L=EK£F e JIREEHMITH
o “k” SRRERER
°

Ordering Example:1pcs S12Q-STFCR-3 1pcs S12Q-STFCR-3  * R=righthand L= left hand
® |nserts need to be ordered separately

indicates standing stock

106



*ﬁl IQH]EDFF

pllely PRESSURE PRECISION COOLING
. TURNING TOOL HOLDER

BRI ZSE5HFRIFNTRGS,

The perfect combination of traditional'technology and digital technology, HANCHENG CNC cutting tools, real gold fire refining, excellent quality.

\
y |

|
OIS 2 J?

]

WRMIETIR, EEXE, RREH,




&5 4 A0 JT)#FlPrecision Cooling Tool Holder

BERANTNAEBESEMIERN

Precision cooling of tool holder type and processing form

PCLNR/L PTJNR/L PWLNR/L SCLCRI/L SDJCRI/L
5| r '
= =
- = ]
Cold Cold P108 | cold P109 | cold P110 | cold P110
SVJ..R/L MGEHR/L
Cold P111 | cold P112

107



[

BIERESMNETIF (RISPE)

Precision cooling external cylindrical tool holder (internal cooling P type)

108

1 5 *{Rfs 95°
= @ Main deflection
angle 95°
95° PCLN..A ” -
)
_E
L
R Size(mm) AT | DB | M | BE | mFE | DA
FU = Lever screw Shim Lever Stop pin Wrench Inserts
4 = Model i
alb|lL|n|f]e S e » N ~
* PCLNR/L2020K12A 20 | 20 [125| 20 | 25 | 38
* PCLNR/L2525M12A 25 | 25 (150 25 | 32 | 38 MCS821 C12BP L4 SP4 S3 CN..1204..
* PCLNR/L3232P12A 32|32 |170| 32 | 40 | 38
e iT#Rfl: 144 PCLNR2020K12A 144 PCLNL2020K12A *R=AF L=KL£F o IR EEHMITI
o “k” SRREERER
® Ordering Example:1pcs PCLNR2020K12A 1pcs PCLNL2020K12A  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
1 B Fiwfa 93°
< (O Main deflection
angle 93
93° PTJUN..A

-
937
e

R Size(mm) FLAFARET 7] B L+  fH R F 7R

U % Model Lever screw Shim Lever Stop pin Wrench Inserts
= alb|L|n|[f]e]| o® a B # ~

* PTIJNR/L2020K16A 20 | 20 [125| 20 | 25 | 35

* PTIJNR/L2525M16A 25 | 25 (150 25 | 32 | 35 MCS617 T16BP L3 Sp3 S2.5 TN..1604..

* PTJNR/L3232P16A 32| 32 |170| 32 | 40 | 35

o TR {: 144 PTINR2020K16A 114 PTIJNL2020K16A *R=AF L=KLK£F o JIFEEHMITH

° “*” SRIERER

® Ordering Example:1pcs PTJNR2020K16A 1pcs PTJNL2020K16A  * R=righthand L=lefthand

Inserts need to be ordered separately
[] "indicates standing stock




% 44 £ J1#FIIPrecision Cooling Tool Holder

RIERANIRASMNE T (PEL)

Precision cooling external cylindrical tool holder (internal cooling P type)

2-02tik L

Fim 95°
® Main deflection
angle 95°
95° PWLN..A
!
L
R<FSize(mm) AATRET | Dm | IR | B | RFE | DK
ﬂ % Model Lever screw Shim Lever Stop pin Wrench Inserts
a|b|L|h|f]e ™ a '™ N ~ )
* PWLNR/L2020K08A 20 | 20 |125| 20 | 25 | 38
* PWLNR/L2525M08A 25 | 25 |150| 25 | 32 | 38 MCS821 WO08BP L4 SP4 S3 WN..0804..
* PWLNR/L3232P08A 32 | 32 |170| 32 | 40 | 38

o JT#Rfl: 144 PWLNR2020K08A 114 PWLNL2020K08A *R=HAF L=K£F e JJREZEBMITHY

o “k” BRTEEER

® Ordering Example:1pcs PWLNR2020K08A 1pcs PWLNL2020K08A
® |nserts need to be ordered separately
® "[] "indicates standing stock

*R=righthand L=lefthand

109



/i

110

FRIERASMNE I (SEY)

Precision cooling external cylindrical tool holder (internal cooling S type)

0“*”?%%%%%#

® Ordering Example:1pcs SDJCR1616K11A 1pcs SDJCL1616K11A

Inserts need to be ordered separately
"[] "indicates standing stock

*R=righthand L= left hand

~D.0 00
- Ve S Nl F{mfa 95°
{ri“’\ ““““““ /O ‘—j (UI Main deflection
angle 95°
95° SCLC..A S ]
- o 4: ————————————— IDJIL_‘ L,«‘»D
5 f
e L - ‘
gg _% MOdel RTTSlze(mm) %re%vj\]/— Vﬁ\gerizh Inserts
alb|L|h| f]|e
* SCLCR/L1212H09A 12 | 12 |100| 12 | 16 | 16
* SCLCR/L1616K09A 16 | 16 | 120| 16 | 20 | 16 L60 M4X10 T15 CC..09T3..
* SCLCR/L2020K09A 20 | 20 [125| 20 | 23 | 16
° 5xf: 144 SCLCR1616K09A 114 SCLCL1616K09A *R=FF L=LK£F o IR EEHMITN
° T ERTNERER
® Ordering Example:1pcs SCLCR1616K09A 1pcs SCLCL1616K09A  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
EI 1—' {:,\—-\\ ---------- p i"'j NI FiR 93°
sttt it - Main deflection
angle 93°
93° SDJC..A Y R |
L el i | t
92 AN
. b%
ﬁl—i _% Model RTISIZG(mm) ﬂs%:re%va- Wrench Inserts
alb|L|nlf]e [/
* SDJCR/L1212H07A 12 | 12 |100| 12 | 16 | 15 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1616K11A 16 | 16 |125| 16 | 20 | 22
L60 M4X10 T15 DC..11T3..
* SDJCR/L2020K11A 20 | 20 |125| 20 | 23 | 22
e TR {: 144 SDJCR1616K11A 114 SDJCL1616K11A *R=HAF L=KEKEF o JIRFEERMITY




5

FRIEIREAMEITIF (RIQSE)

Precision cooling external cylindrical tool holder (internal cooling S type)

2-01.68KkA

— — —_____—_-_-_ —— *{®mM 93°
II ]_” {:IL«“ __________ ! :r___j “I Main"geflection
angle 93°
93° SVJC..A - Fr i |
I g r
o S
e L - ;
ﬂ _.l=l5 Model RTJ—Slze(mm) %re%v-{ V%engczh Inserts
al|b|L|h|f]e e
* SVJCR/L1212H11A 12 | 12 [100| 12 | 16 | 25
* SVJCR/L1616K11A 16 | 16 |[100| 16 | 20 | 25
L60 M2.5X6 T8 VC..1103..
* SVJCR/L2020K11A 20 | 20 |125] 20 | 23 | 25
® TR H: 114 SVICR1616K11A 114 SVJCL1616K11A *R=FF L=K£F e IR EERMITHN
o “k” BSRREEER
® Ordering Example:1pcs SVJCR1616K11A 1pcs SVJCL1616K11A  *R=righthand L= left hand

Inserts need to be ordered separately
indicates standing stock

& N1 JT1#FlIPrecision Cooling Tool Holder

11



/i

112

e /B EDSMETE JI T

Precision cooling of external groove tool holder

MGEH..A ==JeliEs
TooS o oo T = 4
2] o
O -
=1 L
<FSi M7 FRIZET
;__:F.g % Model R_J-Slze(mm) Socket/h\eadcapscrew Wrench Inserts
BIH|L|[Tw| S |W o 2 =
- 12|12 |100| 13 | 12.2 | 1.5 M..MN150
* MGEHR/L1212-15T13HA LM60 M4dX16 s3
* MGEHR/L1212-20T14HA 12| 12 |100| 14 | 12.25| 2.0 M..MN200
* MGEHR/L1616-25T16KA 16 | 16 |125| 16 | 16.3 | 2.5 M5X20 S4 M..MN250
* MGEHR/L1616-30T18KA 16 | 16 [125| 18 | 16.4 | 3.0 M6X20 S5 M..MN300
e 00110 MGEHR1212-20T14HA 10 MGEHL1212-20T14HA *R=HFF L=KF o I EEHMITH

o "k SRIEHER

® |nserts need to be ordered separately
® '[] "indicates standing stock

Ordering Example:1pcs MGEHR1212-20T14HA 1pcs MGEHL1212-20T14HA  * R=right hand

L=left hand




7 Tob )

w -

Ly
: "..‘qu'g’

i %
’ 8
2 o]
o ]
g &
N ]
8
F g
¢
E- -
8 3
7

IR ZE T

THREADING TOOL
HOLDER

ERITZE5HFRBENRRGS, BRENR, ESNE, RREHE.

The perfect combination of traditional technology and digital technology, HANCHENG CNC cutting tools, real gold fire refining, excellent quality.




[

BN ETIHR SRR

Thread turning tool model indication rules

S E

R| |20

20

16

1 2 3 5 6 7 8
1. EERRN 2. 425 R 3. Y& 75 | 4 TIREE
Pressing method Thread form Cutting direction Tip height
c EERX N A 42 47 R A1 BARI(Unit): mm
Upper pressure tyf)e internal thr?ad Right Cut Dﬂ:ﬁﬁ 0 OiEZTT
IS EETEER E MRS L ] Round holder is
Screw pressing type External thread Left Cut indicated by diameter
7| uzEm
Vertical thread
5. J1REE 6. TJEKE 7. 71K R+t 8. BES
Width of inserts Tool length Inserts size : -':’—
Self-numbering
B{I(Unit): mm H 100 RS —RRLK AAE
BT RERER K 125 Code Triangle side length | Inner corner rounding
Round holder i 11 11 6.35
in(élijgategbf(r!il:meter M 150
P | 170 16 16 9.525
Q | 180 22 22 12.70

W24y T B B S 4wl i B Thread insert type compilation instructions

16

N

R

1.75

1SO

1 2 3 4 5
7. 7]k R~F 2. By ER 3. YIEI 5 = 4. BERS
Blade size Thread type Cutting direction Pitch code

RE | ZARak M MRS a1l er . 0.75=
Code Triangle side length | Inner corner rounding N Internal thread R Right Cut 1 .\MeL\trf:J Pl?iﬁﬁ Elgaljm p0|&.3:705.)7 5O= 3572':?‘5 EEch

1 il e E| MRS L| X2 2, l: $1/inch l: 8=840/inch

16 16 9.525 Extomalihiead Left Cut 2. Inches: buckle/inch  Example: 8 = 8 buckles/inch

: 3.AG60: 60° pan pitch

114

4 ZBERS

Pitch code

1 S0=1S0XkK &I 42 &1

ISO =1S0 metric thread

W= 3 12 41

W = Whitley thread




#2471 Z J)#FIThreading Tool Holder

gl‘m%éjZE \E’U 7] 1::|: External thread turning tool holder

i

A 3

SER/L.. i @ ] o

e

gg _% Model RT‘rSIZe(mm) ms%:rjw]- Jghi% Mu%ﬁijnail T/\lﬁri%h Ijnjseﬁs-
alblL|nlf]e 4 v > £\
* SER/L1212H11C 12 |1 12 {100 12 | 16 | 20 L60 M2.5X5 ) ) — E
* SER/L1616H11C 16 | 16 [100| 16 | 20 | 20 h
* SER/L1212H16C 12 | 12 |{100| 12 | 16 | 25
* SER/L1616H16C 16 | 16 |100| 16 | 20 | 25
* SER/L2020K16C 20 | 20 |125| 20 | 25 | 25 T15
L60 M3.5X14 MT16-M 16ER/L..
* SER/L2525M16C 25 | 25 |150| 25 | 32 | 25 S2.5
* SER/L3225P16C 32 | 25 |170| 32 | 32 | 25
* SER/L3232P16C 32 | 32 |170| 32 | 40 | 25 Maxsm
* SER/L2525M22C 25| 25 |150| 25 | 32 | 32
* SER/L3225P22C 32 | 25 |170| 32 | 32 | 32 T20
L60 M4.5X15 MT22-MR/L 22ER/L..
* SER/L3232P22C 32|32 |170| 32 | 40 | 32 S2.5
* SER/L4040R22C 40 | 40 |200| 40 | 50 | 40
* SER/L2525M27C 25 | 25 |150| 25 | 32 | 40
* SER/L3232P27C 32 | 32 |[170| 32 | 40 | 40 L60 M6X18 MT27-M M4X10 1—8235 27ER/L..
* SER/L4040R27C 40 | 40 |200| 40 | 50 | 40
e T Rf: 1 SER2020K16C 114 SEL2020K16C *R=BF L=KEF o JIRFEERMITHY
® ‘X" SRRERER
® Ordering Example:1pcs SER2020K16C 1pcs SEL2020K16C  * R=righthand L= left hand ® Inserts need to be ordered separately
® "[] "indicates standing stock
B-SER/L.. | & R M]
©iz) -
I -—
z L
;__ﬂ % Model R Size(mm) ms?crj; Jghi%::b Mu?r%%i]—nail yvireih Inserts
alb|L|n[f]e ) o v & S £
* B-SER/L1616H16C 16 | 16 [100| 16 | 20 | 25
* B-SER/L2020K16C 20 | 20 |125| 20 | 25 | 25 L60 M3.5X14 MT16-M T15 16ER/L
* B-SER/L2525M16C 25| 25 |150| 25 | 32 | 25 S2.5 h
B-SER/L3232P16C 32 | 32 |170| 32 | 40 | 25 Maxem
* B-SER/L2525M22C 25 | 25 |150| 25 | 32 | 32 T20
L60 M4.5X15| MT22-MR/L 22ER/L..
B-SER/L3232P22C 32 | 32 |170| 32 | 40 | 32 S2.5
e iJ5R%l: 1+ B-SER2020K16C 1% B-SEL2020K16C *R=FF L=KLKF o IR EEHAMITN
o "k SRIERER
® Ordering Example:1pcs B-SER2020K16C 1pcs B-SEL2020K16C  * R=righthand L=left hand ® [nserts need to be ordered separately
® "

"indicates standing stock

115



ViZ=
ﬁ%gl‘ﬁgﬁi \ﬁ” 7] H Vertical external thread turning tool holder

A ]
STR.. Q ; -
V] E

nEs

FH _.|=|5 Model RTJ-Size(mm) T‘S?Qre%v?vr \T{liren%; Press}l]-TrEe ;?Izte XS%?E%%TS% Insrts
= a b |L|h|s Y 4 > » Ve
* STR1616H16C 16 | 16 |100| 16 | 18 T15
* STR2020K16C 20 | 20 |125| 20 | 22 | L90 M3.5X10 - MC515 MS520 16VER..
* STR2525M16C 25 | 25 |150| 25 | 27
o TR 14 STR2020K16C *R=HF L=KEF  oJIARELMITH

o “k” ERTEEER
® Ordering Example:1pcs STR2020K16C  * R=righthand L= left hand

Inserts need to be ordered separately
"[] "indicates standing stock

116



#2471 Z J)#FIThreading Tool Holder

Wm%éYEﬁUDH Internal thread turning tool holder

®Dmin . i 5
oD N I
SNR/L.. S ; s)
oS : 77
‘ L
R Size(mm) 12 57 R F VANE:] E iR PSS EvES 7R
gg _.I=l5 MOdel Screw Wrench Shim Pressure plate Stud bolts Inserts

dlflL|Lh [om & A - (5] /7 £\
SNR/L0010H11C 10 | 7.4 [100]| 32 9 12 | L60M2.5X5
SNR/L0012K11C 12 | 8.5(125| 32 | 11 | 15 T8 11NR/L..
SNR/L0013M11C | 13 | 9 150 40 | 15 | 16 | 00 MZ:5X6
SNR/L0013M16C 13 |10.2|150| 40 | 15 | 16
SNR/LO016N16C 16 | 12 |160| 45 | 15 | 20 | L60 M3.5X8
SNR/L0020Q16C | 20 | 14 |180| 50 | 19 | 25
SNR/L0025R16C 25 117 |200| 55 | 24 | 30 T15 16NR/L..
SNR/L0032S16C 32 | 20 |250| 60 | 30 | 36
SNR/L0040T16C | 40 | 24 |300| 55 | 38 | 46
SNR/L0050U16C | 50 | 29 |350| 45 | 48 | 56
SNR/L0020Q22C | 20 | 16 | 180 50 | 19 | 24
SNR/L0025R22C 25 118.5/200| 55 | 24 | 29
SNR/L0032S22C 32 |22 |250| 60 | 30 | 38 | L60 M4.5X12 22NR/L..
SNR/L0040T22C | 40 | 26 |300| 40 | 38 | 46
SNR/LO050U22C 50 | 31 |350| 45 | 48 | 56
SNR/L0032S27C 32| 21 |250| 60 | 30 | 38
SNR/L0040T27C 40 | 25 |300| 60 | 38 | 46 L60 M6X18 27NR/L..
SNR/L0050U27C 50 | 31 |350| 60 | 48 | 56
SNR/L0020Q16W | 20 | 14 |180| 50 | 18 | 24
SNR/L0025R16W 25 | 17 |200| 55 | 24 | 29
SNR/L0032S16W 32 |20 |250| 60 | 30 | 38 | L60 M3.5X14 MT16-M 16NR/L..
SNR/L0040T16W | 40 | 24 |300| 45 | 38 | 46

L60 M3.5X10

T20

LD b B 2D SRR 2P 2 b b b b b b b S b b b b b 2 2P T2k 2B 2 2

SNR/L0050U16W 50 | 29 |350| 50 | 48 | 56 e

SNR/L0025R22W 25 |18.5/200| 55 | 24 | 29 525

SNR/LO032822W 32 | 22 1250) 60 | 30 ) 38 L60 M4.5X15 MT22-MR/L 22NR/L..
SNR/L0040T22W | 40 | 26 |300| 45 | 38 | 46

SNR/L0050U22W 50 | 31 |350| 55 | 48 | 56

SNR/L0032S27W 32 | 21 |250| 60 | 30 | 38 20

SNR/L0040T27W | 40 | 25 |300| 60 | 38 | 46 | L60 M6X18 a5 MT27-M MS620 MC625 27NR/L..
SNR/L0050U27W 50 | 31 |350| 60 | 48 | 56

® IT5Rfl: 14 SNR0020Q16C 1 SNL0020Q16C *R=HF L=EF o T RFEERMIT

o "k SRIEHER

® Ordering Example:1pcs SNR0020Q16C 1pcs SNL0020Q16C  * R=righthand L= left hand
Inserts need to be ordered separately

"[] "indicates standing stock

117



[

W i%éﬁi \E’U 7] 1::|: Internal thread turning tool holder

118

/—(Dd
[ £ o~
SNR/L..-A ° 2 o) )
L1 LJ»
gg _.I=I5 Model RT"-Slze(mm) T‘S?;s;rte,!é\;{ \T(/%en%\ Iynjsegt:‘:
d|di| f|L|L | h |Dmn
* SNR/L0O008K08-A16 16 | 8 [5.2]125| 20 | 15 | 10 L60 M2.2X5 T6 08NR/L..
* SNR/L0010K11-A16 16 | 10 | 7.4 |125| 25 | 15 | 12 L60 M2.5X5 HINR/L
* SNR/L0012K11-A16 16 | 12 | 8.5|125| 28 | 15 | 15 L60 M2.5X6 T8 v

“k” SRTEEER

[l "indicates standing stock

T8 Rf: 1% SNRO0O12K11-A16

1+ SNLO012K11-A16

Ordering Example:1pcs SNR0O012K11-A16 1pcs SNLO012K11-A16
Inserts need to be ordered separately

*R=FF L=KF

*R=righthand L= lefthand

o T RFEERMITI




A o5 s

ISR 7IH

PARTING AND GROOVING

RETZE5HFHRMNTRES, BRYTTIR, Ak, fREi.

The perfect combination of traditional technology and digital technology, HANCHENG CNC cutting tools, real gold fire refining, excellent quality.



[

gl\tﬂ Iﬂzﬁ(tﬂ 1:%)7] 1::|: External cylindrical cutting (grooving) tool holder

QE..

120

B

_ \
I ‘ I
® 4Tm@ o
z_|
L
R~tSize(mm) H7NAIRET R F
g! = Model Socket head cap screw Wrench Inserts
= B|H|L [T S |W o> )
* QE1212R/L-2007HC 12 [ 12 |100| 7 | 122 | 2
LM60 M4X15 T15
* QE1212R/L-2008HC 12 | 12 |100| 8 | 12.2 | 2
* QE1616R/L-2010HC 16 | 16 |100| 10 | 16.2 | 2 M5X16 sS4
Z..BD020..
* QE2020R/L-2010KC 20| 20 [125| 10 | 20.2 | 2
* QE2020R/L-2015KC 20| 20 [125| 15 | 20.2 | 2
M6X20 S5
* QE2525R/L-2010MC 25|25 (150 | 10 | 25.2 | 2
* QE2525R/L-2015MC 25|25 (150 | 15 | 25.2 | 2
* QE1616R/L-2510HC 16 | 16 |100 | 10 [16.25| 2.5
M5X16 S4
* QE1616R/L-2515HC 16 | 16 | 100 | 15 [16.25| 2.5
* QE2020R/L-2510KC 20 | 20 [125| 10 |20.25|2.5 7 ED025
* QE2020R/L-2517KC 20 | 20 [125| 17 |20.25|2.5 - v
M6X20 s5
* QE2525R/L-2510MC 25 | 25 [150 | 10 | 25.25| 2.5
* QE2525R/L-2517MC 25 | 25 [150 | 17 | 25.25|2.5
* QE1616R/L-3015HC 16 | 16 |100| 15 | 16.3 | 3 M5X16 S4
* QE2020R/L-3010KC 20| 20 [125| 10 | 20.3 | 3
* QE2020R/L-3015KC 20| 20 [125| 15 | 20.3 | 3
* QE2020R/L-3020KC 20| 20 [125| 20 | 20.3 | 3
* QE2020R/L-3025KC 20 | 20 [125| 25 | 20.3 | 3
* QE2525R/L-3010MC 25|25 (150 | 10 | 25.3 | 3 Z..FD030..
M6X20 S5
* QE2525R/L-3015MC 25|25 (150 | 15 | 25.3 | 3
* QE2525R/L-3020MC 25|25 [150| 20 | 25.3 | 3
* QE2525R/L-3025MC 25|25 [150| 25 | 25.3 | 3
* QE3232R/L-3015PC 32|32 (170 15| 32.3 | 3
* QE3232R/L-3020PC 32|32 (170| 20 | 32.3 | 3
* QE1616R/L-4015HC 16 | 16 |100| 15 | 16.4 | 4 M5X16 S4
* QE2020R/L-4010KC 20| 20 [125| 10 | 20.4 | 4
* QE2020R/L-4015KC 20| 20 [125| 15 | 20.4 | 4
* QE2020R/L-4022KC 20| 20 [125| 22 | 20.4 | 4
* QE2020R/L-4025KC 20 | 20 [125| 25 | 20.4 | 4 Z..GD040..
* QE2525R/L-4015MC 25| 25 (150 | 15 | 25.4 | 4
* QE2525R/L-4022MC 25 | 25 (150 | 22 | 25.4 | 4
* QE2525R/L-4025MC 25| 25 (150 | 25 | 25.4 | 4
* QE3232R/L-4022PC 32132 |170| 22| 324 | 4
* QE2020R/L-5015KC 20| 20 [125| 15 | 20.5 | 5
* QE2020R/L-5022KC 20| 20 [125| 22 | 205 | 5
M6X20 S5
* QE2020R/L-5025KC 20 | 20 |125| 25| 205 | 5
* QE2525R/L-5015MC 25|25 (150 | 15 | 25,5 | 5 Z..HD050..
* QE2525R/L-5022MC 25|25 [150| 22 | 25.,5 | 5
* QE2525R/L-5025MC 25|25 [170| 25 | 25,5 | 5
* QE3232R/L-5022PC 3232|170 22| 325 | 5
* QE2020R/L-6022KC 20| 20 [125| 22 | 20.6 | 6
* QE2020R/L-6025KC 20 | 20 |125| 25 | 20.6 | 6
* QE2525R/L-6020MC 25|25 (150 | 20 | 25.6 | 6 Z..KD060..
* QE2525R/L-6025MC 25| 25 150 | 25 | 25.6 | 6
* QE3232R/L-6025PC 32|32 |170| 25| 326 | 6

® 7% Rf: 114 QE2020R-2015KC 11 QE2020L-2015KC *R=HF L=KF e JIREEHMITH
o ‘& SRINEEER

® Ordering Example:1pcs QE2020R-2015KC 1pcs QE2020L-2015KC  * R=righthand L=lefthand

® Inserts need to be ordered separately ® "[] "indicates standing stock




1] i (31 #&) J1#FIGrooving Tool Holder
gl\tﬂ Iﬂzﬁ(tﬂ 1:%)7] 1::|: External cylindrical cutting (grooving) tool holder

MGEH.. — E@D
%] H@ 20

i
B
L
RFSize(mm) 7S FIRET R F
gg % Model Socket head cap screw Wrench Inserts
B|lH| L |Tw| S |W el 2 gy
* MGEHR/L1212-1.5T08HC 12 | 12 |100| 8 12.2 | 1.5 LM60 M4X15 T15
* MGEHR/L1616-1.5TO8HC | 16 | 16 |100| 8 | 16.2 | 1.5 M5X16 sS4 M..MN150
* MGEHR/L2020-1.5T08KC 20 | 20 |125| 8 |20.25|1.5 M6X20 S5
* MGEHR/L1212-2T10HC 12 | 12 [100| 10 | 12.2 2 LM60 M4X12 T15
* MGEHR/L1616-2T14HC 16 | 16 [100| 14 | 16.2 2 M5X16 S4
* MGEHR/L2020-2T10KC 20 | 20 |125|10 | 20.2 | 2 M..MN200
* MGEHR/L2020-2T14KC 20 | 20 |125| 14 | 20.2 2 M6X20 S5
* MGEHR/L2525-2T14MC 25 | 25 |150| 14 | 25.2 | 2
* MGEHR/L1616-2.5T16HC 16 | 16 [100| 16 | 16.2 | 2.5 M5X16 S4
* MGEHR/L2020-2.5T10KC | 20 | 20 |125| 10 | 20.2 | 2.5 —
* MGEHR/L2020-2.5T16KC | 20 | 20 |125| 16 | 20.2 |25 M6X20 S5
* MGEHR/L2525-2.5T16MC | 25 | 25 |150| 16 | 25.2 | 2.5
* MGEHR/L1616-3T18HC 16 | 16 [100| 18 | 16.3 | 3 M5X16 sS4
* MGEHR/L2020-3T10KC 20 [ 20 [125| 10 | 20.3 | 3
* MGEHR/L2020-3T18KC 20 | 20 |125| 18 | 20.3 | 3
* MGEHR/L2525-3T10MC 25|25 150 | 10 | 25.3 | 3 M..MN300
* MGEHR/L2525-3T18MC 25|25 |150| 18 | 25.3 | 3
* MGEHR/L2525-3T25MC 25|25 |150| 25 | 25.3 | 3
* MGEHR/L3232-3T18PC 32 32 |170| 18 | 32.3 | 3
* MGEHR/L2020-4T10KC 20 [ 20 [125| 10 | 20.4 | 4
* MGEHR/L2020-4T18KC 20 | 20 [125| 18 | 20.4 | 4
* MGEHR/L2525-4T10MC 25 | 25 |150| 10 | 25.4 4 M6X20 S5 ML MN400
* MGEHR/L2525-4T18MC 25|25 |150| 18 | 25.4 | 4
* MGEHR/L2525-4T25MC 25 | 25 |150| 25 | 25.4 | 4
* MGEHR/L3232-4T18PC 32| 32 [170| 18 | 32.4 | 4
* MGEHR/L2020-5T15KC 20 | 20 [125| 15 | 20.5 | 5
* MGEHR/L2020-5T23KC 20 | 20 |125|23 | 205 | 5
* MGEHR/L2525-5T15MC 25|25 |150| 15 | 25.5 | 5 NS00
* MGEHR/L2525-5T23MC 25 | 25 |150| 23 | 255 | 5
* MGEHR/L3232-5T15PC 32 (32 |170| 15 | 325 | 5
* MGEHR/L3232-5T23PC 32|32 |170| 23 | 325 | 5
* MGEHR/L2525-6T15MC 25|25 150 | 15 | 25.6 | 6
* MGEHR/L2525-6T23MC 25|25 |150| 23 | 25.6 | 6 NG00
* MGEHR/L3232-6T15PC 32 (32 |170| 15 | 326 | 6
* MGEHR/L3232-6T23PC 32 |32 |170|23 | 326 | 6
iTH#RG: 14 MGEHR2020-2T10KC 14 MGEHL2020-2T10KC *R=%A#F L=%F o NEEZ B miTH

kT ERTEEER

Ordering Example:1pcs MGEHR2020-2T10KC 1pcs MGEHL2020-2T10KC  * R=righthand L= left hand
Inserts need to be ordered separately
"[J "indicates standing stock

121



[

gl\tﬂ Iﬂzﬁ(tﬂ *g)]j 1::|: External cylindrical cutting (grooving) tool holder

122

QGWS.. - E@]j
» 44-»@ o)
=}
L
RFSize(mm) R7SFIRET R F
3__:@ -,'='5 Model Socket head cap screw Wrench Inserts
B|H| L |Tox| S | W ~ =
* QGWSR/L1616-2014HC 16 | 16 | 100 |[14.5) 16.2 | 2 M5X16 S4
* QGWSR/L2020-2014KC 20 | 20 [125|14.5| 20.2 | 2 MEX20 = WG..20..
* QGWSR/L2525-2014MC 25 | 25 |150(14.5| 25.2 | 2
* QGWSR/L1616-3017HC 16 | 16 |100 | 17 | 16.3 3 M5X16 S4
* QGWSR/L2020-3017KC 20 | 20 |125| 17 | 20.3 | 3 WG..30
* QGWSR/L2525-3018MC 25|25 |150 | 18 | 26.3 | 3
QGWSR/L3232-3018PC 32|32 (170 18 | 32.3 | 3
* QGWSR/L2020-4021KC 20 | 20 |125| 21 | 204 | 4
* QGWSR/L2525-4021MC | 25 | 25 |150| 21 | 25.4 | 4 M6X20 S5 WG. .40..
QGWSR/L3232-4021PC 32|32 (170 21 | 324 | 4
* QGWSR/L2020-5021KC 20 | 20 |125| 21 | 20.5 | 5
* QGWSR/L2525-5021MC | 25 | 25 [150| 21 | 25.5 | 5 WG..50..
QGWSR/L3232-5021PC 32|32 (17021 | 325 | 5
o TR fl: 1 QGWSR2020-2014KC 1 QGWSL2020-2014KC *R=AF L=LKF o T EEBMITI
o ‘X" EERREEER
® Ordering Example:1pcs QGWSR2020-2014KC 1pcs QGWSL2020-2014KC  * R=righthand L= left hand
® |nserts need to be ordered separately
P

| "indicates standing stock




1] i (31 #&) J1#FIGrooving Tool Holder

9|\1EJ:I:ZDDID 1::|: External profiling tool holder

o

MGEU.. ‘\ﬂll
(2]
NO
a5 L
RFSize(mm) H7NRIRET R F
9__1;2 % Model Socket head cap screw Wrench Inserts
B|H|L|S Tux| W ~ g
MGEUR/L2020-3KC 20 | 20 (125|123 | 3 | 3
MGEUR/L2525-3MC 25| 25 (150 | 28 | 3 3 MRMN300
MGEUR/L3232-3PC 32 132|170 35| 3 | 3
MGEUR/L2020-4KC 20 | 20 (12523 | 3 | 4
MGEUR/L2525-4MC 2525|150 28 | 3 | 4 MRMN400
- 3232|170 35| 3 | 4
MGEUR/L3232-4PC M6X20 S5
MGEUR/L2020-5KC 20 | 20 |125| 24 | 4 5
MGEUR/L2525-5MC 25125115029 | 4 | 5 MRMN500
MGEUR/L3232-5PC 32 |32 |170| 36 | 4 5
MGEUR/L2020-6KC 20 | 20 (12524 | 4 | 6
MGEUR/L2525-6MC 25| 25 (150 | 29 | 4 6 MRMNG600
MGEUR/L3232-6PC 3232|170/ 36 | 4 | 6
R~ Size(mm) W7 FRET
ﬂ % Model Socket head cap screw Wrench Inserts
B|H|L|S |Tux| W ~~— =S
* QXFD2020R/L-3003KC | 20 | 20 |125| 23 | 3 | 3 ZRFDO03
* QXFD2525R/L-3003MC | 25 | 25 [150 | 23 | 3 | 3
- 20 | 20 |125| 24 | 3 4
QXFD2020R/L-4003KC R
QXFD2525R/L-4003MC | 25 | 25 |150 | 24 | 3 | 4 M6X20 S5
QXFD2020R/L-5004KC | 20 | 20 |125| 28 | 4 5 RS
QXFD2525R/L-5004MC | 25 | 25 150 28 | 4 | 5
QXFD2020R/L-6004KC | 20 | 20 |125| 29 | 4 | 6 ZRKDO06
QXFD2525R/L-6004MC | 25 | 25 |150 29 | 4 | 6
o TR Hl: 14 QXFD2020R-3003KC 1% QXFD2020L-3003KC *R=FAF L=KEF e JIEEEHMITN
° k" SRTHEER
® Ordering Example:1pcs QXFD2020R-3003KC 1pcs QXFD2020L-3003KC  * R=righthand L= left hand
® |nserts need to be ordered separately
°

"[] "indicates standing stock

123



[

124

ﬁ#ﬁ@t}] *g]j 1::|: Face grooving tool holder

QFHD..
e
THEREHE |
Diameter range of tool holder
L
ﬂ = M d | RTISIze(mm) Soﬂ@?jg%fgrew Wrench Inserts
el B |[H=h| L | S |Twax| W | Drin | Dimex ~—~ =S
* QFHDR/L2020K35/50-2512 20 | 20 |125| 21 | 12 /2.5 35 | 50
* QFHDR/L2020K48/65-2517 20| 20 |125| 21 | 17 |2.5| 48 | 65
* QFHDR/L2020K60/80-2517 20 | 20 [125| 21 | 17 |2.5| 60 | 80 ZTEDO025..
* QFHDR/L2020K75/110-2517 20| 20 [125| 21 | 17 | 25| 75 | 110
* QFHDR/L2020K100/140-2517 | 20 | 20 |125] 21 | 17 | 2.5| 100 | 140
* QFHDR/L2020K35/50-3012 20 | 20 |125| 21 | 12| 3 | 35 | 50
* QFHDR/L2020K48/65-3017 20|20 |125| 21 | 17 | 3 | 48 | 65
* QFHDR/L2020K60/80-3017 20|20 12521 | 17 | 3 | 60 | 80
* QFHDR/L2020K75/110-3017 20|20 |125| 21 | 17| 3 | 75 | 110
* QFHDR/L2020K100/140-3017 | 20 | 20 {125 21 | 17 | 3 | 100 | 140 B
* QFHDR/L2525M35/50-3012 25125 |150| 21| 12| 3 | 35 | 50
* QFHDR/L2525M48/65-3017 25|25 (150 26 | 17 | 3 | 48 | 65
* QFHDR/L2525M60/80-3017 2525|150 26 | 17 | 3 | 60 | 80
* QFHDR/L2525M75/110-3017 25|25 (150| 26 | 17 | 3 | 75 | 110
* QFHDR/L2525M100/140-3017 | 25 | 25 |150| 26 | 17 | 3 | 100 | 140
* QFHDR/L2020K40/60-4015 20 | 20 |125| 21 | 15| 4 | 40 | 60
* QFHDR/L2020K56/76-4015 20|20 |125| 21 | 15| 4 | 56 | 76
* QFHDR/L2020K68/100-4022 20| 20 |125] 21 | 22| 4 | 68 | 100
* QFHDR/L2020K90/140-4022 20 | 20 [125| 21 |22 | 4 | 90 | 140 M6X20 S5
* QFHDR/L2525M40/60-4015 25125 |150| 26 | 15| 4 | 40 | 60 P
* QFHDR/L2525M56/76-4015 25125 |150| 26 | 15| 4 | 56 | 76
* QFHDR/L2525M68/100-4022 25|25 (150 26 | 22| 4 | 68 | 100
* QFHDR/L2525M90/140-4022 25|25 (150 26 | 22 | 4 | 90 | 140
* QFHDR/L2525M130/220-4022 | 25 | 25 |150| 26 | 22 | 4 | 130 | 220
* QFHDR/L2525M180/400-4022 | 25 | 25 |150| 26 | 22 | 4 | 180 | 400
* QFHDR/L2020K45/76-5015 20 | 20 |[125| 21 | 15| 5 | 45 | 76
* QFHDR/L2020K68/100-5022 20|20 |125] 21 | 22| 5 | 68 | 100
* QFHDR/L2020K90/140-5022 20| 20 |125] 21 | 22| 5§ | 90 | 140
* QFHDR/L2020K130/220-5022 | 20 | 20 |125| 21 | 22 | § | 130 | 220
* QFHDR/L2020K130/220-5022 | 25 | 25 |150| 26 | 22 | 5 | 45 | 76 ZTHDO5..
* QFHDR/L2525M65/100-5022 | 25 | 25 |150| 26 | 22 | 5 | 65 | 100
* QFHDR/L2525M90/140-5022 | 25| 25 |150| 26 | 22 | 5 | 90 | 140
* QFHDR/L2525M130/220-5022 | 25 | 25 |150| 26 | 22 | &6 | 130 | 220
* QFHDR/L2525M180/400-5022 | 25 | 25 |150| 26 | 22 | 5 | 180 | 400
* QFHDR/L2525M60/100-6022 25|25 |150| 26 | 22| 6 | 60 | 100
* QFHDR/L2525M88/200-6022 25 | 25 (150 | 26 | 22 | 6 | 88 | 200 ZTKDO6..
* QFHDR/L2525M180/400-6022 | 25 | 25 |150| 26 | 22 | 6 | 180 | 400
® T %l: 14 QFHDR2020K60/80-3017 14 QFHDL2020K60/80-3017 =*R=HAF L=£K£F o T REERMITH
o “k” SRIERER
® Ordering Example:1pcs QFHDR2020K60/80-3017 1pcs QFHDL2020K60/80-3017  * R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock




1] i (31 #&) J1#FIGrooving Tool Holder

ﬁ#ﬁ@t}] *g]j 1::|: Face grooving tool holder

QFGD..
THAREH L
Diameter range of tool holder
FF = M d | R?fSlze(mm) sﬁ@%&%gﬂ Wrench Inserts
= = Mode BIH|L|S |Tw| W |Dun| Do s ~ gy
* QFGDR/L2020K35/50-3012 20|20 12521 | 12| 3 | 35 | 50
* QFGDR/L2020K48/65-3017 20|20 |125| 21 |17 | 3 | 48 | 65
* QFGDR/L2020K60/80-3017 20|20 (12521 | 17 | 3 | 60 | 80
* QFGDR/L2020K75/110-3017 20 | 20 [125] 21 | 17| 3 | 75 | 110
* QFGDR/L2020K100/140-3017 | 20 | 20 |125| 21 | 17 | 3 | 100 | 140 ZTFDO3..
* QFGDR/L2525M35/50-3012 25125150 26 | 12 | 3 | 35 | 50
* QFGDR/L2525M48/65-3017 25| 2515026 | 17 | 3 | 48 | 65
* QFGDR/L2525M60/80-3017 25125150 26 | 17 | 3 | 60 | 80
* QFGDR/L2525M75/110-3017 | 25| 25 |150| 26 | 17 | 3 | 75 | 110
* QFGDR/L2525M100/140-3017 | 25| 25 |150| 26 | 17 | 3 | 100 | 140
* QFGDR/L2020K40/60-4015 20|20 |125| 21 | 15| 4 | 40 | 60
* QFGDR/L2020K56/76-4015 20|20 |125| 21 | 15| 4 | 56 | 76
* QFGDR/L2020K68/100-4022 20| 20 |125] 21 | 22| 4 | 68 | 100
* QFGDR/L2020K90/140-4022 20| 20 |125] 21 | 22| 4 | 90 | 140
* QFGDR/L2525M40/60-4015 25|25 (150 26 | 15 | 4 | 40 | 60 Z7TGDO4..
* QFGDR/L2525M56/76-4015 25|25 (150 26 | 15 | 4 | 56 | 76 MBX20 s5
* QFGDR/L2525M68/100-4022 2525|150 26 | 22 | 4 | 68 | 100
* QFGDR/L2525M90/140-4022 | 25| 25|150| 26 | 22 | 4 | 90 | 140
* QFGDR/L2525M130/220-4022 | 25 | 25 |150| 26 | 22 | 4 | 130 | 220
* QFGDR/L2525M180/400-4022 | 25 | 25 |150| 26 | 22 | 4 | 180 | 400
* QFGDR/L2020K45/76-5015 20|20 |125| 21 | 15| 5 | 45 | 76
* QFGDR/L2020K68/100-5022 20| 20 |125] 21 | 22| 5 | 68 | 100
* QFGDR/L2020K90/140-5022 20|20 |125] 21 | 22| 5 | 90 | 140
* QFGDR/L2020K130/220-5022 | 20 | 20 [125| 21 | 22 | 5 | 130 | 220
* QFGDR/L2020K130/220-5022 | 25| 25 (150 | 26 | 22 | 5 45 | 76 ZTHDO5..
* QFGDR/L2525M65/100-5022 25|25 (150 26 | 22| 5 | 65 | 100
* QFGDR/L2525M90/140-5022 25125150 26 | 22 | 5 | 90 | 140
* QFGDR/L2525M130/220-5022 | 25 | 25 |150| 26 | 22 | 5 | 130 | 220
* QFGDR/L2525M180/400-5022 | 25 | 25 |150| 26 | 22 | 5 | 180 | 400
* QFGDR/L2525M60/100-6022 | 25 | 25 |150| 26 | 22 | 6 | 60 | 100
* QFGDR/L2525M88/200-6022 25| 251|150 | 26 | 22 | 6 88 | 200 ZTKDO6..
* QFGDR/L2525M180/400-6022 | 25| 25 |150| 26 | 22| 6 | 180 | 400
e iT&Rxfl: 1 QFGDR2020K60/80-3017 o T REERMITH
o “k7 SRINERER
® Ordering Example:1pcs QFGDR2020K60/80-3017 ® Inserts need to be ordered separately
® "[] "indicates standing stock

125



[

=] v 1; |
9"7%*%73 External shallow groove tool holder

126

QTGF.. 1
< Si PUBS ey 3 E ) 42T w F R
gg % Model stme(mm) Stud bolts Pressure plate Screw Wrench Inserts
alb|L|h|Li]s /7 A% <
* QTGFR/L1010H16C 10 | 10 |{100| 10 | 20 | 12 o o T15
* QTGFR/L1212H16C 12 | 12 [100| 12 | 20 | 16 S
* QTGFR/L1616H16C 16 | 16 | 100| 16 | 20 | 20 L60 M4X8 T15 GBA32R/L“
* QTGFR/L2020K16C 20 | 20 [125| 20 | 20 | 25 S2.5 h
* QTGFR/L2525M16C 25| 25 |150| 25 | 20 | 30 MS520 MC515
*x QTGFR/L2020K22C 20 | 20 |125| 20 | 25 | 25 VR T20 QC22R/L..
*x QTGFR/L2525M22C 25| 25150 25 | 25 | 30 S2.5 GBA43R/L..
e T Rfl: 1 QTGFR2020K16C 1 QTGFL2020K16C *R=HF L=%kKF e IR EEBMITH
o “k” SRINEEERF
® Ordering Example:1pcs QTGFR2020K16C 1pcs QTGFL2020K16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
frl
(¥ E i
= Qo
QT.. | m]
» /o !
| L
’ R~fSize(mm) WL igte . E 7H§I g&'ﬂ w F IIJ =
| = Stud bolts ressure plate crew Wrench nserts
Model
S a|b|L|h|S 7 8
* QTR/L1212H16C 12 | 12 |[100| 12 | 14 o = T15
*x QTR/L1616H16C 16 | 16 |100| 16 | 18 MS520 MC515 P T15 T
* QTR/L2020K16C 20 | 20 [125| 20 | 22 S2.5 ’ h
* QTR/L2525M16C 25 | 25 (150 25 | 27
e iTHRfl: 1 QTR2020K16C 14 QTL2020K16C *R=FF L=KLK£F o JIREERMITY
o ‘K’ SEHRRERER
® Ordering Example:1pcs QTR2020K16C 1pcs QTL2020K16C  * R=righthand L= left hand

Inserts need to be ordered separately

"[] "indicates standing stock




1] i (31 #&) J1#FIGrooving Tool Holder

A A3
W }L;idzg]j ;l | Internal shallow groove tool holder

d ®Dmin
S..QC.. %w

BB ege | IS £y FZ AL
d| S| L |Dm ) <
* S16N-QC11R/L16D 10 [11.1[150| 16 L60 M2.5X6 T8 QC11R/L..
* S16N-QC16R/L20D 12 [10.8/160 | 20 QCHBRIL
* S20Q-QC16R/L25D 16 [12.8/160| 25 L60 M4X8 T15 GBA32R/L“
* S25R-QC16R/L30D 20 |16.5/200| 30 -
* S25R-QC22R/L35D 25 |18.2|200| 35 QC22R/L..
L60 M5X12 T20
* S32S-QC22R/L40D 32 | 22 |250| 40 GBA43R/L..

T8 RHl: 114 S20Q-QC16R25D 11 S20Q-QC16L25D *R=AF L=LKF o TR FRERMITH
® “k” SRRIEEER

® Ordering Example:1pcs S20Q-QC16R25D 1pcs S20Q-QC16L25D  * R=righthand L=left hand
Inserts need to be ordered separately
"[] "indicates standing stock

127



[

W }Ltﬂ 1:%73 1::|: Internal grooving tool holder

128

@ °
C..Q.. T
L
R<tSize(mm) R7NAIRET
il_l .% Model Socket head cap screw Wrench Inserts
d| S| L |W |Tnx|Dmn e =]

* C16M-QR/L2004C 16 [12.4/150| 2 4 22 M4X12 S3
* C20Q-QR/L2005C 20 | 14 |180| 2 4 25 M5X16 S4 Z..BD020..
* C25R-QR/L2007C 25 (17.7/200| 2 5 | 34 M6X20 S5
* C16M-QR/L2504C 16 [12.4/150|2.5| 4 22 M4X12 1S3
* C20Q-QR/L2505C 20 (15.2/1180|2.5| 5 | 27 M5X16 S4 - mmoEs
* C25R-QR/L2507C 25 (20.3/200|2.5| 7 | 34 " -
* C32S-QR/L2509C 32 |25.3/250| 2.5 | 9 | 42 Mex20 S5
* C20Q-QR/L3005C 20 (15.2|/180| 3 5 | 27 M5X16 S4
* C25R-QR/L3007C 25 (20.3/200| 3 7 34
* C32S-QR/L3009C 32 [25.3/250| 3 | 9 |42 £.FD030..
* C40T-QR/L3013C 40 |31.3/300| 3 13 | 52
* C25R-QR/L4009C 25 [21.5/200| 4 | 9 | 35
* C32S-QR/L4011C 32 [27.5/250| 4 | 11 | 44 Z..GD040..
* C40T-QR/L4013C 40 [33.5/300| 4 13 | 54 M6X20 S5

C25R-QR/L5009C 25 [21.5/200| 5 | 9 | 35

C32S-QR/L5011C 32 (27.5/250| 5 11 | 44 Z..HDO050..
* C40T-QR/L5013C 40 (33.5/300| 5 | 13 | 54

C25R-QR/L6009C 25 [21.5/200| 6 | 9 | 35

C32S-QR/L6011C 32 (27.5/250| 6 11 | 44 Z..KD060..
* C40T-QR/L6013C 40 (33.5/300| 6 | 13 | 54

T8 Rfl: 14 C20Q-QR3005C

“k” SRTEEER

Ordering Example:1pcs C20Q-QR3005C 1pcs C20Q-QL3005C

Inserts need to be ordered separately

"[] "indicates standing stock

11 C20Q-QL3005C

*R=HF L=KEF

*R=righthand L=lefthand

o TR FEERMITH




1] i (31 #&) J1#FIGrooving Tool Holder

W }Ltﬂ *g]j 1::|: Internal grooving tool holder

©
C..MGIV..
L Dmin
R<fSize(mm) Shav=:lEta)
ﬂ '% Model Socket head cap screw Wrench Inserts

d | S| L |W  Tnex Dun i M~ vy
* C16M-MGIVR/L15T4C 16 [12.4(150|1.5| 4 | 20 M4X12 s3
* C20Q-MGIVR/L15T4C 20 | 14 |180|1.5| 4 | 25 M5X16 sS4 M..N150..
* C25R-MGIVR/L15T4C 25|16 |200]1.5| 4 | 29 M6X20 S5
* C16M-MGIVR/L20T4C 16 [12.4/150 4 |20 M5X12 s3
* C20Q-MGIVR/L20T4C 20 | 14 | 180 4 | 25 M5X16 s4 M..N200..
* C25R-MGIVR/L20T4C 25 | 16 | 200 4 |29 M6X20 S5
*x C16M-MGIVR/L25T4C 16 {12.5/150|2.5| 4 | 20 M4X12 S3
* C20Q-MGIVR/L25T5C 20 |15.2|/180|2.5| 5 | 27 M5X16 sS4 V. N250
* C25R-MGIVR/L25T7C 25 120.3/200|2.5| 7 | 33 Vo - - v
* C32S-MGIVR/L25T9C 32 (25.3/250(25| 9 | 42
*x C16M-MGIVR/L30T7C 16 {12.9/150| 3 7 |23 M4X12 S3
*x C20Q-MGIVR/L30T5C 20 [15.6/180| 3 5 | 27 M5X16 S4
* C25R-MGIVR/L30T7C 25 120.3/200| 3 | 7 | 33 M..N300..
* C32S-MGIVR/L30T11C 32 (25.3/250| 3 | 11 | 42 M6X20 S5
* C40T-MGIVR/L30T13C 40 [31.3|/300| 3 | 13 | 54
*x C20Q-MGIVR/L40T5C 20 (15.6/180| 4 5 | 27 M5X16 S4
* C25R-MGIVR/L40T9C 25 (21.5/200| 4 9 |35
* C32S-MGIVR/L4OT1IC | 32 |27.5250| 4 | 11 | 44 M.-N400..
* C40T-MGIVR/L40T13C 40 |33.5/300| 4 | 13 | 54
* C25R-MGIVR/L50T9C 25 (21.5/200| 5 9 |35
* C32S-MGIVR/L50T11C 32 (27.5/250| 5 | 11 | 44 M6X20 S5 M..N500..
* C40T-MGIVR/L50T13C 40 [33.5/300| 5 | 13 | 54
* C25R-MGIVR/L60T9C 25 (21.5/200 6 | 9 | 35
* C32S-MGIVR/L60T11C 32 |27.5/250| 6 | 11 | 44 M..N600..
* C40T-MGIVR/L60T13C 40 |33.5/300| 6 | 13 | 54

iT#R6l: 14 C20Q-MGIVR30T5C 14 C20Q-MGIVL30T5C *xR=HF L=£F e IE TS 8T
“k” SETREEER

® Ordering Example:1pcs C20Q-MGIVR30T5C 1pcs C20Q-MGIVL30T5C  * R=righthand L= lefthand
Inserts need to be ordered separately
"[] "indicates standing stock

129



[

/.J\'/fé Ij\] }IJ.UJ 1:%7] 1::|: Small diameter internal grooving tool holder

130

PDrin

il

P (R
f
i
®D
L
;__:Fé % Model e ms%:re%vjvr thlir-er?::_h Inserts
d| f|L|h [Dm ¥ 4 ToL
* SNGR0O8H06C 8 |4.7|100|7.4| 8 L60 M2.0X4 6GR/L..
* 8 |5.8/100|7.4| 10
SNGRO8H07C L60 M2.2X5 7GR/L..
*x SNGR10K07C 10 | 6.8 125] 9 12 T6
* 1 7.6 (12 14
SNGR10K08C 0 6 5 9 L60 M2.2X6 8GR/L..
* SNGR12M08C 12 |1 8.6[150| 11 | 16
* SNGR16N09C 16 [11.6/160| 15 | 20
L60 M2.5X6 T8 9GR/L..
* SNGR20Q09C 20 |13.6/180| 19 | 24

T8 fl: 1 SNGR12M08C

“k” ERTEEERF

o TR FEERMITH

Ordering Example:1pcs SNGR12M08C
Inserts need to be ordered separately

"[] "indicates standing stock




1] i (31 #&) J1#FIGrooving Tool Holder

|j\:| ?eriﬁZ?Jl] ID H: Innernal profiling tool holder

©
C..MGIU.. [@
L
RtSize(mm) A7 FRIEE]
?__:Fé % Model Socket head cap screw Wrench Inserts
d | S| L|H |Tnx Dmn wll! ~ A
C20Q-MGIUR/L30C 20 | 13 |180| 18 3 |35 M5X16 S4
C25R-MGIUR/L30C 25 (15.5/200| 23 3 | 40 MRMN300..
C32S-MGIUR/L30C 32|19 (25030 | 3 |50 Mex20 S5
C20Q-MGIUR/L40C 20 | 13 |180| 18 | 3 | 35 M5X16 S4
C25R-MGIUR/L40C 25 |15.5/200| 23 3 | 40 MRMN400..
C32S-MGIUR/L40C 32 |19 12501 30| 3 | 50
C25R-MGIUR/L50C 25 |15.5/200| 23 | 4 | 40
C32S-MGIUR/L50C 32 |19 (250 30 | 4 | 50 MRMN500
C40T-MGIUR/L50C 40 | 23 |300| 37 | 4 | 60
C25R-MGIUR/L60C 25 [15.5(200| 23 | 4 | 40 M6X20 S5
C32S-MGIUR/L60C 32 |19 12501 30| 4 | 50 MRMN®600..
C40T-MGIUR/L60C 40 | 23 |300| 37 | 4 | 60
C25R-MGIUR/L80C 25 |15.5/200| 23 | 6 | 40
C32S-MGIUR/L80C 32 | 19 |250| 30 6 | 50 MRMN800..
C40T-MGIUR/L80C 40 | 23 |300| 37 | 6 | 60

ITHRRB: 14 C20Q-MGIUR30C 1 C20Q-MGIUL30C *R=HF L=KLK£F o JJHEEBMITHN
o “k” SRINEEER

® Ordering Example:1pcs C20Q-MGIUR30C 1pcs C20Q-MGIUL30C  * R=righthand L= left hand

Inserts need to be ordered separately

"[] "indicates standing stock

131



[

132

I Wron LJJ4+F Cutting tool holde

Mel ]

ol 4] ) @
1
z L
R Size(mm) M7 FRIRET w F 7 A
;__:F.g % Model Socket head cap screw Wrench Inserts
W|S | L|H|B | Tm ~d
*x ZQ1616R/L2016HC 2 |16.4|/100| 16 | 16 | 16 M4X16 S3
SP200 (KORLOY)
* ZQ2020R/L2016KC 2 |20.4{125| 20 | 20 | 16 M6X20 S5
* ZQ1616R/L3020HC 3 |16.4/100| 16 | 16 | 20 M4X16 S3
* ZQ2020R/L3025KC 3 |20.4/125| 20 | 20 | 25
* ZQ2525R/L3025MC 3 |25.4/150| 25 | 25 | 25 M6X20 S5 ZQMX3N11-1E
* ZQ3232R/L3025PC 3 [32.4/170| 32 | 32 | 25
*x ZQ1616R/L4020HC 4 116.4/100| 16 | 16 | 20 M4X16 S3
* ZQ2020R/L4025KC 4 120.4/125| 20 | 20 | 25
ZQMX4N11-1E
* ZQ2525R/L4025MC 4 |25.4/150| 25 | 25 | 25
* ZQ3232R/L4025PC 4 |32.4{170| 32| 32 | 25
* ZQ2020R/L5025KC 5 ]20.5/125| 20 | 20 | 25
* ZQ2525R/L5025MC 5 |25.4{150| 25 | 25 | 25 M6X20 S5 ZQMX5N11-1E
* ZQ3232R/L5025PC 5 [32.4/170| 32 | 32 | 25
* ZQ2020R/L6025KC 6 |20.6/125| 20 | 20 | 25
ZQMX6N11-1E
* ZQ2525R/L6025MC 6 |25.6/150| 25 | 25 | 25 3.96402
* ZQ3232R/L6025PC 6 [32.6/170| 32 | 32 | 25 '
o JTHRfl: 1 ZQ2020R3025KC 11 ZQ2020L3025KC  *R=HF L=kKF e IR EEHMITY
o ‘“k” SHRLEEER
® Ordering Example:1pcs ZQ2020R3025KC 1pcs ZQ2020L3025KC * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
= THEW
S
ZQS.. h| H
L ] 3
W
N i 7] J:|L
;__:F.g % MOde| RTSIze(mm) Inserts
H s w D
*x ZQS 263 26 20.5 110 2.4 3
ZQMX3N11-1E
*x ZQS 323 32 25.3 150 2.4 &
*x ZQS 264 26 20.5 110 3.2 4
ZQMX4N11-1E
*x ZQS 324 32 25.3 150 3.2 4
*x ZQS 265 26 20.5 110 5
ZQMX5N11-1E
*x ZQS 325 32 25.3 150 5
*x ZQS 326 32 25.3 150 6 ZQMX6N11-1E
o iTHRfl: 14 ZQS323 e JIRFERMITHY
o “k7 SHRREEER

® Ordering Example:1pcs ZQS323

® [nserts need to be ordered separately

I "indicates standing stock



1] i (31 #&) J1#FIGrooving Tool Holder

t)] I*EBDIB %&B F:E Cutting Processing blade and blade seat

h1

W
e I'en
QES.. h
L < s
150°
R~ Size(mm)
FY = Inserts
= Model
= H h L s w ZEIRS
*x QES 263 26 20.5 110 2.4 3
ZPFS0302-MG
* QES 323 32 25.3 150 2.4 3
*x QES 264 26 20.5 110 3.2 4
ZPGS0402-MG
*x QES 324 32 25.3 150 3.2 4
* QES 265 26 20.5 110 5
ZPHS0503-MG
* QES 325 32 25.3 150 5)
*x QES 326 32 25.3 150 6 ZPKS0604-MG
o JTHRf: 14 QES323 e JIRFERMITHY
o kT SRREEER
® Ordering Example:1pcs QES323 ® |nserts need to be ordered separately ® "[] "indicates standing stock
QMN.. H
A
L S
R~fSize(mm) E H7NRIRET
ﬁg % Model Blade Socket head cap screw Wrench
H h L s A o ~
*x QMN 16-26 16 43 86 33 15
*x QMN 20-26 20 43 86 38 19
QMC26
* QMN 25-26 25 43 86 42 23
* QMN 32-26 32 43 86 48 30 GB70-85-M6X12 S5
*x QMN 20-32 20 49 110 38 19
*x QMN 25-32 25 49 110 42 23 QMC32
*x QMN 32-32 32 53 100 48 30

"[] "indicates standing stock

i8R Bl: 11 QMN20-26 e JTREZEHMITHY
k7 SRTEEER

Ordering Example:1pcs QMIN20-26
Inserts need to be ordered separately

133



ntory you can meet all y




FE1LHLT]FFISwiss Lathe Tool Holder

iE ’l:r\ 1;}-'.. E 1:3 7_.] *:F Swiss lathe rear sweeping holder

SABS..-40F
“t ) mt
\l‘
30°
L
< Si — E[E 25T w F Y
F = RTSIZe(m ) *E&EEJ):%R Faste%nmg?screw Wrench Inserts
== -5 MOdeI Standard tool ti - S
H | B | h|L|F|%nka® %
* SABSR1010JX40F 10 | 10 | 10 {120{10.2
* SABSR1212JX40F 12 | 12 | 12 |{120|12.2 o015 G - e
* SABSR1616JX40F 16 | 16 | 16 |120 |16.2 i -
SABSR2020K40F 20 | 20 | 20 |12520.2
® T Rfl: 114 SABSR1212JX40F o IREFEEREMITH
o “k” SRIERER
® Ordering Example:1pcs SABSR1212JX40F
® |nserts need to be ordered separately
® "I "indicates standing stock
- [T g
4.2
SABW..-40F
‘| e :
\(w
L
) = RFSize(mm) REPAAR ; %ﬁ@_%ﬂ \Tvﬁ ?h |7] J?"
FH Model re astening screw renc! nserts
= 7 H B[ h[L]F | e
* SABWR1010JX40F 10 | 10 | 10 {120{10.2
* SABWR1212JX40F 12 | 12 | 12 |120|12.2
0.15 L60 M3X8 T10 ABW15R..
* SABWR1616JX40F 16 | 16 | 16 {120(16.2
* SABWR2020K40F 20 | 20 | 20 |125|20.2
® T4 Rf: 114 SABWR1212JX40F o JIREFEERMITHY
o ‘X" SRRERER
® Ordering Example:1pcs SABWR1212JX40F * R=righthand L= lefthand
® |nserts need to be ordered separately
® "

[] "indicates standing stock

135



/i

136

L:IEIEJ\*)-LJ-E—j:H 7] 1::|: Swiss lathe rear sweeping holder

SABW..-50F
| o -
e
Si ik R[EMRET R F 7R
FH =] RTSIZe(mm) 75* Fastel%n%?screw Wrench Inserts
5 = Model AR <
H|B | h|L|F/|C(e - @
* SABWR1010JX50F 10 | 10 | 10 {120{10.2
* SABWR1212JX50F 12 | 12 | 12 |{120|12.2 015 L60 M3X8 T10 ABS15R..
* SABWR1616JX50F 16 | 16 | 16 [120[16.2|
SABWR2020K50F 20 | 20 | 20 |125|20.2
® JTHRfl: 114 SABWR1212JX50F o IR FERMITH
o ‘X SRRERER
® Ordering Example:1pcs SABWR1212JX50F ® |nserts need to be ordered separately
°

"1 "indicates standing stock




FE1LHLT]FFISwiss Lathe Tool Holder

iE ’l:r\ *ﬂa ﬁfj— :El 7_.] *:F Swiss lathe front sweeping holder

2.5
I

- ;
—~95°

o*w
f

TH

SCLC..Z i
1 SCLCRIL1010JX09 w P @
IR | | ?
Only SCLCR/L1010JX09 95°
has the above shape
R~ Size(mm) i E[EEET R F ANy
gg _% Model g’; Fastening screw Wren_ch Inserts
H=h| B | L | Li| F | S| - |t (]
SCLCR/L0808JX06Z 8 8 |120| - 8 0
L60 M2.5X6 T8 CC..0602..
* SCLCR/L1010JX06Z 10 | 10 [120| -- |10 | O
* SCLCR/L1010JX09Z 10 | 10 (12015 | 10 | O 0
* SCLCR/L1212JX09Z 12 | 12 |120| - 12| 0 '
L60 M4X8 T15 CC..09T3..
* SCLCR/L1616JX09Z 16 | 16 |120| - 16| 0
SCLCR/L2020JX09Z 20 | 20 |120 - |20 | O
® JT#Rfl: 14 SCLCR1212JX09Z 114 SCLCL1212JX09Z *R=HF L=KF o IR FEHMITH
o “k” SRIERER
® Ordering Example:1pcs SCLCR1212JX09Z 1pcs SCLCL1212JX09Z * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
I TN [
16 I Nl [
0 Hi
L
S..SCLC.. @ Ia -
80° ‘——‘
‘ T o] (] ‘
\ku L/ [
err« 8 &
RFSize(mm) i EEEET R F 7R
g_g % Model gT; Fastening screw Wren_ch Inserts
®D | L | F | ®d |[H=H{ - |(o ()
S12F-SCLCLO06 12 80 6 134 11
S14H-SCLCLO06 14 100 6 13.4| 13
S15F-SCLCLO06 15.875| 85 6 15.4 | 15
S16F-SCLCLO6 16 85 6 |15.4| 15 R — e
S19G-SCLCL06 19.05| 90 | 6 |18.4 | 17 ' h h
S19K-SCLCL06 19.05| 120 6 18.4 | 17
S20G-SCLCLO6 20 90 6 19.4 | 18 0.4
S20K-SCLCL06 20 | 120 | 6 |19.4| 18 '
S19G-SCLCL09 19.05| 90 | 10 |18.4| 17
S19K-SCLCL09 19.05| 120 | 10 | 18.4| 17
S20G-SCLCL09 20 90 10 | 19.4| 18
L60 M4X8 T15 CC..09T3..
S20K-SCLCL09 20 120 | 10 | 19.4| 18
S25H-SCLCL09 25 100 | 10 |24.4| 23
S25K-SCLCL09 254 | 120 | 10 |24.8| 23
® T4 Rf: 14 S16F-SCLCLO6 o T REERMITH
o “k” SRREEERF
® Ordering Example:1pcs S16F-SCLCL06 ® |nserts need to be ordered separately
® "M

[1 "indicates standing stock

137



[

138

L:IEIL\J\H-L_E‘-HJ:H D 1::|: Swiss lathe front sweeping holder

F

27 N
93°
SDJC..Z of o/ |
X SDJCR1620JX-11-FO5 - mT 95° @
IR r
SR e e e
R~fSize(mm) i E[ERET R F ANy
;__:F.g _% Model g? Fastening screw Wrench Inserts
H=h| B | L | Li| F |Fi| S | (o) o/
* SDJCR1216JX11F05Z 12 | 16 |120(12.6| 18 | 2 5
* SDJCR1216JX11F15Z 12 | 16 |120(12.6| 28 | 12 | 15
0.2 L60 M4X8 T15 DC..11T3..
* SDJCR1620JX11F052 16 | 20 [120(12.6| 20 | - 5
* SDJCR1620JX11F15Z 16 | 20 |120(12.6| 28 | 8 15
e iTHRfl: 14 SDJCR1216JX11F15Z e JIFEE & MITM
o “k” SRREERER
® Ordering Example:1pcs SDJCR1216JX11F15Z ® |nserts need to be ordered separately
® "[] "indicates standing stock
°)
=3 4 I
[ Li
SDJC..Z . E
| |93l SDJCRILOBOSFO? w @
SDJCRIL0s0sF07  SDICRILIOIOIX1!
SDJCR/L1010JX11  SDJCRIL1212..11 ” 93°
forthe above shape ¥ LIHAR L
R~tSize(mm) i E[E 2] w®F 7R
;__:F.g _% Model g7§ Fastening screw Wrench Inserts
H=h| B | L | F |Fi| S| - |(e) /o]
* SDJCR/L0808F07Z 8 8 [8 | 8 |05 0 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1212F11Z 12 | 12 | 85 | 12 1 0 L60 M4X8 T15 DC..11T3..
* SDJCR/L1010JX07Z 10 | 10 {120 10 - 0 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1010JX11Z 10 | 10 [120| 10 | 3 0 0.2
* SDJCR/L1212JX11Z 12 | 12 12012 | 1 0 LGOS s e
* SDJCR/L1616JX11Z 16 | 16 (12016 | - | © h h
* SDJCR/L2020JX11Z 20 | 20 [120| 20 | - 0
® JTHRf: 14 SDICR1212JX07Z 114 SDJCL1212JX07Z *R=AF L=K£F o A FEERMITH
o ‘X" BETHEEH
® Ordering Example:1pcs SDJCR1212JX07Z 1pcs SDJCL1212JX07Z * R=righthand L=left hand
® |nserts need to be ordered separately
® "

[ "indicates standing stock




FE1LHLT]FFISwiss Lathe Tool Holder

iE 'L\ *ﬂ: ﬁfj— 1:3 7] 1::|: Swiss lathe front sweeping holder

¢ 20 .
7=\ {
w © i - ’ ]_‘ T
w /950
SDLCZ fi SDLCRIL1010..11
SDLCR{L1212..11 - © @
KT
Only SDLCR/L1010..11 ‘95"
and SDLCR/L1212..11 L
has the above shape
S e EEIRET R F ANy
gg % Model R_J—SIZe(mm) é’r‘}; Fastel;ﬁiln%?screw Wrench Inserts
H=h| B | L | F|[F [ s | - |G B /o7
% SDLCR/L1212F07Z 12 |12 85|12 - | 0 L60 M2.5X6 T8 DC..0702..
* SDLCR/L1010F11Z 10 | 10 | 85 | 10 | 4 0
* SDLCR/L1212F11Z 12 |12 85|12 2 | 0 o L60 M4X8 T15 DC..11T3..
* SDLCR/L1616F11Z 16 | 16 |100| 16 | - | O '
* SDLCR/L1010JX07Z 10 | 10 [120| 10 | - 0
* SDLCR/L1212JX07Z 12 |12 [120112 | - | © L60 M2.5X6 T8 DC..0702..
* SDLCR/L1616JX07Z 16 | 16 [120| 16 | - 0
* SDLCR/L1010JX11Z 10 | 10 |120] 10 | 4 0
% SDLCR/L1212JX11Z 12 |12 /120012 | 2 | © L60 M4X8 T15 DC..11T3..
% SDLCR/L1616JX11Z 16 | 16 |120| 16 | - 0
® T x%l: 14 SDLCR1212JX11Z 11 SDLCL1212JX11Z *R=HF L=kF o JIHHEEHMITH
o “k” SRRERER

® Ordering Example:1pcs SDLCR1212JX11Z 1pcs SDLCL1212JX11Z  * R=righthand L= left hand
® |nserts need to be ordered separately

® "[] "indicates standing stock
s Ls 6‘
= ‘ I
w ° |
SDLP..Z ol %
SDJCR/LOB0BFO7 - {{ SDLPRILOBOBFOTFF w () ®
'Sotr)thERa/tx;?s};;Le SDLPR/L1212F11FF
SDLPR/L1010JX11FF | 95°
SDLPRIL1212JX11FF @ L
R ERBAR
Si iR EERET R F AN
1] = R‘_]’Slze(mm) 7]3-3': Fastening screw Wrench Inserts
# & Model &R .
H=h| B | L |Li | F |F.| S | (o) & % /o7
* SDLPR/L0808F072 8 8 |85 |14 | 8 |05]| 0 L60 M2.5X6 T8 DP..0702..
* SDLPR/L1212F11Z 12 {12 185 |20 | 12 | 2 0 L60 M4X8 T15 DP..11T3..
* SDLPR/L1010JX07Z 10 | 10 |120| - 10 - 0 0.2 L60 M2.5X6 T8 DP..0702..
* SDLPR/L1010JX11Z 10 | 10 |{120| 20 | 10 | 4 0 '
* SDLPR/L1212JX11Z 12 | 12 112020 | 12| 2 0 L60 M4X8 T15 DP..11T3..
* SDLPR/L1616JX11Z 16 | 16 [120| - | 16 | - 0
® TR fl: 1#f SDLPR1212JX11Z 114 SDLPL1212JX11Z *R=BF L=KL£F o A FERMITH

o k" BERRHEER

® Ordering Example:1pcs SDLPR1212JX11Z 1pcs SDLPL1212JX11Z * R=righthand L=left hand
Inserts need to be ordered separately
"[] "indicates standing stock

139



[

140

/ﬁtzlt\dznﬁ-ﬁj:ajj 1::|: Swiss lathe front sweeping holder

20
u. V=Y
|8 T E
SDXC..Z | 105"
{L SDXCRIL1010JX11 | m‘
AR N
Only SDXCR/L1010JX1
for the above shape L
R<tSize(mm) TRETIRAR EE4RET R F AN
9:F='J _,|=|5 Model . d(rj)| y Fastening screw Wrench Inserts
H=h| B L F Fi S © aarLgal;R?rcz‘)lp ‘J,,-'ﬂ E
* SDXCR/L1010JX07Z 10 | 10 [120| 12 | - 0 L60 M2.5X6 T8 DC..0702..
* SDXCR/L1010JX11Z 10 | 10 |120| 12 | 4 0 0.2
* SDXCR/L1212JX11Z 12 | 12 |120| 16 | - 0 i L60 M4X8 T15 DC..11T3..
* SDXCR/L1616JX11Z 16 | 16 |[120| 20 | - 0
® TR fl: 14 SDXCR1212JX11Z 1 SDXCL1212JX11Z *R=BF L=KEF o JIREERMITHY
o ‘X" SRRERER
® Ordering Example:1pcs SDXCR1212JX11Z 1pcs SDXCL1212JX11Z * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
f il x
™ 62.5°
SDNC..Z N
o | -
| 62.5° L
R~ Size(mm) FRAETIRRR EENRET R F AN
i‘J % Model (re) ‘ Fastening screw Wren_ch Inserts
H=h| B | L | F | - | - | - |"Saere0” i L/
* SDNCR/L1010JX07Z 10 | 10 |120| 7 0.2 L60 M2.5X6 T8 DC..0702..
® iT#%Rfl: 14 SDNCR1010JX07F 114 SDNCL1010JX07F *R=AF L=LK£F o T RFELEMITH
o ”“ﬁT%%Eﬁ
°

Ordering Example:1pcs SDNCR1010JX07F 1pcs SDNCL1010JX07F

Inserts need to be ordered separately

"indicates standing stock

* R=right hand

L= left hand




FE1LHLT]FFISwiss Lathe Tool Holder

7_~E ’l:r\ *ﬂa ﬁfj— :El 7_.] *:F Swiss lathe front sweeping holder

SDNC..Z S
o> | °
b
L
R~FSize(mm) FRERRR EEIRET R F AN
;__:||:2 _.|=|5 Model Smd::)m“lp Fastening screw Wren.ch Inserts
H=h| B | L | F | - | - | - | “engerio &~ Pt (57
* SDNCN1010JX07Z 10 | 10 [120| 5 G0 5 - 5E G
* SDNCN1212JX07Z 12 | 12 |120| 6
* SDNCN1010JX11Z 10 | 10 [120| 5 0.2
* SDNCN1212JX11Z 12 | 12 |120| 6 L60 M4 X8 T15 DC..11T3..
* SDNCN1616JX11Z 16 | 16 |[120| 8
® T Rfl: 14 SDNCN1212JX11Z o IREFEEEMITHY
o “k7 SRINERER
® Ordering Example:1pcs SDNCN1212JX11Z ® |nserts need to be ordered separately
® "[] "indicates standing stock
—a—
— 1
0 16 H
S..SDUC..Z 55° t
VRN i
- [sé;l T /—{7\ ]
| — —
=00
5
0 IR 11
B 2 Model Slaa U s | EEEn [ mE oL
®D | L | F | ®d |[H=H{| S | wnderia & % VY4
S14H-SDUCL07Z 14 100 6 13.4] 13 | 3.8
S15F-SDUCLO07Z 15.875| 85 6 154 | 15 | 3.8
S19G-SDUCL07Z 19.05| 90 6 18.4 | 17 | 3.8 G S - 5E G
S19K-SDUCL07Z 19.05| 120 6 18.4 | 17 | 3.8
S20G-SDUCL07Z 20 90 6 194 18 | 3.8
S20K-SDUCL07Z 20 120 6 19.4 | 18 | 3.8
S19G-SDUCL11Z 19.05| 90 10 |18.4| 17 | 5.8 | 0.4
S19K-SDUCL11Z 19.05| 120 | 10 |[18.4| 17 | 5.8
S20G-SDUCL11Z 20 90 | 10 |19.4| 18 | 5.8
S20K-SDUCL11z 20 120 | 10 [ 19.4| 18 | 5.8 L60 M4X8 T15 DC..11T3..
S22K-SDUCL11z 22 120 | 10 | 21.4| 20 | 5.8
S25H-SDUCL11Z 25 100 | 10 |24.4| 23 | 5.8
S25K-SDUCL11z 254 | 120 | 10 | 24.8| 23 | 5.8
® iT/xfl: 11 S20K-SDUCLO7Z o JIFEEBIMITH
o ‘X" SRRERER
® Ordering Example:1pcs S20K-SDUCL07Z ® |nserts need to be ordered separately

[l "indicates standing stock

141



[

/:JI::IEJ\H-L%-U?HD 1::|: Swiss lathe front sweeping holder

142

T
— -
0° 16 Hi
L
S..SDLC..Z 55° H
(2]
. > ‘F VA
[ f
== 3
R~fSize(mm) RETRAR EEIRET R F kR
gg _.I=I5 Model . d(f:)| | Fastening screw Wrench Inserts
®D | L | F | ®d |H=H: S | e Vo4
S12F-SDLCL07Z 12 80 6 134 11 3.8
S14H-SDLCL07Z 14 100 6 13.4| 13 | 3.8
S15F-SDLCL07Z 15.875| 85 6 15.4| 15 | 3.8
S19G-SDLCL07Z 19.05| 90 6 18.4 | 17 | 3.8 L60 M2.5X6 T8 DC..0702..
S19K-SDLCL07Z 19.05| 120 6 18.4 | 17 | 3.8
S20G-SDLCL07Z 20 90 6 19.4 | 18 | 3.8
S20K-SDLCL07Z 20 120 6 19.4] 18 | 3.8 | 0.4
S19G-SDLCL11Z 19.05| 90 10 | 18.4| 17 | 5.8
S19K-SDLCL11Z 19.05| 120 | 10 |[18.4| 17 | 5.8
S20G-SDLCL11Z 20 90 10 |19.4| 18 | 5.8
S20K-SDLCL11Z 20 120 | 10 [ 19.4| 18 | 5.8 L60 M4X8 T15 DC..11T3..
S22K-SDLCL11Z 22 120 | 10 | 21.4| 20 | 5.8
S25H-SDLCL11Z 25 100 | 10 | 24.4| 23 | 5.8
S25K-SDLCL11Z 254 | 120 | 10 | 24.8| 23 | 5.8
o iT#Rfl: 1#f S20K-SDLCLO7 o I REBIMITH
o ‘X" SRRERER
® Ordering Example:1pcs S20K-SDLCLO7 ® |nserts need to be ordered separately
® "

"indicates standing stock




FE1LHLT]FFISwiss Lathe Tool Holder

iE ’l:r\ *ﬂ.’ ﬁfj— :El 7_.] *:F Swiss lathe front sweeping holder

2.5

| I .
AN
lu
STGC(P)..Z .
{{ STGC(P)RIL1010F11C w @
h BB ®
Only STGC(P)R/L1010F11C lu
for the above shape |91
L
- R~tSize(mm) DR . L%lﬁlﬂ?%? w F kR
;_jé -5 MOdeI Standard tool tip e Wrelr_lchh Inserts
H=h| B L L4 F - = angle R(re) o
* STGCR/L0808E08Z 8 8 |70 | 12 | 10
0.2 L60 M2X5 T6 TC..0802..
* STGCR/L1010F082 10 | 10 | 80 | 12 | 12
* STGCR/L1010F11Z 10 | 10 | 80 | 15 | 14
* STGCR/L1212H11Z 12 | 12 |100| 15 | 16 C L60 M2.5X6 T8 TC..1103..
* STGCR/L1616F11Z 16 | 16 |100| 15 | 20
R<Size(mm) TRETIRAR E[ERE] R F ANy
g_g % Model Stand::)mmp Fastening screw Wrench Inserts
Heh| B[ L [ L[ F |- [ - | st & JAN
* STGPR/L0808E08Z 8 8 |70 |12 | 10 L60 M2X5 T6 TP..0802..
* STGPR/L1010F11Z 10 | 10 | 80 | 15 | 14 02
* STGPR/L1212H11Z 12 | 12 |100| 15 | 16 ’ L60 M3X8 T10 TP..1103..
* STGPR/L1616F11Z 16 | 16 |[100| 15 | 20
o JT#Rfl: 14 STGCR1212F11Z 14 STGCL1212F11Z *R=AF L=K£F o JI A RERIMITE
o “k” SRREEERF
® Ordering Example:1pcs STGCR1212F11Z 1pcs STGCL1212F11Z  * R=righthand L=left hand
® |nserts need to be ordered separately
P

"[] "indicates standing stock

143



[

144

/ﬁtzlt\dznﬁ-ﬁj:ajj 1::|: Swiss lathe front sweeping holder

SVJB(C)(P)..Z

y
4"

o\ &2

ol
2] = L
R~fSize(mm) TRAETIRAR %@T\gﬂ- R F kR
;__:Fg _.|=|5 Model . d(rj)| , Fastening screw Wren_ch Inserts
H=h| B | L | F | S| - | - | emsierte P o7
* SVJBR/L1010JX11Z 10 | 10 {120 10 | O
* SVJBR/L1212JX11Z 12 | 12 {12012 | O
* SVJBR/L1616JX11Z | 16 | 16 |120| 16 | 0 02 160 M2.5X6 T8 VB..1103.-
SVJBR/L2020JX11Z 20 | 20 (12020 | ©
M o R~fSize(mm) WETISAR . %lﬁlﬂ?ﬂ V’f{/ﬁ ?h |7] );-u"
1 ) astening screw renc nserts
=S -'5 Model H=h B L F S _ _ Sﬁaar:‘%algdézzl)"p ,,-"-‘ 5
SVJBR/L1010JX11Z 10 | 10 {120 10 | O
* SVJBR/L1212JX11Z 12 | 12 {12012 | O
0.2 L60 M2.5X6 T8 VC..1103..
* SVJBR/L1616JX11Z 16 | 16 |120] 16 | O
SVJBR/L2020JX11Z 20 | 20 |[1201 20 | ©
R~fSize(mm) HRETIRAR EEIRET R F kR
§|_£ _% Model s'and:::)mmp Fastening screw Wrench Inserts
H=h| B L F S o o angle R(re) ,f' 5
* SVJPR/L1212JX11Z 12 | 12 {12012 | O
* SVJPR/L1616JX11Z 16 | 16 |120] 16 | O 0.2 L60 M2.5X6 T8 VP..1103..
SVJPR/L2020JX11Z 20 | 20 (12020 | O
® iJ8/R%l: 11 SVICR1212F11Z 1 SVJCL1212F11Z *R=FF L=KLKF o IR EEAMITI
o "k SRIERER
® Ordering Example:1pcs SVJCR1212F11Z 1pcs SVJCL1212F11Z *R=righthand L=left hand
® |nserts need to be ordered separately
® "M

[1 "indicates standing stock




FE1LHLT]FFISwiss Lathe Tool Holder

iE ’l:r\ *ﬂ.’ ﬁfj— :El 7_.] *:F Swiss lathe front sweeping holder

T
27 r
SVLP..Z Z
* u{,gs"\ @
L1 [}
70°
R~fSize(mm) IREDRAR E[EIRET R F
7 % MOdel (re) Fastening screw Wrench Inserts
= H=h| B [ L [ L | F[F | s | "weoekia® & 4 7
SVLPR1216JX11F15Z 12 | 16 |120| 12 | 26 | 10 | 15
0.2 L60 M4X8 T15 VP..1103..
SVLPR1620JX11F15Z 16 | 20 {120 12 | 26 | 6 | 15
® JTHRfl: 14 SVLPR1216JX11F15Z o IR FERMITM
o ‘X SRRERER
® Ordering Example:1pcs SVLPR1216JX11F15Z ® |nserts need to be ordered separately
® "[] "indicates standing stock
i
SVLC(P)..Z
w s3]
o
|_95°
%) L
R~fSize(mm) TRETIRAR ZEIRET R F AN
gg _% Model (re) Fastening screw Wrer_mh Inserts
H=h| B [ L[ F[s |- ]| s & 4 £
* SVLCR/L1212JX11Z 12 |12 {12012 | O
0.2 L60 M2.5X6 T8 VC..11083..
SVLCR/L1616JX11Z 16 | 16 |[120| 16 | O
~+Si TR E[ER
7 = Model RJSize(mm) hrIEJ(?E)%R Faiﬂn%?s%c?!ew vaﬁer?;:_h Inserts
= T H=h| B | L | F| s | - | - SR ~ . o7
SVLPR/L1010JX08Z 10 | 10 120 10 | O
SVLPR/L1212JX08Z 12 | 12 {12012 | O L60 M2X5 T6 VP..0802..
SVLPR/L1616JX08Z 16 | 16 [120| 16 | O 02
* SVLPR/L1212JX11Z 12 | 12 {12012 | O '
L60 M2.5X6 T8 VP..1103..
SVLPR/L1616JX11Z 16 | 16 |[120| 16 | O
SVLPR/L1212F08Z 12 |12 |85 (12| 0 L60 M2X5 T6 VP..0802..
* SVLPR/L1212F11Z 12 112|185 12| O L60 M2.5X6 T8 VP..1103..

iT#R%B: 14 SVLCR1212F11Z 1#:SVLCL1212F11Z *R=FF L=KF o JIREERMITY
“k” ERTEEER

°
)
® Ordering Example:1pcs SVLCR1212F11Z 1pcs SVLCL1212F11Z * R=righthand L=lefthand
® |nserts need to be ordered separately

°

"[] "indicates standing stock

145



[

L:IEIL\J\H-L_E‘-HJ:H D 1::|: Swiss lathe front sweeping holder

i

f ‘:
IS I
SVPB..Z
w 0 «@
T s
L
R~fSize(mm) SR B EMRET R F AN
gg _.I=I5 Model e A Fastening screw Wren_ch Inserts
H=h| B L F - angle R(re) R
* SVPBR/L1010JX11Z | 10 | 10 |120(14.5
* SVPBR/L1212JX11Z | 12 | 12 [120(16.5 0.4 L60 M2.5X6 T8 VB..1103..
* SVPBR/L1616JX11Z | 16 | 16 |120(20.5
® iT#&/Rfl: 14 SVPBR1212F11Z 14 SVPBL1212F11Z *xR=HF L=LKEF o IR EEHAMITI
° ‘X" BETHEEH

® Ordering Example:1pcs SVPBR1212F11Z 1pcs SVPBL1212F11Z  * R=righthand L=left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
%
Tl
=4 I
SVPP..-Z s
X SVPPR1616..-08FF !
R BT w éz @
Only SVPPR1616..-08FF 4 A T
for the above shape ” ﬂz;s 45°
L
R~FSize(mm) FREETISRAR EEIRET R F NS
F = Model (re) Fastening screw Wrench Inserts
= =T ode Standard tool tip -
H=h| B L L+ L. F F4 S angle R(re) -
* SVPPR/L1010JX08Z 10 | 10 |120 12 | 16 | 10 | 4 0
* SVPPR/L1212JX08Z 12 | 12 {12012 | 16 | 12 | 2 0 0.1 L60 M2X5 T6 VP..0802..
* SVPPR/L1616JX08Z 16 | 16 (12012 | - | 16 | - 0
* SVPPR/L1010JX11Z 10 | 10 |[120| 16 | 20 | 10 | 8 0
* SVPPR/L1212JX11Z 12 | 12 {120 16 | 20 | 12 | 6 0 0.2 L60 M2.5X6 T8 VP..1103..
* SVPPR/L1616JX11Z 16 | 16 |120| 16 | 20 | 16 | 2 0
* SVPPR/L1212F08Z 12 |12 |85 |12 |16 | 12 | 2 0 0.1 L60 M2X5 T6 VP..0802..
* SVPPR/L1212F11Z 12 |12 |85 |16 | 20 |12 | 6 0 0.2 L60 M2.5X6 T8 VP..1103..
® JTHRHI: 14 SVPPR1212F11Z 11 SVPPL1212F11Z *R=BF L=K£F o A FEHMITH
° ‘X" BETHEEH

® Ordering Example:1pcs SVPPR1212F11Z 1pcs SVPPL1212F11Z * R=righthand L= left hand
Inserts need to be ordered separately

[ "indicates standing stock

146



FE1LHLT]FFISwiss Lathe Tool Holder

% ’L\ *ﬂ: ﬁfj— 1:3 7] *:F Swiss lathe front sweeping holder

] r
< I
SVVB(C)..Z
o m
72.5°
L
7 = RdSize(mm) ﬁ;@(?g%%R SEIRE] thlirei Inserts
Fasteni

= 5 Model Heh| B | L | F | - | “wderio” ase:agscrew o7

SVVBN1010JX11Z 10 | 10 |120] 5
* SVVBN1212JX11Z 12 | 12 |120| 6
* SVVBN1616JX11Z 16 | 16 |120| 8

0.4 L60 M2.5X6 T8 VB..1103..

* SVVBN1010F11Z 10 |10 | 85 | 5
* SVVBN1212F11Z 12 |12 | 85| 6

SVVBN1616H11Z 16 | 16 |100| 8

~FSi FRETIR AL
g_g _% Model R‘J’Slze(mm) h@(?s;fﬁR Faiﬁn%?s%c]r-ew thlirer?i Inserts
H=h| B | L | F | - A el y S o7

SVVCN1010JX11Z 10 | 10 |120| 5
* SVVCN1212JX11Z 12 | 12 |120] 6 0.4 L60 M2.5X6 T8 VC..1103..

SVVCN1616JX11Z 16 | 16 |120| 8
® TR fl: 14 SVVBN1212JX11Z TIREZRMITHY
o ‘X" SRRERER
® Ordering Example:1pcs SVVBN1212JX11Z ® |nserts need to be ordered separately
PO

[ "indicates standing stock

147



[

L:IEIL\J\H-L_E‘-HJ:H D 1::|: Swiss lathe front sweeping holder

148

S..SVUB(C)..Z G} n ;
TR &
I |

Y = RTISize(m m) ﬁ;@(?f)%%R Fai%ln%%i]r-ew \Tgengczh Iynjseﬁs-
= 5 Model ®D | L | F | ®d |[H=H: S i e & e
S12F-SVUCL08Z 12 80 | 7.5 |13.4| 11 5.5
S14H-SVUCL08Z 14 100 | 7.5 | 13.4| 13 | 5.5 L = Ve BRI
S15F-SVUCL08Z 15.875| 85 8 154 | 15 | 55
S16F-SVUCL08Z 16 85 8 154 | 15 | 55
S19G-SVUCL11z 19.05|10.5|10.5 | 18.4 | 17 8 04
S19K-SVUCL11Z 19.05|10.5|10.5 | 18.4 | 17 8
S20G-SVUCL11Z 20 |10.5(10.5|19.4| 18 8 GO GG — T
S20K-SVUCL11Z 20 |10.5(10.5|19.4| 18 8
S25H-SVUCL11Z 25 |10.5(10.5|24.4| 23 8
S25K-SVUCL11Z 25.4 | 10.5|10.5 |24.8 | 23 8

R~ Size(mm) TRAETIRAR %ﬂ?"ﬁj R F kR
ﬁl—i % Model Sland::)mmp Fastening screw Wren_ch Inserts

oD L F &d |H=H:| S angle R(re) S

S19G-SVUBL11Z 19.05| 90 |10.5|18.4| 17 8
S19K-SVUBL11Z 19.05| 120 | 10.5 | 18.4 | 17 8
S20G-SVUBL11Z 20 90 |10.5(19.4| 18 8
S20K-SVUBL11Z 20 | 120 |10.5/19.4| 18 | 8 o L60 M2.5%6 e V8. 1103
S25H-SVUBL11Z 25 100 | 10.5 | 24.4 | 23 8
S25K-SVUBL11Z 25.4 | 120 | 10.5 | 24.8 | 23 8

T8 RB: 1 S20K-SVUCLO7

k7 ERTEEER

Ordering Example:1pcs S20K-SVUCLO7

[l "indicates standing stock

o TR EESEMITH

® |nserts need to be ordered separately




FE1LHLT]FFISwiss Lathe Tool Holder

iE 'L\ *ﬂ. -l:)] Ii{ﬁ 7] 1::|: Swiss lathe cutting tool holder

1L

Only KTKFR/L1616JX.. KTKFR/L2020JX... {{ KTKFRIL1616JX.
for the above shape | rco o0y

4%
KTKF..Z e D
= S :
only KTKFRILZ0205%. 1 KTKFRILZ0Z0JK. ‘ egn L
forthestoreshepe A LA O ferihe above shape.
R~ Size(mm) 25T R F kR
;__:Fé _% MOdel Screw Wre.r.u:h Inserts
B H=h F | L | Ly Dna| T e A OAN
* KTKFR/L1010JX12Z 10 | 10 | 10 |125| 15 | 12 | 6
*x KTKFR/L1212JX12Z 12 [ 12 | 12 |125| - | 12| 6
* KTKFR/L1616JX12Z 16| 16 | 16 [125| - | 12| 6 TKFBT2R/L..
*x KTKFR/L2020JX12Z 20 | 20 | 20 [125| - | 12| 6
* KTKFR/L1010JX16Z 10 | 10 | 10 |125| 20 | 16 | 8 L60 M4.0X10 T15
*x KTKFR/L1212JX16Z 12112 | 12 [125| - | 16| 8
*x KTKFR/L1616JX16Z 16 | 16 | 16 |125| - | 16 | 8 TKFB16R/L..
*x KTKFR/L2020JX16Z 20 | 20 | 20 [125| - |16 | 8
*x KTKFR/L2525JX16Z 25| 25|25 (125| - | 16| 8
o T RHI: 14 KTKFR2020JX12C 1 KTKFL2020JX12C *R=FF o T REERMITH
o “k” SRFAHEER

® Ordering Example:1pcs KTKFR2020JX12C 1pcs KTKFL2020JX12C

Inserts need to be ordered separately

[1 "indicates standing stock

* R=right hand

149



[
BB A

Right Angle Shoulder Milling Tools

HAP.. Nl

L1

@

RFSize(mm) 5 92 5] w F 7R
gg % Model Number of Screw Wrer]ch Inserts
D d L Lo a teeth ’ P @
HAP-300R-10-C10-120 10 10 | 120 | 25 | 10.5
* HAP-300R-12-C12-120 12 12 | 120 | 25 | 10.5 !
* HAP-300R-16-C16-120 16 16 | 120 | 25 | 10.5
* HAP-300R-16-C16-160 16 16 | 160 | 25 | 10.5
HAP-300R-16-C16-200 16 16 | 200 | 25 | 10.5
M2.5X6 T8 AP..11..
* HAP-300R-20-C20-120 20 20 | 120 | 30 | 10.5
* HAP-300R-20-C20-160 20 20 | 160 | 30 | 10.5
HAP-300R-20-C20-200 20 20 | 200 | 30 | 10.5
HAP-300R-25-C24-160 25 24 | 160 | 35 | 10.5
HAP-300R-25-C24-200 25 24 | 200 | 35 | 10.5
* HAP-400R-25-C24-160 25 24 | 160 | 35 | 15.5 ;
* HAP-400R-25-C24-200 25 24 | 200 | 35 | 15.5
HAP-400R-25-C24-250 25 24 | 250 | 35 | 15.5
* HAP-400R-25-C25-160 25 25 | 160 | 35 | 15.5
* HAP-400R-25-C25-200 25 25 | 200 | 35 | 15.5
M4X10 T15 AP..1604..
HAP-400R-25-C25-250 25 25 | 250 | 35 | 15.5
* HAP-400R-32-C32-160 32 32 | 160 | 35 | 15.5
* HAP-400R-32-C32-200 32 32 | 200 | 35 | 15.5
HAP-400R-32-C32-250 32 32 | 250 | 35 | 15.5
HAP-400R-32-C32-300 32 32 | 300 | 35 |15.5
o iT#Rfl: 144 HAP-400R-25-C25-160 oI RFEEMIMY
o “k” SRINEEBER
® Ordering Example:1pcs HAP-400R-25-C25-160 ® |nserts need to be ordered separately
® "[] "indicates standing stock

150




AumE /] (RP)

Circular edge end milling cutter

3 8 JJ#FI End Milling Cutter Holder

HMR..

D

Q
4 @
1l

L1

A 5 Model

HMR-4R12-C12-120
HMR-4R16-C15-120
HMR-4R16-C15-160
HMR-4R16-C15-200
HMR-4R16-C16-120
HMR-4R16-C16-160
HMR-4R16-C16-200
HMR-4R20-C20-120
HMR-4R20-C20-160
HMR-4R20-C20-200
HMR-5R20-C20-120
HMR-5R20-C20-160
HMR-5R20-C20-200
HMR-5R25-C20-160
HMR-5R25-C20-200
HMR-5R25-C25-160
HMR-5R25-C25-200
HMR-5R25-C25-250
HMR-5R30-C25-160
HMR-5R30-C25-200
HMR-5R30-C25-250
HMR-5R35-C32-160
HMR-5R35-C32-200
HMR-5R35-C32-250
HMR-5R35-C32-300
HMR-6R32-C32-160
HMR-6R32-C32-200
HMR-6R32-C32-250
HMR-6R35-C32-160
HMR-6R35-C32-200
HMR-6R35-C32-250
HMR-6R35-C32-300
HMR-6R40-C32-160
HMR-6R40-C32-200
HMR-6R40-C32-250
HMR-6R40-C32-300
HMR-6R50-C32-160
HMR-6R50-C32-200
HMR-6R50-C32-250

LA D 2P AR 2P 2B b b 20 2B 2 2 b 2P 5

L b P b 2B S * %

* O %

R~ Size(mm)

D
12
16
16
16
16
16
16
20
20
20
20
20
20
25
25
25
25
25
30
30
30
35
35
35
35
32
32
32
35
35
35
35
40
40
40
40
50
50
50

d
12
15
15
15
16
16
16
20
20
20
20
20
20
20
20
25
25
25
25
25
25
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32

L
120
120
160
200
120
160
200
120
160
200
120
160
200
160
200
160
200
250
160
200
250
160
200
250
300
160
200
250
160
200
250
300
160
200
250
300
160
200
250

L1
30
40
40
40
40
40
40
50
50
50
50
50
50
50
50
60
60
60
50
60
60
50
60
60
60
50
60
60
50
60
60
60
50
60
60
60
50
60
60

5 4 92 5] E #R R F
Number of Screw Pressure plate Wrench Inserts
a teeth @
4 1
4
4
4
4
P M3X8 A-4R T10 RPMT08T2MO
4
4
4
4
5
5
5 2
5
5
5
5
5 A-5R RPMT10T3MO
5
5
5
5
5
5
5 T15
6
6
6 M4X10
6 3
6
6
6
6 A-6R RPMT1204MO
6
6
6
6
6 4
6

o T4/ fl: 144 HAP-400R-25-C25-160

o “k” SRITEEER

o IR BEHMITH

® Ordering Example:1pcs HAP-400R-25-C25-160

® Inserts need to be ordered separately

® "[] "indicates standing stock

151



[

Bk Sk 2 /R 8k T

Ball nose profiling milling cutter

HRF..

1@

L1

A 5 Model

HRF-5R-C12-120
HRF-5R-C12-160
HRF-6R-C12-120
HRF-6R-C16-160
HRF-8R-C16-160
HRF-8R-C16-200
HRF-10R-C20-160
HRF-10R-C20-200
HRF-10R-C20-250
HRF-12.5R-C25-160
HRF-12.5R-C25-200
HRF-12.5R-C25-250
HRF-12.5R-C32-200
HRF-12.5R-C32-250
HRF-15R-C32-200
HRF-15R-C40-250
HRF-16R-C32-200
HRF-16R-C40-250

R~ Size(mm)

D
10
10
12
12
16
16
20
20
20
25
25
25
25
25
30
30
32
32

d
12
12
12
16
16
16
20
20
20
25
25
25
32
32
32
40
32
40

L
120
160
120
160
160
200
160
200
250
160
200
250
200
250
200
250
200
250

L+
30
30
32
58
65
65
45
75
100
45
75
100
100
100
100
100
100
100

12 £7
Screw Wrench Inserts
N
M3X8 T10 SRFT10
M3.5X10 SRFT12
T15
M4X14 SRFT16
M5X16 T20 SRFT20
SRFT25
M6X22 T25
SRFT30
M8X25 T30 SRFT32

o T Rfl: 144 HRF-10R-C20-160

® k" SRTEEERF

® Ordering Example:1pcs HRF-10R-C20-160
"[] "indicates standing stock

1562

o JIRFERMITA

® |nserts need to be ordered separately




B 5k T

Chamfer milling cutter

3 8 JJ#FI End Milling Cutter Holder

-a
o
H M C gl o -1 T ©
. &
*ﬂ“L1
L
;_—:Fé % Model RTJ- Size (mm) N%gfhr of %%:re%va- V*{Iirer?; Inserts
a D D d L L+ a # @
HMC30-06SP09 30° 6 - 16 | 83 30 | 4.76
HMC30-08SP09 30° 8 - 16 83 30 | 4.76
HMC30-12SP09 30° 12 - 20 105 40 | 4.76 1
HMC30-16SP09 30° 16 - 20 120 40 | 4.76
HMC30-20SP09 30° 20 - 25 150 40 | 4.76
HMC30-25SP09 30° | 25 | 415 | 32 | 150 | 40 | 4.76 .
HMC30-32SP09 30° 32 | 48.5| 32 165 40 | 4.76
HMC75-08SP09 75° 8 - 16 83 30 | 8.83 Maxs s SPMW090304
HMC75-12SP09 75° 12 - 20 105 30 | 8.83 !
HMC75-16SP09 75° 16 |32.18| 20 120 40 | 8.83
HMC75-20SP09 75° 20 |32.18| 25 150 40 | 8.83 2
HMC75-25SP09 75° 25 |37.18| 32 150 40 | 8.83
HMC75-32SP09 75° 32 | 439 | 32 165 45 | 8.83
HMC45-04SP09 45° 4 - 16 83 30 | 6.74
HMC45-08SP12 45° 8 - 16 83 30 | 8.98 :
HMC45-12SP12 45° | 12 - 20 | 105 | 40 | 8.98
HMC45-16SP12 45° 16 - 20 120 40 | 8.98
HMC45-20SP12 45° 20 | 37.9| 25 150 40 | 8.98
HMC45-25SP12 45° 25 429 | 32 150 40 | 8.98 2
HMC45-32SP12 45° 32 | 499 | 32 165 45 | 8.98
M5X12 T20 SPMW120304
HMC60-08SP12 60° 8 - 16 83 30 11
HMC60-12SP12 60° | 12 - 20 | 105 | 30 11 1
HMC60-16SP12 60° 16 - 20 120 40 11
HMC60-20SP12 60° 20 |33.02| 25 150 40 11
HMC60-25SP12 60° 25 |37.37| 32 150 40 11 2
HMC60-32SP12 60° 32 | 446 | 32 165 45 11

TR 14 HMC45-32SP12

k7 ERTEEER

o IR HRERMITY

Ordering Example:1pcs HMC45-32SP12
"[] "indicates standing stock

® |nserts need to be ordered separately

153



[

154

TZCE T =k

TZC Boring head

TZC

90:\«

(=

;_—:Fé _% Model RT_I'Slze(mm) : %%rjv;/r Wren_ch Inserts
B=b L h f Boﬁi%ﬁ%ﬁiter . @
* TZC08-23-90CL 8 |23 | 6 8 25~38
* T2C08-36-90CL B 3668 38~50 L60 M2.5X6 T8 CC..0602..
* TZC10-36-90CL 10 | 36 | 8 9
* TZC10-48-90CL 10 | 48 | 8 9 50~70
* TZC13-48-90CL 13 |48 | 11 | 13
* TZC13-65-90CL 13 165 | 11 | 13 70~90 GO s ..
* TZC16-60-90CL 16 | 60 | 12 | 15 62~90
* TZC16-85-90CL 16 | 85 | 12 | 15 90~115
* TZC19-70-90CL 19 |70 | 15 | 18 72~105
* TZC19-95-90CL 19 | 95 | 15 | 18 105~135
* TZC19-125-90CL 19 |125| 15 | 18 135~150 L60 M5X12 T20 CC..1204..
* TZC25-100-90CL 25 (100 20 | 24 105~140
* TZC25-135-90CL 25 [135| 20 | 24 140~190
B=b L | h | f Boﬁzla%r?néeter o
% TZC10-36-90TL 10 | 36 | 8 9 38~50 G - 760902,
* TZC10-48-90TL 10 | 48 | 8 9 .
* TZC13-48-90TL 13 |48 | 11 | 13
* TZC13-65-90TL 13|65 | 11 | 13 70~90
L60 M2.5X6 T8 TC..1102..
* TZC16-60-90TL 16 | 60 | 12 | 15 62~90
* TZC16-85-90TL 16 | 85 | 12 | 15 90~115
* TZC19-70-90TL 19 | 70 | 15| 18 72~105
* TZC19-95-90TL 19 | 95 | 15 | 18 105~135
* TZC19-125-90TL 19 |125| 15 | 18 135~150 L60 M4X10 T15 TC..16T3..
* TZC25-100-90TL 25 [100| 20 | 24 105~140
* TZC25-135-90TL 25 [135| 20 | 24 140~190

“k” SRTEEER

T8R4 : 14 TZC13-48-90CL

Ordering Example:1pcs TZC13-48-90CL
® '[) "indicates standing stock

o JIRFERMITMA

® |nserts need to be ordered separately




TQC%E J] 3%

TQC Boring head

$2 J13klBoring head tool holder

TQC

FY = RT_]'Size(mm) %?Ere%va- Wrench Inserts
4 = Model ; "
B=b L h f Bo%ﬁ%%rﬁ;ter - @
* TQCO08-23-45CL 8 | 23| 6 |3.63 25~38
* TQC08-36-45CL 8 |36 6 13.63 38~50 L60 M2.5X6 T8 CC..0602..
* TQC10-36-45CL 10 |36 | 8 | 4
* TQC10-48-45CL 10 | 48 | 8 | 4 -
* TQC13-48-45CL 13|48 | 11 | 5.5
* TQC13-65-45CL 13 65| 11 |55 70~90 L60 MAX10 15 CC.09T3..
* TQC16-60-45CL 16 | 60 | 12 | 6.5 62~90
* TQC16-85-45CL 16 | 85 | 12 | 6.5 90~115
* TQC19-70-45CL 19 |70 | 15| 8 72~105
* TQC19-95-45CL 19 | 95 | 15| 8 105~135
* TQC19-125-45CL 19 [125| 15| 8 135~150 L60 M5X12 T20 CC..1204..
* TQC25-100-45CL 25 |100| 20 | 11 105~140
* TQC25-135-45CL 25 |135| 20 | 11 140~190
gg % Model Rq-s'ze(mm) ms%re%v;/r \Tgen_aci Ijnjseﬁs-
B=b L | h| f Bof%g}lé%j%ter o
* TQC10-36-45TL 10|36 | 8 | 4 38~50 L60 M2.2X5 T6 TC..0902..
* TQC10-48-45TL 10 | 48 | 8 | 4 .
* TQC13-48-45TL 13 |48 | 11 |5.5
* TQC13-65-45TL 13 65| 11 |55 70~90 L60 M2.56 T8 16 1100,
*x TQC16-60-45TL 16 | 60 | 12 | 6.5 62~90
*x TQC16-85-45TL 16 | 85 | 12 | 6.5 90~115
* TQC19-70-45TL 19 | 70 | 15 72~105
* TQC19-95-45TL 19 | 95 | 15 105~135
* TQC19-125-45TL 19 [125| 15| 8 135~150 L60 M4X10 T15 TC..16T3..
* TQC25-100-45TL 25 |100| 20 | 11 105~140
* TQC25-135-45TL 25 |135| 20 | 11 140~190
o ITHRH: 14 TQC13-48-45CL oI REERMITH
o “k” SRINEEERF
® Ordering Example:1pcs TQC13-48-45CL

"[1 "indicates standing stock

® |nserts need to be ordered separately

155



REFS, EETE SRS ARCORNEITER

lete specificati y you can meet all your processing demands with hcnc.

-"."‘-I":;‘ ek
x -y




i% L 3k 5 2 AL

Shallow hole drill naming rules

HCD| |03

300

XP

32| | S

P||05

02

1 2 3 5 6 7 8 9
1. 7] B %H 2. K1ZELE 3.7JREER BRI
Tool Type L/D Tool diameter scope Tool installation structure
- Flattened handle
HD R FLER 02,03,04,05 - 130-500
Shallow hole dfill e HEX ]
13mm-50mm
WARHE R4 % FLER
Double helix internal
AL cooling Shallow hole
drill
5. JJEREMLR T 6. JJR 4k 7. 7R EA 8. Y14 714 & (mm) 8. &
Tool installation size Inserts shape Inserts back angle Cutting edge length Number of teeth
C 7°
20, 25, 32, 40 (mm) -
A P 11°
S
++ . .
EFH SEE Application
1. @7 2. R mEHTL 3. §hXXFL 4.4 FL
Ordinary drilling Bevel drilling Drilling cross holes Hole expansion

157



[

% FLEL 2D

Shallow hole drill 2D

-

L

D2

L>

B 2 Model R~ Size(mm) I Vil BRET iR F
oD | D1 | @Dz | Ls L L nserts Screw Wrench
* HCD02-130-XP20-SP04-02 | 13.0 | 20 - 31 | 50 | 98 SPGT04T102 M1 8x4.0 5
* HCD02-140-XP20-SP04-02 | 14.0 | 20 . 33 | 50 | 100
* HCD02-150-XP20-SP05-02 | 15.0 | 20 - 35 | 50 | 102
% HCDO02-160-XP20-SP05-02 | 16.0 20 - 37 50 104 SPGT050204 M2x4.3
* HCD02-170-XP25-SP05-02 | 17.0 | 25 - 39 | 56 | 117 6
* HCD02-180-XP25-SP06-02 | 18.0 | 25 s 41 | 56 | 119
* HCD02-190-XP25-SP06-02 | 19.0 | 25 - 43 | 56 | 121
SPGT060204 M2.2x5.5
% HCDO02-200-XP25-SP06-02 | 20.0 25 - 45 56 123
% HCDO02-210-XP25-SP06-02 | 21.0 25 - 47 56 125
* HCD02-220-XP25-SP07-02 | 22.0 | 25 s 49 | 56 | 127
* HCD02-230-XP25-SP07-02 | 23.0 | 25 - 51 | 56 | 129
% HCDO02-240-XP25-SP07-02 | 24.0 25 - 53 56 131
SPGT07T308 M2.5x6.5 T8
* HCD02-250-XP25-SP07-02 | 25.0 | 25 - 55 | 56 | 133
* HCD02-260-XP25-SP07-02 | 26.0 | 25 . 57 | 56 | 135
* HCD02-270-XP25-SP07-02 | 27.0 | 25 - 59 | 56 | 137
* HCD02-280-XP25-SP09-02 | 28.0 | 25 - 61 | 60 | 146
* HCD02-290-XP32-SP09-02 | 29.0 | 32 - 63 | 60 | 148
* HCD02-300-XP32-SP09-02 | 30.0 | 32 . 65 | 60 | 150
SPGT090408 M3.5x8
* HCD02-310-XP32-SP09-02 | 31.0 | 32 - 67 | 60 | 120
* HCD02-320-XP32-SP09-02 | 32.0 | 32 - 69 | 60 | 154
* HCD02-330-XP32-SP09-02 | 33.0 | 32 - 71 | 60 | 156
* HCD02-340-XP40-SP11-02 | 34.0 | 40 5 73 | 70 | 173 15
% HCDO02-350-XP40-SP11-02 | 35.0 40 - 75 70 175
% HCDO02-360-XP40-SP11-02 | 36.0 40 - 77 70 177
* HCD02-370-XP40-SP11-02 | 37.0 | 40 - 79 | 70 | 179
SPGT110408 M4x10
* HCD02-380-XP40-SP11-02 | 38.0 | 40 . 81 | 70 | 181
% HCDO02-390-XP40-SP11-02 | 39.0 40 - 83 70 183
% HCDO02-400-XP40-SP11-02 | 40.0 40 - 85 70 185
* HCD02-410-XP40-SP11-02 | 41.0 | 40 - 87 | 70 | 187
HCDO02-420-XP40-SP14-02 | 42.0 | 40 5 89 | 70 | 199
HCDO02-430-XP40-SP14-02 | 43.0 40 - 91 70 201
HCDO02-440-XP40-SP14-02 | 44.0 40 - 93 70 203
HCDO02-450-XP40-SP14-02 | 45.0 | 40 - 95 | 70 | 205
HCD02-460-XP40-SP14-02 | 46.0 40 - 97 70 207 SPGT140512 M5x13 T20
HCDO02-470-XP40-SP14-02 | 47.0 40 - 99 70 209
HCDO02-480-XP40-SP14-02 | 48.0 40 - 101 70 211
HCDO02-490-XP40-SP14-02 | 49.0 | 40 - | 103 | 70 | 213
HCD02-500-XP40-SP14-02 | 50.0 | 40 - | 105 | 70 | 215

o Tt /Rfil: 1{f HCD02-230-XP25-SP07-02

o “k” SRTEEER

® Ordering Example:1pcs HCD02-230-XP25-SP07-02

"indicates standing stock

1568

° JI R BEEHIMITH

® |nserts need to be ordered separately




X FLEY A J1 K II Shallow hole drill & inserts

% FLE4 3D

Shallow hole drill 3D

4 N
g
L4 L.
L
A 2 Model R~FSize(mm) Tk B2 45T iR F
oD | @D+ | @D | L L L Inserts Screw Wrench
* HCDO03-130-XP20-SP04-02 | 13.0 | 20 - 44 | 50 | 111 SPGT04T102 M. 8x4.0 15
% HCDO03-140-XP20-SP04-02 | 14.0 | 20 - 47 | 50 | 114
* HCDO03-150-XP20-SP05-02 | 15.0 | 20 - 50 | 50 | 117
* HCDO03-160-XP20-SP05-02 | 16.0 | 20 - 53 | 50 | 120 SPGT050204 M2x4.3
* HCD03-170-XP25-SP05-02 | 17.0 | 25 - 56 | 56 | 134 T6
* HCDO03-180-XP25-SP06-02 | 18.0 | 25 - 59 | 56 | 137
* HCDO03-190-XP25-SP06-02 | 19.0 | 25 - 62 | 56 | 140
SPGT060204 M2.2x5.5
* HCDO03-200-XP25-SP06-02 | 20.0 | 25 - 65 | 56 | 143
* HCD03-210-XP25-SP06-02 | 21.0 | 25 - 68 | 56 | 146
* HCD03-220-XP25-SP07-02 | 22.0 | 25 - 71 56 | 149
* HCDO03-230-XP25-SP07-02 | 23.0 | 25 - 74 | 56 | 152
% HCDO03-240-XP25-SP07-02 | 24.0 | 25 - 77 | 56 | 155
SPGT07T308 M2.5x6.5 T8
* HCD03-250-XP25-SP07-02 | 25.0 | 25 - 80 | 56 | 159
* HCD03-260-XP25-SP07-02 | 26.0 | 25 - 83 | 56 | 161
* HCDO03-270-XP25-SP07-02 | 27.0 | 25 - 86 | 56 | 164
* HCDO03-280-XP25-SP09-02 | 28.0 | 25 - 89 | 60 | 174
% HCD03-290-XP32-SP09-02 | 29.0 | 32 - 92 | 60 | 177
% HCDO03-300-XP32-SP09-02 | 30.0 | 32 - 95 | 60 | 180
SPGT090408 M3.5x8
* HCDO03-310-XP32-SP09-02 | 31.0 | 32 - 98 | 60 | 183
* HCDO03-320-XP32-SP09-02 | 32.0 | 32 - | 101 | 60 | 186
* HCDO03-330-XP32-SP09-02 | 33.0 | 32 - | 104 | 60 | 189
% HCDO03-340-XP40-SP11-02 | 34.0 | 40 - | 107 | 70 | 207 15
% HCDO03-350-XP40-SP11-02 | 35.0 | 40 - 110 | 70 | 210
* HCD03-360-XP40-SP11-02 | 36.0 | 40 - 13 | 70 | 213
% HCDO03-370-XP40-SP11-02 | 37.0 | 40 - 116 | 70 | 216
SPGT110408 M4x10
% HCDO03-380-XP40-SP11-02 | 38.0 | 40 - 19 | 70 | 219
% HCDO03-390-XP40-SP11-02 | 39.0 | 40 - [ 122 | 70 | 222
* HCD03-400-XP40-SP11-02 | 40.0 | 40 - | 125 | 70 | 225
% HCDO03-410-XP40-SP11-02 | 41.0 | 40 - | 128 | 70 | 228
HCDO03-420-XP40-SP14-02 | 42.0 | 40 - [ 131 | 70 | 251
HCD03-430-XP40-SP14-02 | 43.0 | 40 - | 134 | 70 | 244
HCD03-440-XP40-SP14-02 | 44.0 | 40 - | 137 | 70 | 247
HCDO03-450-XP40-SP14-02 | 45.0 | 40 - | 140 | 70 | 250
HCDO03-460-XP40-SP14-02 | 46.0 | 40 - | 143 | 70 | 253 SPGT140512 M5x13 T20
HCD03-470-XP40-SP14-02 | 47.0 | 40 - | 146 | 70 | 256
HCD03-480-XP40-SP14-02 | 48.0 | 40 - | 149 | 70 | 259
HCDO03-490-XP40-SP14-02 | 49.0 | 40 - | 152 | 70 | 262
HCDO03-500-XP40-SP14-02 | 50.0 | 40 - | 155 | 70 | 265
e iT8RH: 11F HCD03-230-XP25-SP07-02 e JIH EEHMITI
e “k” SRRIEEETR
® Ordering Example:1pcs HCD03-230-XP25-SP07-02 ® |nserts need to be ordered separately

"indicates standing stock

159



[

% FLEL 4D

Shallow hole drill 4D

-

L

D2

L>

Al 2 Model R~ Size(mm) Tk 1247 wF
oD | @D1| @Dz | Li | Ls L Inserts Screw Wrench
* HCDO04-130-XP20-SP04-02 | 13.0 | 20 - | 57 | 50 | 124 SPGT04T102 M1 8x4.0 5
* HCD04-140-XP20-SP04-02 | 14.0 | 20 - | 81 | 50 | 128
* HCDO04-150-XP20-SP05-02 | 15.0 | 20 - | 5 | 50 | 132
* HCDO04-160-XP20-SP05-02 | 16.0 | 20 - | 69 | 50 | 136 SPGT050204 M2x4.3
* HCD04-170-XP25-SP05-02 | 17.0 | 25 | - | 73 | 56 | 151 T6
* HCDO04-180-XP25-SP06-02 | 18.0 | 25 | - | 77 | 56 | 155
* HCDO04-190-XP25-SP06-02 | 19.0 | 25 | - | 81 | 56 | 159
SPGT060204 M2.2x5.5
* HCDO04-200-XP25-SP06-02 | 20.0 | 25 | - | 85 | 56 | 163
* HCD04-210-XP25-SP06-02 | 21.0| 25 | - | 89 | 56 | 167
* HCDO04-220-XP25-SP07-02 | 22.0 | 25 | - | 93 | 56 | 171
* HCDO04-230-XP25-SP07-02 | 23.0 | 25 | - | 97 | 56 | 175
* HCDO04-240-XP25-SP07-02 | 24.0 | 25 | - | 101 | 56 | 179
SPGT07T308 M2.5x6.5 T8
* HCD04-250-XP25-SP07-02 | 25.0 | 25 | - | 105 | 56 | 183
* HCDO04-260-XP25-SP07-02 | 26.0 | 25 | - | 109 | 56 | 187
* HCDO04-270-XP25-SP07-02 | 27.0 | 25 | - | 113 | 56 | 191
* HCD04-280-XP25-SP09-02 | 28.0 | 25 | - | 117 | 60 | 202
* HCD04-290-XP32-SP09-02 | 29.0 | 32 - | 121 | 60 | 206
* HCDO04-300-XP32-SP09-02 | 30.0 | 32 - | 125 | 60 | 210
SPGT090408 M3.5x8
* HCDO04-310-XP32-SP09-02 | 31.0 | 32 - | 129 | 60 | 214
* HCDO04-320-XP32-SP09-02 | 32.0 | 32 - | 133 | 60 | 218
* HCDO04-330-XP32-SP09-02 | 33.0 | 32 - | 137 | 60 | 222
* HCDO04-340-XP40-SP11-02 | 34.0 | 40 - | 141 | 70 | 241 15
* HCDO04-350-XP40-SP11-02 | 35.0 | 40 - | 145 | 70 | 245
* HCD04-360-XP40-SP11-02 | 36.0 | 40 - | 149 | 70 | 249
* HCDO04-370-XP40-SP11-02 | 37.0 | 40 - | 153 | 70 | 253
SPGT110408 M4x10
* HCDO04-380-XP40-SP11-02 | 38.0 | 40 - | 157 | 70 | 257
* HCDO04-390-XP40-SP11-02 | 39.0 | 40 - | 161 | 70 | 261
* HCD04-400-XP40-SP11-02 | 40.0 | 40 - | 165 | 70 | 265
* HCDO04-410-XP40-SP11-02 | 41.0 | 40 - | 169 | 70 | 269
HCDO04-420-XP40-SP14-02 | 42.0 | 40 - | 173 | 70 | 283
HCD04-430-XP40-SP14-02 | 43.0 | 40 - | 177 | 70 | 287
HCD04-440-XP40-SP14-02 | 44.0 | 40 - | 181 | 70 | 291
HCDO04-450-XP40-SP14-02 | 45.0 | 40 - | 185 | 70 | 295
HCDO04-460-XP40-SP14-02 | 46.0 | 40 - | 189 | 70 | 299 SPGT140512 M5x13 T20
HCD04-470-XP40-SP14-02 | 47.0 | 40 - | 193 | 70 | 303
HCD04-480-XP40-SP14-02 | 48.0 | 40 - | 197 | 70 | 307
HCDO04-490-XP40-SP14-02 | 49.0 | 40 - | 201 | 70 | 311
HCD04-500-XP40-SP14-02 | 50.0 | 40 - | 205 | 70 | 315

® T4 /Rfjl: 11 HCD04-230-XP25-SP07-02

o “k” SRTEEER

® Ordering Example:1pcs HCD04-230-XP25-SP07-02

"indicates standing stock

160

° JI R BEEHIMITH

® |nserts need to be ordered separately




X FLEY A J1 K II Shallow hole drill & inserts

7% FLE4 5D

Shallow hole drill 5D

4 N
g
L4 L.
L
B 2 Model R Size(mm) Nk BRET iR F
oD | @D+ | @D | L L L Inserts Screw Wrench
* HCDO05-130-XP20-SP04-02 | 13.0 | 20 - 70 | 50 | 137 SPGT04T102 M1 8x4.0 Ts
* HCDO05-140-XP20-SP04-02 | 14.0 | 20 - 75 | 50 | 142
* HCDO05-150-XP20-SP05-02 | 15.0 | 20 - 80 | 50 | 147
* HCDO05-160-XP20-SP05-02 | 16.0 | 20 - 85 | 50 | 152 SPGT050204 M2x4.3
* HCD05-170-XP25-SP05-02 | 17.0 | 25 - 90 | 56 | 168 T6
* HCDO05-180-XP25-SP06-02 | 18.0 | 25 - 95 | 56 | 173
* HCDO05-190-XP25-SP06-02 | 19.0 | 25 - | 100 | 56 | 178
SPGT060204 M2.2x5.5
* HCDO05-200-XP25-SP06-02 | 20.0 | 25 - | 105 | 56 | 183
* HCD05-210-XP25-SP06-02 | 21.0 | 25 - 110 | 56 | 188
* HCD05-220-XP25-SP07-02 | 22.0 | 25 - 115 | 56 | 193
* HCDO05-230-XP25-SP07-02 | 23.0 | 25 - | 120 | 56 | 198
* HCDO05-240-XP25-SP07-02 | 24.0 | 25 - | 125 | 56 | 203
SPGT07T308 M2.5x6.5 T8
* HCDO05-250-XP25-SP07-02 | 25.0 | 25 - | 130 | 56 | 208
* HCDO05-260-XP25-SP07-02 | 26.0 | 25 - | 135 | 56 | 213
* HCDO05-270-XP25-SP07-02 | 27.0 | 25 - | 140 | 56 | 218
* HCDO05-280-XP25-SP09-02 | 28.0 | 25 - | 145 | 60 | 230
* HCD05-290-XP32-SP09-02 | 29.0 | 32 - | 150 | 60 | 235
* HCDO05-300-XP32-SP09-02 | 30.0 | 32 - | 155 | 60 | 240
SPGT090408 M3.5x8
* HCDO05-310-XP32-SP09-02 | 31.0 | 32 - | 160 | 60 | 245
* HCDO05-320-XP32-SP09-02 | 32.0 | 32 - | 165 | 60 | 250
* HCDO05-330-XP32-SP09-02 | 33.0 | 32 - | 170 | 60 | 255
* HCDO05-340-XP40-SP11-02 | 34.0 | 40 - | 175 | 70 | 275 15
% HCDO05-350-XP40-SP11-02 | 35.0 | 40 - | 180 | 70 | 280
* HCDO05-360-XP40-SP11-02 | 36.0 | 40 - | 185 | 70 | 285
% HCDO05-370-XP40-SP11-02 | 37.0 | 40 - | 190 | 70 | 290
SPGT110408 M4x10
* HCDO05-380-XP40-SP11-02 | 38.0 | 40 - | 195 | 70 | 295
* HCDO05-390-XP40-SP11-02 | 39.0 | 40 - | 200 | 70 | 300
* HCDO05-400-XP40-SP11-02 | 40.0 | 40 - | 205 | 70 | 305
% HCDO05-410-XP40-SP11-02 | 41.0 | 40 - | 210 | 70 | 310
HCDO05-420-XP40-SP14-02 | 42.0 | 40 - | 215 | 70 | 325
HCDO05-430-XP40-SP14-02 | 43.0 | 40 - | 220 | 70 | 330
HCD05-440-XP40-SP14-02 | 44.0 | 40 - | 225 | 70 | 335
HCDO05-450-XP40-SP14-02 | 45.0 | 40 - | 230 | 70 | 340
HCDO05-460-XP40-SP14-02 | 46.0 | 40 - | 235 | 70 | 345 SPGT140512 M5x13 T20
HCD05-470-XP40-SP14-02 | 47.0 | 40 - | 240 | 70 | 350
HCDO05-480-XP40-SP14-02 | 48.0 | 40 - | 245 | 70 | 355
HCDO05-490-XP40-SP14-02 | 49.0 | 40 - | 250 | 70 | 360
HCDO05-500-XP40-SP14-02 | 50.0 | 40 - | 255 | 70 | 365
o iTERH: 1fF HCD05-230-XP25-SP07-02 e JIH EEHMITI
e “k” SRRIEEETR
® Ordering Example:1pcs HCD05-230-XP25-SP07-02 ® |nserts need to be ordered separately

"indicates standing stock

161



[

532¥L%,5 2D shallow hole dril 2D
p

L

D1
2D2

L.

B 2 Model R~FSize(mm) Tk B2 4T w F
oD | D1 | @Dz | Ls L L Inserts Screw Wrench
HCD02-160-XP20-WC03-02 | 16.0 | 20 | 25 | 35 | 50 | 102
HCD02-170-XP25-WC03-02 | 17.0 | 25 | 32 | 37 | 56 | 111
HCD02-180-XP25-WC03-02 | 18.0 | 25 | 32 | 39 | 56 | 113 WCMT030208
HCD02-190-XP25-WC03-02 | 19.0 | 25 | 32 | 41 | 56 | 115
HCD02-200-XP25-WC03-02 | 20.0 25 32 43 56 117
M2.5x6.5 T8
HCD02-210-XP25-WC04-02 | 21.0 | 25 | 32 | 45 | 56 | 119
HCD02-220-XP25-WC04-02 | 22.0 | 25 | 32 | 47 | 56 | 121
HCD02-230-XP25-WC04-02 | 23.0 | 25 | 32 | 49 | 56 | 123 WCMT040208
HCD02-240-XP25-WC04-02 | 24.0 25 32 51 56 125
HCD02-250-XP25-WC04-02 | 25.0 | 25 | 32 | 53 | 56 | 127
HCDO02-260-XP25-WC05-02 | 26.0 | 25 | 32 | 55 | 60 | 137
HCD02-270-XP32-WC05-02 | 27.0 | 32 | 37 | 57 | 60 | 139
HCD02-280-XP32-WC05-02 | 28.0 32 37 59 60 141 WCMT050308
HCD02-290-XP32-WC05-02 | 29.0 | 32 | 37 | 61 | 60 | 143
HCD02-300-XP32-WC05-02 | 30.0 | 32 | 37 | 63 | 60 | 145
HCD02-310-XP32-WC06-02 | 31.0 | 32 | 37 | 65 | 60 | 147
HCD02-320-XP32-WCO06-02 | 32.0 32 37 67 60 149
HCD02-330-XP32-WC06-02 | 33.0 | 32 | 37 | 69 | 60 | 151 V340 10
HCDO02-340-XP40-WC06-02 | 34.0 | 40 | 37 | 71 | 60 | 166
HCD02-350-XP40-WC06-02 | 35.0 | 40 | 47 | 73 | 70 | 168
HCDO02-360-XP40-WC06-02 | 36.0 | 40 | 47 | 75 | 70 | 170 WCMT06T308
HCDO02-370-XP40-WC06-02 | 37.0 | 40 | 47 | 77 | 70 | 172
HCDO02-380-XP40-WC06-02 | 38.0 | 40 | 47 | 79 | 70 | 174
HCD02-390-XP40-WC06-02 | 39.0 40 47 81 70 176
HCDO02-400-XP40-WC06-02 | 40.0 | 40 | 47 | 83 | 70 | 178
HCDO02-410-XP40-WC06-02 | 41.0 | 40 | 47 | 85 | 70 | 180
HCD02-420-XP40-WC08-02 | 42.0 | 40 | 52 | 87 | 70 | 189
HCD02-430-XP40-WC08-02 | 43.0 40 52 89 70 191
HCDO02-440-XP40-WC08-02 | 44.0 | 40 | 52 | 81 | 70 | 193
HCDO02-450-XP40-WC08-02 | 45.0 | 40 | 52 | 83 | 70 | 195
HCD02-460-XP40-WC08-02 | 46.0 | 40 | 52 | 85 | 70 | 197
HCD02-470-XP40-WC08-02 | 47.0 40 52 87 70 199
HCDO02-480-XP40-WC08-02 | 48.0 | 40 | 52 | 99 | 70 | 201
HCDO02-490-XP40-WC08-02 | 49.0 | 40 | 52 | 101 | 70 | 203
HCD02-500-XP40-WC08-02 | 50.0 | 40 | 52 | 103 | 70 | 205 WCMT080412 M3.5x10.4 T15
HCD02-510-XP40-WC08-02 | 51.0 | 40 | 60 | 105 | 70 | 207
HCD02-520-XP40-WC08-02 | 52.0 | 40 | 60 | 107 | 70 | 209
HCD02-530-XP40-WC08-02 | 53.0 | 40 | 60 | 109 | 70 | 211
HCD02-540-XP40-WC08-02 | 54.0 40 60 111 70 213
HCD02-550-XP40-WC08-02 | 55.0 | 40 | 60 | 113 | 70 | 215
HCDO02-560-XP40-WC08-02 | 56.0 | 40 | 60 | 115 | 70 | 217
HCD02-570-XP40-WC08-02 | 57.0 | 40 | 60 | 117 | 70 | 219
HCD02-580-XP40-WC08-02 | 58.0 40 60 119 70 221
o iT#Rf: 144 HCD02-230-XP25-SP07-02 e JIHEE & miTHY o “kx” SERLNERER

162

Ordering Example:1pcs HCDO02-230-XP25-SP07-02

"] "indicates standing stock

® Inserts need to be ordered separately




X FLEY A J1 K II Shallow hole drill & inserts

}32 ?L I-EE 3D shallow hole drill 2D
p

D1
2D2

L L.

= R<tSize(mm) k) 25T wF
2 S Model o0 | 201l op2] L | b | L Inserts Screw Wrench

HCDO03-160-XP20-WC03-02 | 16.0 | 20 25 52 50 119
HCDO03-170-XP25-WC03-02 | 17.0 | 25 32 55 56 128
HCDO03-180-XP25-WC03-02 | 18.0 | 25 32 58 56 131 WCMT030208
HCDO03-190-XP25-WC03-02 | 19.0 | 25 32 61 56 134
HCD03-200-XP25-WC03-02 | 20.0 | 25 32 54 56 137

M2.5x6.5 T8
HCDO03-210-XP25-WC04-02 | 21.0 | 25 32 57 56 140
HCDO03-220-XP25-WC04-02 | 22.0 | 25 32 70 56 143
HCD03-230-XP25-WC04-02 | 23.0 | 25 32 73 56 146 WCMT040208
HCDO03-240-XP25-WC04-02 | 24.0 | 25 32 76 56 149
HCDO03-250-XP25-WC04-02 | 25.0 | 25 32 79 56 152
HCDO03-260-XP25-WC05-02 | 26.0 | 25 32 83 60 163
HCD03-270-XP32-WC05-02 | 27.0 | 32 37 86 60 166
HCD03-280-XP32-WC05-02 | 28.0 | 32 37 89 60 169 WCMT050308
HCDO03-290-XP32-WC05-02 | 29.0 | 32 37 92 60 172
HCDO03-300-XP32-WC05-02 | 30.0 | 32 37 95 60 175
HCD03-310-XP32-WC06-02 | 31.0 | 32 37 98 60 178
HCDO03-320-XP32-WC06-02 | 32.0 | 32 37 101 60 181
HCD03-330-XP32-WC06-02 | 33.0 | 32 37 104 60 184
M3x9 T10

HCDO03-340-XP40-WC06-02 | 34.0 | 40 37 107 60 200
HCD03-350-XP40-WC06-02 | 35.0 | 40 47 110 70 203
HCDO03-360-XP40-WC06-02 | 36.0 | 40 47 113 70 206 WCMTO06T308
HCDO03-370-XP40-WC06-02 | 37.0 | 40 47 116 70 209
HCDO03-380-XP40-WC06-02 | 38.0 | 40 47 119 70 212
HCD03-390-XP40-WC06-02 | 39.0 | 40 47 122 70 215
HCDO03-400-XP40-WC06-02 | 40.0 | 40 47 125 70 218
HCDO03-410-XP40-WC06-02 | 41.0 | 40 47 128 70 221
HCDO03-420-XP40-WCO08-02 | 42.0 | 40 52 131 70 231
HCDO03-430-XP40-WC08-02 | 43.0 | 40 52 134 70 234
HCDO03-440-XP40-WCO08-02 | 44.0 | 40 52 137 70 237
HCDO03-450-XP40-WC08-02 | 45.0 | 40 52 140 70 240
HCDO03-460-XP40-WC08-02 | 46.0 | 40 52 143 70 243
HCDO03-470-XP40-WCO08-02 | 47.0 | 40 52 146 70 246
HCDO03-480-XP40-WC08-02 | 48.0 | 40 52 149 70 249
HCDO03-490-XP40-WC08-02 | 49.0 | 40 52 152 70 252
HCD03-500-XP40-WC08-02 | 50.0 | 40 52 155 70 255 WCMTO080412 M3.5x10.4 T15
HCDO03-510-XP40-WC08-02 | 51.0 | 40 60 158 70 258
HCDO03-520-XP40-WCO08-02 | 52.0 | 40 60 161 70 261
HCD03-530-XP40-WC08-02 | 53.0 | 40 60 164 70 264
HCDO03-540-XP40-WC08-02 | 54.0 | 40 60 167 70 267
HCDO03-550-XP40-WC08-02 | 55.0 | 40 60 170 70 270
HCDO03-560-XP40-WC08-02 | 56.0 | 40 60 173 70 273
HCD03-570-XP40-WC08-02 | 57.0 | 40 60 176 70 276
HCDO03-580-XP40-WC08-02 | 58.0 | 40 60 179 70 279

o JT#Rf: 14 HCD02-230-XP25-SP07-02 e JIFEEH T o “k” SRAEERER
e Ordering Example:1pcs HCDO02-230-XP25-SP07-02 ® Inserts need to be ordered separately
e "1 "indicates standing stock

163



[

164

% FLEL 4D

Shallow hole drill 4D

-

g8
L+ L.
L

A 2 Model RfSize(mm) Tk 1257 | F

= T o0 | 201l ope] 1 | | L Inserts Screw Wrench
HCDO04-160-XP20-WC03-02 | 16.0 | 20 | 25 | 67 | 50 | 134
HCDO04-170-XP25-WC03-02 | 17.0 | 25 | 32 | 71 | 56 | 145
HCDO04-180-XP25-WC03-02 | 18.0 | 25 | 32 | 75 | 56 | 149 WCMT030208
HCDO04-190-XP25-WC03-02 | 19.0 | 25 | 32 | 79 | 56 | 153
HCD04-200-XP25-WC03-02 | 20.0 | 25 | 32 | 83 | 56 | 157

M2.5%6.5 T8
HCD04-210-XP25-WC04-02 | 21.0 | 25 | 32 | 87 | 56 | 161
HCD04-220-XP25-WC04-02 | 22.0 | 25 | 32 | 91 | 56 | 165
HCD04-230-XP25-WC04-02 | 23.0 | 25 | 32 | 95 | 56 | 169 WCMT040208
HCDO04-240-XP25-WC04-02 | 24.0 | 25 | 32 | 99 | 56 | 173
HCDO04-250-XP25-WC04-02 | 25.0 | 25 | 32 | 103 | 56 | 177
HCDO04-260-XP25-WC05-02 | 26.0 | 25 | 32 | 107 | 60 | 189
HCD04-270-XP32-WC05-02 | 27.0 | 32 | 37 | 111 | 60 | 193
HCDO04-280-XP32-WC05-02 | 28.0 | 32 | 37 | 115 | 60 | 197 WCMT050308
HCD04-290-XP32-WC05-02 | 29.0 | 32 | 37 | 119 | 60 | 201
HCDO04-300-XP32-WC05-02 | 30.0 | 32 | 37 | 123 | 60 | 205
HCDO04-310-XP32-WC06-02 | 31.0 | 32 | 37 | 127 | 60 | 209
HCD04-320-XP32-WC06-02 | 32.0 | 32 | 37 | 131 | 60 | 213
HCDO04-330-XP32-WC06-02 | 33.0 | 32 | 37 | 135 | 60 | 217 3o o
HCDO04-340-XP40-WC06-02 | 34.0 | 40 | 37 | 139 | 60 | 234
HCDO04-350-XP40-WC06-02 | 35.0 | 40 | 47 | 143 | 70 | 238
HCDO04-360-XP40-WC06-02 | 36.0 | 40 | 47 | 147 | 70 | 242 WCMTO06T308
HCDO04-370-XP40-WC06-02 | 37.0 | 40 | 47 | 151 | 70 | 246
HCDO04-380-XP40-WC06-02 | 38.0 | 40 | 47 | 155 | 70 | 250
HCDO04-390-XP40-WC06-02 | 39.0 | 40 | 47 | 159 | 70 | 254
HCDO04-400-XP40-WC06-02 | 40.0 | 40 | 47 | 163 | 70 | 258
HCDO04-410-XP40-WC06-02 | 41.0 | 40 | 47 | 167 | 70 | 262
HCDO04-420-XP40-WC08-02 | 42.0 | 40 | 52 | 171 | 70 | 273
HCDO04-430-XP40-WC08-02 | 43.0 | 40 | 52 | 175 | 70 | 277
HCDO04-440-XP40-WC08-02 | 44.0 | 40 | 52 | 179 | 70 | 281
HCDO04-450-XP40-WC08-02 | 45.0 | 40 | 52 | 183 | 70 | 285
HCDO04-460-XP40-WC08-02 | 46.0 | 40 | 52 | 187 | 70 | 289
HCDO04-470-XP40-WC08-02 | 47.0 | 40 | 52 | 191 | 70 | 293
HCDO04-480-XP40-WC08-02 | 48.0 | 40 | 52 | 195 | 70 | 297
HCDO04-490-XP40-WC08-02 | 49.0 | 40 | 52 | 199 | 70 | 301
HCDO04-500-XP40-WC08-02 | 50.0 | 40 | 52 | 203 | 70 | 305 WCMT080412 M3.5x10.4 T15
HCDO04-510-XP40-WC08-02 | 51.0 | 40 | 60 | 207 | 70 | 309
HCDO04-520-XP40-WC08-02 | 52.0 | 40 | 60 | 211 | 70 | 313
HCDO04-530-XP40-WC08-02 | 53.0 | 40 | 60 | 215 | 70 | 317
HCDO04-540-XP40-WC08-02 | 54.0 | 40 | 60 | 219 | 70 | 321
HCDO04-550-XP40-WC08-02 | 55.0 | 40 | 60 | 223 | 70 | 325
HCDO04-560-XP40-WC08-02 | 56.0 | 40 | 60 | 227 | 70 | 329
HCD04-570-XP40-WC08-02 | 57.0 | 40 | 60 | 231 | 70 | 333
HCDO04-580-XP40-WC08-02 | 58.0 | 40 | 60 | 235 | 70 | 337
o TR f: 14 HCD02-230-XP25-SP07-02 e JIHEE & T o k" SRINEEER

e Ordering Example:1pcs HCDO02-230-XP25-SP07-02

[ "indicates standing stock

® Inserts need to be ordered separately




X FLEY A J1 K II Shallow hole drill & inserts

7% FLE4 5D

Shallow hole drill 5D
4 N\

2D1
@D2

L Lz

A 2 Model R~fSize(mm) | Nk B2 4T R F
oD | D1 | @Dz | Ls L L nserts Screw Wrench
HCD04-160-XP20-WC03-02 | 16.0 | 20 | 25 | 83 | 50 | 151
HCDO04-170-XP25-WC03-02 | 17.0 | 25 | 32 | 88 | 56 | 162
HCDO04-180-XP25-WC03-02 | 18.0 | 25 | 32 | 93 | 56 | 167 WCMT030208
HCD04-190-XP25-WC03-02 | 19.0 | 25 | 32 | 98 | 56 | 172
HCD04-200-XP25-WC03-02 | 20.0 | 25 | 32 | 103 | 56 | 177

M2.5x6.5 T8
HCD04-210-XP25-WC04-02 | 21.0 | 25 32 108 56 182
HCDO04-220-XP25-WC04-02 | 22.0 | 25 32 113 56 187
HCDO04-230-XP25-WC04-02 | 23.0 | 25 32 118 56 192 WCMT040208
HCDO04-240-XP25-WC04-02 | 24.0 | 25 32 123 56 197
HCDO04-250-XP25-WC04-02 | 25.0 | 25 32 128 56 202
HCDO04-260-XP25-WC05-02 | 26.0 | 25 32 133 60 211
HCDO04-270-XP32-WC05-02 | 27.0 | 32 37 138 60 220
HCDO04-280-XP32-WC05-02 | 28.0 | 32 37 143 60 225 WCMT050308
HCDO04-290-XP32-WC05-02 | 29.0 | 32 37 148 60 230
HCDO04-300-XP32-WC05-02 | 30.0 | 32 37 153 60 235
HCDO04-310-XP32-WC06-02 | 31.0 | 32 37 158 60 240
HCDO04-320-XP32-WC06-02 | 32.0 | 32 37 163 60 245
HCDO04-330-XP32-WC06-02 | 33.0 | 32 37 168 60 250
M3x9 T9

HCDO04-340-XP40-WC06-02 | 34.0 | 40 37 173 60 268
HCDO04-350-XP40-WC06-02 | 35.0 | 40 47 178 70 273
HCDO04-360-XP40-WC06-02 | 36.0 | 40 47 183 70 278 WCMTO06T308
HCDO04-370-XP40-WC06-02 | 37.0 | 40 47 188 70 283
HCDO04-380-XP40-WC06-02 | 38.0 | 40 47 193 70 288
HCDO04-390-XP40-WC06-02 | 39.0 | 40 47 198 70 293
HCDO04-400-XP40-WCO06-02 | 40.0 | 40 47 203 70 298
HCDO04-410-XP40-WC06-02 | 41.0 | 40 47 208 70 303
HCDO04-420-XP40-WCO08-02 | 42.0 | 40 52 213 70 315
HCDO04-430-XP40-WC08-02 | 43.0 | 40 52 218 70 320
HCDO04-440-XP40-WCO08-02 | 44.0 | 40 52 223 70 325
HCDO04-450-XP40-WCO08-02 | 45.0 | 40 52 228 70 330
HCDO04-460-XP40-WCO08-02 | 46.0 | 40 52 233 70 335
HCDO04-470-XP40-WCO08-02 | 47.0 | 40 52 238 70 340
HCDO04-480-XP40-WC08-02 | 48.0 | 40 52 243 70 345
HCDO04-490-XP40-WCO08-02 | 49.0 | 40 52 248 70 350
HCDO04-500-XP40-WCO08-02 | 50.0 | 40 52 253 70 355 WCMTO080412 M3.5x10.4 T15
HCDO04-510-XP40-WC08-02 | 51.0 | 40 60 258 70 360
HCDO04-520-XP40-WCO08-02 | 52.0 | 40 60 263 70 365
HCDO04-530-XP40-WC08-02 | 53.0 | 40 60 268 70 370
HCDO04-540-XP40-WCO08-02 | 54.0 | 40 60 273 70 375
HCDO04-550-XP40-WC08-02 | 55.0 | 40 60 278 70 380
HCDO04-560-XP40-WC08-02 | 56.0 | 40 60 283 70 385
HCDO04-570-XP40-WCO08-02 | 57.0 | 40 60 288 70 390
HCDO04-580-XP40-WC08-02 | 58.0 | 40 60 293 70 395

o IT#RfHl: 14 HCD02-230-XP25-SP07-02 e JJHEZEHMITHY o k" SRTAEEER
e Ordering Example:1pcs HCDO02-230-XP25-SP07-02 ® Inserts need to be ordered separately
e "I "indicates standing stock

165



[

166

XFLER T A

Shallow hole drill inserts

@ iRHEETF Stock OFEFE Available upon Order

ﬂ -'I:TI’_ B%agichisz-e I'j?afd
A, L(mm) | ®1.C(mm) | S(mm) | ®d(mm) | RE(mm) HMC
SPMT 04T102 4.2 4.2 2.38 2.0 0.2 { ]
050204 5.0 5.0 2.38 2.2 0.4 o
060204 6.15 6.15 2.38 2.6 0.4 { ]
07T308 7.94 7.94 3.97 2.8 0.8 o
090408 9.8 9.8 4.3 4.2 0.8 o
110408 11.5 11.5 4.76 4.4 0.8 o
140512 14.3 14.3 5.2 5.75 1.2 [
M2 1 L &6 B M ‘ﬁ‘gjg, JOEF . M-type mqterials havg good drilling perfo_rmance,
BES, HAEHEES, K T R LA o e
Rk g Ll e R L S
B AT FRME R H R B T processing sti
@ RHEETRE Stock OFEFE Available upon Order
ﬁE % B%aji:ciivzj-e Bﬁnfﬁa?d
A, L(mm) | ®1.C(mm) | S(mm) | ®d(mm) | RE(mm) HMC
WCMT 030208 3.8 5.56 2.38 2.8 0.8 {
040208 4.3 6.35 2.38 3.1 0.8 o
050308 5.4 7.94 3.18 3.2 0.8 {
06T308 6.5 9.525 3.97 3.7 0.8 o
080412 8.7 12.7 4.76 4.3 1.2 o

BEB#FOIHEIT, BFATRE
HEERROMIRE, SAT
RAatEE, TEESKMME

$RINT

With sharp cutting edge, it is conducive to obtaining
a machined surface with low roughness. Itis used for
low-load cutting and is mainly suitable for mild steel
and castiron processing.




\ .]."E ﬁ/

NG INSERTS

REEREEHAENIER. )
@ e inventg .'i-rﬁ eet all your proﬁs ing demands with hcnec
—




[

B2 T) A & ML

Thread inserts naming rules

1. 71K R~F Insertssize

L(mm) d(mm)
22 12.7
16 9.525
11 6.35
8 4.76

16 E
1 2

6. ¥R 4 ZF B Thread profile

[ ISO il #2 4L
Metric thread

HIRERY
w Whitworth thread

NPT E TR

2. 1]l 2 B! Cutting type

E-sMZ gL

External thread

N-FI 4241

internal thread

3. I HNHEI 75 |

Cutting direction of tool holder

R-AF
right hand

L-£F
left hand

AG
S)

60 60° i@ F 7F BU4E 41

60° Universal thread profile

G —1th E IR L
UN Unified thread

American taper pipe thread

7.5 &S Alloygrade

HMB

168

R 4F B # 14 A0 i B2
EERENELMI.
BN S 65 SR AN 5
EHMRNEWES .

Good toughness and wear
resistance, high quality
thread processing. Carbon
steel, stainless steel and
castiron .And other
professional grades of
materials.

HMC

4.3 E Type
M -l O - g+
Grinding Chipbreaker

5. 420 Pitch
2FH (BERYFER)

Full tooth shape(The pitch is expressed in numbers)
mm TPI
0.5-6.0 48-5
VER GEEAFEERR)

V-shaped teeth (range indicated by letters)

mm TPI
A 0.5-1.5 48-16
AG 0.5-3.0 48-8
G 1.75-3.0 14-8
N 3.5-5.0 7-5

60 HMC
6 I

55 55° if Fl ZF BUAR 41

55° Universal thread profile

BSPT TH HEE IR

British taper pipe thread

mé&+m1n1

Excellent high temperature
oxidation resistance and heat
resistance, suitable for
stainless steel and mild steel
thread processing, especially
suitable for stainless steel
valves and stainless steel pipe
fittings processing industry



8247 7] B IThread Inserts

RN T R

Thread inserts

. . , . . , % — 1t E " . .
ARRy | ERRL | ERRS | ERRg | FLME | mmme | s
Metric thread Universal thread | Universal thread | Whitworth thread AN British thread American thread
Unified thread
ISO 60° 55° W UN BSPT NPT
LA
Thread
R=0.137P
I T I
s | ..
External | ots & = ﬁ = b -8 & g ﬁ & ﬁ 4= ;@
thread
P162 P164 P164 P165 P166 P167 P168
A 42 27
(RAL) - .
@ s A s A s A s A s O - S
thread
P163 P164 P164 P165 P166 P167 P168
Tl #1147 Tl #1148 BRAIR, T | opoop o c = o
MR | T NAEEe0 | MABEss | BEmgkl |MEMXTL b 2% S
Application indus_trial industrial industrial General Tools Alerc(’)sptace Steam, gas and water pipes
achineny machinery machinery Parts and ey
Application Application Fittings
range 60° range 55°

169



ViZ=
NSRS A )T

ISO metric thread (With cutting top)

9" Ef%é'l External thread ISO 965-1980 DIN 13
GB/T 197-2003
NEZR: 6g/6H

ISO 965-1980 DIN 13

GB/T 197-2003
Tolerance grade: 6g/6H

#H 5 #255 Pitch S e
Model (mm) S (mm) ® 1.C(mm) ®d(mm) | HMB | HMC
16ERO0.5 0.50 3.52 9.525 4.0 [ ) [ )
16ER0.75 0.75 3.52 9.525 4.0 ° °
16ER1.0 1.00 3.52 9.525 4.0 [ ] [ )
16ER1.25 1.25 3.52 9.525 4.0 ° °
16ER1.5 1.50 3.52 9.525 4.0 o °
16ER1.75 1.75 3.52 9.525 4.0 ° °
16ER2.0 2.00 3.52 9.525 4.0 ° °
16ER2.5 2.50 3.52 9.525 4.0 ° °
16ER3.0 3.00 3.52 9.525 4.0 ° °
22ER3.5 3.50 4.65 12.7 5.0 ° °
22ERA4.0 4.00 4.65 12.7 5.0 o o
22ER4.5 4.50 4.65 12.7 5.0 ° °
22ER5.0 5.00 4.65 12.7 5.0 o o
22ER5.5 5.50 4.65 12.7 5.0 ° °
22ER6.0 6.00 4.65 12.7 5.0 o o

@ inEET Stock OFFZE Available upon Order

170



124y J] K IThread Inserts

NHEIBEL FYIIN

ISO metric thread (With cutting top)

W Eggi Internal thread 1SO 965-1980 DIN 13
GB/T 197-2003
NEZFL: 69/6H
1ISO 965-1980 DIN 13
GB/T 197-2003
Tolerance grade: 6g/6H
#H 5 #5 Pitch L BDraEd
Model (mm) S (mm) ® 1.C (mm) ®d(mm) | HMB | HMC
11NRO.5 0.50 3.05 6.35 3.2 [ O
11NRO.75 0.75 3.05 6.35 3.2 () O
11NR1.0 1.00 3.05 6.35 3.2 (] e
11NR1.25 1.25 3.05 6.35 3.2 () o
11NR1.5 1.50 3.05 6.35 3.2 (] e
11NR1.75 1.75 3.05 6.35 3.2 (] [ ]
11NR2.0 2.00 3.05 6.35 3.2 (] (]
16NRO.5 0.50 3.52 9.525 4.0 o [ ]
16NRO0.75 0.75 3.52 9.525 4.0 o [ ]
16NR1.0 1.00 3.52 9.525 4.0 e [ ]
16NR1.25 1.25 3.52 9.525 4.0 o [
16NR1.5 1.50 3.52 9.525 4.0 (] (]
16NR1.75 1.75 3.52 9.525 4.0 o [ ]
16NR2.0 2.00 3.52 9.525 4.0 e (]
16NR2.5 2.50 3.52 9.525 4.0 e (]
16NR3.0 3.00 3.52 9.525 4.0 e (]
22NR3.5 3.50 4.65 12.7 5.0 e [ ]
22NR4.0 4.00 4.65 12.7 5.0 ] L
22NR4.5 4.50 4.65 12.7 5.0 [ e
22NR5.0 5.00 4.65 12.7 5.0 ] L
22NR5.5 5.50 4.65 12.7 5.0 o o
22NR6.0 6.00 4.65 12.7 5.0 o o

@ HEETR Stock OZEFE Available upon Order

171



ViZ=
BRI YR

Universal thread (Wihout cutting top)

A Eg gI External thread

1ISO 965-1980 DIN 13
GB/T 197-2003
NEFR: 69/6H

1ISO 965-1980 DIN 13
GB/T 197-2003
Tolerance grade: 6g/6H

172

ﬂ "I::IT PDitEh B%a:'lK cEiTzJ-e BDraEd
A, TP(mm) | TPI S(mm) | ®LC(mm) | ®d(mm) | HMB | HMC
16ERA55 0.5-1.5 | 48-16 3.52 9.525 4.0 [ o
55° 16ERG55 1.75-3.0 14-8 3.52 9.525 4.0 @ ([
16ERAG55 0.5-3.0 48-8 3.52 9.525 4.0 o ([
22ERN55 3.5-5.0 7-5 4.65 12.7 5.0 () [
16ERAGO 0.5-1.5 | 48-16 3.52 9.525 4.0 o ([
60° 16ERG60 1.75-3.0 14-8 3.52 9.525 4.0 o [
16ERAG60 0.5-3.0 48-8 3.52 9.525 4.0 o ([
22ERNG60O 3.5-5.0 7-5 4.65 12.7 5.0 o o
@ iR AEER Stock OFEFE Available upon Order
W E%?I Internal thread 1ISO 965-1980 DIN 13
GB/T 197-2003
NEFL: 69/6H
1ISO 965-1980 DIN 13
GB/T 197-2003
Tolerance grade: 6g/6H
ﬂ ":IF PDitEh Bga:llK cEiTzJ-e B‘DraEd
HEEeL TP (mm) TPI S (mm) ®1.C(mm) ® d(mm) HMB HMC
08NRA55 0.5-1.5 | 48-16 2.00 4.76 2.4 O O
11NRAS5 0.5-1.5 | 48-16 3.05 6.35 3.2 o [
55° 16NRA55 0.5-1.5 | 48-16 3.52 9.525 4.0 o [
16NRG55 1.75-3.0 14-8 3.52 9.525 4.0 o [
16NRAG55 0.5-3.0 48-8 3.52 9.525 4.0 [ ([
22NRN55 3.5-5.0 7-5 4.65 12.7 5.0 o [
08NRAGO 0.5-1.5 | 48-16 2.00 4.76 2.4 O ([
11NRAGO 0.5-1.5 | 48-16 3.05 6.35 3.2 o [
60° 16NRA60 0.5-1.5 | 48-16 3.52 9.525 4.0 ([ ([
16NRG60 1.75-3.0 14-8 3.52 9.525 4.0 o ([
16NRAG60 0.5-3.0 48-8 3.52 9.525 4.0 o o
22NRNG60 3.5-5.0 7-5 4.65 12.7 5.0 o o

@ RAEETE Stock OFEFME Available upon Order




#1247 71 B IThread Inserts

BREBEL FY1n

Whitworth thread (With cutting top)

9"%%& External thread ISO 228/1:1982
DIN 259,B.S.84:1956
NEZER: Medium classA
1SO 228/1:1982
DIN 259,BS84:1956
Tolerance grade: Medium class A
oF %t
1 =] EART 00
2 5 AR i e
Model TPI S (mm) ® 1.C (mm) ® d (mm) HMB | HMC
16ER8W 8 3.52 9.525 4.0 [ ) o
16EROW 9 3.52 9.525 4.0 ( } o
16ER10W 10 3.52 9.525 4.0 [ ) o
16ER12W 12 3.52 9.525 4.0 o o
16ER14W 14 3.52 9.525 4.0 o o
16ER16W 16 3.52 9.525 4.0 o o
16ER18W 18 3.52 9.525 4.0 o o
16ER19W 19 3.52 9.525 4.0 o o
@ iRHEETF Stock OFEMZE Available upon Order
V\]Eﬁ%éi Internal thread
1SO 228/1:1982
DIN 259,B.S.84:1956
NEZP: Medium classA
1SO 228/1:1982
DIN 259,BS84:1956 R=0.137P
Tolerance grade: Medium class A
oF BT
. - EERT 00
= Reorsh Baeto sive Srand
Model TPI S (mm) ®1.C(mm) ® d (mm) HMB | HMC
1TMINR11W 11 3.05 6.35 3.2 [ ) o
11NR14W 14 3.05 6.35 3.2 ( } o
16NR8W 8 3.52 9.525 4.0 [ ) o
16NR9W 9 3.52 9.525 4.0 o o
16NR10W 10 3.52 9.525 4.0 o o
16NR12W 12 3.52 9.525 4.0 () o
16NR14W 14 3.52 9.525 4.0 o o
16NR16W 16 3.52 9.525 4.0 () o
16NR18W 18 3.52 9.525 4.0 o o
16NR19W 19 3.52 9.525 4.0 [ ) o

@ iRHEFETF Stock OFEFZE Available upon Order

173



/i

174

Z—th BB BN

Universal thread (With cutting top)

9" mﬁ% -é—i External thread

ASME B1.1-1989
NEZR: 2A/2B

ASME B1.1-1989
Tolerance Grade: 2A/2B

2 =
Model

16ER8UN

16ER10UN
16ER12UN
16ER14UN
16ER16UN
16ER18UN
16ER20UN
16ER24UN

Nrabar of AR 00

teeth/inch Basic size Brand
TPI S (mm) ® 1.C (mm) ® d(mm) HMB HMC
8 3.52 9.525 4.0 o o
10 3.52 9.525 4.0 o [
12 3.52 9.525 4.0 o ([
14 3.52 9.525 4.0 o [
16 3.52 9.525 4.0 ([ ([
18 3.52 9.525 4.0 o [
20 3.52 9.525 4.0 ([ [
24 3.52 9.525 4.0 o o

@ inEETR Stock OFEFE Available upon Order

W *\g éi Internal thread

ASME B1.1-1989
NEZFR: 2A/2B

ASME B1.1-1989
Tolerance Grade: 2A/2B

=
Model

11NR16UN
11NR18UN
11NR20UN
16NR8UN

16NR10UN
16NR12UN
16NR14UN
16NR16UN
16NR18UN
16NR20UN
16NR24UN

l\lﬁflﬁg()%&r%f AR 00

teeth/inch Basic size Brand
TPI S (mm) ® 1.C(mm) ® d(mm) HMB HMC
16 3.05 6.35 3.2 O ([
18 3.05 6.35 3.2 O ([
20 3.05 6.35 3.2 O ([
8 3.52 9.525 4.0 () ([
9 3.52 9.525 4.0 ([ o
10 3.52 9.525 4.0 o o
12 3.52 9.525 4.0 ([ [
14 3.52 9.525 4.0 o [
16 3.52 9.525 4.0 ([ [
18 3.52 9.525 4.0 o [
19 3.52 9.525 4.0 ([ o

@ iRHEFETF Stock OFEFZE Available upon Order




#1247 71 B IThread Inserts

2 $HEE IR AL

British standard taper piper thread

9"*\%2& External thread

ISO 7/1: 1994 m
B.S.21:1985 _

Standard BSPT o] a7

F
B2 Number of oA -
Model TPI S (mm) ® 1.C(mm) ®d(mm) HMB | HMC
16ER11BSPT 11 3.52 9.525 4.0 [ ) o
16ER14BSPT 14 3.52 9.525 4.0 ( ] o
16ER19BSPT 19 3.52 9.525 4.0 o o
16ER28BSPT 28 3.52 9.525 4.0 o o
@ inEET Stock OFEFE Available upon Order
V\]Eﬁ%éi Internal thread

ISO 7/1: 1994 n
B.S.21:1985 v

Standard BSPT 90'{4‘ 1;47,‘

oF B/ T

B o= Number of oA .
Model TPI S (mm) ® 1.C (mm) ® d (mm) HMB | HMC
16NR11BSPT 11 3.52 9.525 4.0 o o
16NR14BSPT 14 3.52 9.525 4.0 [ ) o
16NR19BSPT 19 3.52 9.525 4.0 o o
16NR28BSPT 28 3.52 9.525 4.0 o o

@ iRHEFETF Stock OFEFZE Available upon Order

175



ViZ=
2 | 4 U 4

American standard taper piper thread

9" ﬂg éi External thread

ASME B1.20.1-1983

Standard NPT

o #y/3E <+

B o= Number of S -

Model TPI S (mm) ® 1.C(mm) ®d(mm) HMB | HMC
16ER8NPT 8 3.52 9.525 4.0 o o
16ER11.5NPT 11.5 3.52 9.525 4.0 o o
16ER14NPT 14 3.52 9.525 4.0 o o
16ER18NPT 18 3.52 9.525 4.0 o o
16ER27NPT 27 3.52 9.525 4.0 o o

@ FREETE Stock OFEFZE Available upon Order
W ﬂf%éi Internal thread
ASME B1.20.1-1983
Standard NPT
o #/EE T

B o= Number of AR, S

Model TPI S (mm) ® 1.C (mm) ®d(mm) HMB | HMC
16NR8NPT 8 3.52 9.525 4.0 o o
16NR11.5NPT 11.5 3.52 9.525 4.0 o [
16NR14NPT 14 3.52 9.525 4.0 [ ) o
16NR18NPT 18 3.52 9.525 4.0 o [
16NR27NPT 27 3.52 9.525 4.0 o [

176

@ HEETR Stock OZEFE Available upon Order




ZFHIJTJBER1ERA

The functions of each part of turning tools

BB {= ElGeneral Information

1 The names of each part of turning tools

Primary
clearance
angle

Rake face

Secondary
cutting edge

Approaching angle

g Total length
3 -
< 5
53 7]
g <
] o
< &
3
Secondary 5
L

clearance angle

2 Effects of rake angle

Larger rake angle makes cutting edge sharper, reduces
resistant forces of chip flow, diminishes friction and prevent
deformation, leading to smaller cutting forces and cutting
power, lower cutting temperature, less abrasion and higher
surface quality. However, too large rake angle would reduce
the rigidity and strength of tool. Heat can’'t be diffused
easily. Serious breakage and abrasion on tool would occur,
reducing tool life. Please choose rake angle according to

machining conditions.

3 Effects of clearance angle

The main function of clearance angle is to reduce the
friction between the clearance face of tool and the surface
of workpiece. When the rake angle is fixed, larger clearance
angle can increase the sharpness of cutting edge, reduce
cutting forces and friction, and then achieve higher surface
quality. However, if clearance angle is too large, the strength
of cutting edge would decrease. Also, heat can’t be diffused
easily and serious abrasion would occur, reducing tool life.

The principle of choosing clearance angle: Choose
small clearance angle if friction is not serious.

4 Effects of inclined angle
Positive or negative inclined angle determines the
direction of chip flow, and also affects the strength and
impact resistance of insert nose.
@As diagram (1) shows, when the inclined angle is

negative, namely nose is in the lowest point as apposed
to the bottom of tool, chips flow to the machined surface of

workpiece.

Width of holder

Secondary

clearance face
Shim

Primary flank
Cutting edge

alue selection Situations

©®\Vhen machining brittle and hard materials
Small rake angle
®\When roughing and intermittent cutting
®\Vhen machining plastic or soft materials

Big rake angle -
®\Vhen finishing

alue Selection Situations

®|n order to increase nose strength when
Smal;ﬂegance roughing
9 ®\Vhen machining brittle and hard materials
®In order to reduce friction when finishing

Large (r;1le|arance ®\When machining materials easy to be
angle hardened

Negative
inclined angles

(=)

Picture (1)

177



[

178

ZHITIBEERER

The functions of each part of turning tools

@ As diagram (2) shows, when inclined angle is positive,
namely the nose is in the highest point as apposed to the bottom of
the tool, chips flow to the areas of workpiece surface that haven’t
been machined.

@ The change of inclined angle also affects insert nose
strength and impact resistance. When the inclined angle is
negative, the nose is in the lowest point of cutting edge. When the
cutting edge enters the workpiece, the contacting point is on the
cutting edge or rake face, protecting the nose from impact and
increase the strength of the nose. Normally, negative inclined angle
should be chosen for tools with big rake angle. This can not only
increase nose strength, but also prevent the impact of entry.

Effects of approach angle

Reduced approaching angle increases the strength of
tools and enable heat to diffuse easily, improving surface
quality. This is because when the approach angle is small,
cutting edge width is large, and then the unit width of cutting
edge bears less cutting force. Meanwhile, tool life can be
improved.

Normally, select 90°approach angle for turning of
slender and step shaft; select 45° approach angle for
external turning, end surface machining and chamfering.
When approach angle is larger, radial force is reduced,
cutting is stable, cutting thickness is increased, and chip
breaking is excellent.

Effects of minor angle

Positive

inclined angle
(+)

Value selection

Small approach
angle

Big approach angle

Picture (2)

Situations

For those materials with high intensity, high
hardness and hardened layer on the surface

When rigidity of the machine is not enough

Minor angle is the main angle that can affect surface quality, and it can also affect tool strength. If the approach angle is too small, the
friction between the secondary flank and machined surface of workpiece will increase, causing vibration.
The principle of selecting minor angle: Select small minor angle when roughing or when the friction is unaffected and there is no

vibration. Select large minor angle when finishing.

Nose radius

Nose radius significantly affects nose strength and
surface quality.

Large nose radius means higher cutting edge strength,
and the abrasion on the rake face and clearance face can
be reduced to some extent. However, if the nose radius is
too large, radial force will increase, and vibration is easy to
occur, affecting machining precision and surface quality.

Value selection

Small nose radius

Large nose radius

Situations

®Finishing at small cutting depth

®Machining parts such as slender shaft

®\When the rigidity of the machine is
not enough

®\When roughing

®\When machining hard materials
(intermittent cutting)

®When the rigidity of the machine
is not enough



FHINMIZSEUTE RS E

Calculation method of turning parameters

1B A {5 BEllGeneral Information

1 Calculation of cutting speed

External turning l

n
oo 6

Internal turning

@D

2 Calculation of feed rate

_axDxn .
VC_—IOOO (m/min)

In the formula: ~ Vc: Cutting speed (m/min)
n: Rotating speed of main axle (rev/min)

D: Diameter of workpiece (mm)

For example: When the rotating speed is 280rev/min and the
diameter of workpiece is 150mm, the cutting speed should

be:

TxDxn . .
Ve="7000 (m/min) =132(m/min)

f= —Ii (mm/rev)

In the formula: ~ f: Feed rate per rotation (mm/rev)
I: Cutting length per minute (mm/min)
n: Rotating speed of main axle (rev/min)

For example: When the rotating speed of main axle is
500rev/min, and the cutting length per minute is 100mm/

min, the feed rate per rotation should be:

[ 100

f= =300 =0.2(mm/rev)

179



ViZ=
EEIIN TS EGTE

Calculation method of turning parameters

Cutting time calculation of external and internal I
turning External turning
[ :
=— (min)  S——]——
i (M)

In the formula:  T: Cutting time (min) <= {0
I: Length of machined areas (mm)
f: Feed rate (mm/rev)

n: Rotating speed of main axle (rev/min)
Internal turning l

For example: When the rotating speed of main axle is 250rev/min,
and the feed rate is 0.2mm/rev, the time needed for a cutting length of
150mm should be:

i 150

I=fn = 0.2%250 ~3(min)

4 Time calculation for end surface turning (constant
linear speed)

ax(@b)
T=Z000xvc < (M

In the formula: ~ T: Cutting time (min)
Vc: Cutting speed (m/min)
f: Feed rate (mm/rev)

For end surface without hole, b=0, the formula is still valid.

5 Theoretical value calculation of machined
surface roughness

fZ
R=—¢ = *1000 (um) 1/

c

In the formula:  R: Theoretical roughness value of machined surface
f: Feed rate (mm/rev) e

rc: Nose radius (mm)

For example: When the feed rate is 0.2mm/rev, and the nose radius
is 0.4mm, the theoretical roughness value of machined surface
should be:

_ I _ 027 _
R= S x1000= 8x0.4 x1000=12.5(um)

c

180




1B A 1= BEllGeneral Information

FH =ERZX I TAYRZ M

Effect of three main turning parameters on machining

Effects of three main parameters

Normally, short machining time, long tool life and high
machining precision are expected in machining, so the
material quality, hardness, and shape of the workpiece,
and properties of machine should be fully considered, and
then we can select suitable tools and adopt high-efficiency
cutting parameters, namely three parameters.

Vc

Cutting speed (Vc)

When the workpiece is rotating on the machine, the
number of its rotation per minute is defined as Rotating
speed of main axle (n). Because of its rotation, the cutting
speed measured on the contacting point of diameter is
defined as linear speed, m/min. Normally, linear speed
is considered to measure the effect of cutting speed on
machining.

Effect of cutting speed

Cutting speed has significant effect on tool life. When
the cutting speed is increased, cutting temperature will
increase and tool life will be shortened. Cutting speed
varies according to the different types and hardness of
workpiece. The below conclusions are reached after many
cutting experiments:

(1) Normally tool life would be reduced to half when
the cutting speed is increased by 20%. Tool life would
be 20% of the original life if the cutting speed is raised
by 50%.

(2) Low speed (20-40m/min) cutting could easily
cause vibration and shorten tool life.

Feed rate (fn)

Feed rate is defined as the moving distance of tool
after workpiece rotates for one circle, measured by mm/
rotation.

Effect of feed rate

Feed rate is a key factor that determines surface
quality. Meanwhile it also affect the range of chip forming
and the thickness of chips during machining.

In term of the effect on tool life, small feed rate
leads to serious abrasion on clearance face, greatly
reducing tool life.

Cutting depth (ap)

Cutting depth is defined as the difference between
machined surface and unmachined surface, measured
by mm. It is half the difference value between the
original diameter and machined diameter.

Effect of cutting depth
Cutting depth should be determined by the

machining allowance and shape of workpiece, power
and rigidity of machine, and tool rigidity.

The change of cutting depth has little effect on tool
life. If the cutting depth is too low, the cutting nose only
scrapes the hardened layer on the workpiece surface,
reducing tool life. When there is hardened oxide layer
on workpiece surface, higher cutting depth should be
adopted within the possible range of machine’s power
to avoid cutting nose just cutting the hardened layer of
workpiece.

181



ViZ=
B BN

Machining method of threading tools

Please follow the following steps to get the best threading result:

1 Select proper thread machining method. 4 By checking reference table of standard
2 Define helical angle and select shim. threading programs, select feasible

3 Select proper insert and tool holder size. cutting parameters.
5 Select feed way.

External threading machining (Right thread) External threading machining (Left thread)

B

i

Y

R

i
B

Y

Internal threading machining (Right thread) Internal threading machining (Left thread)

" o

([T AT
T

—| aia il

> -

182



18

RERIEFHA, ®FETTR

Decide helical angle and select shim

FB 1= EllGeneral Information

The clearance angle of threading inserts is actually along the edge (flank). This
has significant effect on heat diffusion, spread of abrasion as well as tool life,
security and pitch quality. The clearance angle of threading pitch on clearance
face is determined by thread helical angle. These two angles are similar to each
other to some extent. If inclined angle of insert is different from the helical angle,
then the clearance angle won'’t be the same either.
The helical angle of pitch has to be the same with the inclined angle of insert to
prevent over wearing on the clearance face which could affect tool life. the helical

angle is calculated as below:

P= Pitch

€= arctan d

d2= pitch diameter
The most common inclined angle is 1°. MT standard

shim and its inclined angle is also 1°.

XU

Calculation of clearance angle:

Clearance angle is calculated as below:

B=arctan (tan® x tana)

26=Thread profile angle
a=The rake angle of external standard threading tools is 10°; the rake angle

of internal standard threading tools is 15°.

The shim has to be changed when helical angle of thread is <
clearance angle of tool, which could cause intervene on insert

flank.

Please change the shim to adjust the difference between helical

angle of thread and inclined angle of shim to be within 2°~0°.

For example: when P=1.5, d2=24mm,
helical angle1.14°-(2°~0°)=inclined angle (-0.86°~1.14°)
it is feasible to use standard shim 1°.

Shim specification table is as follows:

Screw pitch Insert Inclined .
. . Shim

range dimensions | angle
0 MT16-00MN
0.5-3.0 16 1 MT16-01MN
2 MT16-02MN
3 MT16-03MN
0 MT22-00MN
3.56.0 29 1 MT22-01MN
- 2 MT22-02MN
3 MT22-03MN

Note: the standard angle of shim for our threading tools is 1°.
((MT16-01MN or MT22-01MN)

€= Helical angle
Pl

1 l—

dm -}~ A=0

A = Inclined angle

Please refer to the table below for actual value:

Thread B
profile angle 26 External thread | Internal thread

60° 5.8° 8.79°

55° 5.24° 7.94°

30° 2.7° 4.1°

29° 2.6° 3.96°
Select shim:
lead of thread (mm) Threading number/inch

) / 4 3

°
I

/
! I+
i

Workpiece diameter

|
I/ 1/ o -7
I1/1/ 8
/ | A 9
Y Vinupzal S mmmmm—

Ep%d - 18
ayd 3
v

50 100 150 200mm

2 4 6 8inch

183



V=g
R EES I TR a8

Parameter table for threading program under different standards

184

B QFIISOIMNBRLH TIHFER
@ Table of recommended in-feed for metric ISO external threading with wiper edge

screw pitch (mm) 0.5 | 0.75 1 125 | 1.5 | 1.75 | 2 2.5 3 3.5 4 4.5 5 5.5 6
Total in-feed (mm) | 0.38 | 0.53 | 0.68 | 0.85 | 1.02 | 1.16 | 1.33 | 1.67 | 1.98 | 2.3 | 2.61 | 2.93 | 3.25 | 3.56 | 3.88
Number of passes 4 4 5 6 7 8 9 11 12 13 14 14 15 16 17

1 012 | 018 | 02 | 02 | 023 | 024 | 026 | 026 | 0.26 | 0.3 | 0.33 | 0.35 | 0.38 | 0.4 | 04
e 2 | 01 | 045 | 015 | 08 | 010 | 02 | 022 | 025 | 024 | 026 | 03 | 032 | 035 | 038 | 038
- s 006 | 012 | 044 | 015 | 017 | 048 | 018 | 021 | 022 | 025 | 028 | 03 | 032 | 035 | 036
e A 007 | 008 | 011 | 013 | 013 | 04 | 015 | 018 | 02 | 022 | 025 | 028 | 03 | 032 | 034
- s || | 006 | 041 | 042 | 042 | 013 | 045 | 018 | 02 | 022 | 025 | 028 | 03 | 032
e s | | | | 0o | 04 | 04 | 042 | 012 | 017 | o2 | 02 | 035 | 025 | 028 | 03
-
e
- o | ] 006 | 04 | 042 | 012 | 015 | o8 | 02 | 02 | 022
R 01 | 04 | 042 | 042 | 015 | 018 | 018 | 02
- w1l leos| 0] o1 |oz|osz|os|os|ots
e e e e e e 006 | 01 | 01 |02 |0tz |01z
D e e e 008 | 006 | 01 | o1 | 012
e e e e 006 | 04 | 01
e e e 006 | 008




1B A 1= BEllGeneral Information

AEITRER N TR E B2 25R

Parameter table for threading program under different standards

B 2HIISosMELHTIHER
@ Table of recommended in-feed for metric ISO internal threading with wiper edge

screw pitch (mm) 05 075 1 (125 | 1.5 (1.75| 2 2.5 3 3.5 4 4.5 5 5.5 6

Total in-feed (mm) 0.35 | 0.48 | 0.66  0.83 | 0.97 | 1.14 | 1.27 | 1.58 1.8 | 2.15 | 2.44 | 2.73 | 3.02 | 3.31 | 3.6

Number of passes 4 4 5 6 7 8 9 11 12 13 14 14 15 16 17

1 0.11 0.15 | 0.18 0.2 022 | 022 | 024 | 025 | 0.25 | 026 | 0.26 | 0.28 | 0.28 0.3 0.3

N . 009 | 043 | 045 | 08 | 048 | 048 | 02 | 022 | 028 | 025 | 025 | 026 | 026 | 03 | 03
- s 006 | 042 | 014 | 015 | 016 | 016 | 018 | 02 | 02 | 025 | 024 | 025 | 026 | 028 | 028
N . 007 | 008 | 011 | 042 | 043 | 045 | 045 | 08 | 048 | 021 | 022 | 025 | 026 | 028 | 026
. s 006 | 01 | on | 013 0z | 05| 016 | 02 | 02 | 024 | 025 | 026 | 026
N s | | | ] 008 | 009 | 042 | 042 | 042 | 045 | 048 | 02 | 022 | 028 | 025 | 025
. 70 L oo 01| a1 or2 | os| ot om0z | o2t | 02| 0z
N s | | | | | 008 | 008 | 01 | 042 | 014 | 08| 02 | 02 | 028 | 028
. o L 006 | 01| 01 | o012 o |0 | 0z | 02 |0z
- w1 oo oo a1 or2 | ots | o o | 0z
e 006 | 01 | on | 015 | ots | 06
w 006 | 006 | 011 | 042 | 045
DR R N 008 | 01 | 012
T 008 | 008

185



[

186

AEITRER N TR b B2 85R

Parameter table for threading program under different standards

B EFIUNSMRG T EHFR
@ Table of recommended in-feed for American unified standard external threading with wiper edge

screw pitch (mm) 24 20 18 16 14 12 10 8

Total in-feed (mm) 0.72 0.85 0.92 1.06 1.2 1.39 1.67 2.07

Number of passes 5 6 6 7 8 9 10 12

1 0.2 0.2 0.22 0.23 0.24 0.24 0.25 0.25
- .| o8 | o | 02 | 02 | oz | oz | oz | om
- :; 77777777777777 0 7.175 77777777 0 7.176 77777777 0 j176 77777777 0 7.178 77777777 0 7.178 77777777 (; ; 77777777 0 727 c 0 7.2737 N
- s | om | om | ow | os | o5 | ow | 02 | 02
- ; 77777777777777 0 7078 77777777 (;; 77777777 0 T172 77777777 0 7.172 77777777 0 7.1737 ] 70j175 77777777 0 T178 77777777 (;; -
- (; 777777777777777777777777 0 7078 77777777 0 7078 77777777 (;; 77777777 0 717 C 0 j173 77777777 0 T175 77777777 0 7.1787 -
- ; 77777777777777777777777777777777777777777777 0 7078 77777777 (;jl 77777777 0 717 ol 0 T175 77777777 0 7.1787 N
- s | 1 ] o | oo | o2 | ot
- o | ] s | 0| o1
- 1 ; 77777777777777777777777777777777777777777777777777777777777777777777777777 0 7078 77777777 0 7.1727 -
- e .
- e ] oo




AEITRER N TR E B2 25R

1B A 1= BEllGeneral Information

Parameter table for threading program under different standards

B EFIUNFERGH T) 2 3

FR

@ Table of recommended in-feed for American unified standard internal threading with wiper edge

screw pitch (mm) 24 20 18 16 14 12 10 8

Total in-feed (mm) 0.71 0.83 0.92 1.03 1.16 1.29 1.53 1.9

Number of passes 5 6 6 7 8 9 10 12

1 0.19 0.2 0.22 0.23 0.24 0.24 0.25 0.25
77777777777
77777777777 (;77777777”77770T1757777777707.175777777770?17777”77770?1777777777707.178777777770j17877”7777(;.;7777777707.27377777
77777777777 ;77777777”777707.1727777777707.172777777770?17477”77770?1747777777707.17577777777(;17577”77770?17877777777(;.;77777
77777777777 E:77777777”77770T07877777777(;.717777777707.17177”77770?1727777777707.172777777770j17277”77770j1757777777707.17877777
77777777777
77777777777 e T e T
77777777777
77777777777 o e | o | o
e oor | o
77777777777 W e
e or

187



ViZ=
ARNEBXINTEFREEIRAS8E

Parameter table for threading program under different standards

B ERN. MEGHTIRHER
@ Table of recommended in-feed for British standard internal and external threading with wiper edge

screw pitch (mm) 28 20 19 18 16 14 12 11 10 9 8
Total in-feed (mm) 0.66 0.88 0.91 0.99 1.09 1.25 1.42 1.58 1.71 1.9 2.13
Number of passes 5 6 6 7 8 8 8 9 10 11 12
1 0.18 0.2 0.2 0.2 0.2 0.22 0.23 0.24 0.24 0.23 0.23
e . | 015 | ot | ote | o | o | o2 | oz | oz | oz | oz | oz
. s o | o | o | oss | aw | o0z | oz | oz | o2 | oz | oz
e s | om | om | ots | o1 | oss | o | o2 | oz | o2 | oz | oz
. s oo | 0z | o1 | o013 | oz | o | oz | o | aw | o0z | oz
e s || o0s | oo | o1 | o2 | o | o | omw | ot | o | 02
. . 006 | o006 | o1 | oz | o1 | o1 | 015 | o1
e s || | | | 008 | oos | oo | o2 | a5 | o1 | ot
. o | 1 o0 | oz | o1 | o1
T e e e e 005 | o1 | o1s
- A e e e o1 | o
e 008

188



1B A 1= BEllGeneral Information

AEITRER N TR E B2 25R

Parameter table for threading program under different standards

B NPTA, SMELETIE

HEFEE

@ Table of recommended in-feed for NPT internal and external threading with wiper edge

screw pitch (mm) 27 18 14 11.5 8

Total in-feed (mm) 0.77 1.14 1.46 1.77 2.54

Number of passes 6 8 10 12 14

1 0.19 0.22 0.24 0.24 0.24

77777777777 2 | o | 02 | o2 | ez | o2
77777777777 s | o | ow | 02 | 02 |  om
77777777777 s+ | om | o8 | o5 | o1 | o0z
77777777777 é77777777”77777770?07977777”77777770?17277777”77777770?17577777”77777770?‘17577777”77777770?27277777”7
77777777777 6 | o | o1 | o2 | o | 02
77777777777 ;| e s | 02
77777777777 s | 1 e | o os |  ow
77777777777 s | s | om | ow
T e e e o1 | ow.
77777777777 w0 s | o5
T e
e oz
e e o1
@ BSPTA. MRGUHTIEHFER
@ Table of recommended in-feed for BSPT internal and external threading with wiper edge

screw pitch (mm) 28 19 14 11

Total in-feed (mm) 0.66 0.94 1.25 1.56

Number of passes 5 6 8 10

1 0.18 0.22 0.22 0.22

77777777777 > | s | 02 | 02 | 02
77777777777 s | o | o | o | 02
77777777777 1;777777777777777777707.1717777777777777777770?1757777777777777777770?17677777777777777777707.1787777777”7
77777777777 5177777777777777777770?07877777777777777777707.1717777777777777777770?17577777777777777777707.1757777777”7
77777777777 6;7777777777777777777777777777777777777770?0787777777777777777770?17577777777777777777707.1757777777”7
77777777777 777777777777777777777777777777777777777777777777777777777777707.17177777777777777777707.1737777777”7
77777777777 8;777777777777777777777777777777777777777777777777777777777770?07877777777777777777707.1737777777”7
77777777777 o L e
w0 009

189



/i

HIREHTFR

Table of recommended cutting parameters

Grade
Unit cutting force
. 9 Hardness HMB
ISO Material Kc0.4
2 HB HMC
N/mm
Cutting speed(m/min)
C=0.15% 1900 125 150-175
Carbon steel C=0.35% 2100 150 140-155
C=0.60% 2250 200 130-145
Anneal 2100 180 110-130
Hardened 2600 275 80-100
Alloy steel
Hardened 2700 300 70-90
Hardened 2850 350 60-80
Anneal 2600 200 90-115
High alloy steel
Hardened 3900 325 70-90
Non-alloy 2000 180 180-210
low alloy 2500 200 90-115
Cast steel .
High alloy 2700 225 90-115
Martensite steel 12%Mn 3600 250 40-50
Austenite 2450 180 110-130
Stainless steel
Martensite/Ferrite 2300 200 130-170
Ferrite 1100 130 110-140
Malleable cast iron .
Pearlite 1100 230 85-105
. Low tensile-strength 1100 180 110-140
Gray cast iron . .
High tensile-strength 1500 260 90-115
Ferrite 1100 160 110-130
Nodular cast iron .
Pearlite 1800 250 80-100
Non-aging treatment 500 60 1300-1450
Al alloy .
N Aging treatment 800 100 450-500
. Non-aging treatment 750 75 430-470
Cast aluminum alloy )
Aging treatment 900 90 250-290
Anneal 3000 200 35-50
Iron base
Aging 3050 280 25-35
s Heat resistant alloy Anneal 3500 250 15-25
Ni-orCo- | pging 4150 350 10-20
base Casting 4150 320 1015
H Hardened steel Hardened steel 4500 HRC55 40-50

Note: +The values in the above table are range values. High values in the range could be considered in actual cutting. When trying new
cutting speed, please check the cutting edge condition before operation.

«In stainless steel threading, high cutting speed should be used to prevent built-up edge.

*The cutting parameters should be reduced when cutting small pitch thread and when using tools with small nose radius.
*When cutting thread by tools with small nose radius, such as NPT standard thread, it is advisable to use tools with big nose radius
first to rough, so as to improve the life of tools with small nose radius.

190




1B A 1= BEllGeneral Information

R TIERTIFIE

In-feed way of threading tools

Radial in-feed

« Easy operating, high general.

» V-shape chip caused by long chip steel workpiece will produce big bend
stress on cutting edge.

« It requires low cutting depth, sharp cutting edge and good tough material.

* Big quantity of heat when cutting ,V-shape chip is hard to control.

» Because the interface of cutting chips on the right and left side is long,
so it is easy to cause vibration and make the cutting edge suffer more
overloading.

A

Flank in-feed

« Cutting edge suffer small bend stress, stable estate, it is easy for chips
formation in deep cutting depth.

* There are enough space to leave chips flow when flank in-feed.

* Big abrasion on right flank.

Modified flank in-feed

« Right Cutting Edge also engage on cutting depth to a certain extent, it
can reduce the abrasion on right side of clearance face.

« Cutting edge suffer small bend stress, stable estate, it is easy for chips
formation in deep cutting depth.

* Good Cutting Performance.

Alternate flank in-feed

« Cutting edge trade off when machining, equality abrasion on left and
right side of clearance face on cutting edge, it can improve the life of
tools.

« Chips are flowing from both of right and left side, good chips flowing.

« Recommend using in big screw-pitch thread cutting.

Recommend adopting flank in-feed or alternate flank in-feed under allowable range of machining equipment or programmer, it can
eliminate the machining vibration effectively, and it has enough space discharge the chips between pitch. Cutting edge suffer a
0 small stress, machining stable, it likes the general turning process when machining thread, good chip control without extra chips.

191



[

BREUIN T & W) UM IR I3

Common problems in threading and solutions

Problem

Cause

Solutions

Wear on clearance
face

Cutting speed too high.

Reduce cutting speed.

Low cutting depth, abrasion.

Reduce frequency of feed and friction of cutting edge.

Inserts are over the center line.

Adopt correct center height.

Asymmetric wear on
right and left cutting

The inclined angle of insert is different
from the helical angle of thread.

Change to proper shim to get correct inclined angle.

Unstable clamping.

edge Flank in-feed is not correct. Change the way of flank in-feed.

Cutting speed too low. Increase cutting speed.

Cutting force too high. Increase frequency of feed and reduce Max in-feed.
Bl Check if workpiece vibrates.

Reduce overhang of tool.
Verify clamping of workpiece and tool.

Chip twisting.

Increase the pressure of cooling liquid to blow away
chips.

Plastic deformation

High cutting speed, high temperature on
cutting area.

Reduce cutting speed.
Increase feed frequency and reduce Max cutting depth.

Insufficient cooling fluid.

Increase cooling fluid supply.

Low thread surface
quality

Cutting speed too low.
The insert is over the center line.
Chips are not under control.

Increase cutting speed.
Adjust centre height.
Change the operation way of tools to well control chips.

Incorrect profile

Incorrect center height.

Adjust centre height.

Pitch on machine is not correct.

Adjust machine.

Shallow profile

Cutting speed set wrong.

Adjust cutting depth.

Surface damage

Chips involved or contacted.

Change to flank in-feed to control chip flow direction.

Built-up edge

Temperature of cutting edge is too low.
Usually occur when machining stainless
steel and low carbon steel.

Increase cutting speed as well as pressure and
concentration of cooling fluid.
Choose inserts with good toughness.

Crack on surface

Cutting force too high

Reduce the cutting depth of each feed.

Vibration

Incorrect clamping of workpiece or tool

Verify clamping of workpiece and tool.
Minimize overhang of tool.

Incorrect cutting parameters

Increase cutting speed or reduce it substantially.

Incorrect tool clamping

Adjust center height.

192




ZFLERIAER

Technical information for U drills

1B A 1= BEllGeneral Information

M Initial drill penetration

Initial drill penetration is an important factor for successful drilling. One way of ensuring good hole quality is to make sure
the penetration surface of the workpiece is vertical to the drill centre axis. In addition, an indexable drill can carry out initial
penetration of convex, concave, inclined and irregular surfaces by adjusting feed rates.

Workpiece surface

Countermeasures

For a convex surface, the conditions are relatively good and the centre of the drill
ideally makes contact with the workpiece first, thus normal feed can be adopted.

When penetrating an inclined surface, the cutting edges will be unevenly loaded,
which may result in the premature drill abrasion. If the angle of the inclined surface is
larger than 2°, the feed should be reduced to 1/3 of the value recommended for the
drill.

When drilling into concave surface, drill center axis normally tends to go off-center,
the feed should be reduced to 1/3 of the value recommended for the drill.

When drilling into non-symmetric curved surfaces, the drill tends to deviate from the
centre because it is penetrating an inclined surface. The feed should be reduced to
lower than the value recommended for the initial penetration of concave surfaces.

When drilling into irregular surface, the insert faces the risk of chipping, which may
also occur when drilling through the workpiece. Therefore, the feed rate should be

i

Calculations for shallow drilling

reduced.

B8 0B
I

@ Cutting speed(Vc)

DeXmxn Ve (m/min): cutting speed
Ve = LACZN L Dc(mm): drill diameter
1000 n (rev/min): rotating speed
@ Example

Spindle speed is1600 rev/min, drill diameter is
20mm, thus cutting speed is:
Ve = Dexaxn  _ 20%3.14x1600
€T TTooo 1000

=100 (m/min)

@® Machining time

Te (min): machining time

Te = laxi fr (mm/rev): feed rate per revolution
£ n Xf i: number of holes Id (mm): drilling depth
n (rev/min): spindle speed
@ Example

Drilling a hole with a diameter of 20mm and a depth of
40mm, cutting speed is 100m/min and feed rate per
revolution is 0.1mm/rev. Calculate the drilling time.

_ Vex 1000 _ 100 x 1000

T Dexm  20%3.14

= 1600 (rev/min)

laxi  _ 40x1
nxfi 1600 x 0.1

Tc = =0.25 (min)

® Feed speed

Vi (mm/min): feed speed
fr (mm/rev): feed rate per revolution
n (rev/min): spindle speed

Vi= fr Xn (mm/min)

¢ Example

Spindle speed is1500 rev/min, feed rate per
revolution is 0.1mm/rev, thus feed speed is:

Vi=firxn =0.1x1500 = 150 (mm/min)

@® Metal removal rate

2 Q (cm*min): metal removal rate
X X
Q = M Dc(mm): drill diameter
4 %1000 Vs (mm/min): feed speed
¢ Example

Drill diameter is 20mm, feed speed is 160mm/rey,
thus metal removal rate is:

160%3.14x20°
4x1000

VixaxDc’

4x1000

= 50.24 (cm’/min)

193



/i

HCDiZ LI HEF I HI S8R

Recommended cutting parameters for HCD

1SO Materials Hardness HB Diameter Dc Feed rate fn Cutting sp_eed Vc
mm mm/r m/min
13.0-21.0 0.05-0.09
22.0-33.0 0.05-0.09
Carbon steel 80-200 34.0-41.0 0.06-0.10 200(170-240)
42.0-50.0 0.07-0.11
51.0-58.0 0.08-0.12
13.0-21.0 0.05-0.09
22.0-33.0 0.05-0.12
Low alloy steel 150-260 34.0-41.0 0.06-0.14 170(140-220)
42.0-50.0 0.08-0.16
51.0-58.0 0.10-0.20
13.0-21.0 0.05-0.09
22.0-33.0 0.05-0.12
Hign alloy steel 150-320 34.0-41.0 0.06-0.16 150(120-180)
42.0-50.0 0.08-0.18
51.0-58.0 0.10-0.22
13.0-21.0 0.05-0.08
22.0-33.0 0.05-0.08
Cast steel 180-250 34.0-41.0 0.06-0.10 140(120-170)
42.0-50.0 0.07-0.11
51.0-58.0 0.07-0.12
13.0-21.0 0.05-0.09
Stainless steel 22.0-33.0 0.05-0.12
Ferrite 150-270 34.0-41.0 0.06-0.16 160(110-230)
Martensite 42.0-50.0 0.08-0.18
M 51.0-58.0 0.10-0.22
13.0-21.0 0.05-0.09
22.0-33.0 0.05-0.11
Austenite 150-275 34.0-41.0 0.06-0.13 140(110-220)
42.0-50.0 0.08-0.14
51.0-58.0 0.10-0.16
13.0-21.0 0.05-0.10
22.0-33.0 0.05-0.14
Ma”ei"’;gf L 150-230 34.0-41.0 0.08-0.16 160(120-220)
42.0-50.0 0.10-0.20
51.0-58.0 0.12-0.24
13.0-21.0 0.05-0.10
22.0-33.0 0.05-0.14
Gray cast iron 150-220 34.0-41.0 0.08-0.16 200(170-240)
42.0-50.0 0.10-0.20
51.0-58.0 0.12-0.24
13.0-21.0 0.05-0.09
22.0-33.0 0.05-0.12
N°d‘i‘r'2; ! 160-250 34.0-41.0 0.06-0.14 160(130-200)
42.0-50.0 0.08-0.16
51.0-58.0 0.10-0.20
13.0-21.0 0.05-0.10
Non 22.0-33.0 0.05-0.14
Cr’:eaetglosus 60-110 34.0-41.0 0.08-0.16 300(250-350)
42.0-50.0 0.10-0.20
51.0-58.0 0.12-0.24

194




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 93
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101
	页 102
	页 103
	页 104
	页 105
	页 106
	页 107
	页 108
	页 109
	页 110
	页 111
	页 112
	页 113
	页 114
	页 115
	页 116
	页 117
	页 118
	页 119
	页 120
	页 121
	页 122
	页 123
	页 124
	页 125
	页 126
	页 127
	页 128
	页 129
	页 130
	页 131
	页 132
	页 133
	页 134
	页 135
	页 136
	页 137
	页 138
	页 139
	页 140
	页 141
	页 142
	页 143
	页 144
	页 145
	页 146
	页 147
	页 148
	页 149
	页 150
	页 151
	页 152
	页 153
	页 154
	页 155
	页 156
	页 157
	页 158
	页 159
	页 160
	页 161
	页 162
	页 163
	页 164
	页 165
	页 166
	页 167
	页 168
	页 169
	页 170
	页 171
	页 172
	页 173
	页 174
	页 175
	页 176
	页 177
	页 178
	页 179
	页 180
	页 181
	页 182
	页 183
	页 184
	页 185
	页 186
	页 187
	页 188
	页 189
	页 190
	页 191
	页 192
	页 193
	页 194
	页 195
	页 196
	页 197
	页 198
	页 199
	页 200

